Ralph R. Mabey (Utah Bar No. 2036)
Steven J. McCardell (Utah Bar No. 2144)
Kenneth L. Cannon II (Utah Bar No. 3705)
Steven C. Strong (Utah Bar No. 6340)
LeBOEUF, LAMB, GREENE & MacRAE, L.L.P.
136 South Main Street, Suite 1000
Salt Lake City, Utah 84101
Telephone: (801) 320-6700

Counsel for Geneva Steel Company

# IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF UTAH, CENTRAL DIVISION

In re:

Bankruptcy Case No. 99C-21130

GENEVA STEEL COMPANY, a Utah corporation,

Debtor.

(Chapter 11)

FINAL APPLICATION OF LEBOEUF, LAMB, GREENE & MACRAE, L.L.P., FOR COMPENSATION AND REIMBURSEMENT PURSUANT TO 11 U.S.C. § 330 FOR THE PERIOD FROM CASE COMMENCEMENT THROUGH PLAN EFFECTIVE DATE (JANUARY 3, 2001)

LeBoeuf, Lamb, Greene & MacRae, L.L.P. ("LeBoeuf"), bankruptcy co-counsel to Geneva Steel Company (the "Debtor"), pursuant to 11 U.S.C. § 330, Federal Rule of Bankruptcy Procedure 2016, and the Fee Guidelines of the United States Trustee, submits this final application (the "Application") for allowance and payment of: (1) compensation in the total amount of \$1,635,434.00 for services rendered, and (2) reimbursement in the total amount of \$171,315.23 for expenses incurred,

for the period from case commencement through January 3, 2001 (the "Application Period").

#### I. INTRODUCTION

#### A. Case Background

- 1. The Debtor owns and operates the only integrated steel mill operating in the western United States, located approximately 45 miles south of Salt Lake City in Vineyard, Utah County, Utah. The Debtor manufactures steel products for sale primarily in the western and central United States.
- 2. On February 1, 1999 (the "Petition Date"), the Debtor filed a petition for relief under chapter 11 of the Bankruptcy Code. From the Petition Date to January 3, 2001, the Debtor operated its business as a debtor in possession pursuant to the Bankruptcy Code. On January 3, 2001, the Debtor's confirmed plan of reorganization became effective.
- 3. The Debtor has or will have sufficient available funds to pay administrative expense claims in this case. All quarterly fees due to the United States Trustee have been paid, and the Debtor filed all required monthly financial reports.
- 4. The Court has jurisdiction over this matter pursuant to 28 U.S.C. §§ 157 and 1334. This is a core proceeding pursuant to 28 U.S.C. § 157(b)(2).
  - 5. Descriptions of major events throughout the course of the case are included

Debtor filed its petition for relief on February 1, 1999. However, a small portion of the fees and expenses sought by LeBoeuf in its first interim fee application, and as noted in that application, were incurred prior to February 1, 1999. LeBoeuf was retained by the Debtor on January 29, 1999 to assist in the preparation and filing of this case. All fees and costs incurred prior to February 1, 1999 related solely to the preparation and filing of the case and motions filed with the petition and, under applicable law in this district are allowable as administrative expenses. See In re Roberts, 46 B.R. 815, 849 (Bankr. D. Utah 1985) (pre-petition fees and costs owed to law firm incurred solely for services rendered in contemplation of an in connection with the bankruptcy are recoverable as part of fees allowed under Sections 327, 329, and 330 of the Code).

below in the summaries by project category of the services provided by LeBoeuf.

### B. <u>LeBoeuf's Employment</u>

- 1. On the Petition Date, the Debtor filed an application (the "Employment Application") seeking approval of its employment of LeBoeuf as co-counsel, along with the firm of Cadwalader, Wickersham & Taft ("CWT"), for this bankruptcy case. The Court entered an order on March 22, 1999 (the "Employment Order") approving the Debtor's employment of LeBoeuf as follows: "pursuant to section 327(a) of the Bankruptcy Code, the Debtor, as debtor in possession, is authorized to employ and retain LeBoeuf as counsel under a general retainer effective as of the commencement of this case."
- 2. Although a cash retainer for LeBoeuf was contemplated prior to the commencement of this case, the retainer was not paid, at LeBoeuf's request made in consideration of the Debtor's cash position at the time. Thus, LeBoeuf received no retainer in this case.
- The Debtor's employment and retention of CWT as general bankruptcy counsel in this case also were approved by the Court. The Employment Application for LeBoeuf states that "[a]lthough CWT may consult with LeBoeuf on matters of local practice and procedure, CWT and LeBoeuf have assured the Debtor that they will make every effort to avoid and/or minimize duplication of services in this case." Employment Application at 3. The services performed by LeBoeuf have not been unnecessarily duplicative of those performed by CWT.
- 4. All services performed and expenses incurred for which compensation or reimbursement is sought were performed or incurred for and on behalf of the estate and not for any other person or entity.
  - 5. LeBoeuf has not shared or agreed to share compensation or reimbursement

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 4 of 248

awarded in this case with any other person except as among the members and employees of the firm.

6. LeBoeuf has not made any agreements with the Debtor or others for compensation or reimbursement relating to this case which have not been disclosed to the Court.

## II. PRIOR APPLICATIONS FOR COMPENSATION AND REIMBURSEMENT

A. <u>LeBoeuf's First Interim Application for Compensation and Reimbursement</u>

LeBoeuf's first interim application for compensation and reimbursement (the "First Application") was filed on July 15, 1999 and covered the period from the commencement of the case through May 31, 1999. The First Application sought approval of \$556,619.50 in fees for services rendered to the estate, and \$51,302.51 in expenses incurred in connection with those services. On September 16, 1999, the Court entered an order approving the amount of fees and expenses requested in the First Application.

B. <u>LeBoeuf's Second Interim Application for Compensation and Reimbursement</u>

LeBoeuf's second interim application for compensation and reimbursement (the "Second Application"), filed November 11, 1999 for the period June 1, 1999 through September 30, 1999, sought approval of \$199,044.50 in fees for services rendered to the estate and \$21,420.51 in expenses incurred in connection with those services. On February 1, 2000, the Court entered an order approving the amount of fees and expenses requested in the Second Application.

C. <u>LeBoeuf's Third Interim Application for Compensation and Reimbursement</u>

LeBoeuf's third interim application for compensation and reimbursement (the "Third Application"), filed March 14, 2000 for the period October 1, 1999 through January 31, 2000, sought approval of \$178,846.00 in fees for services rendered to the estate and \$11,968.76 in expenses incurred in connection with those services. On May 30, 2000, the Court entered an order approving

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 5 of 248

the amount of fees and expenses requested in the Third Application.

# D. <u>LeBoeuf's Fourth Interim Application for Compensation and Reimbursement</u>

LeBoeuf's fourth interim application for compensation and reimbursement (the "Fourth Application"), filed July 11, 2000 for the period February 1, 1999 through May 31, 2000, sought approval of \$181,152.50 in fees for services rendered to the estate and \$13,667.71 in expenses incurred in connection with those services. On October 17, 2000, the Court entered an order approving the amount of fees and expenses requested in the Fourth Application.

# E. <u>LeBoeuf's Fifth Interim Application for Compensation and Reimbursement</u>

LeBoeuf's fifth interim application for compensation and reimbursement (the "Fifth Application"), filed November 15, 2000 for the period June 1, 2000 through September 30, 2000, sought approval of \$247,990.75 in fees for services rendered to the estate and \$29,947.95 in expenses incurred in connection with those services. On January 31, 2001, the Court entered an order approving the amount of fees and expenses requested in the Fifth Application.

# III. THE PRESENT APPLICATION

# A. <u>Billing Methodology</u>

1. In this Application, LeBoeuf is requesting compensation for services provided and reimbursement of expenses incurred during the entire Application Period, including (a) fees and expenses previously approved by the Court on an interim basis pursuant to LeBoeuf's five interim applications described above (covering the period from case commencement through September 30, 2000), and (b) an additional \$254,975.25 in fees and \$42,998.92 in expenses for the period October 1, 2000 through January 3, 2001 (the "Current Period"). A summary of fees requested for the entire Application Period is attached hereto as Exhibit 4. A Summary of the expenses incurred broken down

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 6 of 248

by project category and by type of expense for the entire Application Period is attached hereto as <a href="Exhibit 5"><u>Exhibit 5</u></a>. Invoices detailing the services rendered during each of the prior interim periods were provided in LeBoeut's five interim fee applications on file with the Court. A summary of fees for the Current Period (October 1, 2000 through January 3, 2001) is attached hereto as <a href="Exhibit 1"><u>Exhibit 1</u></a>. Invoices detailing the services rendered and expenses incurred for the Current Period are attached hereto as <a href="Exhibit 2A"><u>Exhibit 2A</u></a> (invoice for October 2000), <a href="Exhibit 2B"><u>Exhibit 2B</u></a> (invoice for November 2000), <a href="Exhibit 2C"><u>Exhibit 2C</u></a> (invoice for December 2000), and <a href="Exhibit 2D"><u>Exhibit 2D</u></a> (invoice for January 2001). A summary of the expenses incurred, broken down by project category and by type of expense, for the Current Period is attached hereto as <a href="Exhibit 3"><u>Exhibit 3</u></a>.

- 2. LeBoeuf's services in this case are billed on an hourly-rate basis, consistent with LeBoeuf's customary charges for comparably skilled and experienced practitioners in other bankruptcy and non-bankruptcy cases. This Application requests compensation at the local, rather than the national, rates ordinarily charged by LeBoeuf for its attorneys resident in its Salt Lake City office for large matters of national scope. The fees for the Current Period are based on two hourly rates, as shown in the charts included herein, because LeBoeuf's hourly rates increased nationwide for all clients on November 1, 2000.
- 3. In rendering services and incurring expenses on behalf of the estate, LeBoeuf makes reasonable efforts to use the most economical means and methods that are available and appropriate under the circumstances.
- 4. The education and experience of the LeBoeuf attorneys providing service on behalf of the Debtor during the Application Period are detailed in the professional resumes attached hereto as Exhibit 6. Two attorneys with whom the Court is not familiar performed work in the Current

Period. Everette James, a partner in LeBoeuf's Washington D.C. office, assisted with issues pertaining to the Emergency Steel Loan Guaranty Program. H. Glen Alberich, a partner in LeBoeuf's Boston office, assisted with a deposition taken in Boston in the litigation brought by Loomis Sayles & Co.

5. Given the education, experience, and expertise of the LeBoeuf attorneys rendering services in this case, the rates charged are reasonable, and they are the same as or lower than rates LeBoeuf typically charges to clients for similar services.

#### B. <u>Services Performed on Behalf of the Estate</u>

- During the Application Period, LeBoeuf rendered services to the estate for which it seeks compensation in the total amount of \$1,635,434.00. Such services for each of the interim periods from case commencement through September 30, 2000, are detailed in the monthly invoices provided in LeBoeuf's five interim fee applications already on file with the Court. Such services for the Current Period are detailed in the monthly invoices attached hereto as Exhibits 2A through 2D.
- 2. LeBoeuf has categorized the time spent performing services for the estate into the following project categories, consistent with the guidelines of the U.S. Trustee:

LeBoeuf Matter No.	Matter Name
055	Asset Disposition
056	Asset Analysis and Recovery
117	Business Operations
131	Case Administration
144	Claims Administration and Objections
237	Employee Benefits / Pensions
265	Executory Contracts and Leases
276	Fee / Employment Applications
277	Fee / Employment Objections
<b>28</b> 3	Financing
565	Meetings of Creditors
574	Miscellaneous Contested Matters
710	Plan and Disclosure Statement
851	Travel

3. Each invoice contains a chronological listing of tasks performed in each project category in which services were performed during the billing period covered by that invoice. The totals of the fees sought for this entire Application Period (including the Current Period, in other words, during the entire bankruptcy case) for services in the various project categories are as follows:

	Matter No.	Matter Name	Amount
1.	055	Asset Disposition	56,635.50
2.	056	Asset Analysis and Recovery	23,708.00
3.	117	Business Operations	44,137.50
4.	131	Case Administration	255,600.00
5.	144	Claims Administration and Objections	398,038.75
6.	237	Employee Benefits / Pensions	44,500.75
7.	265	Executory Contracts and Leases	127,579.50
8.	276	Fee / Employment Applications	124,639.50
9.	277	Fee / Employment Objections	66,537.00
10.	283	Financing	240,872.00
_11.	565	Meetings of Creditors	12,183.50
12.	574	Miscellaneous Contested Matters	21,192.00
_13.	710	Plan and Disclosure Statement	214,045.50
14.	851	Travel	5,764.50
		TOTAL:	\$1,635,434.00

4. The totals of the fees sought in this Application for services in the various project categories rendered during the Current Period (which amounts are also included in the amounts listed in the table immediately above) are as follows:

	Matter No.	Matter Name	Amount
1.	055	Asset Disposition	0.00
2.	056	Asset Analysis and Recovery	0.00
3.	117	Business Operations	846.00
4.	131	Case Administration	9,274.50
5.	144	Claims Administration and Objections	59,899.00
6.	237	Employee Benefits / Pensions	0.00
7.	265	Executory Contracts and Leases	47,924.00
8.	276	Fee / Employment Applications	9,934.00

9.	277	Fee / Employment Objections	8,846.50
10.	283	Financing	17,558.50
11.	565	Meetings of Creditors	0.00
12.	574	Miscellaneous Contested Matters	1,028.00
13.	710	Plan and Disclosure Statement	115,687.00
14.	851	Travel	783.25
		TOTAL:	\$271,780.75

# C. Summary of LeBoeuf's Services Rendered During Current Period in Each Project Category

A summary of the nature of each project category, a table indicating the names, billing rates, hours spent, and total amounts billed as to each LeBoeuf professional and paraprofessional in each project category, and a synopsis of the work performed in each project category during the Current Period (October 1, 2000 through January 3, 2001), are provided in separate paragraphs below.

# l <u>Asset Disposition</u>

- a. This project category is for services in connection with asset sales, leases, and related transactional work. During the case, the Debtor made efforts to dispose of non-essential assets in order to increase liquidity and provide funds for the estate.
- b. During the Current Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)  N/A	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
TOTAL HOURS	<u> </u>		0.0	0.00

c. No services were rendered in this project category during the Current

# 2. Asset Analysis and Recovery

Period.

- a. This project category is for services relating to identification, review, and valuation of the Debtor's assets and potential assets, determination of liens and security interests therein, and efforts to recover assets through the various transfer avoidance and asset-recovery provisions of the Bankruptcy Code.
- b. During the Current Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

	<del></del>		_	
NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
N/A TOTAL HOURS	<del></del>		0.0	0.00
TOTAL HOURS	<u>_</u>	<del> </del>	0.0	0.00

c. No services were rendered in this project category during the Current Period.

## 3. <u>Business Operations</u>

- a. This project category is for services relating to general business and operational issues of the Debtor for which bankruptcy legal advice is needed, including the Debtor's relationships with its suppliers and customers.
- b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$305	0.7	213.50
Steven J. McCardell (SJM)	Partner/SL	\$275	2.3	632.50
TOTAL HOURS			3.0	846.00

c. The services rendered in this project category during the Current

Period involved preparation of audit response letters for Geneva's auditors that were necessary for the

preparation of financial statements that in turn were necessary for implementation of the plan and compliance with reporting requirements (certain of the time involved in this project involved evaluation of pending claims and was therefore reported under "Claims Administration").

### 4. <u>Case Administration</u>

a. This project category is for services relating to general administrative matters in the conduct of the bankruptcy case, including administrative matters that do not fit within any of the other more specific categories, weekly conference calls with the Debtor's management and other professionals to efficiently coordinate services, and general case oversight and coordination of assignments to LeBoeuf professionals by Mr. McCardell to ensure cost-efficient use of LeBoeuf professionals at various skill levels appropriate for each assignment.

b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

		HOURLY	TOTAL	
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	TOTAL FEES
Ralph R. Mabey (RRM)	Partner/SL	\$425	3.2	1,360.00
Steven J. McCardell (SJM)	Partner/SL	\$305	2.1	640.50
Steven J. McCardell (SJM)	Partner/SL	\$275	2.8	770.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$280	0.2	56.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$260	1.6	416.00
Penrod W. Keith (PWK)	Partner/SL	\$240	1,0	240.00
Michael T. Hoppe (MTH)	Associate/SL	\$120	9.8	1,176.00
Jonathan R. Schofield (JRS)	Associate/SL	\$145	0.8	116.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	50.0	4,500.00
TOTAL HOURS			71.5	9,274.50

c. During the Current Period, services in this matter included (i) providing paralegal assistance to the Debtor in receipt and routing of pleadings and correspondence

and maintaining case dockets; (ii) coordinating with LeBoeuf lawyers, co-counsel, and other professionals employed by the Debtor, including through weekly telephone conference calls, bankruptcy case projects (litigation and non-litigation) and preparation of weekly project summaries and calendars concerning case assignments and division of labor; (iii) reviewing requests for notice and maintaining appropriate records concerning notices given and parties in interest to receive notice, including maintenance and service of the Master Service List used in this case; (iv) assisting the Debtor in preparation of monthly financial reports filed with the Court; (v) coordinating administrative issues with the Clerk of the Court and the office of the United States Trustee; (vi) preparation of pleadings, analysis of issues, and presentation of evidence pertaining to extension of the Debtor's exclusive periods to file a plan and obtain acceptances; (vii) advising and assisting the Debtor with matters of compliance with administrative requirements of the Court's local rules, guidelines of the United States Trustee, and the Bankruptcy Code, including preparation of amendments to the Debtor's schedules, monthly financial reports, and applicable case deadlines; (viii) preparation of orders and pleadings on case administrative matters; (ix) advising and assisting Debtor regarding case administration issues raised by litigation brought by Loomis Sayles (this litigation has been settled and a motion for approval of the settlement will be prepared and filed), and an appeal before the Bankruptcy Appellate Panel filed by a Geneva Bondholder (Richard M. Allen) (this appeal was argued on February 9, 2001 and is under submission with the Bankruptcy Appellate Panel).

# 5. <u>Claims Administration and Objections</u>

a. This project category is for services relating to creditor claims and interests of security holders, including providing adequate notice of the claims bar date, tracking and analysis of proofs of claim filed by creditors, and analysis for and prosecution of objections to specific claims.

b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$280	3.4	952.00
John W. Cotton	Partner/LA	\$410	1.4	574.00
Steven J. McCardell (SJM)	Partner/SL	\$305	53.6	16,348.00
Steven J. McCardell (SJM)	Partner/SL	\$275	18.6	5,115.00
Ronald L. Rencher (RLR)	Partner/SL	\$290	0.8	232.00
Stephen M. Tumblin (SMT)	Partner/SL	\$285	1,1	313.50
Steven C. Strong (SCS)	Associate/SL	\$195	0.1	19.50
Joseph M.R. Covey (JMC)	Associate/SL	\$195	117.4	22,893.00
Joseph M.R. Covey (JMC)	Associate/SL	\$160	14.0	2,240.00
Loyal C. Hulme (LCH)	Associate/SL	\$195	0.5	97.50
Julie Valdes (J-V)	Associate/SL	\$165	11.7	1,930.50
Michael T. Hoppe (MTH)	Associate/SL	\$145	21.7	3,146.50
Jonathan R. Schofield (JRS)	Associate/SL	\$175	14.7	2,572.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	38.5	3,465.00
TOTAL HOURS			297.50	59,899.00

c. During the Current Period, services in this category included (i) reviewing claims filed; (ii) analysis of bankruptcy claims and priority issues in connection with proofs of claim, contested matters and motions on claims (including claims issues related to claims of supplemental retirees (presently scheduled for hearing on April 10, 2001), the hearing before this Court and the appeal by Richard M. Allen on his claim (the appeal was argued on February 9, 2001 and is

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 14 of 248

under submission with the Bankruptcy Appellate Panel), claims filed by the United States Equal Employment Opportunity Commission (these claims have now been withdrawn), the claim filed with respect to John Freelove, an ADA claimant, and a lawsuit filed by Mr. Freelove (objection to claim being prepared), ASARCO, Federal Insurance, Oxbow Carbon & Minerals (claims now withdrawn), Performix (claim withdrawn), GATX Capital Corporation (including issues concerning GATX appeal before district court--the matter is set for mediation on March 20, 2001 and a hearing before the District Court on April 6, 2001); (iii) preparation and filing of third omnibus claims objection on multiple improper priority, secured, and miscellaneous unsecured claims (the objection is set for hearing on March 6, 2001); (iv) preparation of amended schedules; (v) responding to demands and positions of creditors and other parties in interest; (vi) responding to inquiries and request from the Clerk's office, creditors, the two committees in this case, and Debtor's exit financing lender concerning claims; (vii) maintaining a claims database which logs all proofs of claim and amounts and includes information concerning scheduled amounts, disputes, duplications, amendments, and other claim information; (viii) seeking amendments to claims filed by creditors to avoid the necessity of filing claim objections; and (ix) providing claim estimate information for use in plan formulation and negotiation.

## 6. <u>Employee Benefits / Pensions</u>

- a. This project category is for services in connection with legal issues concerning the Debtor's employees, including severance, retention, benefits, employee benefit plans, and labor relations.
- b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

<u> </u>		HOURLY	TOTAL	TOTAL
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	FEES
N/A			0.0	0.00
TOTAL HOURS			0.0	0.00

c. No services were rendered in this project category during the Current Period. The cost of the transcript for the November 20, 2000 hearing on the Debtor's objection to claims of supplemental retirees was entered under this category, however (fees for this matter were entered under the Claims Administration matter).

#### 7. <u>Executory Contracts and Leases</u>

a. This project category is for services relating to the Debtor's executory contracts and leases, including issues arising under section 365 of the Bankruptcy Code and related provisions and claims.

b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$305	54.8	16,714.00
Steven J. McCardell (SJM)	Partner/SL	\$275	13.0	3,575.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$280	56.4	15,792.00
Kenneth L. Cannon, II (KLC)	Partner/SL	<b>\$2</b> 60	45.2	11,752.00
Joseph M. R. Covey (JMR)	Associate/SL	\$160	0.4	64,00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	0.3	27.00
TOTAL HOURS			170.1	47,924.00

c. Services rendered in this project category during the Current Period primarily involved (i) assisting co-counsel Cadwalader, Wickersham & Taft with a motion to reject the Debtor's plasma fired cupola lease with GATX; (ii) assisting the Debtor in its assumptions of

numerous other major contracts or leases, including those with Union Pacific, Remacor, Questar, Oxbow, Performix, SAP (the pending matter under advisement has been settled in principle, subject to board approval), U.S. Steelworkers Association, USX, Quaker Coal, Mannesmann Demag, and Southern Fab (changed from rejection to assumption); (iii) assisting the Debtor in its rejection of the supplemental retirement contracts of certain retired employees (matter now set for hearing April 10, 2001); (iv) advising Debtor regarding USX reclamation claim settlement and Debtor's complex contracts with USX (Debtor's motion to assume is pending and the parties are scheduling appropriate settlement discussions); and (v) reviewing and advising Debtor concerning the Director Deferred Compensation Program (the contracts were rejected).

### 8. Fee / Employment Applications

Debtor's employment of various professionals needed for the conduct of this case and its ongoing business, to advise the Debtor on and participate in proceedings regarding professional fee procedures, and for preparation of fee applications and supporting detail for LeBoeuf and for other professionals who may need assistance in complying with the U.S. Trustee Guidelines, the Administrative Order of this Court, and applicable provisions of the Bankruptcy Code and rules regarding compensation and reimbursement.

b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

		HOURLY	TOTAL	-
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$305	4.1	1,250.50
Steven J. McCardell (SJM)	Partner/SL	\$275	1.8	495.00
Steven C. Strong (SCS)	Associate/SL	\$195	0.1	19.50
Joseph M.R. Covey (JMR)	Associate/SL	\$195	25.3	4,933.50

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Joseph M.R. Covey (JMR)	Associate/SL	\$160	9.4	1,504.00
Michael T. Hoppe (MTH)	Associate/SL	\$145	8.3	1,203.50
Michael T. Hoppe (MTH)	Associate/SL	\$120	2.6	312.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	2.4	216.00
TOTAL HOURS			54.0	9,934.00

c. The services rendered in this project category during the Current

Period included (i) assisting the Debtor's various non-bankruptcy professionals and the Debtor's lender

Congress Financial Corporation in filing and presenting fee applications; (ii) assisting the Debtor in

tracking and complying with interim fee objections and payments and orders of the court concerning

fee payments; (iii) preparation, filing, and presentation of LeBoeuf's fifth interim fee application; (iv)

assisting the Debtor with its employment of Watson Wyatt; and (v) answering the questions of various

professionals in the case concerning applications for employment or compensation and reimbursement.

#### 9. <u>Fee / Employment Objections</u>

a. This project category is for review and analysis of and objections to employment and fee applications of others, resolving objections and questions raised concerning fees and expenses of professionals, and assisting the Debtor in tracking and determining amounts approved for payment to professionals pursuant to applicable orders and rules.

b. During the Current Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$305	4.1	1,250.50
Steven C. Strong (SCS)	Associate/SL	\$220	17.3	3,806.00
Steven C. Strong (SCS)	Associate/SL	\$195	6.2	1,209.00
Michael T. Hoppe (MTH)	Associate/SL	\$145	13.0	1,885.00
Michael T. Hoppe (MTH)	Associate/SL	\$120	5.8	696.00

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
TOTAL HOURS			46.4	8,846.50

c. The services rendered in this project category during the Current Period included (i) reviewing and tracking fee invoices submitted by other professionals pursuant to the Administrative Order and payments under the Court's orders on the second interim fee applications; (ii) reviewing objections to monthly professional invoices and preparing schedules for the Debtor of amounts of fees and expenses approved for payment monthly based on the Administrative Order; (iii) reviewing all fifth interim fee applications and preparing schedules for the Court of amounts of fees and expenses sought and objections filed; and (iv) preparing for and participating in the hearing on the fifth round of fee applications.

#### 10. Financing

- a. This project category is for matters under sections 361, 363, and 364 of the Bankruptcy Code, including debtor in possession financing, cash collateral and secured claim analysis and proceedings, and loan documentation and analysis.
- b. During the Current Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$280	16.2	4,536.00
A. Everette James, III	Partner/DC	\$375	3.7	1,387.50
Steven J. McCardell (SJM)	Partner/SL	\$305	35.6	10,858.00
Steven J. McCardell (SJM)	Partner/SL	\$275	1.8	495.00
Stephen M. Tumblin (SMT)	Partner/SL	\$285	0.8	228.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	0.6	54.00
TOTAL HOURS			58.7	17,558.50

c. The services rendered in this project category during the Current

Period were advising the Debtor with respect to its debtor in possession financing with Congress Financial Corporation (and amendments to the financing) and its proposed exit financing in connection with its plan of reorganization, including assisting the Debtor in obtaining approval of post-confirmation bridge financing by Albert Fried and Co. At Geneva's request, a lawyer in LeBoeuf's Washingon D.C. office, Everette James III, assisted in the U.S. Department of Commerce in connection with the proposed exit financing with respect to an issue involving the financing methods used by the Export Import Bank of the United States (which were relevant to the methods the U.S. Department of Commerce could use in connection with the Emergency Steel Loan Guaranty Program).

#### 11. Meetings of Creditors

- a. This project category is for preparations for and attendance at the section 341(a) meeting, and other conferences with creditors and/or the official committees of creditors appointed in this case.
- b. During the Current Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
N/A				0.00
TOTAL HOURS			0.0	0.00

c. No services were rendered in this project category during the Current Period.

#### 12. Miscellaneous Contested Matters

a. This project category was established for services relating to preparing, analyzing, researching and litigating contested matters (and related appeals) brought by the

Debtor, and analysis and filing objections or responses to contested matters (and related appeals) brought by others, for which no other specific project billing category has been established.

b. During the Current Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$275	1.3	357.50
Steven C. Strong (SCS)	Associate/SL	\$195	2.7	526.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	1.6	144.00
TOTAL HOURS			5.6	1,028.00

c. The services rendered in this project category during the Current Period involved advising and representing the Debtor respecting (i) the lawsuit filed against the Debtor by Hartley, Peacock, and Clayton (as to a dispute between USX and a third party, not Geneva; counsel obtained a promise from plaintiff's counsel to dismiss Geneva from the lawsuit); (ii) the GATX and Richard Allen appeals of this Court's ruling on their claims (both appeals are pending); and (iii) the litigation instigated by Loomis Sayles against the Debtor. Most of the time related to items (ii) and (iii) above was reported under claims administration or plan of reorganization categories.

#### 13. Plan and Disclosure Statement

- a. This project category is for services relating to formulation of a disclosure statement and plan of reorganization, efforts to obtain court approval and confirmation therefor, compliance with the confirmation order and related orders and rules, and distributions to creditors and case closing activities (except those related to allowance or disallowance of claims).
- b. The Debtor assigned primary responsibility for preparation of the plan and disclosure statement to Cadwalader Wickersham & Taft. At the Debtor's request, LeBoeuf has assisted in this process, particularly with respect to disclosure concerning case and claims matters for

which LeBoeuf has had significant or primary responsibility. During the Current Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

		HOURLY	TOTAL	TOTAL FEED
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$280	1.9	532.00
Kenneth L. Cannon (KLC)	Partner/SL	\$260	15.7	4,082.00
Glen H. Alberich (GHA)	Partner/BO	\$380	1.0	380.00
Steven J. McCardell (SJM)	Partner/SL	\$305	210.0	64,050.00
Steven J. McCardell (SJM)	Partner/SL	\$275	113.5	31,212.50
George M. Williams (GMW)	Partner/NY	\$560	1.1	616.00
Mark W. Dykes (MWD)	Of Counsel/SL	\$240	3.8	912.00
Steven C. Strong (SCS)	Associate/SL	\$195	0.3	58.50
Julie Valdes (J-V)	Associate/SL	\$130	8.7	1,131.00
Michael T. Hoppe (MTH)	Associate/SL	\$145	35.6	5,162.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	83.9	7,551.00
TOTAL HOURS			475.5	115,687.00

c. The services provided in this period include (i) preparing for the confirmation hearing on the Debtor's proposed plan of reorganization; (ii) reviewing and analyzing various objections to confirmation; (iii) assisting the Debtor to address and resolve remaining issues concerning confirmation of plan; (iv) advising and representing the Debtor respecting litigation instigated by Loomis Sayles against the Debtor with respect to its stand-by commitment to purchase equity (this matter has been settled and a motion for approval of the settlement will be prepared and filed); (v) assisting the Debtor to comply with post-confirmation requirements; (vi) assisting and advising the Debtor concerning plan modifications and plan implementation; and (vii) interfacing as requested by the Debtor with other professionals, creditors committees, creditors, the Office of the United States Trustee, and other parties in interest with respect to the plan and confirmation. In addition, LeBoeuf was required to issue an opinion to the Debtor's exit financing lenders regarding the motion for reconsideration and appeal filed by Richard M. Allen (and, therefore, a member of

LeBoeuf's opinion committee in LeBoeuf's New York office, George M. Williams, worked on this matter).

#### 14 Travel

- paralegals required to engaged in unproductive travel time on behalf of the estate. Unproductive travel time is time spent traveling on behalf of the estate during which LeBoeuf's attorneys or paralegals are not able to perform substantive services for the Debtor or any other client. All substantive services performed by LeBoeuf attorneys or paralegals for the Debtor or other clients while traveling for the Debtor are billed to the specific substantive matters and are not billed as unproductive travel time. All time under this project category is billed at one-half of the normal hourly rate in this case for the attorney or paralegal who traveled on behalf of the estate.
- b. During the Current Period, no LeBoeuf professionals were required to engage in unproductive travel on behalf of the estate:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE (for Travel –1/2 usual rate)	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$130.00	1.7	221.00
Steven J. McCardell (SJM)	Partner/SL	\$152.50	1.4	213.50
Steven J. McCardell (SJM)	Partner/SL	\$137.50	0,6	82.50
Michael T. Hoppe (MTH)	Associate/SL	\$72.50	2.1	152.25
Michael T. Hoppe (MTH)	Associate/SL	\$60.00	1.9	114.00
TOTAL HOURS			7.7	783.25

c. During the Current Period, LeBoeuf partner Kenneth L. Cannon made one trip to Geneva to assist in the tour of the plasma-fired cupola at the Geneva plant by GATX counsel and taxing authorities. LeBoeuf partner Steven J. McCardell made two trips to Geneva, one to assist in the coordination of discovery in the Loomis Sayles litigation, and one to attend the deposition

of Joe Cannon related to the Loomis Sayles litigation. LeBoeuf associate Michael T. Hoppe made three trips to Geneva in connection with document production for the Loomis Sayles litigation. This Application seeks only one-half of the normal billing rates for this travel.

# E Summary of LeBoeuf's Services Rendered During Entire Application Period in Each Project Category

Summaries of the nature of each project category are included in Section I.D. above. Tables indicating the names, billing rates, hours spent, and total amounts billed as to each LeBoeuf professional and paraprofessional in each project category, and synopses of the work performed in each project category during the entire Application Period are provided in separate paragraphs below.

## 1. Asset Disposition

a. During the Application Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

		HOURLY	TOTAL	
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	TOTAL FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$245	52.7	12,911.50
Kenneth L. Cannon, II (KLC)	Partner/SL	\$260	9.8	2,548.00
Steven J. McCardell (SJM)	Partner/SL	\$260	101.7	26,442.00
Steven J. McCardell (SJM)	Partner/SL	\$275	42.9	11,797.50
Kevin R. Murray (KRM)	Partner/SL	\$260	0.8	208.00
Joseph M. R. Covey (JMC)	Associate/SL	\$145	16.6	2,407.00
Steven C. Strong (SCS)	Associate/SL	\$180	1.3	234.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	0.5	42.50
Lisa A. McGeary (LAM)	Paralegai/SL	\$90	0.5	45.00
TOTAL HOURS		T.	52.7	56,635.50

b. Services rendered in this project category relate primarily to analysis of factual matters and legal issues and preparation of necessary papers to be filed in the Bankruptcy Court for approval of (i) the sale of the Debtor's large-diameter pipe mill (sale approved and closed and

follow-up motion to approve settlement with purchaser approved); (ii) the proposed sale of real estate known as the Williams Farm property, including evaluation of a lien claim by ITEQ (sale motion withdrawn due to withdrawal of offer; a new motion was drafted for a new possible sale, but, after the work was performed, the Debtor, in conjunction with the Official Bondholders' Committee, determined not to pursue the sale at that time); (iii) the sale of the property known as the Keigley Quarry (sale approved and closed and issues concerning mechanics lien claim and claims asserted by the State of Utah Division of Oil, Gas and Mining addressed); (iv) the approval of a settlement concerning assets sought to be recovered from the Debtor by a motion for relief from the automatic stay filed by Steelbond International and Krystal Bond Corporation (motion settled and release of lien of Westcon, Inc., obtained), and assisting the Debtor to respond to a request by Tube City to remove equipment that was the subject of this motion and settlement; (v) advising the Debtor and preparing a draft motion on an expected offer with respect to a possible sale of the Debtor's HR (human resources) building; (vi) advising the Debtor with respect to disposition of inventory at a finishing center in Chicago, and (vii) commencing review of the Debtor's settlement of a customer receivable with a customer, Ex-L-Tube (motion for approval of settlement filed and approved).

#### Asset Analysis and Recovery

a. During the Application Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$260	8.2	2,132.00
Steven J. McCardell (SJM)	Partner/SL	\$260	2.4	624.00
Steven J. McCardell (SJM)	Partner/SL	\$275	0.7	192.50
Stephen M. Tumblin (SMT)	Partner/SL	\$225	1 <b>2</b> .3	2,767.50
Penrod W. Keith (PWK)	Of Counsel/SL	\$240	72.0	17,280.00

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven C. Strong (SCS)	Associate/SL	\$190	1.6	304.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	4.8	408.00
TOTAL HOURS			102.0	23,708.00

b. The services rendered in this project category were primarily related to (i) review of the liens of Citibank, including UCC filings in all 50 states, the Debtor's pre-petition lender which was repaid out of the Debtor's post-petition financing (this review was conducted in May, 1999, during the 90-day window for a possible challenge to the liens of Citibank established under the District Court's order approving post-petition financing and, due to a delay in processing the three time entries involved, is included in this Application); (ii) review of insurance information regarding the ASARCO litigation (the Debtor was one of several defendants, pre-petition, in litigation commenced in Arizona; counsel for the plaintiff, ASARCO, has requested an agreement to relief from the automatic stay and this request has required analysis); (iii) analysis of an issue concerning the Debtor's recovery of a receivable from one of its customers; (iv) analysis of possible lien avoidance actions as to inventory subject to warehouseman's liens; (v) preparing information for the Debtor to assist the Debtor in reviewing pre-petition transfers for possible preferential or avoidable transfers, including a disputed lien asserted by ITEQ, Inc. and a settlement of the lien claim; and (vi) preparing a description of the status of the Debtor's analysis for the Disclosure Statement.

#### 3. Business Operations

a. During the Application Period, the following LeBoeuf professionals provided services to the estate in this project category:

		HOURLY	TOTAL	
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	TOTAL FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$245	12.7	3,111.50

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon, II (KL)	Partner/SI	\$260	19.8	5,148.00
Frank Cummings (FC)	Partner, DC	\$450	1.8	810.00
Steven J. McCardell (SJM)	Partner/SL	\$260	57.9	15,054.00
Steven J. McCardell (SJM)	Partner/SL	\$275	57.9	15,922.50
Steven J. McCardell (SJM)	Partner/SL	\$305	0.7	213.50
Stephen M. Tumblin (SMT)	Partner/SL	\$225	3.5	787.50
David M. Connors (DMC)	Partner/SL	\$260	4.2	1,092.00
George C. Hammond (GCH)	Partner/SF	\$325	5.0	1,625.00
Penrod W. Keith (PWK)	Of Counsel/SL	\$225	0.3	67.50
Steven C. Strong (SCS)	Associate/SL	\$180	1.7	306.00
TOTAL HOURS		<u> </u>	165.5	44,137.50

b. Services rendered in this project category were primarily related to (i) advising the Debtor concerning business operations under Chapter 11; (ii) advising the Debtor concerning bankruptcy issues related to business arrangements or disputes with suppliers and vendors (including Oxbow Carbon and Minerals, the Debtor's supplier of metallurgical coke; Pacificorp, the Debtor's supplier of electric power; Premier Refractories, a refractory supplier; and Chemical Lime, a lime supplier; and the refusal of the Indiana Harbor Beltway Railroad to deal with the Debtor); (iii) advising the Debtor concerning the State of Utah's claim for payment for coke oven monitoring and filing a motion seeking authority to pay the claim; (iv) advising the debtor concerning the demands of utilities for adequate assurance of performance, concerning operating contracts, and concerning preparation of monthly reports; (v) advising the Debtor concerning bankruptcy issues as to operational aspects of the request and motion for relief from stay filed by Steelbond, Inc., seeking removal of equipment; (vi) advising the Debtor concerning purchase of a substation formerly on lease from Pacificorp; (vii) advising the Debtor concerning bankruptcy issues related to the Debtor's subsidiary Vineyard Management and the CPICOR project (development of cokeless iron making technology)

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 27 of 248

and preparing a motion for approval of a settlement releasing parties from the CPICOR agreement; (viii) assisting the Debtor with bankruptcy related portions of its filings under securities laws, including responding to an auditor's letter requesting information on legal proceedings; (ix) advising the Debtor with respect to a request for payment from a computer software and services provider, SAP America, (x) advising the Debtor with respect to post-petition operations, including requests for payments by holders of pre- and post-petition claims; (xi) advising the Debtor a with respect to the State of Utah's noticed increase of the Debtor's post-petition rate for unemployment insurance based solely on unpaid pre-petition debts, including appeal rights and bankruptcy implications of the assessment (including possible immunity defenses), and conferring with the State of Utah (as a result of these efforts the rate increase was withdrawn); (xii) advising the Debtor as to ERISA compliance issues; (xiii) advising the Debtor concerning renewal of insurance and insurance premium financing; (xiv) advising the Debtor concerning its proposed contract with Duke Energy for purchase of natural gas; (xv) advising the Debtor concerning a possible contract with a Chicago transloading facility; (xvi) advising the Debtor with respect to assertions by Caterpillar that payments were missed when payments were not missed; (xvii) advising the Debtor with respect to purchase of equipment under an expiring lease with Transamerica; (xviii) responding to questions from the Debtor's vendor National Refractories concerning the Debtor's business operations in relation to a proposed large purchase of refractories; (xix) advising the Debtor with respect to use of computer consultants; (xx) advising the Debtor with respect to an alleged failure of payment for insurance and notice of cancellation (and informing the U.S. Trustee as to the matter); (xxi) advising the Debtor with respect to ordinary course renewals of contracts and leases; (xxii) advising the Debtor with respect to the bankruptcy filing of its transportation vendor Quaker Coal and a coal train bound for Geneva; (xxiii) advising the Debtor as to

bankruptcy aspects of its operations under the jurisdiction of the Utah Department of Environmental Quality; (xxiv) answering the questions of a prospective vendor on a purchasing card program (GE Capital) regarding the status of Geneva's bankruptcy case; and (xxv) preparing audit response letters for Geneva's auditors.

#### 4. Case Administration

a. During the Application Period, the following LeBoeuf professionals provided services to the estate in this project category:

		HOURLY	TOTAL	TOTAL
NAME (INITIALS)	TITLE/OFFICE	RATE_	HOURS	FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$245	79.2	19,404.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$260	25.2	6,552.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$280	0.2	56.00
Annette W. Jarvis (AWJ)	Partner/SL	\$260	0.4	104.00
Ralph R. Mabey (RRM)	Partner/SL	\$350	16.0	5,582.50
Ralph R. Mabey (RRM)	Partner/SL	\$370	3.8	1,406.00
Ralph R. Mabey (RRM)	Partner/SL	\$425	3.2	1,360.00
Steven J. McCardell (SJM)	Partner/SL	\$260	243.5	63,310.00
Steven J. McCardell (SJM)	Partner/SL	\$275	129.5	35,612.50
Steven J. McCardell (SJM)	Partner/SL	\$305	2.1	640.50
Stephen M. Tumblin (SMT)	Partner/SL	\$225	89.8	20,205.00
Stephen M. Tumblin (SMT)	Partner/SL	\$240	2.2	516.00
Penrod W. Keith (PWK)	Of Counsel/SL	\$225	8.9	2,002.50
Penrod W. Keith (PWK)	Of Counsel/SL	\$240	20.2	4,848.00
Joseph M. R. Covey (JMC)	Associate/SL	\$145	77.2	11,194.00
Joseph M. R. Covey (JMC)	Associate/SL	\$155	6.3	976.50
Joseph M. R. Covey (JMC)	Associate/SL	\$160	1.4	224.00
Steven C. Strong (SCS)	Associate/SL	\$180	51.3	9,234.00
Steven C. Strong (SCS)	Associate/SL	\$190	2.8	532.00
Steven C. Strong (SCS)	Associate/SL	\$195	1.3	253,50
Loyal C. Hulme (LCH)	Associate/SL	\$145	10.8	1,566.00
Brett F. Randall (BFR)	Associate/SL	\$170	4.4	748.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 29 of 248

		HOURLY	TOTAL	TOTAL
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	FEES
Julie Valdes (J-V)	Associate/SL	<b>\$</b> 130	1.2	156.00
Michael T. Hoppe (MTH)	Associate/SL	\$120	9.8	1,176.00
Melissa Barbanell (MB)	Associate/SL	\$145	0.8	116.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	490.7	41,709.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	286.1	25,749.00
Shauna Henderson (SH)	Paralegal/SL	\$55	2.8	154.00
Laurie Poulson (LP)	Paralegal/SL	\$85	2.5	212.50
TOTAL HOURS			1,573.5	255,600.00

b. During the Application Period, services in this matter included (i) providing various services related to the initial commencement of the case, including (a) advising the Debtor on its compliance with administrative requirements of the Bankruptcy Code and Rules; (b) reviewing and commenting as to matters of local practice and procedure on first day motions and accompanying papers prepared in this case by the Cadwalader firm; (c) preparing the petition and list of 20 largest creditors; preparing and filing schedules and statements; (d) preparing appropriate pro hac vice motions; (e) conferring with the U.S. Trustee on initial matters and requirements and on appointment of committees; (f) conferring with creditors on the formation of committees; (g) giving notice required by the Court and rules of procedure of motions and hearings; (h) preparing and presenting a motion for limiting notice in this case; (i) preparing and maintaining the master service list in this case; (j) compliance with reporting requirements; (k) assisting the Debtor in answering the questions of (and meeting with) employees; (l) obtaining use of cash collateral; (m) advising the Debtor with respect to rulings pertaining to possible conversion of the case; (n) preparing and presenting pleadings pertaining to removal of the case to the district court and referral of the case after disposition

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 30 of 248

by the district court; (o) responding to inquiries on case administration matters by creditors, the U.S. trustee and other parties in interest; (p) assisting in scheduling and presenting the Debtor's motion for extension of the exclusive periods in this case; (q) providing assistance to the Clerk's office concerning matters in connection with claims and pleadings; (r) answering questions of regulatory agencies including the IRS and the SEC; (s) reviewing or preparing in the first instance confidentiality agreements pertaining to information requested by parties in interest; (t) assigning LeBoeuf's paralegal Lisa Fricke (McGeary) to oversee the filing, receipt, distribution, and calendaring of pleadings; (ii) advising the Debtor concerning and responding to informational requests of the United States Trustee; (iii) providing paralegal assistance to the Debtor in receipt and routing of pleadings and correspondence and maintaining case dockets; (iv) coordinating with LeBoeuf lawyers, co-counsel, and other professionals employed by the Debtor, including through weekly telephone conference calls, bankruptcy case projects (litigation and non-litigation) and preparation of weekly project summaries and calendars concerning case assignments and division of labor; (v) responding to case questions concerning application of the automatic stay (including application of the automatic stay to a mechanics lien filed by ITEQ), case status, and informational inquiries from creditors and other parties in interest; (vi) reviewing requests for notice and maintaining appropriate records concerning notices given and parties in interest to receive notice, including maintenance and service of the Master Service List used in this case; (vii) assisting the Debtor, when required, in preparation of monthly financial reports filed with the Court; (viii) coordinating administrative issues with the Clerk of the Court and the office of the United States Trustee, (ix) meeting with parties in interest, preparation of pleadings, analysis of issues, and presentation of evidence pertaining to extension of the Debtor's exclusive periods to file a plan and obtain acceptances; (x) advising and assisting the Debtor with matters of compliance with

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Marla S. Petrini (MSP)	Of Counsel/JK	\$290	0.3	72.50
John Epperson (JE)	Of Counsel/SF	\$195	4.5	877.50
Joseph M. R. Covey (JMC)	Associate/SL	\$145	26.9	3,900.50
Joseph M.R. Covey (JMC)	Associate/SL	\$155	30.6	4,743.00
Joseph M.R. Covey (JMC)	Associate/SL	\$160	166.7	26,672.00
Joseph M.R. Covey (JMC)	Associate/SL	\$195	117.4	22,893.00
Steven C. Strong (SCS)	Associate/SL	\$180	8.7	1,566.00
Steven C. Strong (SCS)	Associate/SL	\$190	0.7	133.00
Steven C. Strong (SCS)	Associate/SL	\$195	2.3	448.50
Loyal C. Hulme (LCH)	Associate/SL	\$145	46.0	6,670.00
Loyal C. Hulme (LCH)	Associate/SL	\$195	0.5	97.50
Brett F. Randall (BFR)	Associate/SL	\$170	0.2	34.00
Britt Ide (BI)	Associate/SL	\$110	0.3	33.00
Robert A. Wood (RAW)	Associate/SL	\$145	7.3	1,051.25
Julie Valdes (J-V)	Associate/SL	\$130	13.0	1,690.00
Julie Valdes (J-V)	Associate/SL	\$165	11.7	1,930.50
Michael T. Hoppe (MTH)	Associate/SL	\$145	21.7	3,146.50
Addie Maudsely (AM)	Associate/SL	\$120	2.5	300.00
Jonathan R. Schofield (JRS)	Associate/SL	\$175	14.7	2,572.50
Melissa Barbanell (MB)	Associate/SL	\$145	14.4	2,088.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	228.8	19,448.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	266.5	23,985.00
Shauna Henderson (SH)	Paralegal/SL	\$50	49.5	2,475.00
TOTAL HOURS			2,063.45	398,038.75

b. During the Application Period, services in this category included (i) research for and preparation of a motion and obtaining an order which approved notice by publication of the claims bar date; (ii) reviewing all reclamation claims, preparing a motion and preparing arguments for disallowance of invalid reclamation claims; (iii) reviewing possible claims of lease and contract creditors, including offset claims; (iv) preparing and filing a motion concerning customer related claims; (v) advising the Debtor with respect to rights of offset, stoppage in transit, and reclamation by various third parties; (vi) advising the Debtor respect to the claims of utilities; (vii)

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 32 of 248

advising the Debtor with respect to the treatment of claims under preferred stock; (viii) advising the Debtor concerning monetary claims of Steelbond regarding its agreement with the Debtor; (ix) advising the Debtor with respect to the CPICOR project and a proposed agreement resolving claims among participants in the project; and reviewing certain proofs of claim filed against the Debtor for possible objection; (x) assigning LeBoeuf's paralegal Lisa Fricke (McGeary) to review all claims filed and maintain a database concerning claims filed in the case, (xi) reviewing all claims filed; (xii) analysis of bankruptcy claims and priority issues in connection with proofs of claim, contested matters and motions (including claims issues related to claims of ASARCO Incorporated, Federal Insurance Company, Oxbow Carbon and Minerals, Inc., U.S. Steel, AIG, Ex-L Tube, Mobius Management, ITEQ, Mannesmann Demag, Waterbury Farrel, bondholder claims, Parr Waddoups, Performix, Ouaker Coal, the United States IRS, the United States EEOC (including claims filed with respect to John Freelove, an ADA claimant, and Troy Lunceford and Denise Heiselt, discrimination claimants), supplemental retiree claims, the claim of Richard M. Allen, customer claims governed by the Court's order on customer claims, the State of Utah, current and former employees, Heckett, Babcock and Wilcox, Duke Energy, GATX Capital Corporation, Voest Alpine, Union Pacific, and Waste Management) (certain of the claims, such as ADA and employment discrimination cases, required discrete consultations with attorneys expert in those fields from LeBoeuf's other offices); (xiii) preparation of draft omnibus claims objections on priority, secured, and miscellaneous unsecured claims, preparation of amended schedules, and responding to demands and positions of creditors and other parties in interest; (xiv) obtaining orders concerning claims for reclamation of goods and analysis of arguments made by USX concerning its large reclamation claim, (xv) conferring with the Debtor's environmental counsel concerning bankruptcy claim issues related to environmental matters (including Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 33 of 248

claims matters related to the Debtor's relationship with USX as seller of the steel plant to the Debtor and permittee under environmental permits); (xvi) responding to inquiries and request from the Clerk's office, creditors, and two committees in this case, and Debtor's exit financing lenders concerning claims; (xvii) obtaining an order of the Court concerning publication of notice of the claims bar date and preparing and filing a certificate of service; (xviii) maintaining a claims database which logs all proofs of claim and amounts and includes information concerning scheduled amounts, disputes, duplications, amendments, and other claim information; (xix) obtaining an order of the Court permitting payment of certain warranty and other customer claims; (xx) bankruptcy claim analysis concerning the mechanics lien filed by ITEQ (fka Brown Minneapolis Tank) on the Debtor's steel plant, Keigley Quarry property, and Williams Farm property, (xxi) advising the Debtor concerning possible claims arising from assumption or rejection of pre-petition contracts and leases and from entering into post-petition contracts or leases; (xxii) advising the Debtor concerning a recoupment argument asserted by Mannesman, the Debtor's sales agent; (xxiii) advising the Debtor concerning claims asserted by carriers of outbound freight; and (xxiv) advising the Debtor concerning the administrative claim asserted by Ronald Brereton and claim issues pertaining to the position of the United Steelworkers of America in connection with this claim; (xxv) seeking amendments to claims filed by creditors to avoid the necessity of filing claim objections; (xxvi) providing claim estimate information for use in plan formulation and negotiation; and (xxvii) assisting the Debtor in settlements with certain creditors, including ITEQ, Waterbury Farrel, US Steel, Ex-L Tube, Mannesmann, Heckett, Voest Alpine, Union Pacific, and the IRS.

# 6. <u>Employee Benefits / Pensions</u>

a. During the Current Period, the following LeBoeuf professionals

administrative requirements of the Court's local rules, guidelines of the United States Trustee, and the Bankruptcy Code, including preparation of amendments to the Debtor's schedules, monthly financial reports, and applicable case deadlines; (xi) assisting the Debtor with respect to obtaining transcripts and other case information; (xii) preparation of orders and pleadings on case administrative matters; and (xiii) advising and assisting the Debtor regarding certain contested matters including litigation involving Loomis Sayles and an appeal before the Bankruptcy Appellate Panel filed by a Geneva Bondholder (Richard M. Allen).

#### 5. Claims Administration and Objections

a. During the Application Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Jon L. Benjamin (JLB)	Partner/SF	\$330	1.0	330.00
Kenneth L. Cannon (KLC)	Partner/SL	\$245	134.7	33,001.50
Kenneth L. Cannon (KLC)	Partner/SL	\$260	233.1	60,606.00
Келпеth L. Cannon (KLC)	Partner/SL	\$280	3.4	952.00
John W. Cotton	Partner/LA	\$410	1.4	574.00
Carl A. Eklund (CAE)	Partner/DE	\$375	0.5	187.50
Charles R. Glasheen (CRG)	Partner/FL	\$370	3.7	1,369.00
Annette W. Jarvis (AWJ)	Partner/SL	\$260	6.6	1,716.00
Steven J. McCardell (SJM)	Partner/SL	\$260	130.5	33,930.00
Steven J. McCardell (SJM)	Partner/SL	\$275	364.6	100,265.00
Steven J. McCardell (SJM)	Partner/SL	\$305	53.6	16,348.00
Kevin R. Murrary (KRM)	Partner/SL	\$260	0.2	52.00
Ronald L. Rencher (RLR)	Partner/SL	\$290	0.8	232.00
Nolan S. Taylor (NST)	Partner/SL	\$260	0.3	65.00
Stephen M. Tumblin (SMT)	Partner/SL	\$270	0.5	135.00
Stephen M. Tumblin (SMT)	Partner/SL	\$285	1.1	313,50
Penrod W. Keith (PWK)	Of Counsel/SL	\$225	69.4	15,615.00
Penrod W. Keith (PWK)	Of Counsel/SL	\$240	22.6	5,424.00
Mark W. Dykes (MWD)	Of Counsel/SL	\$240	0.4	96.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 35 of 248

provided services to the estate in this project category:

		HOURLY	TOTAL	TOTAL
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$245	2.0	490.00
Frank Cummings (FC)	Partner/DC	\$450	1,0	450.00
Frank Cummings (FC)	Partner/DC	\$425	9.9	4,186.25
Ralph R. Mabey (RRM)	Partner/SL	\$350	0.1	_ 35.00
Steven J. McCardell (SJM)	Partner/SL	\$260	45.9	11,934.00
Steven J. McCardell (SJM)	Partner/SL	\$275	1.4	385.00
Kenneth B. Schnoll (KSB)	Partner/SF	\$350	0.3	87.50
Stephen M. Tumblin (SMT)	Partner/SL	\$225	23.5	5,287.50
Joseph M. R. Covey (JMC)	Associate/SL	\$145	4.4	638.00
Steven C. Strong (SCS)	Associate/SL	\$180	102.4	18,432.00
Steven C. Strong (SCS)	Associate/SL	<b>\$</b> 190	3.8	722.00
Michael T. Hoppe (MTH)	Associate/SL	\$110	16.3	1,793.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	0.5	42.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	0.2	18.00
TOTAL HOURS			211.6	44,500.75

b. Services rendered in this project category during the Application Period included (i) research and preparation for, and participation in, the first hearing in this case pursuant to which the Court approved payment of employee salaries, wages, and benefits up to the priority amounts of section 507(a)(3) and (4) of the Bankruptcy Court; (ii) research and preparation of a second motion for approval of payment of certain other employee claims, which motion was granted by the Court; (iii) assistance with matters of procedure and precedent pertaining to the Debtor's motion for approval of its Key Employee Retention Plan, and providing local counsel assistance in the presentation of a motion and a revised motion for approval of the Plan; (iv) advising the staff of the Debtor's Human Resources Department on various questions regarding employee claims, including claims under the Debtor's supplemental retirement plan, that were or were not approved for payment by the Bankruptcy

Code, or the Court orders regarding employee payments; (v) analysis of issues raised by Altius Health Care regarding its claims and its contract, (vi) reviewing employee benefit issues in connection with the administrative claim asserted by Ronald Brereton; (vii) reviewing the supplemental retirement program of the Debtor and claims asserted thereunder, (viii) advising the Debtor concerning contingent claims filed by the Pension Benefit Guaranty Corporation pertaining to the Debtor's pension plan and possible treatment issues concerning the Debtor's pension plan; (ix) advising the Debtor concerning bankruptcy restrictions and court orders in place as to payment of pre-petition employee-related claims; (x) research, analysis, and advice regarding the bankruptcy aspects of an arbitration matter involving a former employee; (xi) assisting the Debtor in obtaining Court approval for its employment of Fenwick & West as special counsel for certain employment matters; (xii) analysis and advice regarding bankruptcy issues concerning the Debtor's 401(k) plan; (xii) research, analysis, and advice regarding the bankruptcy aspects of a fiduciary retained by the Debtor's retirement plan to determine whether or not to invest in the Debtor's securities; and (xiii) assisting the Debtor in evaluating ERISA issues relevant to obtaining dismissal of a federal lawsuit filed against the Debtor's medical benefits plan by a local hospital seeking recovery of denied medical benefits of the Debtor's employee Sharon Griffis.

#### 7. Executory Contracts and Leases

a. During the Application Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$245	33.6	8,232.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$260	152.5	39,650.00
Kenneth L. Cannon, II (KLC)	Partner/SL	\$280	56.4	15,792.00
Ralph R. Mabey	Partner/SL	\$350	0.6	210.00
Steven J. McCardell (SJM)	Partner/SL	\$260	55.7	14,482.00

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$275	89.1	24,502.50
Steven J. McCardell (SJM)	Partner/SL	\$305	54.8	16,714.00
Stephen M. Tumblin (SMT)	Partner/SL	\$225	0.3	67.50
Penrod W. Keith (PWK)	Of Counsel/SL	\$225	6,8	1,530.00
Penrod W. Keith (PWK)	Of Counsel/SL	\$240	0.9	216.00
Joseph M. R. Covey (JMR)	Associate/SL	\$145	27.4	3,973.00
Joseph M. R. Covey (JMR)	Associate/SL	\$155	0.5	77.50
Joseph M. R. Covey (JMR)	Associate/SL	\$160	0.4	64.00
Steven C. Strong (SCS)	Associate/SL	\$180	0.9	162.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	21.8	1,853.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	0.6	54.00
TOTAL HOURS			502.3	127,579.50

b. Services rendered in this project category during the Application Period primarily involved (i) responding to inquiries and demands from and positions taken by contract and lease parties, including motions for relief filed by First Security Bank, Ford Motor Credit, Altius Health, Ryder Integrated Logistics, and Jazz Basketball Investors; (ii) advising the Debtor with respect to requirements of bankruptcy law on contracts; advising the Debtor with respect to a number of specific executory contracts and leases; and preparing and presenting a motion for extension of time to assume or reject non-residential real estate leases under which the Debtor is lessee; (iii) assisting the Debtor to prepare its schedule of executory contracts and unexpired leases; (iv) settlement of a motion filed by Ford Motor Credit seeking relief as to automobile leases; (v) obtaining an order concerning assumption of the Debtor's metallurgical coke contract with Oxbow Carbon & Minerals, Inc., as modified; (vi) advising the Debtor concerning bankruptcy contract issues related to its contract with Chemical Lime; (vii) advising the Debtor concerning equipment lease bankruptcy issues as to expiring leases with Mellon US Leasing (including analysis of true lease/lien perfection issues as to the

lease); (ix) advising the Debtor concerning extension of unassumed contracts; (x) advising the Debtor respecting leases and contracts, including with respect to demands made by various contract parties for payment or assumption; (xi) obtaining extensions of the time for assumption or rejection and obtaining an order regarding rejection of the Debtor's transportation services contract with Ryder Integrated Logistics, Inc.; (xii) advising the Debtor respecting a lease of equipment with Transamerica; (xiii) advising the Debtor with respect to its lease of water to Utah farmers in order to preserve water rights by putting the rights to beneficial use; (xiv) obtaining an order with regard to the Debtor's contract with Mannesmann Pipe & Steel and a related contract with E-L Tube; (xv) obtaining an order with regard to the Debtor's contract with Heckett Multiserv; (xvi) obtaining an order with regard to the Debtor's contract with Duke Energy Trading; (xvii) assisting co-counsel Cadwalader, Wickersham & Taft with a motion to reject the Debtor's plasma fired cupola lease with GATX; (xviii) assisting the Debtor in its assumptions of numerous other major contracts or leases, including those with Duke Energy, Pacificorp (Scottish Power), Voest-Alpine, Air Liquide, Praxair, Union Pacific, Remacor, Caterpillar, Questar, Oxbow, Performix, SAP, U.S. Steelworkers Association, USX, Quaker Coal, Mannesmann Demag, and Southern Fab; (xix) assisting the Debtor in its rejection of the supplemental retirement contract; (xx) advising Debtor regarding USX reclamation claim settlement; and (xxi) reviewing and advising Debtor concerning the Director Deferred Compensation Program.

### 8. Fee / Employment Applications

a. During the Application Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$245	122.1	29,914.50
Kenneth L. Cannon (KLC)	Partner/SL	\$260	8.0	2,080.00

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Frank Cummings (FC)	Partner/DC	\$425	0.3	127.50
Ralph R. Mabey (RRM)	Partner/SL	\$350	1.7	595.00
Steven J. McCardell (SJM)	Partner/SL	\$260	64.1	16,666.00
Steven J. McCardell (SJM)	Partner/SL	\$275	28.2	7,755.00
Steven J. McCardell (SJM)_	Partner/SL	\$305	4.1	1,250.50
Penrod W. Keith (PWK)	Of Counsel/SL	\$225	7.6	1,710.00
Mark W. Dykes (MWD)	Of Counsel/SL	\$240	0.2	48.00
Joseph M.R. Covey (JMR)	Associate/SL	\$160	47.7	7,632.00
Joseph M.R. Covey (JMR)	Associate/SL	\$195	25.3	4,933.50
Steven C. Strong (SCS)	Associate/SL	\$180	146.5	26,370.00
Steven C. Strong (SCS)	Associate/SL	\$190	52.7	10,013.00
Steven C. Strong (SCS)	Associate/SL	<b>\$</b> 195	66.9	13,045.50
Julie Valdes (JV)	Associate/SL	\$110	1.5	165,00
Michael T. Hoppe (MTH)	Associate/SL	\$120	2.6	312.00
Michael T. Hoppe (MTH)	Associate/SL	\$145	8.3	1,203.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	1.9	161.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	7.3	657.00
TOTAL HOURS			597.0	124,639.50

b. The services rendered in this project category during the Application Period involved (i) research and analysis of issues, preparation of applications and supporting papers, preparation for and attendance at hearings, and preparation of proposed orders regarding employment of various professionals for the Debtor in this case, including Parr Waddoups as special counsel, Blackstone Group as financial advisor, Arthur Andersen as accountant, Madson & Metcalf as special counsel for intellectual property issues, Skadden Arps and Gonzalez Luna y Perez de Acha as special counsel for Mexican trade issues, Mercer as employee benefits consultant, Spencer Stuart as executive search consultant, NAI as real estate broker; Schagrin Associates as special trade counsel for certain trade issues (including assisting Schagrin Associates in preparing disclosures), Orrick Herrington & Sutcliffe as special counsel for employee benefits issues (including preparing and furthering the Debtor's applications to expand the scope of employment of Orrick, Herrington & Sutcliffe to include

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 40 of 248

advice on labor negotiations), Fenwick & West as special employment litigation counsel (including researching issues raised by the U.S. Trustee regarding the Debtor's application to employ Fenwick & West and preparing and furthering an amended application and assisting Fenwick & West in amending its declaration in support of the application). Enterprise Appraisal Company as personal property appraiser, Free & Associates as real property appraiser, Casey Equipment, Georgeson Shareholder Communications, and Watson Wyatt, (ii) preparation of various disclosures filed with the Court regarding connections LeBoeuf may have with parties in interest in this case, as well as review of LeBoeuf invoices for billing judgment reductions; (iii) analysis, preparation of responses, and attendance at hearings on employment applications for employment of professionals by the two official committees in this case, and on the motion for, and subsequent Administrative Order regarding, interim procedures for payment of professional fees and expenses, (iv) preparing LeBoeut's five interim fee applications with supporting schedules and exhibits required by the Administrative Order and U.S. Trustee Guidelines; (v) preparing, or assisting in the preparation of, fee applications for certain of the Debtor's other professionals, including William M. Mercer, the Gonzales firm, Spencer Stuart, Fenwick & West, Orrick Herrington & Sutcliffe, and Skadden Arps; (vi) reviewing drafts of a proposed order regarding professional fee procedures and advising the Debtor's professionals regarding these procedures, (vii) analysis and advice concerning the application of the Creditors Committee to amend the fee arrangement with Ernst & Young, its financial advisor; (viii) preparing the detailed notice regarding fee applications filed pursuant to the Court's Administrative Order; (ix) reviewing LeBoeuf monthly invoices for billing judgment reductions and preparing invoice back-up materials requested by U.S. Trustee, (x) analysis and reconciliation of orders approving fee applications, interim payments made, and further amounts approved and payable to case professionals

pursuant to orders; (xi) assisting the Debtor's various non-bankruptcy professionals and the Debtor's lender Congress Financial Corporation in filing and presenting fee applications; (xii) assisting the Debtor in tracking and complying with interim fee objections and payments and orders of the court concerning fee payments; and (xiii) answering the questions of various professionals in the case concerning applications for employment or compensation and reimbursement.

### 9. Fee / Employment Objections

a. During the Application Period, the following LeBoeuf professionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$260	28.7	7,462.00
Steven J. McCardell (SJM)	Partner/SL	\$275	68.3	18,782.50
Steven J. McCardell (SJM)	Partner/SL	\$305	4.1	1,250.50
Nolan S. Taylor (NST)	Partner/SL	\$260	0.3	65.00
Steven C. Strong (SCS)	Associate/SL	\$180	52.4	9,432.00
Steven C. Strong (SCS)	Associate/SL	\$190	24.2	4,598.00
Steven C. Strong (SCS)	Associate/SL	\$195	68.8	13,416.00
Steven C. Strong (SCS)	Associate/SL	\$220	17.3	3,806.00
Patrick S. Malone (PSM)	Associate/SL	\$110	5.9	649.00
Julie Valdes (JV)	Associate/SL	\$130	4.9	637.00
Michael T. Hoppe (MTH)	Associate/SL	\$120	37.1	4,452.00
Michael T. Hoppe (MTH)	Associate/SL	\$145	13.0	1,885.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	1.2	102.00
TOTAL HOURS			326.2	66,537.00

b. The services rendered in this project category during the Application Period involved (i) the objections to the terms of the Debtor's employment of Blackstone as financial advisor and of the Bondholders Committee's employment of Peter Solomon & Co. as financial advisor, including discovery and hearings related thereto; (ii) reviewing and tracking fee invoices submitted by other professionals pursuant to the Administrative Order; (iii) reviewing objections to monthly

professional invoices and preparing schedules for the Debtor of amounts of fees and expenses approved for payment monthly based on the Administrative Order; (iv) researching issues regarding fees and expenses of professionals of creditors on official committees; (v) reviewing the fee applications filed on an interim basis, and objections thereto, and preparing schedules for the Court of amounts of fees and expenses sought and objections filed; (vi) preparing for and participating in all hearings on fee applications; (vii) providing analysis and advice regarding objections raised to fee applications of Congress Financial, The Blackstone Group, Fenwick & West, and Orrick Herrington & Sutcliffe; (viii) preparing for and participating in the separate hearing held on objection to The Blackstone Group's fee application; (ix) providing analysis and advice concerning the Creditors Committee application regarding Ernst & Young Restructuring, preparing an objection thereto, and negotiating a settlement of this issue; and (x) providing analysis and advice regarding objections raised to fee applications of Enterprise Appraisal, The Blackstone Group, and Peter J. Solomon.

#### 10. Financing

a. During the Application Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

		HOURLY	TOTAL	
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$245	77.6	19,012.00
Kenneth L. Cannon (KLC)	Partner/SL	\$260	43.5	11,310.00
Kenneth L. Cannon (KLC)	Partner/SL	\$280	16.2	4,536.00
David M. Grimes (DMG)	Partner/NY	\$375	1.0	375.00
A. Everette James, III	Partner/DC	\$375	5.0	1,875.00
Annette W. Jarvis (AWJ)	Partner/SL	\$260	0.3	78.00
Lon A. Jenkins (LAJ)	Partner/SL	\$245	4.5	1,102.50
Ralph R. Mabey (RRM)	Partner/SL	\$350	96.7	33,845.00
Steven J. McCardell (SJM)	Partner/SL	\$260	217.0	56,420.00
Steven J. McCardell (SJM)	Partner/SL	\$275	50.5	13,887.50
Steven J. McCardell (SJM)	Partner/SL	\$305	35.6	10,858.00

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Ronald L. Rencher (RLR)	Partner/SL	\$260	30.3	7,878.00
Stephen M. Tumblin (SMT)	Partner/SL	\$225	152.9	34,402.50
Stephen M. Tumblin (SMT)	Partner/SL	\$285	0.8	228.00
David M. Connors (DMC)	Partner/SL	\$260	2.8	728.00
Penrod W. Keith (PWK)	Partner/SL	\$225	19.5	4,387.50
Penrod W. Keith (PWK)	Partner/SL	\$240	0.3	72.00
Mark W. Dykes (MWD)	Partner/SL	\$225	85.9	19,327.50
Joseph M. R. Covey (JMC)	Associate/SL	\$145	9.7	1,406.50
Steven C. Strong (SCS)	Associate/SL	\$180	80.1	14,418.00
Steven C. Strong (SCS)	Associate/SL	\$195	0.5	97.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	50.1	4,258.50
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	4.1	369.00
TOTAL HOURS			984.9	240,872.00

b. The services rendered in this project category during the Application Period involved (i) assisting the Debtor to obtain court approval of its debtor in possession facility with Congress Financial Corporation (which included taking the lead in resubmitting the motion for approval of the financing after the court denied the Debtor's initial request, participating in a full rehearing in the bankruptcy court and a full trial in the district court, and responding to inquiries from Congress Financial and creditors concerning the financing and fees payable in connection with the financing after approval); (ii) preparing and presenting the Debtor's motion for authority to enter into a premium financing arrangement in connection with its annual insurance renewal for 1999; (iii) advising the Debtor concerning financing and investment issues raised by the official creditors committee; (iv) reviewing the Emergency Steel Loan Guaranty Program legislation in order to assist the Debtor with financing matters under that legislation; (v) addressing issues with the Debtor's debtor in possession lender as to consent to sales of assets and possible amendments to the credit agreement to grant the Debtor more availability; (vi) assisting the Debtor with respect to questions concerning the bankruptcy

case pertinent to the Debtor's application for a loan guaranty under the Emergency Steel Loan Guaranty Program; (vii) obtaining a court order approving the Debtor's financing with Pacificorp of the Debtor's purchase of substation equipment formerly leased from Pacificorp; (viii) advising the Debtor with respect to court approval of expenses to be paid to the Debtor's proposed lender, Citibank and affiliates of Citibank; (ix) obtaining a court order approving the Debtor's financing with AFCO of its insurance premiums for 2000; and (x) advising the Debtor with respect to its debtor in possession financing with Congress Financial Corporation (and possible amendments to the financing) and its proposed exit financing in connection with its plan of reorganization (including assisting the Debtor in obtaining approval of post-confirmation bridge financing by Albert Fried and Co.). At Geneva's request, a lawyer in LeBoeuf's Washingon D.C. office, Everette James III, assisted in the U.S. Department of Commerce in connection with the proposed exit financing with respect to an issue involving the financing methods used by the Export Import Bank of the United States (which were relevant to the methods the U.S. Department of Commerce could use in connection with the Emergency Steel Loan Guaranty Program).

#### 11. Meetings of Creditors

a. During the Application Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon, II (KLC)	Partner/SL	\$245	4.5	1,102.50
Steven J. McCardell (SJM)	Partner/SL	\$260	39.2	10,192.00
Steven C. Strong (SCS)	Associate/SL	\$180	0.5	90.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	9.4	799.00
TOTAL HOURS			53.6	12,183.50

b. During the Application Period, services rendered in this project category primarily involved (i) assisting the Debtor to prepare for and make its presentation at the Section 341 meeting and initial and follow-up meetings with creditors committees appointed in this case; (ii) assisting the Court and the U.S. Trustee on matters of notice and appointment; (iii) responding to requests from representatives of the official committees appointed in this case; and (iv) assisting the Debtor to prepare for and attend meetings with the official creditors committee on July 20.

#### 12. Miscellaneous Contested Matters

a. During the Application Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

		HOURLY	TOTAL	TOTAL PEEC
NAME (INITIALS)	TITLE/OFFICE	RATE	HOURS_	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$260	25.1	6,526.00
Steven J. McCardell (SJM)	Partner/SL	\$275	39.5	10,862.50
Mark W. Dykes (MWD)	Of Counsel/SL	\$240	0.1	24.00
Steven C. Strong (SCS)	Associate/SL	\$195	10.5	2,047.50
Michael T. Hoppe (MTH)	Associate/SL	\$110	8.9	979.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$85	0.6	51.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	7.8	702.00
TOTAL HOURS			92.5	21,192.00

b. The services rendered in this project category during the Application Period involved (i) stay relief issues as to the motion filed by Ford Motor Credit as to automobile leases; (ii) stay relief issues as to the motion filed by Steelbond as to certain equipment; (iii) stay relief issues as to the request of ASARCO Incorporated and Federal Insurance Company to continue prepetition litigation against the Debtor (including preparation of a proposed stipulation to resolve the matter and obtain relief from claims); (iv) preparation for litigation with ITEQ (fka Brown Minneapolis Tank) concerning its mechanics liens filed post-petition; and (v) advising the Debtor and filing

appropriate pleadings respecting (a) the motion of ASARCO and Federal Insurance Company for relief from the automatic stay; (b) the motion of Oxbow Carbon & Minerals, Inc., for relief from the automatic stay; (c) the mechanics lien claim of ITEQ; (d) settlements of claims with the Debtor's customer Ex-L-Tube; (e) the adversary proceeding filed against the Debtor by Robert Kunz (the proceeding has been dismissed); (f) the motion of Oxbow Carbon & Minerals, Inc., for leave to file a late claim; (g) a complaint filed in the United States District Court for the District of Utah against Geneva's health benefits plan by Columbia St. Mark's Hospital and Geneva's employee Sharon Griffis (the complaint was dismissed after LeBoeuf sent a demand letter seeking dismissal to plaintiffs' counsel); (h) the lawsuit filed against the Debtor by individuals (Hartley, Peacock, and Clayton); (i) the GATX and R. Allen Appeals; and (j) litigation instigated by Loomis Sayles.

#### 13. Plan and Disclosure Statement

a. The Debtor has assigned primary responsibility for preparation of the plan and disclosure statement to Cadwalader Wickersham & Taft. At the Debtor's request, LeBoeuf has assisted in this process, particularly with respect to disclosure concerning case and claims matters for which LeBoeuf has had significant or primary responsibility. During the Application Period, the following LeBoeuf professionals and paraprofessionals provided services to the estate in this project category:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Glen H. Alberich (GHA)	Partner/BO	\$380	1.0	380.00
Kenneth L. Cannon (KLC)	Partner/SL	\$260	21.6	5,616.00
Kenneth L. Cannon (KLC)	Partner/SL	\$280	1,9	532.00
Charles E. Glasheen (CEG)	Parnter/JK	\$390	5.5	2,145.00
Ralph R. Mabey (RRM)	Parnter/SL	\$350	2.3	805.00
Steven J. McCardell (SJM)	Partner/SL	\$260	16.6	4,316.00
Steven J. McCardell (SJM)	Partner/SL	\$275	396.5	109,037.50

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE	TOTAL HOURS	TOTAL FEES
Steven J. McCardell (SJM)	Partner/SL	\$305	210.0	64,050.00
Stephen M. Tumblin (SMT)	Partner/SL	\$270	4.2	1,134.00
George M. Williams (GMW)	Partner/NY	\$560	1.1	616.00
Mark W. Dykes (MWD)	Of Counsel/SL	\$240	3,8	912.00
David E. Gardner (DEG)	Associate/JK	\$245	1.6	392.00
Joseph M. R. Covey (JMC)	Associate/SL	\$155	6.0	930.00
Steven C. Strong (SCS)	Associate/SL	\$180	1.1	198.00
Steven C. Strong (SCS)	Associate/SL	\$195	2.0	390.00
Julie Valdes (J-V)	Associate/SL	\$130	8.7	1,131.00
Michael T. Hoppe (MTH)	Associate/SL	\$145	35.6	5,162.00
Lisa A. McGeary (LAM)	Paralegal/SL	\$90	181.1	16,299.00
TOTAL HOURS			900.6	214,045.50

b. The services rendered in this project category during the Application Period involved (i) preliminary issues regarding development of a plan of reorganization proposal; (ii) at the Debtor's request, reviewing and commenting on a draft plan of reorganization in this case and several drafts of a plan term sheet being developed in conjunction with creditors and provided analysis of certain plan issues; (iii) preparing summary claim information for use in a disclosure statement; (iv) preparing information for use in the Debtor's disclosure statement pertaining to case matters being handled by LeBoeuf, including claims and motion matters; (v) reviewing and editing, at the Debtor's request, draft disclosure statement sections and information prepared by the Debtor or Cadwalader; (vi) reviewing, at the Debtor's request, a draft plan of reorganization prepared by the Debtor and Cadwalader and matters related to implementation of the plan, including the reorganized debtor's possible stock exchange listing; (vii) assisting, at the Debtor's request, with the preparation, filing, and presentation of the disclosure statement in this case; (viii) assisting, at the Debtor's request, with portions of the proposed plan of reorganization in this case; (ix) preparing for the confirmation hearing on the Debtor's proposed plan of reorganization; (x) reviewing and analyzing various objections to

confirmation; (xi) assisting the Debtor to address and resolve remaining issues concerning confirmation of plan; (xii) advising and representing the Debtor respecting litigation instigated by Loomis Sayles against the Debtor; (xiii) assisting the Debtor to comply with post-confirmation requirements; (xiv) assisting and advising the Debtor concerning plan modifications and plan implementation; and (xv) interfacing as requested by the Debtor with other professionals, creditors committees, creditors, the Office of the United States Trustee, and other parties in interest with respect to the plan, disclosure statement, and confirmation.

#### 14. Travel

a. During the Application Period, no LeBoeuf professionals were required to engage in unproductive travel on behalf of the estate:

NAME (INITIALS)	TITLE/OFFICE	HOURLY RATE (for Travel -1/2 usual rate)	TOTAL HOURS	TOTAL FEES
Kenneth L. Cannon (KLC)	Partner/SL	\$122.50	3.9	477.75
Kenneth L. Cannon (KLC)	Partner/SL	\$130.00	1.7	221.00
Ralph R. Mabey (RRM)	Partner/SL	\$175.00	0.8	140.00
Steven J. McCardell (SJM)	Partner/SL	\$130.00	4.3	559.00
Steven J. McCardell (SJM)	Partner/SL	\$137.50	9.6	1,320.00
Steven J. McCardell (SJM)	Partner/SL	\$152.50	1.4	213.50
Stephen M. Tumblin (SMT)	Partner/SL	\$112.50	7.9	888.75
Joseph M. R. Covey (JMR)	Associate/SL	\$72.50	3.9	282.75
Michael T. Hoppe (MTH)	Associate/SL	\$60.00	1.9	114.00
Michael T. Hoppe (MTH)	Associate/SL	\$72.50	2.1	152.25
Melissa Barbanell (MB)	Associate/SL	\$72.50	1.7	123.25
Lisa A. McGeary (LAM)	Paralegal/SL	\$42.50	6.9	293.25
Lisa A. McGeary (LAM)	Paralegal/SL	\$45.00	22.3	1,003.50
TOTAL HOURS			68.4	5,764.50

b. The services in this category during the Application Period involved (i) trips to and from the Debtor's offices in Vineyard, Utah that were necessary for certain LeBoeuf

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 49 of 248

professionals and a paraprofessional to meet with the Debtor's management and employees to answer questions about the bankruptcy case and to compile information for the Debtor's bankruptcy schedules and statements; (ii) trips to and from the Debtor's offices in Vineyard, Utah that were necessary for certain LeBoeuf professionals and a paraprofessional to meet with the Debtor's management and employees to address case matters best handled in face to face meetings; (iii) one trip to Geneva by LeBoeuf's bankruptcy paralegal in connection with preparation of claim and amended schedules information; (iv) two trips to Los Angeles by LeBoeuf's bankruptcy paralegal Lisa A. Fricke (McGeary) (to the offices of Bowne and Co., the financial printer engaged by Geneva) to assist with the printing, assembly, and service of the disclosure statement, ballots, and instructions; (v) one trip to Geneva by LeBoeuf associate Melissa J. Barbanell in connection with document production for the GATX litigation; (vi) one trip to San Francisco by LeBoeuf partner Steven J. McCardell for the deposition of Richard Schwalbe, a GATX witness, in the GATX litigation; (vii) one trip to Geneva by LeBoeuf partner Kenneth L. Cannon to assist in the tour of the plasma-fired cupola at the Geneva plant by GATX counsel and taxing authorities; (viii) two trips to Geneva by LeBoeuf partner Steven J. McCardell, one to assist in the coordination of document production in the Loomis Sayles litigation, and one to attend the deposition of Joe Cannon related to the Loomis Sayles litigation; (ix) three trips to Geneva by LeBoeuf associate Michael T. Hoppe in connection with document production for the Loomis Sayles litigation. This Application seeks only one-half of the normal billing rates for this travel.

### F. Reimbursement Of Expenses

During the Application Period, LeBoeuf incurred actual and necessary expenses in the total amount of \$171,315.23 in connection with the professional services rendered to the estate. Summaries for each of the interim periods from case commencement through September

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 50 of 248

30, 2000, showing the break-down of total expenses by project category and by type of expense, and details of the expenses incurred each month were provided in LeBoeuf's five interim fee applications on file with the Court. A summary for the Current Period (October 1, 2000 through January 3, 2001), showing the break-down in total expenses by project category and by type of expense is attached hereto as Exhibit 3. Details of the expenses incurred each month for the Current Period are included in the invoices attached as Exhibits 2A through 2D hereto. In addition, a composite summary of the entire Application Period (including the Current Period) showing the break-down in total expenses by project category and by type of expense is attached hereto as Exhibit 5. LeBoeuf keeps in its files appropriate detail, including receipts, invoices, reimbursement vouchers, and other supporting information concerning the expenses incurred in this representation, and that information is available for review upon request.

The expenses incurred by LeBoeuf for which reimbursement in this
 Application is sought are consistent with the U.S. Trustee Guidelines and the rules and orders applicable in this case.

### G. <u>Summary of Interim Payments Made</u>

1. Pursuant to the Administrative Orders of this Court establishing procedures for interim compensation and reimbursement in this case, LeBoeuf has submitted five interim fee applications to the Court. The following table summarizes the fees and expenses paid by the estate pursuant to the orders of this Court approving the compensation sought by LeBoeuf in its five interim fee applications.

INVOICE	FEES SOUGHT	FEES PAID TO DATE	EXPENSES SOUGHT	EXPENSES PAID TO DATE
First Interim Fee Application (January 29], 1999 - May 31, 1999)	556,619.50	556,619.50	51,302.51	51,302.51

Second Interim Fee Application (June 1, 1999 - September 30, 1999)	199,044.50	199,044.50	21,420.51	21,420.51
Third Interim Fee Application (October 1, 1999 - January 31,2000)	178,846.00	178,846.00	11,968.76	11,968.76
Fourth Interim Fee Application (February 1, 2000 - May 31, 2000)	181,152.50	181,152.50	13,667.71	13,667.71
Fifth Interim Fee Application June 1, 2000 - September 30, 2000)	247,990.75	198,392.60	29,947.95	29,947.95
TOTALS:	\$1,363,653.25	\$1,314,055.10	\$128,307.44	\$128,307.44

2. Pursuant to the Administrative Order, LeBoeuf has submitted invoices monthly to the Debtor, CWT, the office of the United States Trustee, counsel for the Official Committee of Unsecured Creditors, and counsel for the Official Bondholders' Committee (collectively, the "Reviewing Parties") for the Current Period (October 1, 2000 through January 3, 2001). The invoices attached hereto as Exhibits 2A, 2B, 2C, and 2D are those which were submitted to the Reviewing Parties. Pursuant to the Administrative Order, the Debtor is authorized to pay 80% of undisputed fees and 100% of undisputed expenses 15 days after an invoice is submitted for review to the Reviewing Parties. The following table summarizes the fees and expenses paid by the estate pursuant to the Administrative Order as of the date of this Application.

INVOICE	FEES SOUGHT	FEES PAID TO DATE	EXPENSES SOUGHT	EXPENSES PAID TO DATE
Exhibit 2A (October 2000)	74,892.50	59,914.00	6,959.06	6,958.06
Exhibit 2B (November 2000)	89,582.75	71,666.20	23,291.56	23,291.56
Exhibit 2C (December 2000)	90,500.00	0.00	12,748.30	0.00
Exhibit 2D (January 2000)	16,805.50	0.00	8.87	0.00
TOTALS:	\$271,780.75	\$131,580.20	<b>\$</b> 43,007.79	\$30,249.62

LeBoeuf seeks to have its fees and expenses allowed in the full amount set forth in this Application, but seeks payment of only the difference between the amount allowed in this Application and the amount previously paid to LeBoeuf by the estate pursuant to the submission of periodic invoices and interim fee applications as authorized under the Administrative Order and this

Court's orders approving the compensation sought by LeBoeuf in its five interim fee applications.

4. LeBoeuf understands that if the funds paid by the estate on periodic invoices or interim fee applications are in excess of the amount of compensation or reimbursement of expenses allowed in this Application, LeBoeuf will return such excess to Debtor.

### H. Voluntary Reductions Made by LeBoeuf

- during each of the interim periods from case commencement through September 30, 2000, to the Reviewing Parties, LeBoeuf, in exercising its billing judgment, voluntarily reduced the amount sought for fees and expenses incurred during that period by the total amount of \$32,457.08. The reductions are reflected in each of the invoices provided in LeBoeuf's five interim fee applications already on file with the Court, and are referred to in Section III.F. of the narrative portion of each such interim application.
- 2. Prior to submitting its invoices for the Current Period (October 1, 2000 through January 3, 2001) to the Reviewing Parties, LeBoeuf, in exercising its billing judgment, voluntarily reduced the amount sought for fees and expenses incurred during that period by \$7,946.69. The reductions are reflected in the cover sheets included with each of the invoices attached hereto as Exhibits 2A, 2B, 2C, and 2D.

#### I. <u>Certification</u>

LeBoeuf hereby certifies that the Debtor has reviewed each of the prior interim applications and each of the professional invoices that are a part of this Application, and has advised LeBoeuf of no objection to allowance of the fees and expenses requested herein.

### WHEREFORE, LeBoeuf prays:

- 1. That final compensation and reimbursement be awarded to LeBoeuf in the total amount of \$1,806,749.23, which includes \$1,635,434.00 for professional services rendered and \$171,315.23 for expenses incurred during the Application Period;
- 2. That such amounts be allowed as priority administrative expenses of the estate pursuant to 11 U.S.C. §§ 503(b)(2) and 507(a)(1); and
- 3. That the Debtor be ordered and authorized, pursuant to 11 U.S.C. § 330, to pay such amounts as set forth herein, subject to credit for amounts already paid.

DATED this 5th day of March, 2001.

LeBOEUF, LAMB, GREENE & MacRAE, L.L.P.

Chulell

Meven J. McGardell 1000 Kearns Building 136 South Main Street

Salt Lake City, Utah 84101

Telephone No.: (801) 320-6700

#### **CERTIFICATE OF SERVICE**

I certify that on March 5, 2001, a true and correct copy of the foregoing Application was served upon the following parties via U.S. First Class mail, postage pre-paid:

Dennis Wanlass GENEVA STEEL COMPANY 10 South Geneva Road Vineyard, Utah 84058

Mark C. Ellenberg CADWALADER, WICKERSHAM & TAFT 1201 F. Street, N.W. Washington, D.C. 20004

Stephen E. Garcia KAYE, SCHOLER, FIERMAN, HAYS & HANDLER 200 South Wacker Drive, Suite 3100 Chicago, Illinois 60606

R. David Grant
PARSONS, BEHLE & LATIMER
One Utah Center
201 South Main Street, Suite 1800
Salt Lake City, Utah 84145

Weston L .Harris
PARSONS, DAVIES, KINGHORN & PETERS
185 South State, #700
Salt Lake City, Utah 84111

Laurie Crandall
Peter J. Kuhn
OFFICE OF THE UNITED STATES TRUSTEE
Boston Building
9 Exchange Place, Suite 100
Salt Lake City, Utah 84111-2709

Rauce a Janner

# EXHIBIT 1

# IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF UTAH CENTRAL DIVISION

In re:

GENEVA STEEL COMPANY, A Utah Corporation,

Debtor.

Bankruptcy Case No. 99C-21130

(Chapter 11)

# SUMMARY REQUIRED BY UNITED STATES TRUSTEE GUIDELINES

Fees Previously Requested:

\$1,363,653.25

NAME OF APPLICANT:

Fees Previously Awarded:

\$1,363,653.25

LeBoeuf, Lamb, Greene & MacRae, L.L.P.

Expenses Previously Requested:

\$128,307.44

ROLE IN THE CASE:

Expenses Previously Awarded:

\$128,307.44

Co-Counsel to the Debtor, Geneva Steel Company

Retainer Paid

**\$-**0-

CURRENT APPLICATION:

Fees Requested Expenses Requested \$271,780.75 \$43,007.79

NAME OF PROFESSIONAL/ PARAPROFESSIONAL	YEAR ADMITTED TO PRACTICE	HOURS BILLED CURRENT APPLICATION	RATE	TOTAL FOR APPLICATION
PARTNERS			_	
Glenn H. Alberich	1978	1.00	380	380.00
	1982	64.20	260	16,692.00
Kenneth L. Cannon, II	1982	78.10	280	21,868.00
Kenneth L. Cannon, II	1972	1.40	410	574.00
John W. Cotton	1995	3.70	375	1,387.50
A. Everett James	1972	3.20	425	1,360.00
Ralph R. Mabey	1912	J. <b>2</b> 5		

NAME OF PROFESSIONAL/ PARAPROFESSIONAL	YEAR ADMITTED TO PRACTICE	HOURS BILLED CURRENT APPLICATION	RATE	TOTAL FOR APPLICATION
Steven J. McCardell	1981	155.70	275	42,817.50
Steven J. McCardell	1981	366.40	305	111,752.00
Ronald L. Rencher	1968	0.80	290	232.00
Stephen M. Tumblin	1987	1.90	285	541.50
George M. Williams	1979	1.10	560	616.00
OF COUNSEL/SPECIAL COUNSEL				
Penrod W. Keith	1986	1.00	240	240.00
Mark W. Dykes	1987	3.80	240	912.00
<u>ASSOCIATES</u>				
Joseph M. R. Covey	1997	23.80	160	3,808.00
Joseph M. R. Covey	1997	142.70	195	27,826.50
Michael T. Hoppe	2000	20.10	120	2,412.00
Michael T. Hoppe	2000	80.70	145	11,701.50
Loyal C. Hulme	1996	0.50	195	97.50
Jonathan R. Schofield	1998	0.80	145	116.00
Jonathan R. Schofield	1998	14.70	175	2,572.50
Steven C. Strong	1992	9.40	195	1,833.00
Steven C. Strong	1992	17.30	220	3,806.00
Julie Valdes	1999	8.70	130	1,131.00
Julie Valdes	1999	11.70	165	1,930.50
TOTALS FOR PROFESSIONALS:		1,012.70	_	256,607.00

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 58 of 248

NAME OF PROFESSIONAL/ PARAPROFESSIONAL	YEAR ADMITTED TO PRACTICE	HOURS BILLED CURRENT APPLICATION	RATE	TOTAL FOR APPLICATION
Less Discount for Travel Time Billed At 1/2 Hourly Rate:				(783.25)
NET FEES OF PROFESSIONALS:				255,823.75
Blended Hourly Rate of Professionals:			252.62	
<u>PARALEGALS</u>				
Lisa A. McGeary	N/A	177.30	90	15,957.00
TOTAL FOR PARALEGALS:		177.30		15,957.00
Less Discount for Travel Time Billed at 1/2 hourly Rate:				0.00
NET FEES OF PARALEGALS:				15,957.00
GRAND TOTALS:		1,190.00		\$271,780.75
Blended Hourly Rate of All Billers:			\$228.39	=

**EXHIBIT 2A** 

GENEVA STEEL COMPANY As of October 31, 2000

		Cotobor	Q Q	Ta N		Fax	Cost	Net	Matter
Matter		October	Discount	Fees	Costs	Discount	Discount	Costs	Total
Number	Matter	2000	Discount	622 50				00.0	632.50
117	Business Operations	632.50		00.70	1 429 07	85.41		1 352.66	6.977.66
131	Case Administration	5,625.00		00.020,0	4446.02	104.02		1 369 71	9,050,21
144	Claims Administration & Objections	7,680.50		06.088,7	1,474.04	04.93	30.056	1 305 91	16 723 91
265	Executory Contracts & Leases	15,418.00		15,418.00	1,929.05	20.402		837.34	3 203 84
276	Fee/Employment Applications	2,366.50		2,366.50	45.63	4.10		15.63	1,920,63
277	Fee/Employment Objections	1,905.00		1,905.00	26.030	15 11		235.58	2,118.08
283	Financing	1,882.50		1,862.50	673 1R	35.08	598 70	39.40	923.40
574	Misc. Contested Matters	884.00	_	004.00	2 174 65	23.00	_	1 802.83	802.83 39,883.83
710	Plan & Disclosure Statement	38,081.00		<u>ي</u> 9	0.4	2		0.00	417.50
851	Travel	835.00	00./14	417.30					
	100000000000000000000000000000000000000	76 340 00		417 50 74.892.50 9.844.72	9.844.72		778.38 2,107.28 6,959.06 81,851.56	6,959.06	81,851.56
TOTAL		00.010.07	١			I			

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Pertnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00117) BUSINESS OPERATIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/16/00	sJM	PREPARATION OF RESPONSE TO DRAFT AUDIT LETTER FOR GENEVA'S AUDITORS	2.30
		CENEVII C SALVES	<b>-</b> - <b>-</b> - <b>-</b>
		TOTAL HOURS	2.30

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS		RATE	VALUE
SJ McCARDELL	2.30	AT	\$275 =	632.50

CURRENT FEES	632.50
TOTAL THIS MATTER	632.50

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00131) CASE ADMINISTRATION

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/02/00	SJM	CONFERENCE WITH S. BUNKER REGARDING OMISSION OF BANK STATEMENT FROM AUGUST FINANCIAL REPORT (.10); PREPARE NOTICE OF FILING INFORMATION INADVERTENTLY OMITTED FROM MONTHLY FINANCIAL REPORT FOR AUGUST (.20); REVIEW FINANCIAL INFORMATION RECEIVED FROM GENEVA FOR ADDITION TO MONTHLY FINANCIAL REPORT	0.50
10/03/00	LAM	(.20) MADE FINAL AMENDMENTS TO SCHEDULES D, E AND F	1.80
10/04/00	LAM	(1.8) TELEPHONE CONFERENCE WITH JANET CALBY OF CNA CREDIT INSURANCE REGARDING STEEL TRANSPORT COMPANY (.2); CONTINUED FINAL PREPARATIONS OF AMENDED	5.50
10/05/00	MAJ	SCHEDULES D, E AND F (5.5) CONTINUED FINAL PREPARATIONS OF AMENDED SCHEDULES (4.8)	4.80
10/05/00	KLC	PARTICIPATING IN WEEKLY CONFERENCE CALL ON STATUS OF MATTERS	0.60
10/06/00 10/09/00	LAM LAM	FINAL REVISIONS TO SCHEDULES D, E AND F (3.1) PREPARED AMENDMENT COVER SHEET (0.3); TELEPHONE CONFERENCE AND LETTER TO DENNIS WANLASS REGARDING AMENDMENT COVER SHEET (0.2); TELEPHONE CONFERENCE WITH DENNIS WANLASS REGARDING CREDITORS REED SEARLE, HIGHLAND TRANSPORTATION AND VOEST ALPINE	3.10 2.70

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 63 of 248

.28602 GENEVA STEEL COMPANY 00131 CASE ADMINISTRATION 11/09/00 INVOICE NUMBER 248180 PAGE 2

DATE	ATTY/ PARA		HOURS
		(0.2); FINAL DRAFT OF AMENDED SCHEDULES D, E & F	
10/10/00	LAM	PREPARED CERTIFICATE OF SERVICE REGARDING AMENDED SCHEDULES D, E & F (0.4); PREPARATION OF DOCUMENTS FOR FILING AND SERVICE REGARDING AMENDED SCHEDULES D, E & F (1.5); CONFERENCE WITH DENNIS WANLASS AND	2.20
10/11/00	LAM	STEVE MCCARDELL REGARDING AMENDED SCHEDULES (0.3) INTERNAL PROCEDURES REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME (4.7)	4.70
10/12/00	LAM	INTERNAL PROCEDURES REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME (2.0)	2.00
10/13/00	LAM	CONFERENCE WITH STEVE MCCARDELL REGARDING CLAIMS REMAINING TO BE SETTLED FOR USE IN AUDIT RESPONSE LETTER (0.3); INTERNAL PROCEDURESREVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER	1.60
10/16/00	LAM	CUSTODIAL CONTROL OVER SAME (1.3) UPDATED SCHEDULES D, E & F AS TO SECOND AMENDMENTS	2.00
( (	7 7 1 4	(2.0) REVISED CLAIMS ANALYSIS (1.0)	1.00
10/17/00 10/18/00	LAM LAM	TELEPHONE CONFERENCE WITH JANE CASTELL OF LEHMAN BROTHERS REGARDING CHANGE IN CONTACT PERSON (0.2)	0.20
10/19/00	JRS	TELEPHONE CALL TO BANKRUPTCY COURT APPEALS CLERK REGARDING CROSS-APPEAL BEING SENT TO BAP RATHER THAN DISTRICT COURT; FOLLOW UP WITH JEFF SHIELDS	0.50
10/19/00	LAM	REGARDING MATTER UPDATED DOCKET IN MAIN CASE TO ENSURE COMPLETE DOCUMENTATION OF ALL PLEADINGS FILED IN CASE (0.5)	0.50
10/20/00	PWK	CONFERENCE WITH KEN CANNON, MARK DYKES REGARDING GENEVA STAY ISSUES, SEAL ISSUES	0.60
10/20/00	PWK	CONFERENCE WITH MARK DYKES REGARDING POTENTIAL GENEVA LITIGATION	0.40
10/20/00	LAM	UPDATED DOCKET TO ENSURE COMPLETE DOCUMENTATION OF ALL PLEADINGS (0.2)	0.20
10/23/00	JRS	RESEARCH REGARDING DESIGNATION OF RECORD FOR CROSS-APPEAL; TELEPHONE CONFERENCE WITH BRENDA DOWLER OF BANKRUPTCY COURT REGARDING RECORD	0.30
10/25/00	SJM	DESIGNATION REVIEW DOCKET AND PREPARATION OF NARRATIVE FOR SEPTEMBER AND OCTOBER FINANCIAL REPORTS (1.20); CONFERENCE WITH S. BUNKER REGARDING SEPTEMBER FINANCIAL REPORT (.10); CONFERENCE WITH S. BUNKER	1.40
10/26/00 10/27/00		ON GATX ORDER NEEDED BY AUDITORS (.10) ATTENDING WEEKLY CONFERENCE CALL PREPARE FOR AND ATTEND HEARING ON MOTION TO EXTEND EXCLUSIVITY (.50); CONFERENCE WITH W. HARRIS ON EXCLUSIVITY MOTION (.10); PREPARE MOTION TO EXTEND	

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 64 of 248

28602 GENEVA STEEL COMPANY IN 00131 CASE ADMINISTRATION P 1''19/00

INVOICE NUMBER 248180 PAGE 3

DATE	ATTY/ PARA		HOURS
10/30/00	мн	EXCLUSIVITY THROUGH NEXT CONTINUED CONFIRMATION DATE AND NOTICE (.30) REVIEW CORRESPONDENCE AND POTENTIAL DISCOVERY REQUESTS OF LOOMIS VS. GENEVA (0.7); CONFERENCE WITH DENNIS WANLASS, STEVE MCCARDELL AND KEN JOHNSON REGARDING DISCOVERY IN LOOMIS MATTER	2.50
10/31/00	мн	(1.7); CONFERENCE WITH STEVE MCCARDELL REGARDING LOOMIS DISCOVERY (0.1) REVIEW LOOMIS REQUEST FOR PRODUCTION AND CONFERENCE WITH STEVE MCCARDELL REGARDING REQUEST FOR PRODUCTION (0.5); REVIEW DOCUMENTS IN PREPARATION TO RESPOND TO LOOMIS' DISCOVERY REQUESTS (6.8)	7.30
		TOTAL HOURS	48.30

IKEEPER TIME SUMMARY:	HOURS	RATE	VALUE
KL CANNON, II SJ McCARDELL PW KEITH M HOPPE JR SCHOFIELD LA MCGEARY	1.60 2.80 1.00 9.80 0.80 32.30	AT \$260 = AT \$275 = AT \$240 = AT \$120 = AT \$145 = AT \$90 =	416.00 770.00 240.00 1,176.00 116.00 2,907.00

CURRENT FEES 5,625.00

### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
		24.00	
10/17/00	MESSENGER SERVICE	24.00	24.00
	TOTAL MESSENGER SERVICE		
10/31/00	TELEPHONE		121.17
10/31/00	POSTAGE		68.86
	MISCELLANEOUS CHARGES FACSIMILE -	14.52	
10/31/00			
	ACTUAL LINE COST ONLY -OCTOBER		
	2000	1 000 00	
31/00	MISCELLANEOUS CHARGES	1,080.20	
	REPRODUCTION - OCTOBER 2000		
	TOTAL MISCELLANEOUS CHARGES		1,094.72

Case 99-21130	Doc 1185-1577	Filed 03/05/01	Entered 03/06/07	1 07:27:00	Desc
	Converted fr	om BANCAP	Page 65 of 248		
GENEVA STEE	L COMPANY		INVOIC	E NUMBER	248180

PAGE 4

28602 GENEVA STEEL COMPANY

00131 11/09/00

CASE ADMINISTRATION

DATE		VALUE	
10/09/00	U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR SECOND	20.00	
10/26/00	AMENDED SCHEDULES D, E & F TOTAL FILING FEES PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC	21.21	20.00
10/27/00	RECORDS TOTAL MISCELLANEOUS CHARGES PETTY CASH CUSTODIAN - KAREN	0.72	21.21
10/12/00	KASPERICK - LOCAL TRANSPORTATION LOCAL MILEAGE REIMBURSEMENT TOTAL LOCAL TRANSPORTATION PETTY CASH CUSTODIAN - KAREN	1.98	0.72
10/12/00	KASPERICK - POSTAGE POSTAGE STAMPS FOR PROPOSED ORDERS TOTAL POSTAGE		1.98
	CURRENT EXPENSES .	-	1,352.66
	TOTAL THIS MATTER	•	6,977.66

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00144) CLAIMS ADMINISTRATION & OBJECTIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/02/00	 SJM	REVIEW MESSAGE FROM D. WANLASS ON WORKERS	0.10
10/02/00	50	COMPENSATION CLAIMS	3.00
10/03/00	LAM	REVISED CLAIMS ANALYSIS (3.0)	1.00
10/03/00	SJM	PREPARE FOR AND ATTEND HEARING ON PERFORMIX TECHNOLOGIES LTD. SALE (.60); REVIEW REVISIONS OF ASARCO/FEDERAL RELIEF FROM STAY MOTION AND EMAILS	2
10/04/00	sJM	FROM COUNSEL REGARDING REVISIONS (.40) REVIEW COURT'S ORDER ON GATX CLAIMS (.50); CONFERENCE WITH D. DEBRITO REGARDING CLAIMS QUESTIONS RELEVANT TO NASDAQ APPLICATION (.20); LOCATE CLAIMS AND LITIGATION INFORMATION REQUESTED BY D. DEBRITO (.60); REVIEW AND COMMENT ON REVISED	2.40
10/06/00	LAM	VERSION OF ASARCO STAY LIFT ORDER (1.10) CONFERENCE WITH JOE COVEY REGARDING THIRD OMNIBUS	0.20
10/06/00	JMC	CLAIMS OBJECTIONS (.2) REVIEW INDIVIDUAL CLAIMS FOR THIRD OMNIBUS CLAIMS OBJECTION MOTION (4.5); DRAFT THIRD OMNIBUS MOTION WITH ADDITIONAL INFORMATION ABOUT CLAIMS (2.0)	6.50
10/06/00 10/07/00	SCS SJM	CONFERENCE WITH J. COVEY RE EMPLOYEE STOCK CLAIMS REVIEW AND RESPOND TO MESSAGES ON GATX MOTION FOR	0.10 0.20
109/00	SJM	STAY PENDING APPEAL REVIEW AND ANALYSIS OF GATX MOTION FOR STAY PENDING APPEAL AND APPELLATE PAPERS RECEIVED FROM	2.20

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 67 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 248180 00144 CLAIMS ADMINISTRATION & OBJECTIONS PAGE 2 11/09/00

DATE	ATTY/ PARA		HOURS
		GATX AND PREPARE FOR HEARING ON MOTION FOR STAY	
10/09/00	JMC	PENDING APPEAL REVIEW INDIVIDUAL CLAIMS FOR THIRD OMNIBUS CLAIMS OBJECTION MOTION (.8); REVIEW AND REVISE MOTION WITH CLAIMS OBJECTION INFORMATION (.3)	1.10
10/11/00	SJM	PREPARE FOR HEARING ON R. ALLEN CLAIM OBJECTION (.80); ATTEND HEARING ON R. ALLEN CLAIM OBJECTION (.40); PREPARE ORDER ON OBJECTION AND LETTER TO COURT (.30); PREPARE LETTER TO COURT AND ORDER ON ASARCO/FEDERAL/OXBOW MOTIONS FOR RELIEF FROM STAY	1.90
10/11/00	MALI	(.40) TELEPHONE CONFERENCE WITH ALPHA COURT REPORTERS REGARDING TRANSCRIPT OF GATX HEARING (0.2)	0.20
10/12/00	SJM	ATTEND HEARING ON GATX MOTION FOR STAY PENDING	0.60
10/16/00	SJM	APPEAL REVIEW GATX APPEAL PAPERS AND PREPARE NOTICE OF	2.20
10/17/00	SJM	CROSS APPEAL ANALYSIS OF PLEADINGS AND DOCUMENTS FOR DESIGNATION OF RECORD AND STATEMENT OF ISSUES ON GATX/GENEVA APPEALS (2.10); CONFERENCE WITH K.	2.30
10/23/00	SJM	CANNON REGARDING GATX APPEAL ISSUES (.20) REVIEW GATX STATEMENT OF ISSUES, DESIGNATION OF RECORD, AND TRANSCRIPT ORDERS AND PLEADINGS AND PREPARE DRAFT STATEMENT OF ISSUES AND DESIGNATION	4.80
10/27/00	JMC	OF RECORD ON GENEVA CROSS-APPEAL REVIEW AND REVISE THIRD OMNIBUS CLAIMS OBJECTION MOTION (1.1); REVIEW INDIVIDUAL DUPLICATE AND LATE-FILED CLAIMS AND CLAIMS THAT SHOULD BE RECLASSIFIED AS PROOFS OF INTEREST (2.3); OFFICE CONFERENCE WITH KEN CANNON REGARDING TREATMENT OF	3.70
10/30/00	JMC	VARIOUS CLAIM (.3) REVIEW AND REVISE THIRD OMNIBUS CLAIMS OBJECTION MOTION TO TREAT CLAIMS AS DISCUSSED WITH KEN	1.50
10/30/00	SJM	CANNON REVIEW RESPONSES OF SUPPLEMENTAL RETIREES TO MOTION ON CONTRACTS AND OBJECTION TO CLAIMS AND	0.30
10/31/00	JMC	PREPARE FOR HEARING DRAFT CLAIMS OBJECTION MOTION (.4); REVIEW	1.20
10/31/00	SJM	INDIVIDUAL CLAIMS FOR SAME (.8) REVIEW RESPONSE OF SUPPLEMENTAL RETIREE DEMARCO REGARDING DEBTOR'S OBJECTION AND MOTION AND PREPARE FOR HEARING ON SUPPLEMENTAL RETIREMENT CONTRACT MOTION	0.60
		TOTAL HOURS	36.10

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 68 of 248 INVOICE NUMBER 248180

GENEVA STEEL COMPANY 28602 CLAIMS ADMINISTRATION & OBJECTIONS 00144

PAGE	3

•	•	′	0	9	/	0	0	

SJ McCARDELL	TIMEKEEPER T		HOURS		RATE		VALUE	
FOR CHARGES AND DISBURSEMENTS:  DATE  10/17/00 MESSENGER SERVICE 4.00  10/31/00 TELEPHONE 31.63  10/31/00 POSTAGE 60.06  '31/00 MISCELLANEOUS CHARGES FACSIMILE - 23.86  ACTUAL LINE COST ONLY -OCTOBER 2000  10/31/00 MISCELLANEOUS CHARGES 1,141.80  REPRODUCTION - OCTOBER 2000  TOTAL MISCELLANEOUS CHARGES 1,141.80  REPRODUCTION - OCTOBER 2000  TOTAL MISCELLANEOUS CHARGES 1,165.66  10/16/00 U.S. BANKRUPTCY COURT - FILING 105.00  FEES FILING FEE FOR NOTICE OF APPEAL 105.00  10/26/00 PACER SERVICE CENTER - 6.51  MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES 12.87  10/12/00 PETTY CASH CUSTODIAN - KAREN 12.87  KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER 1.485	JM COVEY SC STRONG		14.00 0.10	AT AT	\$160 \$195	= 2	2,240.00	
DATE  10/17/00 MESSENGER SERVICE 4.00  TOTAL MESSENGER SERVICE 13.63  10/31/00 TELEPHONE 13.63  10/31/00 POSTAGE 60.06  '31/00 MISCELLANEOUS CHARGES FACSIMILE - 23.86  ACTUAL LINE COST ONLY -OCTOBER 2000  TOTAL MISCELLANEOUS CHARGES 1,141.80  REPRODUCTION - OCTOBER 2000  TOTAL MISCELLANEOUS CHARGES  10/16/00 U.S. BANKRUPTCY COURT - FILING 105.00  FEES FILING FEE FOR NOTICE OF APPEAL 105.00  10/26/00 PACER SERVICE CENTER - 6.51  MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS 10.51  10/12/00 PETTY CASH CUSTODIAN - KAREN 12.87  KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS 1.98  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER 14.85		CURRENT	FEES					7,680.50
DATE  10/17/00	FOR CHARGES	AND DISBURSEMEN	NTS:					
10/17/00 MESSENGER SERVICE 4.00  10/31/00 TELEPHONE 13.63 10/31/00 POSTAGE 60.06 10/31/00 MISCELLANEOUS CHARGES FACSIMILE - 23.86 ACTUAL LINE COST ONLY -OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES 1,141.80 REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES 105.00 FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES FILING FEES TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES 105.00  10/26/00 PACER SERVICE CENTER - 6.51 MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES FOR FOTOTAL MISCELLANEOUS CHARGES 12.87  10/12/00 PETTY CASH CUSTODIAN - KAREN 12.87 KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER	ኮአጥድ						VALUE	
10/17/00	DAIL						4 00	
TOTAL MESSENGER SERVICE  10/31/00 TELEPHONE POSTAGE  '31/00 MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY -OCTOBER 2000  10/31/00 MISCELLANEOUS CHARGES REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES  10/16/00 U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES  10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES 10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14.85	10/17/00	MESSENGER SERV	VICE				4.00	4.00
10/31/00			NGER SER	/ICE				
MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY -OCTOBER 2000  10/31/00  MISCELLANEOUS CHARGES REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES  10/16/00  U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES 10/26/00  PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES 10/12/00  PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00  PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85								60.06
ACTUAL LINE COST ONLY -OCTOBER 2000  10/31/00  MISCELLANEOUS CHARGES REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES  10/16/00  U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES  10/26/00  PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES 10/12/00  PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00  PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85		PUSTAGE MISCELLANFOUS	CHARGES	FACS	SIMILE -		23.86	
10/31/00 MISCELLANEOUS CHARGES REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES 10/16/00 U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES 10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES 10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS 10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE PROPOSED ORDER 14.85	:31/00	ACTUAL LINE CO	OST ONLY	-OC1	COBER			
MISCELLANEOUS CHARGES REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES  10/16/00 U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES  10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER								
REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES  10/16/00 U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES  10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE FOR PROPOSED ORDER  14.85	10/31/00	MISCELLANEOUS	CHARGES				1,141.80	
TOTAL MISCELLANEOUS CHARGES  U.S. BANKRUPTCY COURT - FILING FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES  10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER	10/32/00	PEPRODUCTION	<ul> <li>OCTOBE:</li> </ul>	R 200	00			1,165,66
10/16/00  U.S. BANKRUPICY COURT FIBERS FEES FILING FEE FOR NOTICE OF APPEAL TOTAL FILING FEES  10/26/00  PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00  PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00  PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85		TOTAL MISCE	LLANEOUS	CHA	RGES		105 00	1,105.01
TOTAL FILING FEES  10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS 10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85	10/16/00	U.S. BANKRUPT	CY COURT	F.	TTING		103.00	
TOTAL FILING FEES  10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE PROPOSED ORDER  14 85			EE FOR N	OTIC	E OF			
10/26/00 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85			C FFFS					105.00
MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS 10/27/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85	10/06/00	TOTAL FILIN	CENTER	_			6.51	
ACCESS TO COURT ELECTRONIC  RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  14 85	10/26/00	MISCELLANEOUS	CHARGES	PUB:	LIC			
RECORDS TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS STAMPS FOR COURT ORDERS PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER  6.51  12.87  12.87  14.85		ACCESS TO COU	RT ELECT	RONI	C			
TOTAL MISCELLANEOUS CHARGES  10/12/00 PETTY CASH CUSTODIAN - KAREN  KASPERICK - POSTAGE POSTAGE  STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN  KASPERICK - POSTAGE POSTAGE FOR  PROPOSED ORDER  12.87  1.98		RECORDS						6 51
10/12/00  KASPERICK - POSTAGE POSTAGE  STAMPS FOR COURT ORDERS  10/27/00  PETTY CASH CUSTODIAN - KAREN  1.98  KASPERICK - POSTAGE POSTAGE FOR  PROPOSED ORDER  14.85		TOTAL MISCE	LLANEOUS	CHA	RGES		12 87	0.52
STAMPS FOR COURT ORDERS  10/27/00 PETTY CASH CUSTODIAN - KAREN 1.98  KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER	10/12/00	PETTY CASH CU	STODIAN	- KA	REN CE		12.07	
10/27/00 PETTY CASH CUSTODIAN - KAREN 1.98  KASPERICK - POSTAGE POSTAGE FOR  PROPOSED ORDER 14 85		KASPERICK - E	OSIAGE F	יםכ יםכי	.GE			
KASPERICK - POSTAGE POSTAGE FOR PROPOSED ORDER	10/07/00	DETTY CASH CI	JORI ORDI ISTODIAN	- KA	REN		1.98	
PROPOSED ORDER	10/2//00	KVCDEBICK - F	POSTAGE E	POSTA	GE FOR			
TOTAL POSTAGE		PROPOSED ORDE	ER					1/ 05
		TOTAL POSTA	AGE					14.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 69 of 248 INVOICE NUMBER 248180 GENEVA STEEL COMPANY

28602 00144

CLAIMS ADMINISTRATION & OBJECTIONS

PAGE 4

11/09/00

CURRENT EXPENSES

1,369.71

TOTAL THIS MATTER

9,050.21

# LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5808594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00265) EXECUTORY CONTRACTS & LEASES

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

	ATTY/		HOURS
DATE	PARA		0.70
10/02/00	KLC KLC	DRAFTING ORDER ON PERFORMIX MOTION TELEPHONE CONFERENCE TO STEVE MCCARDELL REGARDING	0.20
10/02/00		PERFORMIX HEARING TELEPHONE CONFERENCE FROM WES HARRIS REGARDING	0.10
10/02/00	KLC		0.50
10/02/00	SJM	PERFORMIX HEARING REVIEW AND RESPOND TO MESSAGE FROM S. GARCIA ON REVIEW AND RESPOND TO MESSAGE FROM S. GARCIA ON UNION PACIFIC AGREEMENT (.20); REVIEW MOTIONS FOR APPROVAL OF CONTRACT ASSUMPTIONSREMACOR, UNION	
		/ 301	0.20
10/03/00	KLC	PACIFIC (.30) CONFERENCE WITH STEVE MCCARDELL REGARDING PERFORMIX MATTER	0.20
10/02/00	KLC		0.70
10/03/00 10/03/00	KTC	CALIBIC MOTION ON EXECUTORI CONTIGUE	0.20
10/03/00	KLC	TELEPHONE CONFERENCE FROM MARY ANN KILGORE	
		REGARDING UNION PACIFIC MOTION DRAFTING OMNIBUS MOTION ON EXECUTORY CONTRACTS DRAFTING OMNIBUS MOTION OF EXECUTORY CONTRACTS	1.50 0.20
10/04/00	KLC	DRAFTING OMNIBUS MOTION ON EMBOURDING TELEPHONE CONFERENCE TO STEVE GARCIA REGARDING	0.20
10/04/00	KTC		0.20
10/04/00	KLC	TELEPHONE CONFERENCE TO DALE POOLSON NECESTAL	
		UNION PACIFIC MOTION EMAIL TO MARY ANN KILGORE REGARDING UNION PACIFIC	0.20
10/04/00	KLC		0.50
/04/00	KLC	MOTION DRAFTING ORDER ON UNION PACIFIC MOTION	0.50

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 71 of 248 INVOICE NUMBER 248180

GENEVA STEEL COMPANY . 28602 EXECUTORY CONTRACTS & LEASES 00265 11/09/00

10/12/00 KLC

10/12/00 KLC

10/12/00 KLC

10/12/00 KLC

10/13/00 KLC

**ISSUES** 

ON EXECUTORY CONTRACTS

PAGE 2

0.90

1.10

0.20

0.30

ATTY/ TE PARA  REVIEW DRAFT MOTION ON MULTIPLE CONTRACT ASSUMPTIONS (.30); CONFERENCE WITH K. CANNON ON MOTIONS (.10) PREPARATION FOR HEARING ON UNION PACIFIC MOTION, TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING SAME CONFERENCE WITH DALE POULSON REGARDING UNION PACIFIC MOTION CONFERENCE WITH DALE POULSON REGARDING CONFERENCE FROM DALE POULSON REGARDING CONFERENCE FROM DALE POULSON REGARDING CONFERENCE FROM DALE POULSON REGARDING CONFORM CONTRACT CONFORM CONFERENCE FROM DALE POULSON REGARDING CONFORM CONFERENCE WITH STEVE MOTIONS CONFORM CLAIMS CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIMS CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS CONFERENCE WITH STEVE MCCARDELL REGARDING CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS CONFERENCE WITH LOCAL COUNTACTS CONFERENCE WITH LOCAL COUNTACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS CONFERENCE WITH D. WANLASS TO FINALIZE MOTION ON
REVIEW DRAFT MOTION ON MULTIPLE CONTRACT ASSUMPTIONS (.30); CONFERENCE WITH K. CANNON ON MOTIONS (.10)  REPARATION FOR HEARING ON UNION PACIFIC MOTION, TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING SAME CONFERENCE WITH DALE POULSON REGARDING UNION PACIFIC MOTION  ATTENDING HEARING ON UNION PACIFIC MOTION EMAIL MESSAGE TO MARY ANN KILGORE REGARDING APPROVAL OF UNION PACIFIC ASSUMPTION MOTION  PACIFIC MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION  PACIFIC MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION  PACIFIC MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  PRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  PRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  PRESIDENCE WITH STEVE MCCARDELL REGARDING OXBOW CLAIM  REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING OXBOW CLAIM SETTLEMENT CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
ASSUMPTIONS (.30); CONFERENCE WITH K. CARRON MOTIONS (.10) PREPARATION FOR HEARING ON UNION PACIFIC MOTION, TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING SAME CONFERENCE WITH DALE POULSON REGARDING UNION PACIFIC MOTION ATTENDING HEARING ON UNION PACIFIC MOTION EMAIL MESSAGE TO MARY ANN KILGORE REGARDING APPROVAL OF UNION PACIFIC ASSUMPTION MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION OXBOW CONTRACT PACIFIC MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS NOTICE TIME ON REMACOR AND QUESTAR MOTIONS OVALUATION ON REMACOR, QUESTAR MOTIONS OVALUATION ON REGARDING OXBOW CLAIMS OVALUATION ON REGARDING OXBOW CLAIMS OVALUATION ON REGARDING OXBOW CLAIMS OVALUATION OXBOW OXBOW CLAIMS OVALUATION OXBOW OXBOW CLAIMS OXBOW OXBOW OXBOW CLAIMS OXBOW OXB
MOTIONS (.10) PREPARATION FOR HEARING ON UNION PACIFIC MOTION, TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING SAME CONFERENCE WITH DALE POULSON REGARDING UNION PACIFIC MOTION ATTENDING HEARING ON UNION PACIFIC MOTION EMAIL MESSAGE TO MARY ANN KILGORE REGARDING APPROVAL OF UNION PACIFIC ASSUMPTION MOTION OXBOW CONTRACT DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS NOTICE TIME ON REMACOR AND QUESTAR MOTIONS O/OO KLC DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM COMPERENCE WITH STEVE MCCARDELL REGARDING USX REGARDING OXBOW CLAIMS CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30)  KLC REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS
TELEPHONE CONFERENCE TO KEN JOHNSEN KOUNTON CONFERENCE WITH DALE POULSON REGARDING UNION PACIFIC MOTION ATTENDING HEARING ON UNION PACIFIC MOTION ATTENDING HEARING ON UNION PACIFIC MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION OXBOW CONTRACT DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS NOTICE TIME ON REMACOR AND QUESTAR MOTIONS OVER THE MOTION MOTIONS OVER THE MOTION ON REMACOR, QUESTAR MOTIONS OVER THE MOTION ON REMACOR, QUESTAR MOTIONS OXBOW CLAIM OXBOW CLAIM CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECAMATION CLAIM SETTLEMENT CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30) REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS
PACIFIC MOTION  ATTENDING HEARING ON UNION PACIFIC MOTION  EMAIL MESSAGE TO MARY ANN KILGORE REGARDING APPROVAL OF UNION PACIFIC ASSUMPTION MOTION  OXBOW CONTRACT  OXBOW CITTLE ON REMACOR AND QUESTAR MOTIONS  OXBOW CLAIM CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM  OXBOW CLAIM  OXBOW CLAIM  OXBOW CLAIM  OXBOW CLAIMS  OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX  REGARDING OXBOW CLAIMS  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL  FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
ATTENDING HEARING ON UNION PACIFIC MOTION  KLC EMAIL MESSAGE TO MARY ANN KILGORE REGARDING APPROVAL OF UNION PACIFIC ASSUMPTION MOTION  PO KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CONTRACT  DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  PRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  PRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  PRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  PRESENCE CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM  REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS MCCARDELL REGARDING EXECUTORY CONTRACTS
EMAIL MESSAGE TO MARY ANN KILGORE REGARDING APPROVAL OF UNION PACIFIC ASSUMPTION MOTION APPROVAL OF UNION PACIFIC ASSUMPTION MOTION OXBOW CONTRACT  P/00 KLC DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS O/00 KLC REVISING PROPOSED EX PARTE ORDER ON REMACOR, QUESTAR ASSUMPTION MOTIONS O/00 KLC DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS O/00 KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIM SETTLEMENT CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30) REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS MCCARDELL REGARDING EXECUTORY CONTRACTS
APPROVAL OF UNION PACIFIC ASSUMPTION MOTION 9/00 KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING 0/00 KLC DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS 0/00 KLC REVISING PROPOSED EX PARTE ORDER ON REMACOR, QUESTAR ASSUMPTION MOTIONS 0/00 KLC DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS 0/00 KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING 0/00 KLC REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS 0/00 KLC CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIM SETTLEMENT 0/00 SJM CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING 0BJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30) 11/00 KLC REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS 11/00 KLC CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS 11/00 KLC WITH DE WANLASS TO FINALIZE MOTION ON
OXBOW CONTRACT  9/00 KLC DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  0/00 KLC REVISING PROPOSED EX PARTE ORDER ON REMACOR, QUESTAR ASSUMPTION MOTIONS  0/00 KLC DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  0/00 KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM  0/00 KLC REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS  0/00 KLC CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIM SETTLEMENT  0/00 SJM CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30)  11/00 KLC REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS
OXBOW CONTRACT  DRAFTING EX PARTE MOTION AND ORDER ON REDUCING NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  REVISING PROPOSED EX PARTE ORDER ON REMACOR, QUESTAR ASSUMPTION MOTIONS  DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM  REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS
NOTICE TIME ON REMACOR AND QUESTAR MOTIONS  O/OO KLC REVISING PROPOSED EX PARTE ORDER ON REMACOR, QUESTAR ASSUMPTION MOTIONS  O/OO KLC DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE MOTION ON REMACOR, QUESTAR MOTIONS  O/OO KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CLAIM  REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX RECLAMATION CLAIM SETTLEMENT CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS
QUESTAR ASSUMPTION MOTIONS  0/00 KLC DRAFTING LETTER TO JUDGE CLARK REGARDING EX PARTE  MOTION ON REMACOR, QUESTAR MOTIONS  0/00 KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING  OXBOW CLAIM  0/00 KLC REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY  REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX  RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING  OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL  FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
MOTION ON REMACOR, QUESTAR MOTIONS  0/00 KLC TELEPHONE CONFERENCE FROM DALE POULSON REGARDING  0XBOW CLAIM  REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY  REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX  RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING  OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL  FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
OXBOW CLAIM  O/00 KLC REVIEWING CLAIMS, CONFERENCE WITH LISA MCGEARY  REGARDING OXBOW CLAIMS  O/00 KLC CONFERENCE WITH STEVE MCCARDELL REGARDING USX  RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING  OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL  FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
REGARDING OXBOW CLAIMS  O/00 KLC CONFERENCE WITH STEVE MCCARDELL REGARDING USX  RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING  OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL  FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS
REGARDING OXBOW CLAIMS  CONFERENCE WITH STEVE MCCARDELL REGARDING USX  RECLAMATION CLAIM SETTLEMENT  CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING  OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL  FOR SAP REGARDING OBJECTION TO PLAN (.30)  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
CONFERENCE WITH STEVE MCCARDELL REGARDING USA RECLAMATION CLAIM SETTLEMENT CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30) REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS MCCARDELL REGARDING EXECUTORY CONTRACTS
RECLAMATION CLAIM SETTLEMENT CONFERENCE WITH LOCAL COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.10); CONFERENCE WITH COUNSEL FOR SAP REGARDING OBJECTION TO PLAN (.30) REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS MCCARDELL REGARDING EXECUTORY CONTRACTS
OBJECTION TO PLAN (.10); CONFERENCE WITH COONSIDE  FOR SAP REGARDING OBJECTION TO PLAN (.30)  FOR SAP REGARDING REMAINING EXECUTORY  REVIEWING SCHEDULES REGARDING REMAINING EXECUTORY  CONTRACTS  CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
CONTRACTS CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE MCCARDELL REGARDING EXECUTORY CONTRACTS MCCARDELL REGARDING EXECUTORY CONTRACTS
CONTRACTS  11/00 KLC CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, STEVE  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS
11/00 KLC CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, SIEVE MCCARDELL REGARDING EXECUTORY CONTRACTS MCCARDELL REGARDING EXECUTORY CONTRACTS
MCCARDELL REGARDING EXECUTORY CONTRACTS  MCCARDELL REGARDING EXECUTORY CONTRACTS  MANUACS TO FINALIZE MOTION ON
TO BE NAME OF THE PROPERTY OF
11/00 DOM MODELL TO THE TOTAL CONTRACTS
REJECTION OF SUPPLEMENTAL RETIREMENT C. RAMNITZ OF AND, DURING MEETING, CONFERENCE WITH C. RAMNITZ OF GENEVA REGARDING CONTRACTS (.40); FINALIZE MOTION ON REJECTION OF SUPPLEMENTAL RETIREMENT CONTRACTS, CONFERENCE WITH COURT'S JUDICIAL ASSISTANT REGARDING HEARING, AND PREPARE NOTICE OF HEARING (.60); CONFERENCE WITH COUNSEL FOR SAP REGARDING
OBJECTION TO CONFIRMATION (.20)  CONFEDENCE WITH KEN JOHNSEN, DENNIS WANLASS, ROGER

CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS, ROGER

CONFERENCE WITH STEVE MCCARDELL REGARDING HEARING

FINAL REVISION TO ORDERS ON QUESTAR AND REMACOR

HENRIKSEN, OTHERS REGARDING EXECUTORY CONTRACT

DRAFTING OMNIBUS EXECUTORY CONTRACT MOTION

DRAFTING ORDERS ON QUESTAR, REMACOR MOTIONS

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 72 of 248 INVOICE NUMBER 248180

GENEVA STEEL COMPANY 28602 EXECUTORY CONTRACTS & LEASES 00265 1- '09/00

PAGE 3

•			
DATE	ATTY/ PARA		HOURS
10/13/00	KLC	ATTENDING HEARING ON EXECUTORY CONTRACT	0.90
-	KLC	ASSUMPTIONS, PLAN CONFIRMATION  REPRESENCE TO RICHARD ROSS REGARDING	0.20
10/13/00		DISCUSSIONS WITH PARTIES ON CURE CLAIMS TELEPHONE CONFERENCE TO DALE POULSON REGARDING	0.20
10/13/00	KLC	REMACOR MOTION REVIEWING DRAFT MOTION ON SAP, CONFERENCE WITH	0.60
10/13/00	KLC		0.80
10/13/00	KLC	DRAFTING OMNIBUS MOTION TO ASSUME CONTRACTS AS TO	0.20
10/13/00	KLC	TELEPHONE CONFERENCE TO STEVE CHRISTIANSEN	0.30
10/13/00	KLC	REGARDING USA AGREEMENTS TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING FURTHER ISSUES ON EXECUTORY CONTRACTS FURTHER ISSUES ON EXECUTORY CONTRACTS (1.50):	
10/13/00	SJM	PREPARE DRAFT MOTION ON SAP CONTRACTS (1.50); REVISE DRAFT MOTION (.30); CONFERENCE WITH P. DODSON ON SAP LEGAL ISSUES AND ON FACTUAL ISSUES (.20); ANALYSIS OF LEGAL ISSUES ON SAP CONTRACTS	3.70
16/00	KLC	(1.70) TELEPHONE CONFERENCE FROM HENRY LUNG REGARDING TOUR OF CUPOLA WITH GATX COUNSEL AND COUNTY	0.20
10/16/00	KLC	ASSESSOR TELEPHONE CONFERENCE FROM KEN JOHNSEN REGARDING	0.20
10/16/00	KLC	MOTION TO ASSUME USW CONTRACT CONFERENCE WITH STEVE MCCARDELL REGARDING USW	0.20
10/16/00	KLC	CONTRACT ASSUMPTION TELEPHONE CONFERENCE FROM DALE POULSEN REGARDING	0.20
10/16/00	KLC	EXECUTORY CONTRACT  ON CONTRACTS TO ASSUME	1.50 2.10
10/16/00	KLC	DRAFTING FIRST OMNIBUS MOTION ON ASSUMPTION OF	
10/16/00	KLC	TELEPHONE CONFERENCE TO STEVE CHRISTIANSEN	0.20
10/16/00	KLC	EMAIL MESSAGE TO RICHARD ROSS REGARDING FIRST	0.20
10/16/00	SJM	OMNIBUS MOTION ON ASSUMPTION REVIEW INFORMATION FROM D. WANLASS ON SAP CONTRACT AND PREPARE REVISIONS TO DRAFT MOTION (.50); CONFERENCE WITH K. CANNON REGARDING MOTIONS FOR	0.70
10/17/00	KLC	ASSUMPTION OF CONTRACTS (.20) TELEPHONE CONFERENCE TO STEVE CHRISTIANSEN	1.00
10/17/00	KLC	REGARDING USX CONTRACTS CONFERENCE WITH STEVE MCCARDELL REGARDING GATX	0.40
10/17/00		APPEAL DRAFTING MOTION ON USX CONTRACTS REVIEWING PLEADINGS, DOCUMENTS RELATED TO CUPOLA,	1.10 1.30
17/00 10/17/00 10/17/00	KLC	GATX IN PREPARATION FOR CUPOLA TOOR TOMORROW OUTLINING MOTION ON STEELWORKERS CONTRACT	0.50 3.20

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 73 of 248
INVOICE NUMBER 248180

GENEVA STEEL COMPANY 28602 EXECUTORY CONTRACTS & LEASES 00265 11/09/00

PAGE 4

DATE	ATTY/ PARA		HOURS
		AND LEGAL ISSUES (1.20); CONFERENCE WITH S. CHRISTIANSEN, R. HENRIKSEN, AND K. CANNON REGARDING USX CONTRACT ISSUES (1.0); REVIEW INFORMATION FROM R. ROSS ON CONTRACT SETTLEMENTS (.60); REVIEW AND COMMENT ON DRAFT OMNIBUS MOTION	
10/18/00 10/18/00	KTC KTC	FOR CONTRACT ASSUMPTION (.40) DRAFTING MOTION ON COLLECTIVE BARGAINING CONTRACT CONFERENCE WITH GARY SACKETT, HENRY LUNG, COUNTY ASSESSOR, OTHER TAXING AUTHORITIES, TOUR OF	0.60 2.30
10/19/00	KLC	PLASMA-FIRED CUPOLA AT GENEVA PLANT CONFERENCE WITH JON SCHOFIELD REGARDING GATX	0.20
10/19/00	KLC	APPEAL TELEPHONE CONFERENCE TO JUDGE CLARK'S ASSISTANT FOR HEARING ON SAP MOTION	0.10
10/19/00	KLC	FINAL REVIEW OF SAP MOTION, DRAFTING NOTICE OF HEARING ON SAP MOTION	0.50
10/20/00	KLC	DESITEMING SAD AGREEMENTS	0.40
±0, = -	KLC	MORION MORICE ON SAP MATTER	0.20
10/20/00	KLC	REVISING MOTION, NOTICE ON BAT TELEPHONE CONFERENCE TO STEVE BUNKER REGARDING SAP	0.20
10/20/00	JMC	CONTRACTS WANLASS AND	0.40
10/23/00	KLC	ISSUES CONFERENCE WITH STEVE MCCARDELL REGARDING GATX	0.20
		MATTER REVIEWING DOCUMENTS IN GATX MATTER, DOCKET, ORDERS	0.50
10/23/00	KLC	DRAFTING ISSUES ON APPEAL IN CROSS APPEAL	0.20
10/23/00	KLC	REVIEWING ISSUES ON APPEAL, CONFERENCE WITH STEVE	0.40
10/23/00	KLC	MCCARDELL REGARDING CROSS APPEAL FINAL REVIEW OF DESIGNATION OF RECORD, STATEMENT	0.30
10/23/00	KLC	AR TOUTE ON CHOCK ADDEAL	
10/23/00	KTC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING COMMENTS ON DRAFT OMNIBUS MOTION ON EXECUTORY	0.40
10/23/00	KLC	CONTRACTS REVISING FIRST OMNIBUS MOTION ON ASSUMPTION OF EXECUTORY CONTRACTS	0.40
10/00/00	KLC	TO ASSIME CERTAIN USA AGREEMENTS	0.50
10/23/00		CONFERENCE WITH K. CANNON REGARDING DRAFT OMNIBUS	0.20
10/23/00	SJM	HORION TO RECIME CONTRACTS	0 20
10/24/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING	0.20
10/24/00	KLC	REVISING OMNIBUS MOTION TO ASSUME EXECUTORS	0.30
10/24/00	KLC	TELEPHONE CONFERENCE TO RICHARD ROSS ON FINAL CHANGES TO OMNIBUS MOTION TO ASSUME CONTRACTS	0.10
10/24/00	) KLC	TELEPHONE CONFERENCE FROM DALE POULSON REGARDING HECKETT	
10/24/00	) SJM	PREPARE FOR HEARING ON ASSUMPTION OF SAP CONTRACTS	

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 74 of 248

28602 GENEVA STEEL COMPANY
00265 EXECUTORY CONTRACTS & LEASES
1 19/00

INVOICE NUMBER 248180 PAGE 5

DATE	ATTY/ PARA		HOURS
		(2.40); REVIEW REVISED DRAFT MOTION ON EXECUTORY	
			0.30
10/25/00	KLC	REVISING FIRST OMNIBUS MOTION TO ASSUME CONTRACTS TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING	0.20
10/25/00	KLC	TO ASSIME	
10/05/00	KLC	THE PRIORE CONFEDENCE TO MAREEA PERRY REGARDING	0.10
10/25/00	KLC	ACTION THE READING ON FIRST OMNIBUS MOLION	0.40
10/25/00	KLC	DRAFTING NOTICE OF HEARING ON FIRST OFMISCO	0.40
,,		EXECUTORY CONTRACT MOTION DRAFTING MOTION ON US STEELWORKERS COLLECTIVE	0.50
10/27/00	KLC	DED CRITISTO CONTRACT	
	77 C	REVIEWING COLLECTIVE BARGAINING AGREEMENT BETWEEN	0.70
10/30/00	KLC	CONTRA AND INTERD STEELWORKERS	0.40
10/30/00	KLC	POLITICIANO CINTAG FILED BY HNITED STEELWORKERS	1.90
10/30/00	KLC	DRAFTING MOTION TO ASSUME UNITED STEELWORKERS	1.50
		AGREEMENT MOTION	0.30
10/30/00	KLC	MEMO REGARDING USWA MOTION TELEPHONE CONFERENCE FROM GARY SACKETT REGARDING	0.10
10/30/00	KLC	ON THE TOCKER	0 70
30/00	LAM	THE ROY BENSON REGARDING	0.30
30,00		MOTION TO REJECT SUPPLEMENTAL RETIRES CONTRACTS	
		(0.3) DRAFTING SECOND OMNIBUS EXECUTORY CONTRACT MOTION	1.90
10/31/00	KLC	TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING	0.30
10/31/00	KLC	TOUR DACKARD TOURES IN MOTION	
10/31/00	KLC	TELEPHONE CONFERENCE FROM GARY SACKETT REGARDING	0.20
10/31/00		CIRCLE ICCIEC	0.10
10/31/00	KLC	TELEPHONE CONFERENCE FROM LORI LOOMIS REGARDING	• • •
		STEELWORKERS ASSUMPTION MOTION	
		TOTAL HOURS	58.90

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
KL CANNON, II SJ McCARDELL JM COVEY LA MCGEARY	45.20	AT \$260 =	11,752.00
	13.00	AT \$275 =	3,575.00
	0.40	AT \$160 =	64.00
	0.30	AT \$90 =	27.00

15,418.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 75 of 248 INVOICE NUMBER 248180

28602 GENEVA STEEL COMPANY INVOICE 00265 EXECUTORY CONTRACTS & LEASES PAGE 6

#### FOR CHARGES AND DISBURSEMENTS:

11/09/00

DATE		VALUE	
10/17/00	MESSENGER SERVICE	8.00 12.00	
10/31/00	MESSENGER SERVICE TOTAL MESSENGER SERVICE		20.00 29.28
10/31/00 10/31/00	TELEPHONE POSTAGE		165.27
10/31/00	MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY -OCTOBER	6.02	
10/31/00	2000 MISCELLANEOUS CHARGES	1,063.20	
10/26/00	REPRODUCTION - OCTOBER 2000 PACER SERVICE CENTER - MISCELLANEOUS CHARGES PUBLIC ACCESS TO COURT ELECTRONIC	4.55	
10/06/00	RECORDS TOTAL MISCELLANEOUS CHARGES FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, KLC TO STEPHEN E.	9.67	1,073.77
	GARCIA OF HOPKINS & SUTTER ON 10/2/00 TOTAL AIR EXPRESS	2.64	9.67
10/12/00	PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS	,	
10/27/00	PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE 16 POSTAGE	5.28	
	STAMPS FOR COURT ORDERS TOTAL POSTAGE		7.92
	CURRENT EXPENSES		1,305.91
	TOTAL THIS MATTER		16,723.91

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00276) FEE/EMPLOYMENT APPLICATIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/02/00	JMC	TELEPHONE CONFERENCE WITH STEVE GARCIA REGARDING EMPLOYMENT OF WATSON WYATT (.1)	0.10
10/02/00	JMC	TELEPHONE CONFERENCE WITH TRICIA SPENCE REGARDING FEE APPLICATION OF SPENCER STUART (.1) COORDINATE SENDING COPY OF DECLARATION TO SAME (.1)	0.20
10/02/00	SJM	REVIEW AND EDIT ORDERS ON 9-14 FEE APPLICATION HEARING (.60); REVIEW SKADDEN ARPS CONFIDENTIALITY ISSUE AND PREPARE DRAFT MOTION AND EMAIL MESSAGE TO K. CANNON AND S. STRONG REGARDING THIS ISSUE	1.30
10/04/00	LAM	(.70) CONFERENCE WITH JOE COVEY REGARDING WATSON & WYATT	0.20
10/04/00	JMC	EMPLOYMENT APPLICATION (.2) TELEPHONE CONFERENCE WITH STEVE STRONG REGARDING WATSON WYATT APPLICATION (.2); DRAFT PROPOSED ORDER APPROVING EMPLOYMENT OF WATSON WYATT (.6); COORDINATE SENDING SAME TO PETER KUHN WITH A	1.10
10/04/00	SJM	LETTER (.3) CONFERENCE WITH S. BUNKER REGARDING FEE ESTIMATES (.10); CONFERENCE WITH S. STRONG REGARDING ERRORS IN FEE APPLICATION ORDERS (.10); REVIEW AND APPROVE LETTER TO COURT ON REVISED ORDERS AND NOTIFY PARTIES IN INTEREST OF CORRECTIONS (.30)	0.50
09/00	JMC	TELEPHONE CONFERENCE WITH TRICIA SPENCE REGARDING	0.20

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 77 of 248

28602 GENEVA STEEL COMPANY
00276 FEE/EMPLOYMENT APPLICATIONS
11/09/00

DATE	ATTY/ PARA		HOURS
		FEE APPLICATION AND MONTHLY INVOICE PROCEDURES FOR PAYMENT (.2)	
10/10/00	SCS	CONFERENCE WITH M. HOPPE RE REVIEW OF AUGUST PROFESSIONAL FEES	0.10
10/10/00	JMC	TELEPHONE CONFERENCE WITH PETER KUHN REGARDING FEE APPLICATION REGARDING CASEY EQUIPMENT	0.10
10/11/00	JMC	TELEPHONE CONFERENCE WITH CASEY EQUIPMENT REGARDING DISCUSSION WITH PETER KUHN REGARDING UNPRODUCTIVE TRAVEL TIME (.4); OFFICE CONFERENCE WITH STEVE STRONG REGARDING THE SAME (.2); DRAFT LETTER TO DON CASEY REGARDING POTENTIAL OBJECTION BY U.S. TRUSTEE (1.0); REVIEW ADMINISTRATIVE ORDER FOR PAYMENT OF PROFESSIONALS AND U.S. TRUSTEE FEE GUIDELINES (.7)	2.30
10/11/00	MH	CONFERENCE WITH JOE COVEY REGARDING DON CASEY AND TRUSTEE'S OBJECTION TO CASEY'S FEE APPLICATION	0.40
10/12/00	MH	CALL CASEY EQUIPMENT TO RESOLVE FEE ISSUE (0.3); CALL US TRUSTEE REGARDING CASEY EQUIPMENT (0.2)	0.50
10/16/00		TELEPHONE CONFERENCES WITH PETER KUHN REGARDING CASEY EQUIPMENT FEE APPLICATION (.2); TELEPHONE CONFERENCES WITH MARY JO BEATTY REGARDING REDUCTION OF ADMINISTRATIVE TIME (.3); DRAFT LETTER TO JUDGE CLARK WITH PROPOSED ORDER AWARDING CASEY'S FEES AND AN ORDER ALLOWING WATSON WYATT'S EMPLOYMENT (.8); DRAFT CASEY FEE ORDER AND WATSON WYATT EMPLOYMENT ORDER (.5); REVIEW LOCAL RULE REGARDING ENTERING OF ORDER WITHOUT A HEARING (.1) TELEPHONE CONFERENCES WITH PETER KUHN REGARDING REDUCTION OF CASEY'S FEES (.2); TELEPHONE	3.10
		CONFERENCE TO MARY JO BEATTY OF CASEY EQUIPMENT REGARDING THE SAME (.3); COMPLETE DRAFTING PROPOSED ORDERS APPROVING THE CASEY FEE APPLICATION AND THE WATSON WYATT EMPLOYMENT APPLICATION (.5); SEND COPY OF FEE APPLICATION TO PETER KUHN FOR COMMENT AND CHANGES (.3); DRAFT FEE SUMMARY CHART TO ATTACH TO CASEY EQUIPMENT'S REDUCED FEE REQUEST (1.0); COMPLETE DRAFTING LETTER TO JUDGE CLARK WITH FEE AND EMPLOYMENT APPLICATIONS (.6); COORDINATE SENDING LETTER TO JUDGE CLARK AND OTHER INTERESTED PARTIES (.2)	
10/17/00	LAM	TELEPHONE CONFERENCE WITH VALERIE MACDONALD OF CADWALADER REGARDING PAYMENT OF FEES (0.2)	0.20
10/24/00	MH	WRITE LETTER TO PROFESSIONALS CONCERNING FEE APPLICATION	0.40
10/25/00	MH	PREPARE LETTERS REMINDING PROFESSIONALS OF 5TH INTERIM FEE APPLICATION (0.1); PREPARE 5TH INTERIM FEE APPLICATION FOR LLGM (1.2)	1.30
10/26/00	JMC	REVIEW DOCKET REGARDING ORDER ON CASEY EQUIPMENT	0.10

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 78 of 248

28602 GENEVA STEEL COMPANY 00276 FEE/EMPLOYMENT APPLICATIONS 1 19/00 INVOICE NUMBER 248180 PAGE 3

OURS
0.30
1.30

TIMEKEEPER	HOURS	RATE		VALUE
SJ McCARDELL JM COVEY M 'JOPPE 3TRONG LA MCGEARY	1.80 9.40 2.60 0.10 0.40	AT \$1 AT \$1 AT \$1	75 = 60 = 20 = 95 = 90 =	495.00 1,504.00 312.00 19.50 36.00

CURRENT FEES

2,366.50

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
10/17/00	MESSENGER SERVICE	4.00	
10/31/00	MESSENGER SERVICE	4.00	
	TOTAL MESSENGER SERVICE		8.00
10/31/00	TELEPHONE		2.42
10/31/00	POSTAGE		199.13
10/31/00	MISCELLANEOUS CHARGES FACSIMILE -	8.22	100.10
	ACTUAL LINE COST ONLY -OCTOBER	0.22	
	2000		
10/31/00	MISCELLANEOUS CHARGES	482.00	
	REPRODUCTION - OCTOBER 2000	462.00	
	TOTAL MISCELLANEOUS CHARGES		490.22
10/13/00	LITIGATORS OVERNIGHT L.C	101.25	450.22
,,	REPRODUCTION-OUTSIDE LIGHT	101.25	
	LITIGATION COPIES		
_ 13/00	LITIGATORS OVERNIGHT L.C	35.06	
	REPRODUCTION-OUTSIDE LIGHT	15.86	
	LITIGATION COPIES		

Ca	ase 99-21130	Doc 1185-1577 Converted fr	Filed 03/05/01 om BANCAP F	Entered 03/06/01 07 Page 79 of 248			
28602 00276 11/09/00	•	EL COMPANY YMENT APPLICA:	rions	INVOICE PAGE 4	NUMBER	248180	

DATE		VALUE	
10/12/00	TOTAL REPRODUCTION-OUTSIDE PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR PROPOSED ORDERS	20.46	117.11
	TOTAL POSTAGE	<u></u>	20.46
	CURRENT EXPENSES		837.34
	TOTAL THIS MATTER		3,203.84

# LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations 1000 Kearns Building 136 South Main Street Salt Lake City, UT 84101 (801)320-6700

Employer Identification No. 13-5608584

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058

248180 INVOICE NUMBER 11/09/00 INVOICE DATE 28602 CLIENT NUMBER

RE: (00277) FEE/EMPLOYMENT OBJECTIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

	ATTY/		HOURS
DATE	PARA	ADC!	0.50
10/02/00	SCS	TELECONFERENCE WITH L. LOUMIS RE SKADDEN ARPS' REQUEST FOR PAYMENT (0.1); RESEARCH SKADDEN ARPS FEE APPLICATIONS AND INVOICES (0.3); VOICE MESSAGE TO L. LOUMIS RE SKADDEN INTERIM APPLICATIONS (0.1)	
10/02/00	SCS	TO L. LOUMIS RE SKADDEN INTERIM REPORT WITH EXCHANGE VOICE MESSAGES AND TELECONFERENCES WITH TENNES OF FENWICK & WEST RE PRE-PETITION CLAIM	0.30
10/04/00	SCS	AND BALLOTING ON PLAN TELECONFERENCE WITH P. KUHN RE PROPOSED ORDER ON ROTHCHILD FEE APPLICATION AND PROPOSED EMPLOYMENT OF WATSON WYATT (0.2), AND CONFERENCE WITH S. MCCARDELL RE SAME (0.1); CONFERENCES WITH M. HOPPE RE ROTHCHILD AND WITH J. COVEY RE WATSON WYATT	0.60
		(0.3) REVISE PROPOSED ORDERS TO CORRECT ERRORS AND SEND	1.00
10/04/00	MH		0.40
10/05/00	SCS	TO JUDGE AND APPROPRIATE PARTY OF THE TOTAL TO SUBJECT TO JUDGE AND APPROPRIATE PARTY OF THE SUBJECT TO JUDGE AND EXCHANGE MESSAGES OF THE SUBJECT TO JUDGE AND APPROPRIATE PARTY OF THE SUBJECT TO JUDGE AND	0.10
•		- $        -$	0.20
10/10/00	MH	CONFERENCE WITH LAUREE TANNER REGARDING PROFESSIONAL INVOICES	0.30
/11/00	SCS	PROFESSIONAL INVOICES CONFERENCE WITH J. COVEY RE P. KUHN'S COMMENTS CONCERNING CASEY FEE APPLICATION (0.20; PREPARE	0.30

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 81 of 248 INVOICE NUMBER 248180

28602 00277 11/09/00

GENEVA STEEL COMPANY FEE/EMPLOYMENT OBJECTIONS

PAGE 2

DATE	ATTY/ PARA		HOURS
		LETTER TO GENEVA RE MONTHLY PAYMENTS APPROVED FOR	
10/11/00	MH	PROFESSIONALS (0.1) REVIEW PROFESSIONAL INVOICES AND PREPARE CHART	1.70
10/12/00	scs	SUMMARIZING INVOICES (1.4), INVOICES (0.3) SEND OFF CHART OF PROFESSIONALS' INVOICES (0.3) TELECONFERENCE WITH S. BUNKER RE APPROVED PAYMENTS TO PROFESSIONALS ON JULY AND AUGUST INVOICES (0.1); REVIEW APPROVAL LETTERS RE SAME AND RE-SEND	0.20
10/17/00	SCS	TO S. BUNKER (0.1) CONFERENCE WITH J. COVEY RE SUBMITTING ORDERS ON CONFERENCE WITH J. COVEY RE SUBMITTING ORDERS ON WYATT EMPLOYMENT	0.10
10/23/00	MH	REVIEW PROFESSIONALS' INVOICES FOR SERVICES	1.70
10/24/00	SCS	RENDERED IN SEPTEMBER CONFERENCE WITH A. JARVIS AND TELECONFERENCE WITH A. JARVIS AND S. SMITH RE YESTERDAY'S HEARINGS AND STATUS OF PROFESSIONAL INVOICES CIRCULATED	0.40
10/24/00	SCS	PURSUANT TO COURT'S ADMINISTRATIVE FEE ORDER VOICE MESSAGE TO AND CONFERENCE WITH M. HOPPE RE LETTER NEEDED TO ALL CASE PROFESSIONALS REGARDING UPCOMING DEADLINE FOR FILING INTERIM FEE APPLICATIONS (0.2); CONFERENCE WITH M. HOPPE RE HIS REVIEW OF VARIOUS MONTHLY INVOICES OF	0.40
		PROFESSIONALS (0.2)	0.70
10/24/00 10/26/00	MH MH	REVIEW PROFESSIONALS' INVOICES AND DISCOSS WITH	0.50
10/27/00	SCS	STEVE MCCARDELL REVIEW AND ANALYSIS OF CORRESPONDENCE FROM PAM MARCUS OF SKADDEN ARPS RE \$25,000 INVOICE ON MEXICAN MATTER (0.4); REVIEW AND ANALYSIS OF PRIOR GONZALES AND SKADDEN EMPLOYMENT APPLICATIONS AND ORDERS AND FEE APPLICATIONS AND ORDERS (1.4); CONFERENCES WITH K. CANNON RE SAME (0.2);	
10/31/00	SCS	CONFERENCES WITH R. CANNON RE SIZE (0.1); DRAFT CONFERENCES WITH S. MCCARDELL RE SAME (0.7) E-MAIL MESSAGE TO L. LOUMIS RE SAME (0.7) TELECONFERENCE WITH W. HARRIS RE SCHEDULING NEXT HEARING ON INTERIM FEE APPLICATIONS (0.1); REVIEW PRIOR SCHEDULING ORDERS AND DETERMINE APPROPRIATE DATES IN DECEMBER FOR HEARING (0.1)	0.20
		TOTAL HOURS	12.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 82 of 248 NOICE NUMBER 248180 GENEVA STEEL COMPANY PAGE 3

00277 --/09/00

28602 FEE/EMPLOYMENT OBJECTIONS

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RA'	ΓE	VALUE
M HOPPE SC STRONG	5.80 6.20	Tr. i	\$120 = \$195 =	696.00 1,209.00

CURRENT FEES

1,905.00

### FOR CHARGES AND DISBURSEMENTS:

TOR CILLIA		VALUE	
DATE			7.72
10/31/00 10/26/00	TELEPHONE  PACER SERVICE CENTER -  MISCELLANEOUS CHARGES PUBLIC  ACCESS TO COURT ELECTRONIC	7.91	
	RECORDS TOTAL MISCELLANEOUS CHARGES		7.91
	CURRENT EXPENSES		15.63
	TOTAL THIS MATTER		1,920.63

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00283) FINANCING

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/02/00	<b></b>	PREPARE FOR CONFERENCE WITH K. JOHNSEN AND E.  JAMES REGARDING ISSUES BETWEEN CITIBANK AND GOVERNMENT (.30); CONFERENCE WITH K. JOHNSEN REGARDING STATUS OF CITIBANK/GOVERNMENT ISSUES ON EXIT FINANCING (.10); PREPARE MEMO TO E. JAMES OF DC OFFICES REGARDING STATUS OF CITIBANK/GOVERNMENT	0.60
10/12/00	<b>AE</b> J	ISSUES ON FINANCING (.20) TELEPHONE CALL WITH S. MCCARDELL AND KEN JOHNSON, GENEVA STEEL REGARDING STEEL LOAN GUARANTEE BOARD	0.20
10/12/00	AEJ	MEETING AND ACTIONS. TELEPHONE CALL WITH TROY CRIBB, ASSISTANT SECRETARY OF COMMERCE FOR IMPORT ADMINISTRATION DECARDING GENEVA STEEL AND COMMERCE ROLE IN BOARD	0.50
10/12/00	AEJ	MEETING SET FOR FRIDAY, OCTOBER 13. REVIEW AND EDIT LETTER FROM JOSEPH CANNON TO DIRECTOR OF THE EMERGENCY STEEL LOAN GUARANTEE	0.50
10/12/00	AEJ	BOARD ("ESGB").  REVIEW CITIBANK LETTER FROM ANTHONY BOON, MANAGING DIRECTOR, TO MARGUERITE OWEN, COUNSEL TO THE ESGB	0.20
10/12/00	AEJ	AND LETTER FROM MARKSOERT AND MCCLAY.  MAIZEL, MILLBANK, TWEED, HADLEY AND MCCLAY.  ANALYZE GUARANTEE AGREEMENT MULTIPLE LENDER FORM  (14 PAGES) AND PREPARE STRATEGY FOR CALL TO ROBERT	1.40

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 84 of 248 INVOICE NUMBER 248180

GENEVA STEEL COMPANY 28602 FINANCING 00283 17/09/00

PAGE 2

	- mm3/ /		HOURS
DATE	ATTY/ PARA		
10/12/00	AEJ	MALLET, U.S. COMMERCE DEPUTY SECRETARY.  TELEPHONE CALL TO ROBERT MALLETT, U.S. COMMERCE DEPUTY SECRETARY REGARDING GENEVA STEEL AND ESGB PROGRAM. DISCUSSION WITH MR. MALETT REGARDING COMMERCE STRATEGY FOR BOARD MEETING AT 8;30 AM THE	0.50
10/12/00	AEJ	FOLLOWING MORNING. PREPARATION AND TRANSMISSION OF COMMUNICATION TO PREPARATION AND TRANSMISSION WITH MALLETT AND	0.20
10/12/00	AEJ	STEVE MCCARDELL ON DISCOURSEL STRATEGY. GENEVA STEEL LETTER AND OVERALL STRATEGY. TELEPHONE CONVERSATION WITH STEVE MCCARDELL REGARDING E-MAIL AND GENEVA STEEL STRATEGY. REGARDING E-MAIL AND GENEVA AND D. WANLASS	0.20
10/30/00	SJM	REGARDING E-MAIL AND OBMINIST AND D. WANLASS CONFERENCE WITH K. JOHNSEN AND D. WANLASS REGARDING POSSIBLE ADDITIONAL AVAILIBITITY FROM CONGRESS FINANCIAL (.20); CONFERENCE WITH J. CANNON REGARDING POSSIBLE ADDITIONAL AVAILABILITY FROM CONGRESS FINANCIAL (.10); ANALYSIS OF PROCEDURAL REQUIREMENTS FOR ADDITIONAL AVAILABILITY FROM CONGRESS FINANCIAL (.40); REVIEW INFORMATION FROM R. HENRIKSEN REGARDING INFORMATION FOR CITICORP ON FINANCING (.50)	
		TOTAL HOURS	5.50

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
AE JAMES, III	3.70	AT \$375 =	1,387.50
SJ McCARDELL		AT \$275 =	495.00

1,882.50 CURRENT FEES

#### FOR CHARGES AND DISBURSEMENTS:

1011 01-1-1		VALUE	
DATE			
10/31/00	MESSENGER SERVICE TOTAL MESSENGER SERVICE TELEPHONE	12.00	12.00 0.36 12.80
'31/00 31/00	POSTAGE MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY -OCTOBER 2000	5.36	

•	Case 99-21130	Doc 1185-1577	Filed 03/05/01	Entered 03/06/01 07:27:00 [	Desc
			om BANCAP	Page 85 of 248 INVOICE NUMBER	248180
28602	GENEVA STE	EL COMPANY		PAGE 3	

FINANCING

00283 11/09/00

NA THE		VALUE	
DATE			
10/31/00	MISCELLANEOUS CHARGES	142.20	
10/06/00	REPRODUCTION - OCTOBER 2000 TOTAL MISCELLANEOUS CHARGES FEDERAL EXPRESS CORPORATION - AIR	13.99	147.56
	EXPRESS FEDEX, SJM TO EVERETT JAMES OF LLG&M IN WASHINGTON, D.C. ON 9/28/00	10.00	
10/26/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO MARK C. ELLENBERG OF CADWALADER,	18.88	
10/26/00	WICKERSHAM & TAFT ON 10/25/00 FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO STEPHEN E. GARCIA OF HOPKINS & SUTTER ON	17.99	
10/06/00	10/25/00 TOTAL AIR EXPRESS SALT CITY COURIERS - MESSENGER SERVICE OUTSIDE MESSENGER SERVICE	12.00	50.86
	FOR 9/1-30/00 TOTAL MESSENGER SERVICE		12.00
	CURRENT EXPENSES		235.58
	TOTAL THIS MATTER		2,118.08

TOTAL THIS MATTER

#### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058

INVOICE NUMBER
INVOICE DATE 1
CLIENT NUMBER

248180 11/09/00 28602

RE: (00574) MISC. CONTESTED MATTERS

ATTY/

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	PARA		HOURS
10/04/00	SJM	REVIEW COMPLAINT FILED AGAINST HOWARD JOHNSON & COMPANY AND GENEVA BY PAUL HARTLEY, PAUL PEACOCK, AND GLADE CLAYTON (.50); CONFERENCE WITH C. RAMNITZ REGARDING COMPLAINT AND, DURING	1.30
		CONFERENCE, CALL WITH COUNSEL FOR PLAINTIFFS TO DISCUSS LAWSUIT (.50); REVIEW CONTRACT BETWEEN HOWARD JOHNSON AND USX AND PREPARE LETTER TO COUNSEL FOR PLAINTIFFS ON DISMISSAL OF LAWSUIT (.30)	
10/06/00		REVIEW AND ANALYSIS OF LETTER FROM J. ROMERO WITH GATX'S EX PARTE MOTION FOR EXPEDITED HEARING ON STAY PENDING APPEAL (0.2); TELECONFERENCES WITH M. ELLENBERG RE SAME (0.2); TELECONFERENCE WITH J. ROMERO RE SAME (0.1); TELECONFERENCE WITH W. HARRIS RE SAME (0.1); REVIEW GATX'S NOTICE OF APPEAL AND COURT'S OCTOBER 3 ORDERS APPEAL FROM (0.3); REVIEW MOTION JUST RECEIVED FOR STAY PENDING APPEAL AND TELECONFERENCE WITH M. ELLENBERG RE SAME (0.6); PREPARE FOR AND ATTEND MEETING WITH JUDGE CLARK (WITH J. ROMERO, W. HARRIS, AND M. ELLENBERG VIA TELEPHONE) RE GATX'S MOTION FOR EXPEDITED HEARING ON STAY PENDING APPEAL (0.8); VOICE MESSAGES TO S. MCCARDELL AND	2.70

28602 GE		erted from BANC ANY		red 03/06/01 07:27:00 7 of 248 INVOICE NUMBE PAGE 2	
DATE P	K. CANNON DENDING AP	PEAL (0.2);	FOLLOW-UP '	ION FOR STAY TELECONFERENCE	HOURS
		LENBERG RE G TO PLAN (0.2		ION AND SAP	
				TOTAL HOURS	4.00
TIMEKEEPER	TIME SUMMARY:	1.30 AT		VALUE  357.50 526.50	
	CURREN	r fees			884.00
FOR CHARGES	AND DISBURSEME	NTS:			
DATE				VALUE	
10/31/00	TELEPHONE MISCELLANEOUS ACTUAL LINE C			10.83	4.32
10/31/00	2000 MISCELLANEOUS REPRODUCTION	- OCTOBER 20		22.60	22.42
10/27/00	PETTY CASH CU KASPERICK - P		REN	1.65	33.43
	ORDER TOTAL POSTA	GE			1.65
	CURREN	T EXPENSES			39.40

TOTAL THIS MATTER

923.40

#### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00710) PLAN & DISCLOSURE STATEMENT

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/02/00	SJM	REVIEW MESSAGES FROM M. ELLENBERG AND S. GARCIA ON SEC ISSUES ON PLAN (.10); REVIEW AND RESPOND TO LETTER FROM SHAREHOLDER (.20); CONFERENCE WITH B. DOWLER REGARDING CONFIRMATION OBJECTIONS OF SHAREHOLDERS (.20); REVIEW CONFIRMATION OBJECTIONS OF SHAREHOLDERS (.20); REVIEW DOCKET FOR FURTHER CONFIRMATION HEARING OBJECTIONS (.20); CONFERENCE WITH S. HEIM REGARDING VOTING BY DEBT ACQUISITION CORPORATION (.20); REVIEW FINANCIAL INFORMATION FROM GENEVA (.20); PREPARE FOR HEARING ON CONFIRMATION AS TO VOTING ISSUES (.60); ANALYSIS OF SEC ISSUES AS TO CONFIRMATION (2.60)	4.50
10/03/00	LAM	CONFERENCE WITH BROKER IN CHICAGO REGARDING VOTING PROCEDURES (.2)	0.20
10/03/00	MLS	CONFERENCE CALL WITH GENEVA, CADWALADER, AND BLACKSTONE REGARDING ISSUES AS TO CONFIRMATION OF PLAN (1.0); PREPARE FOR HEARING ON CONFIRMATION (.30); REVIEW INFORMATION FROM M. ELLENBERG ON SEC POSITION ON 1145 EXEMPTION AND PROVISIONS OF DISCLOSURE STATEMENT AND 1145 (.40)	1.70
10/04/00	SJM	CONFERENCE WITH H. MCCORTER, GENEVA SHAREHOLDER, REGARDING HIS QUESTIONS (.20); REVIEW NEW SHAREHOLDER OBJECTIONS TO CONFIRMATION (.30);	1.10

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 89 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 11/09/00

DATE	ATTY/ PARA		HOURS
		REVIEW AND RESPOND TO LETTER FROM USWA COUNSEL REGARDING WORKERS' COMPENSATION CLAIMS AND PLAN (.50); CONFERENCE WITH COURT'S JUDICIAL ASSISTANT REGARDING CONFIRMATION HEARING SCHEDULE (.10)	
10/05/00	LAM	TELEPHONE CONFERENCE WITH BONDHOLDER MYRNA ROSENFELD REGARDING VOTING (.2)	0.20
10/06/00	LAM	TELEPHONE CONFERENCE WITH PAUL MAINARDI OF SAP REGARDING INTENT TO OBJECT TO CONFIRMATION (.2); REVIEWED OBJECTIONS TO PLAN OF REORGANIZATION FILED BY RALPH AND RUTH DRIGGS, PAUL AND JEAN HANKS, HOWARD AND LYMAN SPENCER, CONSULTNET, VALERIE GIBERSON AND DENISE SABIN (.8)	1.00
10/06/00	SCS	TELECONFERENCE WITH P. MANDARINI RE SAP'S OBJECTION TO CONFIRMATION (0.1); VOICE MESSAGE TO S. MCCARDELL RE SAME (0.1); TELECONFERENCE WITH K. JOHNSEN RE SAME (0.1)	0.30
10/07/00	SJM	REVIEW AND RESPOND TO MESSAGES ON SAP OBJECTION TO CONFIRMATION	0.30
10/09/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING OBJECTIONS TO CONFIRMATION	0.20
10/09/00	KLC		0.90
10/09/00	SJM	REVIEW AND ANALYSIS OF OBJECTIONS TO CONFIRMATIONSHAREHOLDERS, SEC, US TRUSTEE, GATX, CONSULTNET AND PREPARATION OF DRAFT RESPONSE TO OBJECTIONS (9.70); CONFERENCE WITH K. JOHNSEN REGARDING OBJECTIONS TO CONFIRMATION (.10); REVIEW INFORMATION FROM CATERPILLAR REGARDING CURE PAYMENTS (.10)	9.90
10/10/00 10/10/00 10/10/00	KLC KLC SJM	REVIEWING SAP OBJECTION TO CONFIRMATION REVIEWING GATX PLEADINGS MEETINGS WITH GENEVA AND CO-COUNSEL TO PREPARE FOR CONFIRMATION HEARING, ANALYZE OBJECTIONS AND PLAN ISSUES, PREPARE DRAFT CONFIRMATION ORDER, RESPOND TO INQUIRIES FROM AND POSITIONS OF PARTIES IN INTEREST, PREPARE TESTIMONY FOR CONFIRMATION HEARING	0.70 0.70 9.80
10/10/00	J-V	INITIAL RESEARCH ON WHETHER PA RECOGNIZED DUTY OF GOOD FAITH AND FAIR DEALING IN ALL CONTRACTS (1.0); FOLLOW UP RESEARCH ON SUBLETIES OF SUPREME COURT AND SUPERIOR COURT RULINGS (3.4); FLAG AND LABEL CASES FOR EASY REFERENCE (0.3); CONFERENCE WITH STEVE MCCARDELL REGARDING FINDINGS AND ASSIGNMENT TO REFINE RESEARCH	4.70
10/10/00	LAM	TELEPHONE CONFERENCE WITH DOCKETING CLERK REGARDING ANY OBJECTIONS TO CONFIRMATION FILED SINCE OCTOBER 5, 2000 (0.2); CONFERENCE WITH STEVE MCCARDELL REGARDING OBJECTIONS (0.1); TELEPHONE CONFERENCE WITH LORI PETERS OF GENEVA REGARDING	1.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 90 of 248 INVOICE NUMBER 248180

GENEVA STEEL COMPANY

PAGE 3

28602		PIDDE COLLECT	
00710	PLAN	& DISCLOSURE	STATEMENT
17/09/00			

DATE	ATTY/ PARA		HOURS
		PLAN AND DISCLOSURE STATEMENT (0.2); PROVIDED COPIES OF PLAN AND DISCLOSURE STATEMENT TO JEFF LARSEN OF MARSH USA (0.2); TELEPHONE CONFERENCE WITH FRANCISCO CABALLERA OF CITIBANK MEXICO REGARDING PLAN AND DISCLOSURE STATEMENT AND	
10/11/00	KLC	CONFIRMATION PROCEDURE (0.3) REVIEWING OBJECTION, MOTION FOR STAY PENDING APPEAL OF GATX	0.70
10/11/00	KLC	COMPERENCE WITH STEVE MCCARDELL REGARDING GATA	0.90
10/11/00	SJM	OBJECTIONS, DRAFTING STIPULATION ON GATX MATTERS MEETINGS WITH GENEVA AND CO-COUNSEL TO PREPARE FOR CONFIRMATION HEARING, REVIEW VOTING, PREPARE WITNESSES FOR HEARING, ADDRESS OBJECTIONS TO CONFIRMATIONSAP, GATX, SEC, INCLUDING CONFERENCES WITH COUNSEL FOR SAP AND SEC AND PREPARATION OF DRAFT STIPULATIONS ON VOTING ISSUES, INCLUDING CONFERENCE WITH COURT'S JUDICIAL ASSISTANT REGARDING CONTINUANCE DATES FOR	8.70
11/00	J-V	LICENSE ASSIGNMENT IN PA CASES (2.5); CONFERENCE WITH STEVE MCCARDELL REGARDING RESEARCH (0.2); SHEPARDIZE CASES AND PREPARE FOR STEVE (0.6); DRAFT MEMO AND ATTACH CASES AND GIVE TO STEVE	3.90
10/11/00	LAM	(0.6) REVIEWED OBJECTIONS TO CONFIRMATION REGARDING DOCKETS 946, 947, 948, 949, 951 AND 956 (0.6)	0.60
10/12/00	KLC	CONFERENCE WITH STEVE MCCARDELL, MARK ELLENBERG ON	0.30
10/12/00	KLC		0.20
10/12/00	SJM	MEETINGS WITH GENEVA AND CO-COUNSEL TO PREPARE CONFIRMATION HEARING, INCLUDING TO RESOLVE CONFIRMATION OBJECTIONS OF SAP AND GATX, ADDRESS FINANCING ISSUES; CONFER WITH PARTIES IN INTEREST REGARDING OPEN MATTERS, INCLUDING ALL SHAREHOLDERS OBJECTIONS TO PLAN WHO LEFT PHONE NUMBERS, US TRUSTEE, SEC, GATX, SAP, CONSULTNET, PREPARATION OF PLEADINGS ON FURTHER EXTENSION OF EXCLUSIVITY; PREPARATION OF NOTICE OF FILING AFFIDAVIT OF BALLOTING; REVIEW AFFIDAVIT OF BALLOTING; PREPARATION OF RESPONSES TO SAP OBJECTIONS; CONFERENCE WITH E. JAMES REGARDING FINANCING	11.80
'12/00 12/00	J-V LAM	ISSUES FOLLOW UP WITH STEVE MCCARDELL; RESEARCH COMPLETE TELEPHONE CONFERENCE WITH JEANNETTE OF ALARM COMPANY REGARDING CONFIRMATION HEARING (0.2); TELEPHONE CONFERENCE WITH ALPHA COURT REPORTERS	0.10 0.60

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 91 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 11/09/00

DATE	ATTY/ PARA		HOURS
		REGARDING TRANSCRIPT OF HEARING REGARDING RICHARD ALLEN OBJECTION (0.2); MEMORANDUM TO STEVE MCCARDELL REGARDING REQUEST BY DAVID SHAPIRO OF KEILIN & COMPANY (0.2)	
10/13/00	SJM	PREPARE FOR AND ATTEND HEARING ON CONFIRMATION, 1121 MOTION, AND CONTRACT ASSUMPTIONS AND PRESENT EX PARTE MOTION ON 1121 SCHEDULING TO COURT	2.00
10/13/00	SJM	MEETINGS WITH GENEVA, BONDHOLDERS COUNSEL, AND CO-COUNSEL REGARDING REMAINING ISSUES FOR CONFIRMATION OF PLAN AND WORK ON POSSIBLE RESOLUTIONS	4.80
10/13/00	LAM	TELEPHONE CONFERENCE WITH BONDHOLDER, ROBERT KIE, REGARDING CONFIRMATION STATUS (0.2); TELEPHONE CONFERENCE WITH SHAREHOLDER, JEANNETTE CLARK, REGARDING CONFIRMATION STATUS (0.2); TELEPHONE CONFERENCE WITH ALPHA COURT REPORTERS REGARDING TRANSCRIPT OF JUDGE CLARK'S COMMENTS REGARDING CONFIRMATION (0.2)	0.60
10/16/00	SJM	CONFERENCE WITH GENEVA, CADWALADER, BLACKSTONE, AND PARR REGARDING OUTSTANDING ISSUES AND WORK PLAN TO RESOLVE	1.40
10/16/00	LAM	TELEPHONE CONFERENCE WITH SHAREHOLDER, JUDY JENKINS, REGARDING PLAN PROVISIONS (0.3)	0.30
10/17/00	SJM	PREPARE FOR CONTINUED HEARING ON CONFIRMATIONREMAINING OBJECTIONS, EVIDENTIARY PRESENTATION, AND SATISFACTION OF CONFIRMATION REQUIREMENTS (1.70); REVIEW AND RESPOND TO MEMO FROM E. JAMES ON FINANCING (.20); REVIEW INFORMATION FROM K. JOHNSEN ON MARK-UP OF GOVERNMENT GUARANTEE (.80); REVIEW TRANSCRIPT OF 10-13 CONFIRMATION HEARING (.10)	2.80
10/17/00	LAM	TELEPHONE CONFERENCE WITH ALAN HARKAVY, ATTORNEY FOR GLOBAL SERVICES/MID-SOUTH TERMINALS REGARDING STATUS OF CONFIRMATION (0.2)	0.20
10/18/00	KLC	TELEPHONE CONFERENCE FROM MARK ELLENBERG REGARDING BONDHOLDER ISSUES	0.20
10/18/00	KLC	CONFERENCE WITH MARK DYKES REGARDING BONDHOLDER ISSUES	0.30
10/18/00	KLC	TELEPHONE CONFERENCE WITH MARK DYKES TO MARK ELLENBERG REGARDING BONDHOLDER ISSUES	0.30
10/18/00	KLC	TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING BONDHOLDER ISSUES	0.20
10/18/00	KLC	TELEPHONE CONFERENCE TO STEVE MCCARDELL REGARDING BONDHOLDER ISSUES, TELEPHONE CONFERENCE WITH STEVE TO KEN JOHNSEN REGARDING BONDHOLDER ISSUES	0.40
10/18/00	KLC	TELEPHONE CONFERENCE FROM STEVE MCCARDELL REGARDING FURTHER BONDHOLDER ISSUES	0.20
10/18/00	SJM	CONFERENCES WITH M. ELLENBERG AND K. CANNON	2.70

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 92 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 1 '79/00

DATE	ATTY/ PARA		HOURS
		REGARDING LOOMIS POSITION ON PLAN, ANALYSIS OF ISSUES, AND PREPARE FOR POSSIBLE HEARING	
10/18/00	MWD	RESEARCH AND READING CASES ON SEALING OF COMPLAINTS AND PAPERS UNDER 9018	0.90
10/19/00	KLC	CONFERENCE WITH MARK DYKES REGARDING BONDHOLDER ISSUES	0.20
10/19/00	KLC	TELEPHONE CONFERENCE TO MARK ELLENBERG WITH MARK DYKES REGARDING BONDHOLDER ISSUES	0.20
10/19/00	KLC	TELEPHONE CONFERENCE FROM STEVE MCCARDELL REGARDING BONDHOLDER ISSUES	0.20
10/19/00	KLC	DRAFTING PLEADINGS ON REQUEST TO SEAL RECORD	0.40
10/19/00	KLC	TELEPHONE CONFERENCE WITH MARK DYKES TO MARK ELLENBERG REGARDING BONDHOLDER ISSUES	0.20
10/19/00	KLC	TELEPHONE CONFERENCE FROM STEVE MCCARDELL REGARDING STATUS OF MATTERS	0.20
10/19/00	KLC	DRAFTING, REVISING PLEADINGS ON SEALING RECORD OF ADVERSARY PROCEEDING	1.60
10/19/00	KLC	TELEPHONE CONFERENCE TO SEAN EGAN REGARDING STATUS OF MATTER	0.20
.9/00	KLC	EMAIL TO MARK ELLENBERG REGARDING DRAFTS OF PLEADINGS TO SEAL RECORD	0.20
10/19/00	SJM	CONFERENCES WITH M. ELLENBERG AND K. CANNON REGARDING LOOMIS POSITION ON PLAN, REVIEW DRAFT MOTION AND PREPARE FOR POSSIBLE HEARING	2.50
10/19/00	MWD	TELEPHONE CONFERENCE WITH SHAWN EGAN REGARDING FILING LOOMIS COMPLAINT	0.10
10/19/00	MWD	TELEPHONE CONFERENCE WITH BILL STILLGEBAUER REGARDING FILING LOOMIS COMPLAINT UNDER SEAL	0.10
10/19/00	MWD	CONTINUE RESEARCH AND READING CASES ON SEALING OF COMPLAINTS AND PAPERS UNDER RULE 9018 AND OTHERWISE	0.70
10/19/00	MWD	TELEPHONE CONFERENCE WITH KEN CANNON AND COUNSEL FOR LOOMIS REGARDING COMPLAINT	0.30
10/20/00	KLC	REVISING PLEADINGS TO SEAL RECORD, TELEPHONE CONFERENCE FROM STEVE MCCARDELL REGARDING SAME	0.50
10/20/00	KLC	TELEPHONE CONFERENCE TO GLENN ALBERICH REGARDING DELIVERING DOCUMENTS TO STEVE MCCARDELL	0.20
10/20/00	SJM	CONFERENCES WITH M. ELLENBERG AND K. CANNON REGARDING LOOMIS POSITION ON PLAN AND ANALYSIS OF ISSUES	1.30
10/20/00	G/A	TELEPHONE CALL FROM KEN CANNON IN SALT LAKE CITY OFFICE; PULL UP COPIES OF DOCUMENTS IN SALT LAKE CITY LIBRARY, MAKE COPIES AND HAVE THEM DELIVERED TO STEVE MCCARDELL AT WESTIN HOTEL	0.50
. 33/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING LOOMIS ACTIONS	0.20
10/23/00	KLC	TELEPHONE CONFERENCE TO SEAN EGAN REGARDING ACTIONS TO BE TAKEN BY LOOMIS	0.20

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 93 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 11/09/00

DATE	ATTY/ PARA		HOURS
10/23/00	KLC	CONFERENCE WITH STEVE MCCARDELL, TELEPHONE CONFERENCE WITH STEVE MCCARDELL AND MARK ELLENBERG REGARDING LOOMIS ACTIONS, PROCEDURAL ISSUES	0.50
10/23/00 10/23/00	KLC SJM	REVIEWING COMPLAINT FILED BY LOOMIS CONFERENCES WITH M. ELLENBERG AND K. CANNON REGARDING LOOMIS POSITION ON STANDBY COMMITMENT AND PREPARE FOR FURTHER PROCEEDINGS (.40); REVIEW LOOMIS ACTION, ANALYSIS OF ISSUES, AND PREPARE DRAFT MOTION CONCERNING RECORD OF ACTION (2.40); CONFERENCES WITH K. JOHNSEN, M. ELLENBERG, AND COURT'S SCHEDULING CLERK REGARDING POSSIBLE CONTINUANCE OF CONFIRMATION HEARING (.60); CONFERENCE WITH T. BECKETT REGARDING STATUS OF CONFIRMATION (.20)	0.50
10/23/00		TELEPHONE CONFERENCE WITH LORRAINE OF BURTON LUMBER REGARDING STATUS OF CONFIRMATION (0.2)	0.20
10/24/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING MOTION TO SEAL ADVERSARY PROCEEDING	0.10
10/24/00	KLC	TELEPHONE CONFERENCE FROM SEAN EGAN REGARDING MOTION TO SEAL	
10/24/00	KLC	TELEPHONE CONFERENCE WITH STEVE MCCARDELL TO SEAN EGAN, SABIN WILLETT; TELEPHONE CONFERENCE TO CLERK'S OFFICE REGARDING POTENTIAL TELEPHONIC HEARING	0.30
10/24/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING MOTION TO SEAL, RELATED ISSUES	0.20
10/24/00	SJM	PREPARE MOTION ON LOOMIS ACTION, PRESENT TO SCHEDULING CLERK, AND CONFERENCES WITH COUNSEL FOR LOOMIS AND SCHEDULING CLERK (3.30); CONFERENCES WITH L. CRANDALL AND S. LAVIGNA OF SEC REGARDING CONFIRMATION HEARING (.30); ANALYSIS OF ISSUES RAISED BY LOOMIS ACTION AND POSSIBLE RESPONSES	5.90
10/24/00	LAM	(2.30) TELEPHONE CONFERENCE WITH BONDHOLDER, JIM RUSSELL, REGARDING STATUS OF CONFIRMATION (0.2)	0.20
10/25/00	SJM	PREPARE FOR HEARING ON CONFIRMATION (.60); REVIEW MESSAGE FROM M. ELLENBERG ON TIMING FOR CONFIRMATION HEARING (.10); CONFERENCE WITH J. CANNON REGARDING STATUS OF PLAN AND LOOMIS (.30); REVIEW VOICE MAIL FROM M. ELLENBERG ON COORDINATION CALL TOMORROW (.10); CONFERENCE WITH J. STRALEY REGARDING STATUS (.10); REVIEW LOOMIS PLEADING AND PREPARE FOR HEARING (1.80)	3.00
10/25/00	LAM	CONFERENCE WITH STEVE MCCARDELL AND LAUREE TANNER REGARDING CONTINUED CONFIRMATION HEARING (0.1)	0.10
10/26/00 10/26/00 10/26/00	KTC KTC KTC	REVIEWING PLEADINGS ON LOOMIS MATTER AT COURT FOR CONTINUED CONFIRMATION HEARING ATTENDING STATUS CONFERENCE ON LOOMIS	0.20 0.70 0.50

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc

Converted from BANCAP Page 94 of 248

INVOICE NUMBER 248180 GENEVA STEEL COMPANY 28602 PLAN & DISCLOSURE STATEMENT PAGE 7 00710 1/09/00

	ATTY/ PARA		HOURS
10/26/00	SJM	PREPARE FOR CONFERENCE CALL WITH GENEVA, CADWALADER, BLACKSTONE, AND PARR REGARDING STATUS OF PLAN ISSUES AND PREPARE FOR HEARING ON LOOMIS ACTION; (1.0); CONFERENCE CALL WITH GENEVA, CADWALADER, BLACKSTONE, AND PARR REGARDING STATUS OF PLAN ISSUES AND MATTERS TO BE COMPLETED (1.0); PREPARE FOR HEARING ON LOOMIS ACTION, INCLUDING ANALYSIS OF ALLEGATIONS AND PLAN AND DISCLOSURE STATEMENT PROVISION, RESPONSES TO LOOMIS ALLEGATIONS, PROCEDURAL ISSUES, INCLUDING LOOMIS' "STATUS MEMORANDUM" (3.80); ATTEND COURT TO REQUEST CONTINUANCE OF CONFIRMATION HEARING AND ADDRESS LOOMIS ACTION (1.0); MEETING WITH K. JOHNSEN TO DISCUSS HANDLING OF LOOMIS ACTION AND FURTHER PROCEEDINGS TO OBTAIN CONFIRMATION OF PLAN, INCLUDING CONFERENCES WITH J. CANNON AND M. ELLENBERG (1.0); ANALYSIS OF POSSIBLE CAUSES OF ACTION AGAINST LOOMIS AND DISCOVERY PLAN ISSUES (3.60); PREPARE WITNESS OUTLINES FOR LOOMIS DEPOSITIONS (1.20)	12.60
10/26/00	MWD	CONFERENCE WITH STEVE MCCARDELL REGARDING LOOMIS SALES COMPLAINT	0.10
10/26/00	MWD		0.30
10/26/00	MWD	RESEARCH ISSUE OF USE OF DECLARATORY JUDGMENTS IN TENTH CIRCUIT	0.60
10/26/00	MWD	DRAFT E-MAIL TO GROUP REGARDING LOOMIS SALES COMPLAINT; PROPRIETY OF DECLARATORY JUDGMENT ACTION	0.40
10/26/00	MWD	RESEARCH CASES ON USE OF DECLARATORY JUDGMENTS TO ISSUE ADVISORY OPINIONS	
10/27/00	KLC		0.20
10/27/00	KLC	RIGHTS OFFERING	0.50
10/27/00	SJM	PREPARE AND NEGOTIATE, WITH COUNSEL FOR LOOMIS, DRAFT ORDER ON LOOMIS/GENEVA DISCOVERY (3.30); PREPARE DRAFT REQUESTS FOR PRODUCTION OF DOCUMENTS FOR LOOMIS (2.80); PREPARE FOR DEPOSITIONS OF GENEVA AND LOOMIS WITNESSES ON LOOMIS ACTION (3.20); CONFERENCE WITH M. ELLENBERG, K. JOHNSEN, AND S. GARCIA REGARDING LOOMIS ACTION (1.0); CONFERENCE WITH K. JOHNSEN REGARDING INFORMATION NEEDED FOR CITIBANK/GOVERNMENT AS TO COURT'S RULING AT OCTOBER 26 HEARING AND OBTAIN TRANSCRIPT OF HEARING (.30)	10.60
/30/00	KLC	REVIEWING DRAFT DISCOVERY ON LOOMIS SAYLES LITIGATION	0.50
10/30/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING CREDIT ISSUES	0.20

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 95 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 11/09/00 INVOICE NUMBER 248180 PAGE 8

DATE	ATTY/ PARA		HOURS
10/30/00	KLC	REVIEWING INTERROGATORIES, DOCUMENT REQUESTS FROM LOOMIS SAYLES	0.40
10/30/00	SJM	PREPARATION OF REVISED DRAFT DISCOVERY TO LOOMIS SAYLES (.60); PREPARE FOR DISCOVERY CONFERENCE WITH GENEVA (.60); MEETING WITH K. JOHNSEN, D. WANLASS, AND L. LOOMIS REGARDING DISCOVERY REQUESTS FROM LOOMIS SAYLES (1.70); REVISE WITNESS OUTLINES FOR LOOMIS LAWSUIT (.80); PREPARE REVISIONS TO DRAFT DISCOVERY REQUESTS (.40); ANALYSIS OF CAUSES OF ACTION, DOCUMENTS, AND MAKE FURTHER REVISIONS TO DRAFT DISCOVERY REQUESTS AND DRAFT RULE 30(B)(6) NOTICE FOR LOOMIS (1.30); PREPARE FOR DEPOSITIONS IN LOOMIS ACTION (2.40); REVIEW INTERROGATORIES AND DOCUMENT REQUESTS RECEIVED FROM LOOMIS AND IDENTIFY RESPONSIVE	9.60
10/30/00	LAM	INFORMATION (1.80) TELEPHONE CONFERENCES WITH ALAN HARKAVY REGARDING STATUS OF CONFIRMATION (0.3)	0.30
10/30/00 10/31/00	MWD SJM	READ DRAFT DOCUMENT REQUESTS IN THE LOOMIS MATTER CONFERENCE WITH M. HOPPE REGARDING LOOMIS DOCUMENT REQUESTS (.20); ANALYSIS OF LOOMIS INTERROGATORIES, POSSIBLE OBJECTIONS AND RESPONSES (1.20); ANALYSIS OF LOOMIS DOCUMENT REQUESTS AND PREPARE DRAFT RESPONSE (.80); CONFERENCE WITH M. HOPPE REGARDING LOOMIS DOCUMENT REQUESTS (.20); PREPARE FOR DEPOSITIONS ON LOOMIS ACTION (.70)	0.10
		TOTAL HOURS	148.00

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
G ALBERICH KL CANNON, II SJ McCARDELL MW DYKES SC STRONG J VALDES LA MCGEARY	0.50 15.70 113.50 3.80 0.30 8.70 5.50	AT \$380 = AT \$260 = AT \$275 = AT \$240 = AT \$195 = AT \$130 = AT \$90 =	190.00 4,082.00 31,212.50 912.00 58.50 1,131.00 495.00

38,081.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 96 of 248

INVOICE NUMBER 248180

GENEVA STEEL COMPANY . 28602 PLAN & DISCLOSURE STATEMENT 00710

PAGE 9

1-/09/00

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
		2 00	
10/17/00	MESSENGER SERVICE	8.00 16.00	
10/31/00	MESSENGER SERVICE	16.00	24.00
	TOTAL MESSENGER SERVICE		235.98
10/31/00	TELEPHONE		126.17
10/31/00	POSTAGE	65.07	
10/31/00	MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY -OCTOBER	03.07	
10 - 100	2000 MISCELLANEOUS CHARGES	1,181.80	
10/31/00	REPRODUCTION - OCTOBER 2000	_,	
	TOTAL MISCELLANEOUS CHARGES		1,246.87
/ /	ALPHA COURT REPORTING SERVICE -	27.00	
10/19/00	COURT REPORTING COURT REPORTING	_,,,,	
	SERVICES RENDERED ON 10/13/00		
	TOTAL COURT REPORTING		27.00
100/00	PACER SERVICE CENTER -	5.74	
/26/00	MISCELLANEOUS CHARGES PUBLIC		
	ACCESS TO COURT ELECTRONIC		
	RECORDS TOTAL MISCELLANEOUS CHARGES		5.74
-0/06/00	SKOOL LUNCH DELI & BAKERY -	24.58	
10/06/00	BUSINESS MEALS BUSINESS MEETING		
	ON 9/14/00 (MARK ELLENBERG,		
	DENNIS WANLASS, KEN JOHNSEN &		
/ /	SJM) WASATCH PIZZA COMPANY - BUSINESS	76.39	
10/13/00	MEALS BUSINESS MEAL ON 8/24/00	70.33	
10/07/00	PETTY CASH CUSTODIAN - KAREN	15.01	
10/27/00	KASPERICK - BUSINESS MEALS LUNCH	15.01	
	FOR MEETING PRIOR TO HEARING ON		
	10/19/00 TOTAL BUSINESS MEALS		115.98
10/27/00	PETTY CASH CUSTODIAN - KAREN	0.81	
10/2//00	KASPERICK - LOCAL TRANSPORTATION		
	LOCAL MILEAGE REIMBURSEMENT		
	TOTAL LOCAL TRANSPORTATION		0.81
10/10/00	FEDERAL EXPRESS CORPORATION - AIR	20.28	
10/19/00	FEDERAL EXPRESS CORPORATION AIR	20.25	
	EXPRESS FEDEX, SJM TO MARK C.		
	ELLENBERG OF CADWALADER, WICKERSHAM & TAFT ON 10/13/00		
	TOTAL AIR EXPRESS		20.28
	TOTAL MIR EAFRESS		

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 97 of 248

GENEVA STEEL COMPANY 28602 PLAN & DISCLOSURE STATEMENT 00710 11/09/00

INVOICE NUMBER 248180 PAGE 10

CURRENT EXPENSES

TOTAL THIS MATTER

39,883.83

1,802.83

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 248180 INVOICE DATE 11/09/00 CLIENT NUMBER 28602

RE: (00851) TRAVEL

FOR PROFESSIONAL SERVICES RENDERED THROUGH 10/31/00:

DATE	ATTY/ PARA		HOURS
10/18/00	KLC	TRAVEL TO GENEVA FOR TOUR WITH GATX COUNSEL, TAXING AUTHORITIES OF CUPOLA	0.80
10/10/00	WT C	TRAVEL TO SALT LAKE FROM CUPOLA TOUR	0.90
10/18/00	KLC		0.60
10/30/00	SJM	TRAVEL FROM GENEVA TO SALT LAKE FROM MEETING ON	0.00
,_,		DISCOVERY IN LOOMIS ADVERSARY PROCEEDING	
		<del>-</del>	0.70
10/30/00	MH	TRAVEL FROM GENEVA	
10/31/00	MH	TRAVEL TO GENEVA	0.70
		TRAVEL FROM GENEVA	0.50
10/31/00	MH	TRAVEL FROM GENEVA	
		TOTAL HOURS	4.20

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	F	RATE	VALUE
KL CANNON, II SJ McCARDELL M HOPPE	1.70	AT	\$260 =	442.00
	0.60	AT	\$275 =	165.00
	1.90	AT	\$120 =	228.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 99 of 248

28602 GENEVA STEEL COMPANY 00851 TRAVEL 11/09/00 INVOICE NUMBER 248180 PAGE 2

CURRENT FEES	417.50
TOTAL THIS MATTER	417.50
TOTAL AMOUNT OF THIS INVOICE	81,851.56
TOTAL BALANCE DUE UPON RECEIPT	81,851.56

TERMS: Due Upon Receipt

					41
Oato	Matter No	User	Copies	Cost @ (20¢/page)	Description
Care		MrGeary	1163	232.60	Copies of Amended Schedule D, E & F
00/01/01		Coloh	1548	309 60	Copies of MSL #18 for filing and service
10/11/01		131 C. Selpii	25,0	200.80	Copies of MSI #19 for filing and service
10/20/00	131	L. I anner	1343	00.800	Copies of NOH Motion re Reject Contracts with Certain Retired Employees and
00,44,04		Tanner TAN	576	115.20	Determine Rejection Claims and Objection to Claims Seeking Supplemental
20/1		2	<u> </u>		Retirements Benefits for filing and service
					Copies of NOH, Motion re Reject Contracts with Certain Retired Employees and
				518.40	Determine Rejection Claims and Objection to Claims Seeking Supplemental
10/11/00		144 M Hawk	2592		Relirements Benefits for filing and service on MSL #18
					Copies of NOH and Motion to Assume Executory Contract Between Geneva
00/00/0		265 K Hughes	1170	234.00	and Union Pacific for filing and service on MSL #18
20/22/2		2016211			Copies of NOH and Motion to Assume R13 Software End-User License
				198.40	Agreement and for Certain Other Relief Respecting Agreements with and
10/00/00		265 K Hughes	992		Claims of SAP America for filing and Service on MSL #19
10/20/00		20160			Copies of NOH and Motion to Assume Certain Executory Contracts Between the
00,000		Sec Hunber	1309	261.80	Debtor and Other Parties for filing and service on MSL #19
10/22/01		California V	3		Conies of Proposed Orders re Professionals Fee Applications for filing and
		1	000	124.00	service on parties
10/2/00		S/6 C. Seipn	020		
10,08,00		OBS IA Howk	069	138.00	Copies of Monthly Financial Report for filing and service
10/20/00		Tanner	514	102.80	Copies of Miscellaneous Documents in Preparation for 10/13/00 Hearing
10/13/00		سال	539	107.80	Copies of Miscellaneous Documents in Preparation for 10/13/00 Hearing
5	i	1			Conject of NOH and Motion Pursuant to Section 1121(d) of the Bankruptcy Code
				138.20	for an Order Extending the Exclusive Period, During Which Debtor May Solicit
00,04,04		710 Tanner	69		Acceptances of the Plan of Reorganization for filing and service on MSL #19
		<u>ز</u>			

PHOTOCOPY MANAGEMENT REPORT

PORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE Page

1

PHOTOCOPY USAGE REPORT BY CLIENT MATTER

Activity Summary	Report For	Period	29-SEP-00	through	30-	-OCT-01
CLIENT MATTER				COPIES		COST
28602-00131				5401	\$	1080.20
				5709	\$	1141.80
28602-00144				5316	\$	1063.20
28602-00265				2410	\$	482.00
28602-00276				711	\$	142.20
28602-00283				113	\$	22.60
28602-00574					·	_
28602-00710				5909	\$	1181.80
REPORT TOTALS				25569	\$	5113.80

# PHOTOCOPY USAGE REPORT BY CLIENT MATTER Activity Detail Report -- For Period 29-SEP-00 through 30-OCT-00

Activit	y Detail Report	FOI FEITO			
DATE CLIENT MATTER	USER	ATTORNEY ID	DESCRIPTION	COPIES	COST
		<b>.</b>		166	33.20
05-OCT-00 28602-00131	FRICKE, LISA AN	N		2	0.40
09-OCT-00	FRICKE, LISA AN	N		14	2.80
09-OCT-00	FRICKE, LISA AN			1163	232.60
10-OCT-00	FRICKE, LISA AN	N T		19	3.80
10-OCT-00	FRICKE, LISA AN	N		30	6.00
13-OCT-00	FRICKE, LISA AN	IN Di		70	14.00
13-OCT-00	FRICKE, LISA AN	IN Di		14	2.80
20-OCT-00	FRICKE, LISA AN	1 <b>[%</b> \T		20	4.00
03-OCT-00	WEATHERLY, CARC	)T		13	2.60
13-OCT-00	WEATHERLY, CARO	 나		12	2.40
23-OCT-00	WEATHERLY, CARC	, ,		1548	309.60
11-OCT-00	SELPH, CHRISTIN	AA		7	1.40
04-OCT-00	TANNER, LAUREE			3	0.60
04-OCT-00	TANNER, LAUREE			178	35.60
06-OCT-00	TANNER, LAUREE			9	1.80
11-OCT-00	TANNER, LAUREE			4	0.80
11-OCT-00	TANNER, LAUREE			72	14.40
11-OCT-00	TANNER, LAUREE			87	17.40
11-OCT-00	TANNER, LAUREE			4	0.80
12-OCT-00	TANNER, LAUREE			12	2.40
12-OCT-00	TANNER, LAUREE			10	2.00
12-OCT-00	TANNER, LAUREE			12	2.40
12-OCT-00	TANNER, LAUREE			8	1.60
12-OCT-00	TANNER, LAUREE			29	5.80
)CT-00	TANNER, LAUREE			1	0.20
, OCT-00	TANNER, LAUREE			24	4.80
17-OCT-00	TANNER, LAUREE			8	1.60
17-OCT-00	TANNER, LAUREE			2	0.40
19-OCT-00	TANNER, LAUREE			36	7.20
20-OCT-00	TANNER, LAUREE			1549	309.80
20-OCT-00	TANNER, LAUREE			18	3.60
20-OCT-00	TANNER, LAUREE			2	0.40
24-QCT-00	TANNER, LAUREE			ī	0.20
26-OCT-00	TANNER, LAUREE			19	3.80
27-OCT-00	SMITH, LAURA			64	12.80
24-OCT-00	HUGHES, KRISTI			21	4.20
02-OCT-00	PARKIN, NATHAN			150	30.00
04-OCT-00	PARKIN, NATHAN	Ī			
					1080.20
28602-00131					========
S=====================================	===				-
				8	1.60
05-OCT-00 28602-00144	FRICKE, LISA			9	1.80
11-OCT-00	FRICKE, LISA			324	64.80
11-OCT-00	SELPH, CHRIST			6	1.20
02-OCT-00	TANNER, LAURE	Ε		ŭ	
02 001 TT					

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc

Converted from BANCAP Page 103 of 248 01-NOV-00

PHOTOCOPY MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE

PHOTOCOPY USAGE REPORT BY CLIENT MATTER
Activity Detail Report -- For Period 29-SEP-00 through 30-OCT-00

2

Page

	Activity	Detail Report	For Period	29-5EP-00 CII.		
DATE	CLIENT MATTER	USER		DESCRIPTION	COPIES	COST
DAIL	C212111 121112				20	4.00
04-OCT-00	28602-00144	TANNER, LAUREE			6	1.20
04-OCT-00		TANNER, LAUREE			7	1.40
06-OCT-00		TANNER, LAUREE			7	1.40
06-OCT-00		TANNER, LAUREE			142	28.40
06-OCT-00		TANNER, LAUREE			40	8.00
06-OCT-00		TANNER, LAUREE			142	28.40
06-OCT-00		TANNER, LAUREE			189	37.80
06-OCT-00		TANNER, LAUREE			75	15.00
09-OCT-00		TANNER, LAUREE			86	17.20
09-OCT-00		TANNER, LAUREE			9	1.80
10-OCT-00		TANNER, LAUREE			429	85.80
10-OCT-00		TANNER, LAUREE			208	41.60
10-OCT-00		TANNER, LAUREE			22	4.40
11-OCT-00		TANNER, LAUREE			50	10.00
11-OCT-00		TANNER, LAUREE			57 <b>6</b>	115.20
11-OCT-00		TANNER, LAUREE			84	16.80
11-OCT-00		TANNER, LAUREE			60	12.00
12-OCT-00		TANNER, LAUREE			180	36.00
13-OCT-00		TANNER, LAUREE			24	4.80
16-OCT-00		TANNER, LAUREE			65	13.00
16-OCT-00		TANNER, LAUREE			133	26.60
18-OCT-00		TANNER, LAUREE			2592	518.40
11-OCT-00		HAWK, MATTHEW			2592	5.6
03-OCT-00		LALOR, CAROL J			1	0.2
03-OCT-00		LALOR, CAROL J			80	16.00
17-OCT-00		LALOR, CAROL J			33	6.60
03-OCT-00		HUGHES, KRISTIN			6	1.20
12-OCT-00		HUGHES, KRISTI			5	1.00
23-OCT-00		HUGHES, KRISTIN	1		5	1.00
23-OCT-00		HUGHES, KRISTI	<b>v</b>		4.5	9.00
23-OCT-00		HUGHES, KRISTI	1		13	2.60
25-OCT-00		HUGHES, KRISTII	4		13	2.00
25 001 00						1141.80
	28602-00144					=======================================
	=======================================	<b>=</b> =			=======	
	20002 00305	CANNON, II, K.	L		47	9.40
	28602-00265	CANNON, II, K.			60	12.00
13-OCT-00		McCARDELL, S.			235	47.00
11-OCT-00		McCARDELL, S.			18	3.60
12-OCT-00		FRICKE, LISA A			139	27.80
13-OCT-00		HAWK, MATTHEW			190	38.00
29-SEP-00		HAWK, MATTHEW			17	3.40
29-SEP-00		HUGHES, KRISTI	N		3	0.60
29-SEP-00		HUGHES, KRISTI			4	0.80
29-SEP-00		HUGHES, KRISTI			208	41.60
29-SEP-0	)	MUGNES, ARISII	••			

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 104 of 248

PHOTOCOPY MANAGEMENT REPORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE

Page

3

PHOTOCOPY USAGE REPORT BY CLIENT MATTER
Activity Detail Report -- For Period 29-SEP-00 through 30-OCT-00

	7	Activity	Detail	Report	FOT i	SELIOU	29-SEP-00			
DATE	. <b>.</b>	MATTER	USER		ATTORNEY		DESCRIPTION OF THE PROPERTY OF		OPIES	
DAIE	CLIENT	11111111	-						235	47.00
29-SEP-00	28602-	00265	HUGHES,	KRISTIN					170	234.00
29-SEP-00				KRISTIN					24	4.80
02-OCT-00				KRISTIN					14	2.80
02-OCT-00			HUGHES,	KRISTIN					148	29.60
02-OCT-00				KRISTIN					124	24.80
02-OCT-00				KRISTIN KRISTIN					21	4.20
02-OCT-00				KRISTIN					18	3.60
02-OCT-00			nugnes,	KRISTIN					8	1.60
03-OCT-00			HUGHES,	KRISTIN					50	10.00
03-OCT-00			HUGHES,	KRISTIN					44	8.80
05-OCT-00			HIGHES,	KRISTIN					28	5.60
10-OCT-00				KRISTIN					8	1.60 0.80
11-OCT-00			HUGHES	KRISTIN					4	14.40
11-OCT-00 13-OCT-00				KRISTIN					72	1.80
16-OCT-00				KRISTIN					9	3.20
18-OCT-00				KRISTIN					16	198.40
20-OCT-00			HUGHES	KRISTIN					992 10	2.00
24-OCT-00			HUGHES	, KRISTIN					91	18.20
24-OCT-00				, KRISTIN					1309	261.80
25-OCT-00			HUGHES	, KRISTIN	Ī			_		
=										
		<del>-</del>	. –						5316	\$ 1063.20
			· <b>-</b>							\$ 1063.20
			. <del>-</del> = <del>=</del>							======================================
	=====	=		CHRISTIN	AL				112	22.40
02-OCT-00	28602	=	SELPH,	CHRISTIN	AI AI				112 228	22.40
02-OCT-00	===== 0 28602	=	SELPH, SELPH,	CHRISTIN	AI				112 228 620	22.40 45.60 124.00
02-OCT-00 02-OCT-00	===== 0 28602 0	=	SELPH, SELPH, SELPH,	CHRISTIN	AI				112 228 620 9	22.40 45.60 124.00 1.80
02-OCT-00 02-OCT-00 02-OCT-00	===== 0 28602 0	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN , LAUREE	AI				112 228 620 9	22.40 45.60 124.00 1.80 0.20
02-OCT-00 02-OCT-00 02-OCT-00 03-OCT-00	===== 0 28602 0	=	SELPH, SELPH, SELPH, TANNER TANNER	CHRISTIN CHRISTIN , LAUREE , LAUREE	AI				112 228 620 9 1	22.40 45.60 124.00 1.80 0.20 0.80
02-OCT-00 02-OCT-00 02-OCT-00 03-OCT-00	===== 0 28602 0 0	=	SELPH, SELPH, SELPH, TANNER TANNER TANNER	CHRISTIN CHRISTIN , LAUREE	AI				112 228 620 9 1 4	22.40 45.60 124.00 1.80 0.20 0.80 0.40
02-OCT-00 02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00	====== 0 28602 0 0	=	SELPH, SELPH, SELPH, TANNER TANNER TANNER TANNER	CHRISTIN CHRISTIN , LAUREE , LAUREE , LAUREE	AI				112 228 620 9 1 4 2	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER TANNER TANNER TANNER TANNER	CHRISTIN CHRISTIN , LAUREE , LAUREE , LAUREE , LAUREE	AI				112 228 620 9 1 4 2 102 150	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER TANNER TANNER TANNER TANNER TANNER TANNER	CHRISTIN CHRISTIN , LAUREE , LAUREE , LAUREE , LAUREE , LAUREE , LAUREE	AI				112 228 620 9 1 4 2 102 150	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 04-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER TANNER TANNER TANNER TANNER TANNER TANNER TANNER TANNER	CHRISTIN CHRISTIN LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE	AI				112 228 620 9 1 4 2 102 150 10	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE LAUREE	AI				112 228 620 9 1 4 2 102 150 10	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	AI				112 228 620 9 1 4 2 102 150 10 30	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00 12-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10 8 17	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60 3.40
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00 12-OCT-00	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10 8 17 410	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60 3.40 82.00
02-OCT-00 02-OCT-00 02-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00 12-OCT-01 17-OCT-0	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10 30 10 8 17 410 216	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60 3.40 82.00 43.20 10.00 19.80
02-OCT-00 02-OCT-00 02-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00 12-OCT-0 17-OCT-0 18-OCT-0	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10 30 10 8 17 410 216 50	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60 3.40 82.00 43.20 10.00 19.80
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00 12-OCT-00 17-OCT-0 18-OCT-0 19-OCT-0 20-OCT-0	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10 30 10 8 17 410 216 50 99	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60 3.40 82.00 43.20 10.00 19.80 4.40 9.60
02-OCT-00 02-OCT-00 03-OCT-00 03-OCT-00 04-OCT-00 04-OCT-00 05-OCT-00 12-OCT-00 17-OCT-0 18-OCT-0 19-OCT-0	======================================	=	SELPH, SELPH, SELPH, TANNER	CHRISTIN CHRISTIN LAUREE	IA IA				112 228 620 9 1 4 2 102 150 10 30 10 8 17 410 216 50 99 22	22.40 45.60 124.00 1.80 0.20 0.80 0.40 20.40 30.00 2.00 6.00 2.00 1.60 3.40 82.00 43.20 10.00 19.80 4.40 9.60

Converted from BANCAP Page 105 of 248 01-NOV-00

PHOTOCOPY MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE

Page 4

PHOTOCOPY USAGE REPORT BY CLIENT MATTER Activity Detail Report -- For Period 29-SEP-00 through 30-OCT-00

	Activity 1	Detail Report	FOL BELLOO			
DATE	CLIENT MATTER	USER	ATTORNEY ID	DESCRIPTION	COPIES	COST
					70	14.00
24-OCT-00	28602-00276	TANNER, LAUREE			3	0.60
30-OCT-00		TANNER, LAUREE			4	0.80
02-OCT-00		SMITH, LAURA			15	3.00
04-OCT-00		LALOR, CAROL J			12	2.40
10-OCT-00		LALOR, CAROL J			18	3.60
11-OCT-00		LALOR, CAROL J			10	2.00
12-OCT-00		LALOR, CAROL J			68	13.60
17-OCT-00		LALOR, CAROL J			52	10.40
17-OCT-00		LALOR, CAROL J				<b></b> _
	28602-00276				2410 \$	
	=======================================					
	28602-00283	TANNER LAUREE			3	0.60
	28602-00263	TANNER, LAUREE			18	3.60
02-OCT-00 26-OCT-00		HAWK, MATTHEW			690	138.00
20 001 11					711 \$	142.20
	28602-00283				========	=======
		TANNER, LAUREE			15	3.00
		TANNER, LAUREE			54	10.80
24-OCT-00		TANNER, LAUREE			26	5.20
24-OCT-00		TANNER, LAUREE			12	2.
26-OCT-00 26-OCT-00		TANNER, LAUREE			6	1.2
20-001 00					113 \$	22.60
	28602-00574				=======	=======
	20603 00710	McCARDELL, S. J	r.		42	8.40
	28602-00710	McCARDELL, S. J			10	2.00
10-OCT-00		McCARDELL, S. J			1	0.20
12-OCT-00		McCARDELL, S. J			27	5.40
12-OCT-00		McCARDELL, S. J			66	13.20
13-OCT-00		McCARDELL, S. 3			15	3.00
13-0CT-00		McCARDELL, S. J			21	4.20
26-OCT-00		McCARDELL, S.			70	14.00
26-OCT-00		McCARDELL, S. G			45	9.00
27-OCT-00		McCARDELL, S. C			45	9.00
30-OCT-00		McCARDELL, S. C			70	14.00
30-OCT-00		FRICKE, LISA AL			14	2.80
16-OCT-00		SELPH, CHRISTI			409	81.80
10-OCT-00		SELPH, CHRISTIN	 NJA		220	44.00
13-OCT-00		SELPH, CHRISTI	NA NA		142	28.40
30-OCT-00			NU		4	0.80
10-OCT-00		VALDES, JULIE			8	1.60
02-OCT-00	כ	TANNER, LAUREE				

EQUITRAC CORPORATION - DATA PROCESSING

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc

Converted from BANCAP Page 106 of 248 PORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE

PHOTOCOPY MANAGEMENT REPORT

Page 5

PHOTOCOPY USAGE REPORT BY CLIENT MATTER Activity Detail Report -- For Period 29-SEP-00 through 30-OCT-00

	Activity	Detail Report	For Period	29-3EF-00 CII	104911 50 0	
DATE	CLIENT MATTER	USER	ATTORNEY ID	DESCRIPTION	COPIES	COST
		TRIDEE			4	0.80
02-OCT-00	28602-00710	TANNER, LAUREE			34	6.80
04-OCT-00		TANNER, LAUREE			28	5.60
05-OCT-00		TANNER, LAUREE			30	6.00
06-OCT-00		TANNER, LAUREE			6	1.20
06-OCT-00		TANNER, LAUREE			8	1.60
06-OCT-00		TANNER, LAUREE			9	1.80
06-OCT-00		TANNER, LAUREE			102	20.40
06-OCT-00		TANNER, LAUREE TANNER, LAUREE			21	4.20
10-OCT-00		TANNER, LAUREE			4	0.80
10-OCT-00		TANNER, LAUREE			42	8.40
10-OCT-00		TANNER, LAUREE			35	7.00
10-OCT-00		TANNER, LAUREE			33	6.60
10-OCT-00		TANNER, LAUREE			30	6.00
10-OCT-00		TANNER, LAUREE			10	2.00
11-OCT-00		TANNER, LAUREE			2	0.40
11-OCT-00		TANNER, LAUREE			10	2.00
12-OCT-00		TANNER, LAUREE			514	102.80
12-OCT-00		TANNER, LAUREE			6	1.20
12-OCT-00		TANNER, LAUREE			12	2.40
12-OCT-00		TANNER, LAUREE			9	1.80
12-OCT-00		TANNER, LAUREE			6	1.20
13-OCT-00		TANNER, LAUREE			74	14.80
T7 OCT-00		TANNER, LAUREE			539	107.80
1_ JCT-00		TANNER, LAUREE			18	3.60
13-OCT-00		TANNER, LAUREE			691	138.20
13-OCT-00		TANNER, LAUREE			328	65.60
13-OCT-00		TANNER, LAUREE			4	0.80
16-OCT-00		TANNER, LAUREE			15	3.00
20-OCT-00		TANNER, LAUREE			3	0.60
20-OCT-00		TANNER, LAUREE			3	0.60
23-OCT-00		TANNER, LAUREE			2	0.40
24-OCT-00		TANNER, LAUREE			13	2.60
24-OCT-00		TANNER, LAUREE			14	2.80
26-OCT-00		TANNER, LAUREE			7	1.40
27-OCT-00		TANNER, LAUREE			54	10.80
27-OCT-00		TANNER, LAUREE			347	69. <b>4</b> 0 68.80
27-OCT-00		TANNER, LAUREE			344	68.80
27-OCT-00		TANNER, LAUREE			344	1.00
27-OCT-0		TANNER, LAUREE			5	2.00
27-OCT-0		TANNER, LAUREE			10	0.20
30-OCT-0		TANNER, LAUREE			1	0.60
30-OCT-0		TANNER, LAUREE			3 1 2	2.40
30-OCT-0		TANNER, LAUREE			12 54	10.80
30-0CT-0		TANNER, LAUREE			310	62.00
12-OCT-0		HAWK, MATTHEW			210	02.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 107 of 248

01-NOV-00 PHOTOCOPY MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE

Page 6

PHOTOCOPY USAGE REPORT BY CLIENT MATTER
Activity Detail Report -- For Period 29-SEP-00 through 30-OCT-00

			<del>-</del>			
DATE	CLIENT MATTER	USER	ATTORNEY ID	DESCRIPTION	COPIES	COST
12-OCT-00 12-OCT-00 12-OCT-00		HAWK, MATTHEW SMITH, LAURA SMITH, LAURA			180 295 75	36.00 59.00 15.00
	28602-00710				5909 \$	1181.80
	REPORT TOTALS				25569 \$	5113.80

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc TELEPHONE MANAGEMENT GEPOWTED from BANCAP Pagel 1080 of 248 Page LEBOEUF, LAMB, GREENE & MACRAE

TELEPHONE USAGE REPORT BY CLIENT
Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

Phone Calls by A	ccount N	umber	roi rei	100 02	-OC1-00 t	.mroug.		
Summary of Calls by Account Number	Tot Calls	al   Time	UnCost Calls	ed   Time	Coste Calls	ed Time	Tot	al Cost
28602-00131 28602-00136 28602-00144 28602-00265 28602-00276 28602-00277 28602-00459 28602-00469 28602-00574 28602-00710 28602-0114 28602-0144 28602-0265 28602-0574	60 2 4 23 2 5 1 1 23 4 7	273 4 9 195 1 13 1 1 99 1 11 8	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	000000000000000000000000000000000000000	60 2 4 23 2 5 1 1 23 1 4 7 5	273 4 9 195 1 13 1 1 99 1 11 8 36 457	<i><b>๛๛๛๛๛๛๛๛๛๛๛๛๛</b></i>	120.20 0.48 4.44 26.31 0.80 4.36 0.12 0.81 0.24 40.05 0.24 2.98 2.77 4.68 176.27
28602-0710  Report Totals Total	82 Calls:	457 221 To	0 tal Time		11 Total		•	384.75

TELEPHONE USAGE REPORT BY CLIENT

Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-0

			- 1	21 07 10_0CT-	.00
Phone	Calls for	r Account 1	Number 28602-001	31 on 10-OCT-	
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
	16.8 \$ 12.2 \$ 12.6 \$ 1.4 \$ 1.6 \$ 1.6 \$ 2.6 \$	5.25 0 0.81 0 0.81 0 0.81 0 1.21 0	Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722	Los Angeles Washington, DC New York, NY New York, NY New York, NY Washington, DC Washington, DC Washington, DC	1(213)251-5100 1(202)862-2244 1(212)440-9155 1(212)504-6091 1(212)504-6312 1(202)862-2261 1(202)862-2409 1(202)862-2244
Phone	Calls fo	r Account	Number 28602-001	31 on 11-0CT	
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
10:17a 11:19a 11:46a 12:01p 12:15p 12:35p 1:40p 1:48p 2:22p 3:04p 4:13p 4:27p	0.5277273418555555 11.1856438 11.4856438	3.63 0.12 0.81 2.42 0.6.06 0.42 0.42 0.40 0.40 0.40 0.40 0.81 0.81 0.81	Extension 6722 Extension 6722 POULSEN, LAURI Extension 6756 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6756 Extension 6756 Extension 6722	Washington, DC New York, NY New York, NY Utah Los Angeles New York, NY Washington, DC Washington, DC Washington, DC NE Illinois New York, NY Washington, DC NE Illinois Washington, DC NE Illinois Washington, DC W Virginia Washington, DC	1 (202) 862-2244 1 (212) 440-9155 1 (212) 440-9155 1 (801) 227-9000 1 (213) 251-5100 1 (212) 504-6118 1 (202) 862-2244 1 (202) 862-2261 1 (202) 862-2324 1 (312) 558-6529 1 (212) 440-9155 1 (202) 862-2261 1 (312) 558-6529 1 (202) 862-2244 1 (703) 242-4506 1 (202) 862-2261
<b></b>				on 12-0CT 	
Time	Minutes	Cost Site	e User		
8:48a 9:50a 10:03a 10:09a 10:17a 10:28a 10:30a 10:39a 10:45a	2.7 \$ 0.7 \$ 6.4 \$ 10.2 \$ 1.2 \$ 3.9 \$ 0.8 \$		Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722 Extension 6722	Washington, DC NE Illinois New York, NY New York, NY Washington, DC NE Illinois New York, NY	1 (202) 862-2244 1 (202) 862-2244 1 (312) 245-8594 1 (212) 504-6833 1 (212) 504-6529 1 (202) 862-2244 1 (312) 558-5788 1 (212) 504-6312 1 (212) 440-9155

Converted from BANCAP Page 110 of 248

TELEPHONE MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE Page

2

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

	. <b></b>		, <del>-</del>		
Phone	Calls fo:	r Account 1	Number 28602-0013	on 12-0CT-	00
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
11:45a 12:53p 1:09p 1:18p 1:22p 1:28p 1:31p 1:41p 1:43p 2:48p 4:03p 5:53p 6:36p	2.5 1.89600 3.061 3.1267 4.129.4	1.21 0 0.81 0 1.62 0 0.40 0 1.21 0 0.81 0 1.62 0 0.81 0 3.63 0 1.62 0 0.81 0 5.25 0 4.04 0	POULSEN, LAURI Extension 6722 Extension 6822 Extension 6722	Washington, DC New York, NY Washington, DC New York, NY W Virginia	1 (202) 862-2244 1 (212) 504-6240 1 (202) 862-2261 1 (212) 440-9155 1 (212) 504-6529 1 (212) 504-6388 1 (212) 504-6318 1 (212) 504-6118 1 (212) 504-6363 1 (212) 504-6118 1 (212) 504-6833 1 (212) 504-6529 1 (703) 242-4506
Phone	Calls fo	r Account	Number 28602-0013	on 13-0CT-	Dialed Number
Time	Minutes	Cost Site	: User 	Area/City Name	
9:45a 11a 10:50a 11:07a 11:12a 2:05p 2:13p 2:25p 2:48p	6.4 5	2.83 0 4.04 0 1.21 0 0.81 0 1.21 0 1.21 0 2.83 0 0.40 0 2.83 0		United States Washington, DC NE Illinois New York, NY New York, NY New York, NY Washington, DC Washington, DC Washington, DC Washington, DC W Virginia	1 (202) 862-2244 1 (312) 245-8594 1 (212) 504-6833 1 (212) 504-6067 1 (212) 504-6833 1 (202) 862-2244 1 (202) 862-2244 1 (202) 274-4164 1 (202) 862-2244 1 (703) 242-4506
Phone	: Calls fo	or Account	Number 28602-001	31 on 17-OCT	-00
Time	Minutes	Cost Site	e User	Area/City Name	Dialed Number
1:33r 1:36r	2.7 \$	1.21 0 0.81 0	McGEARY, L. STRONG, S.C.	Washington, DC Washington, DC	1 (202) 862-2318 1 (202) 862-2318
Phon€	e Calls f	or Account	Number 28602-001	31 on 31-OCT	'-00 
Time	Minutes	Cost Sit	e User	Area/City Name	Dialed Number
8 - 588	a 1.0 S	0.12 0	Extension 6729	Utah	1(801)227-9227
28602	-00131	Tota	l Calls: 60 Tc	otal Time: 273	Total Cost: \$ 120.20

Converted from BANCAP Page 111 of 248 TELEPHONE MANAGEMENT REPORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-0

Phone Calls for Account Number 28602-00136 on 11-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 10:32a 1.8 \$ 0.24 0 CANNON, K.L. Utah 1(801)227-9000 Phone Calls for Account Number 28602-00136 on 19-OCT-00

Time Minutes Cost Site User Area/City Name Dialed Number 6:13p 1.9 \$ 0.24 0 CANNON, K.L. Utah 1(801)227-9323 28602-00136 -- Total Calls: 2 Total Time: 4 Total Cost: \$ 0.4

Phone Calls for Account Number 28602-00144 on 02-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 2:36p 5.6 \$ 2.42 0 COVEY, J.M.R. NE Illinois 1(312)396-3883 Phone Calls for Account Number 28602-00144 on 03-OCT-00 \_\_\_\_\_\_ Time Minutes Cost Site User Area/City Name Dialed Number NE Illinois 1(312)396-3883 10:31a 1.0 \$ 0.40 0 WITTE, D. Phone Calls for Account Number 28602-00144 on 06-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 1:42p 1.5 \$ 0.81 0 STRONG, S.C. Washington, DC 1(202)862-2238 2:34p 1.2 \$ 0.81 0 STRONG, S.C. Washington, DC 1(202)862-2238 28602-00144 -- Total Calls: 4 Total Time: 9 Total Cost: \$ 4.4

Phone Calls for Account Number 28602-00265 on 02-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 11:08a 0.8 \$ 0.12 0 CANNON, K.L. Utah 1(801)227-9301 Phone Calls for Account Number 28602-00265 on 03-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number
4:18p 0.5 \$ 0.12 0 CANNON, K.L. Utah 1(801)227-9301

TELEPHONE MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE

Page

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

Phone Calls for Account	Number 28602-00265	on 04-OCT-0	00
Time Minutes Cost Site	e User	Area/City Name	Dialed Number
3:07p 1.3 \$ 0.81 0 3:14p 1.4 \$ 0.24 0 3:49p 1.4 \$ 0.24 0 5:25p 1.3 \$ 0.24 0	CANNON, K.L. CANNON, K.L. CANNON, K.L. CANNON, K.L.	NE Illinois Utah Utah Utah	1(312)558-6600 1(801)227-9000 1(801)227-9301 1(801)227-9000
Phone Calls for Account	Number 28602-00265	on 05-0CT-0	00 
Time Minutes Cost Sit	e User	Area/City Name	Dialed Number
8:55a 0.7 \$ 0.12 0 9:03a 0.9 \$ 0.12 0 4:37p 9.6 \$ 1.20 0 4:48p 3.3 \$ 1.62 0	CANNON, K.L. CANNON, KENNETH CANNON, K.L. CANNON, K.L.	Utah Utah Utah Colorado	1(801)227-9301 1(801)227-9000 1(801)227-9000 1(303)291-2630
Phone Calls for Account	Number 28602-0026	on 10-OCT-	00 
Time Minutes Cost Sit	e User	Area/City Name	Dialed Number
10:12a 1.0 \$ 0.12 0	CANNON, K.L.	Utah	1(801)227-9301
one Calls for Account	Number 28602-0026	on 12-0CT-	00
Time Minutes Cost Sit	te User	Area/City Name	Dialed Number
9:49a 140.7 \$ 16.92	EAST CONF RM 10T	Utah	1(801)227-9301
Phone Calls for Account			
Time Minutes Cost Sit		Area/City Name	Dialed Number
11:10a 8.7 \$ 1.08	O CANNON, K.L.	Utah	1(801)227-9000
Phone Calls for Account			
Time Minutes Cost Si	te User	Area/City Name	
9:19a 1.3 \$ 0.24 11:35a 2.2 \$ 0.36 3:00p 1.1 \$ 0.24			1(801)227-9323 1(801)227-9301 1(801)227-9000
Phone Calls for Accoun	t Number 28602-0026	55 on 20-OCT-	
Time Minutes Cost Si	te User	Area/City Name	Dialed Number
10:53a 3.7 \$ 0.48	O CANNON, K.L.	Utah	1(801)227-9000
	ITRAC CORPORATION		

01-NOV-00 TELEPHONE MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE

Page 5

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-0 Phone Calls for Account Number 28602-00265 on 20-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number

10:57a 2.3 \$ 0.36 0 CANNON, K.L. Utah 1(801)227-9000 10:57a 2.3 \$ 0.36 0 CANNON, K.L. Utah Phone Calls for Account Number 28602-00265 on 24-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 3:26p 9.2 \$ 1.20 0 CANNON, K.L. Utah 1(801)227-9000 Phone Calls for Account Number 28602-00265 on 25-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 2:36p 0.9 \$ 0.12 0 CANNON, K.L. Utah 1(801)227-9000 2:49p 0.7 \$ 0.12 0 CANNON, K.L. Utah 1(801)227-9000 1(801)227-9000 Phone Calls for Account Number 28602-00265 on 30-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number
1:37p 0.9 \$ 0.12 0 CANNON, K.L. Utah 1(801)227-9000 Phone Calls for Account Number 28602-00265 on 31-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 10:44a 0.7 \$ 0.12 0 CANNON, K.L. Utah 1(801)227-9405 28602-00265 -- Total Calls: 23 Total Time: 195 Total Cost: \$ 26.3 Phone Calls for Account Number 28602-00276 on 12-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 10:00a 0.9 \$ 0.40 0 WEST COPY ROOM New York, NY 1(212)403-5454 Phone Calls for Account Number 28602-00276 on 24-OCT-00 \_\_\_\_\_\_ Area/City Name Dialed Number Time Minutes Cost Site User Area/City Name Dialed Number 3:18p 0.5 \$ 0.40 0 Extension 6756 New York, NY 1(212)583-5712

EQUITRAC CORPORATION - DATA PROCESSING

28602-00276 -- Total Calls: 2 Total Time: 1 Total Cost: \$ 0.8

01-NOV-00

Page 6

LEBOEUF, LAMB, GREENE & MACRAE

TELEPHONE USAGE REPO	RT BY CLIENT Period 02-OCT-00 through 31-OCT-00
Phone Calls for Account Number 28602-0027	7 on 02-OCT-00
Time Minutes Cost Site User	Area/City Name Dialed Number
2 2 2 1 2 5 0 24 0 STRONG, S.C.	Utah 1(801)227-9227
2:36p 1.3 \$ 0.24 0 STRONG, S.C. 2:42p 1.3 \$ 0.81 0 STRONG, S.C.	United States 1(650)496-5393
Phone Calls for Account Number 28602-0027	
Time Minutes Cost Site User	Area/City Name Dialed Number
5:04p 4.0 \$ 0.48 0 STRONG, S.C.	Utah 1(801)227-9227
Phone Calls for Account Number 28602-0027	77 on 06-OCT-00
Time Minutes Cost Site User	Area/City Name Dialed Number
10:20a 3.9 \$ 1.62 0 STRONG, S.C.	S. New Jersey 1(609)501-0567
Phone Calls for Account Number 28602-0027	
Time Minutes Cost Site User	Area/City Name Dialed Number
7:56p 2.5 S 1.21 0 STRONG, S.C.	Washington, DC 1(202)371-7235
7:56p 2.5 5 1.21 b Short, 5:51	al Time: 13 Total Cost: \$ 4.36
02-002//	
Phone Calls for Account Number 28602-0045	on 13-0CT-00
Time Minutes Cost Site User	Area/City Name Dialed Number
9:46a 0.7 \$ 0.12 0 HUGHES, K.	Utah 1(801)227-9301
28602-00459 Total Calls: 1 To	tal Time: 1 Total Cost: \$ 0.12
Phone Calls for Account Number 28602-004	
Time Minutes Cost Site User	Area/City Name Dialed Number
2:29p 1.2 \$ 0.81 0 CANNON, K.L.	SW Penn 1(412)392-2047
28602-00469 Total Calls: 1 To	tal Time: 1 Total Cost: \$ 0.81

TELEPHONE MANAGEMENT REPORT

01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE Page

7

Phone	Talls by Ac	ELEPHONE USAGE REPO	ORT BY CLIENT r Period 02-OCT-00	through 31-OCT-00
Phone Call	s for Accour	t Number 28602-005	74 on 25-OCT-	00
				Dialed Number
3:48p 1.	4 \$ 0.24	0 Extension 6756	Utah	1(801)227-9000
28602-00574	Tot	al Calls: 1 To	tal Time: 1 T	Cotal Cost: \$ 0.24
Phone Call	s for Accour	nt Number 28602-007	10 on 10-0CT-	-00
Time Minu	ites Cost Si	te User	Area/City Name	Dialed Number
4:29p 1. 5:44p 19.	2 \$ 0.24 3 \$ 8.08	0 Extension 6756 0 EAST CONF RM 10	Utah T United States	1(801)227-9000 1(860)240-2723
		nt Number 28602-007	~	
Time Minu	ites Cost Si	ite User	Area/City Name	Dialed Number
2:37p 0.	.8 \$ 0.40	0 WEST COPY ROOM	New York, NY	1 (212) 715-9191
		nt Number 28602-007		
Time Minu	ites Cost S	ite User	Area/City Name	Dialed Number
12:01p 1	.2 \$ 0.24	0 McGEARY, L.	Utah	1(801)227-9227
				-00 
		ite User		
10:38a 7 11:33a 2	.4 \$ 3.23 .0 \$ 0.24	0 McGEARY,L. 0 CANNON, K.L.	United States Utah	1 (770) 448-3644 1 (801) 227-9000
		nt Number 28602-007		
Time Min	utes Cost S	ite User	Area/City Name	Dialed Number
12:14p 2 4:42p 1 4:47p 13 5:02p 1 5:33p 11 5:39p 0	.4 \$ 1.21 .5 \$ 0.81	0 Extension 6756 0 LIBRARY	Washington, DC E. Mass. Washington, DC New York, NY E. Mass. Maryland New York, NY	1 (202) 862-2200 1 (617) 262-9600 1 (202) 862-2234 1 (212) 583-5352 1 (617) 262-9600 1 (301) 518-8373

LEBOEUF, LAMB, GREENE & MACRAE

Converted from BANCAP Page 116 of 248 Page 8 01-NOV-00 TELEPHONE MANAGEMENT REPORT

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

<u>+</u>	Phone Cal.	Is by Acco	ount Number For			
Phone	Calls fo	r Account	Number 28602-0071	0 on 18-OCT	-00	
 Time	Minutes	Cost Site	e User	Area/City Name	Dialed Number	
5:44p 5:44p 5:51p	6.9 \$ 6.9 \$ 2.8 \$	2.83 0 2.83 0 1.21 0	Extension 65535 Extension 65535 CANNON, K.L.	New York, NY E. Mass. E. Mass.	1(212)583-5352 1(617)262-9600 1(617)262-9600	
			Number 28602-0071			. <b></b> .
			e User			- 
9:27a 9:28a 9:23p	0.7 \$ 3.6 \$ 4.4 \$	0.40 0 1.62 0 2.02 0	Extension 6795 Extension 65535 Extension 6795	Washington, DC Washington, DC Washington, DC	1 (202) 862-2234 1 (202) 862-2234 1 (202) 862-2234	
Phone	Calls fo	r Account	Number 28602-0071	on 20-OCT	`-00	 - <b>-</b> - <b>-</b> -
Time	Minutes	Cost Site	e User	Area/City Name	Dialed Number	 - <b></b> -
10:21a 3:31p	3.7 \$ 6.3 \$	1.62 0 0.84 0	CANNON, K.L. COVEY, J.M.R.	E. Mass. Utah	1(617)748-6811 1(801)227-9013	
		or Account	Number 28602-0071	on 23-0CT		- <b></b>
 ⊥me	Minutes	Cost Site	e User	Area/City Name	Dialed Number	
3:51p	0.6 \$	0.12 0	Extension 6756	Utah	1(801)227-9000	
_			Number 28602-0071			<b>-</b>
			e User		. <b>.</b>	
11:05a	0.7 S	0.40 0	McGEARY, L.	W Tennesee	1(901)761-1263	
28602-	00710	Tota	l Calls: 23 Tot	al Time: 99	Total Cost: \$	40.05
			Number 28602-0114			
			e User			
11:59a	1.4 \$	0.24 0	McCARDELL, S.J.	Utah	1(801)227-9249	
28602-	0114	Tota	il Calls: 1 Tot	cal Time: 1	Total Cost: \$	0.24

TELEPHONE MANAGEMENT REPORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00 Phone Calls for Account Number 28602-0144 on 02-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 4:48p 5.3 \$ 0.72 0 McCARDELL, S.J. Utah 1(801)227-9302 Phone Calls for Account Number 28602-0144 on 04-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 1:48p 3.1 \$ 1.62 0 McCARDELL, S.J. New York, NY 1(212)563-4100 3:51p 1.0 \$ 0.40 0 McCARDELL, S.J. Washington, DC 1(202)862-2409 Phone Calls for Account Number 28602-0144 on 11-OCT-00 ...... -----Time Minutes Cost Site User Area/City Name Dialed Number 9:22a 1.5 \$ 0.24 0 McCARDELL, S.J. Utah 1(801)227-9433 28602-0144 -- Total Calls: 4 Total Time: 11 Total Cost: \$ 2.98 Phone Calls for Account Number 28602-0065 on 04-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number
11:20a 1.0 S 0.12 0 McCARDELL, S.J. Utah 1(801)227-9302 Phone Calls for Account Number 28602-0265 on 09-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 4:46p 1.8 \$ 0.81 0 McCARDELL, S.J. United States 1(856)854-8900 Phone Calls for Account Number 28602-0265 on 10-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 9:07a 1.9 \$ 0.24 0 McCARDELL, S.J. Utah 1(801)227-9302 5:25p 0.5 \$ 0.40 0 McCARDELL, S.J. NE Illinois 1(312)558-6529

EOUITRAC CORPORATION - DATA PROCESSING

Time Minutes Cost Site User Area/City Name Dialed Number

10:37a 1.0 \$ 0.40 0 McCARDELL, S.J. S. New Jersey 1(609)501-0567

Phone Calls for Account Number 28602-0265 on 11-OCT-00 ------

\_\_\_\_\_

Page 10

TELEPHONE MANAGEMENT REPORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00 Phone Calls for Account Number 28602-0265 on 12-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 10:01a 1.0 \$ 0.40 0 McCARDELL, S.J. New York, NY 1(212)586-3800 Phone Calls for Account Number 28602-0265 on 17-OCT-00 \_\_\_\_\_\_ Time Minutes Cost Site User Area/City Name Dialed Number

Phone Calls for Account Number 28602-0574 on 04-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 3:16p 0.7 \$ 0.12 0 McCARDELL, S.J. Utah 1(801)227-9000 4:17p 11.7 \$ 1.44 0 McCARDELL, S.J. Utah 1(801)227-9433 4:27p 1.1 \$ 0.24 0 McCARDELL, S.J. Utah 1(801)489-3294 4:29p 11.4 \$ 1.44 0 Extension 65535 Utah 1(801)489-3294 29p 11.4 \$ 1.44 0 Extension 65535 Utah 1(801)227-9433

3:55p 0.7 \$ 0.40 0 McCARDELL, S.J. Washington, DC 1(202)862-2234 28602-0265 -- Total Calls: 7 Total Time: 8 Total Cost: \$ 2.77

28602-0574 -- Total Calls: 5 Total Time: 36 Total Cost: \$ 4.68

\_\_\_\_\_ Time Minutes Cost Site User Area/City Name Dialed Number \_\_\_\_\_\_ 3:20p 5.9 \$ 2.42 0 McCARDELL, S.J. Montana 1(406)443-0025 Phone Calls for Account Number 28602-0710 on 10-OCT-00 Time Minutes Cost Site User Area/City Name Dialed Number 

 10:14a
 1.7 \$ 0.81
 0 McCARDELL, S.J. United States
 1(856)854-8900

 10:49a
 20.7 \$ 8.48
 0 McCARDELL, S.J. United States
 1(856)854-8900

 12:29p
 5.4 \$ 2.42
 0 EAST CONF RM 10T Washington, DC
 1(202)862-2261

 12:38p
 2.7 \$ 1.21
 0 EAST CONF RM 10T Oregon
 1(503)295-2668

 1:48p
 8.9 \$ 3.63
 0 EAST CONF RM 10T Washington, DC
 1(202)835-8148

 4:23p
 1.6 \$ 0.81
 0 EAST CONF RM 10T NE Illinois
 1(312)558-6529

 4:27p
 2.2 \$ 1.21
 0 EAST CONF RM 10T NE Illinois
 1(312)558-6529

Phone Calls for Account Number 28602-0710 on 04-OCT-00

Converted from BANCAP Page 119 of 248
TELEPHONE MANAGEMENT REPORT 01-NOV-00
LEBOEUF, LAMB, GREENE & MACRAE

Page 11

TELEPHONE USAGE REPORT BY CLIENT
Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

1	Phone Ca	alls by	Accou	nt Number	For	Period 02-001-00	
Phone	Calls f	or Acc	ount N	umber 2860	2-0710	on 10-0CT-	00
Time	Minutes	Cost	Site	User		Area/City Name	Dialed Number
4:51p	25.8 \$	10.50	0	Extension	65535	NE Illinois NE Illinois	1(312/330-632)
					- <b></b> -	on 11-0CT-	
Time	Minutes	s Cost	Site	User		Area/City Name	Dialed Number
2:35p 2:39p 2:41p 2:47p 3:07p 3:27p 5:06p 5:30p 7:18p	0.8 3 5.8 3 8.6 3 0.5 3 0.5 9 13.0 3 6.7 3 3.6 2.2 3	0.40 0.81 0.40 0.40 5.25 14.94 1.62 1.62	000000000000	McCARDELL, EAST CONF LIBRARY EAST CONF	, S.J. RM 10T RM 10T RM 10T RM 10T RM 10T RM 10T RM 10T RM 10T RM 10T RM 10T	NE Illinois NE Illinois S. New Jersey New York, NY Washington, DC NE Illinois NE Illinois NE Illinois New York, NY Washington, DC United States New York, NY Washington, DC on 12-OCT	1 (312) 558-6529 1 (609) 501-0567 1 (212) 583-5352 1 (202) 862-2409 1 (312) 504-6030 1 (312) 558-6529 1 (212) 583-5352 1 (202) 862-2409 1 (860) 240-2723 1 (212) 586-3800 1 (202) 862-2409
		<del>-</del>			<b>_ </b> .		Dialed Number
8:42a 8:46a 8:52a 9:52a 9:57a 9:58a 10:05a 10:07a	1.6 3.2 2.1 0.9 43.5 43.5 2.7	1.21 0.81 0.25 0.40 0.44 0.20 1.62 0.48 1.62 1.62 1.40 5.27 1.21 1.21	000000000000000000000000000000000000000	McCARDELL EAST CONF TAYLOR, N TAYLOR, N TAYLOR, N McCARDELL McCARDELL McCARDELL McCARDELL EAST CONF EXTERSION Extension McCARDELL EAST CONF	, S.J. RM 10T .SSS. , S.J. , S.J. , S.J. RM 10T 65535 , S.J. RM 10T	Utah United States United States New York, NY United States New York, NY New York, NY Utah	1 (856) 854-8900 1 (860) 240-2700 1 (202) 219-0581 1 (212) 338-5102

TELEPHONE MANAGEMENT REPORT

EPORT 01-NOV-00 LEBOEUF, LAMB, GREENE & MACRAE

Page 12

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

Phone	Calls fo	r Accoun	t Number 286	502-0710	on 1	2-OCT-0	0	<b></b>
Time	Minutes	Cost Si	te User		Area/City	Name	Dialed Number	
2:34p 2:35p 2:39p 2:47p 3:24p 3:32p 3:51p	12.9 \$ 1.1 \$ 1.1 \$ 3.9 \$ 0.9 \$ 1.3 \$ 2.5 \$ 12.4 \$ 1.2 \$	0.81 0.81 1.62 0.40 0.40 0.81 1.21 5.25	0 EAST CONI 0 McCARDELI 0 LIBRARY 0 LIBRARY 0 POULSEN, 0 McCARDELI 0 EAST CONI 0 EAST CONI	F RM 10T LAURI L, S.J. F RM 10T F RM 10T	NE Illinoi North Caro New York, Washington New York, Washington New York, United Sta Washington Washington	lina NY , DC NY , DC NY tes	1 (312) 504-6030 1 (704) 442-3154 1 (212) 336-8656 1 (202) 628-7666 1 (212) 315-7305 1 (202) 274-4164 1 (212) 661-9100 1 (860) 240-2723 1 (202) 667-8093 1 (202) 219-0581	
Phone	Calls fo	r Accoun	t Number 28	502-0710	on 1	3-0CT-0	00	
Time	Minutes	Cost Si	te User		Area/City	Name	Dialed Number	
10:16a 10:44a 12:01p	8.3 \$ 0.7 \$ 0.6 \$ 5.0 \$ 1.3 \$ 1.1 \$ 1.0 \$	0.40 0.40 2.02 0.81	0 EAST CON:	F RM 10T F RM 10T n 65535 F RM 10T F RM 10T	New York, New York, Washington New York, Utah	NY NY 1, DC NY	1 (202) 219-0581 1 (212) 661-9100 1 (212) 583-5830 1 (202) 219-0581 1 (212) 583-5830 1 (801) 226-1266 1 (212) 583-5830	
Phone	Calls fo	r Accoun	t Number 28	602-0710	on 1	6-OCT-0	00	
Time	Minutes	Cost Si	te User		Area/City	Name	Dialed Number	
2:58p	6.5 \$	2.83	0 McCARDEL	L, S.J.	Washington	ı, DC	1(202)862-2234	
Phone	Calls fo	r Accoun	t Number 28	602-0710	on 2	23-OCT-0	00	
Time	Minutes	Cost Si	te User		Area/City	Name	Dialed Number	
9:22a 2:36p 3:32p	1.8 \$ 17.7 \$ 1.0 \$	0.81 7.27 0.40	0 McCARDEL 0 McCARDEL 0 McCARDEL	L, S.J. L, S.J. L, S.J.	Washington Washington Washington	n, DC n, DC n, DC	1 (202) 862-2234 1 (202) 862-2234 1 (202) 862-2234	:
Phone	Calls fo	or Accoun	t Number 28	602-0710	on 2	24 - OCT - (	00 	
Time	Minutes	Cost Si	te User		Area/City	Name	Dialed Number	<b></b>
8:54a 8:56a	0.6 \$ 2.5 \$	0.40	0 McCARDEL 0 McCARDEL	L, S.J. L, S.J.	Washington New York,	n, DC NY	1(202)862-2234 1(212)415-8300	: )

Converted from BANCAP Page 121 of 248 EPORT 01-NOV-00 TELEPHONE MANAGEMENT REPORT

LEBOEUF, LAMB, GREENE & MACRAE

Page 13

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-OCT-00 through 31-OCT-00

Phone	Calls	for	Acc	ount	Number 28602-0710	on 24	4-0CT-0	0	
Time	Minute	es (	Cost	Site	User	Area/City I	Name	Dialed Number	
10:41a 12:22p 12:30p 1:21p	3.8 0.6 0.6 7.1	\$ 5 5	1.62 0.40 0.40 3.23	0 0 0	McCARDELL, S.J. McCARDELL, S.J. McCARDELL, S.J. McCARDELL, S.J.	New York, I New York, I New York, I New York, I	NY NY NY NY	1 (212) 415-8300 1 (212) 415-8300 1 (212) 415-8300 1 (212) 415-8300	
Phone	Calls	for	Acc	ount	Number 28602-0710	on 2	5-OCT-0	0 	
Time	Minute	es (	Cost	Site	User	Area/City I	Name	Dialed Number	
4:23p	1.4	\$ (	0.81	0	McCARDELL, S.J.	Washington	, DC	1 (202) 862-2234	
Phone	Calls	for	Acc	ount	Number 28602-0710	on 20	6-OCT-0	0	
Time	Minute	es (	Cost	Site	User	Area/City 1	Name	Dialed Number	
1:53p 3:49p 4:08p 4:38p	9.7 17.2 8.8 1.7	\$ \$ \$ \$	4.04 7.27 1.08	0 0 0 0	McCARDELL, S.J. WEST CONF RM 10T WEST CONF RM 10T McCARDELL, S.J.	Washington Washington Utah NE Illinois	, DC , DC	1 (202) 862-2234 1 (202) 862-2234 1 (801) 227-9302 1 (312) 558-6529	
Phone	Calls	for	Acco	ount	Number 28602-0710	on 2'	7-OCT-0	0	
Time	Minute	:5 (	Cost	Site	User	Area/City 1	Name	Dialed Number	
10:15a 10:40a 12:09p 3:09p	0.7 1.3 0.8 9.7	\$ 0	0.40 0.24 0.40 4.04	0 0 0	McCARDELL, S.J. McCARDELL, S.J. McCARDELL, S.J. McCARDELL, S.J.	NE Ohio Utah Washington Washington	, DC	1 (216) 272-9827 1 (801) 227-9321 1 (202) 862-2234 1 (202) 862-2234	
Phone	Calls	for	Acc	ount	Number 28602-0710	on 30	0-OCT-0	0	
Time	Minute	es (	Cost	Site	User	Area/City 1	Name	Dialed Number	
3:25p 3:32p 5:40p	1.4 1.1 1.0	S (	0.81 0.24 0.12	0	McCARDELL, S.J. McCARDELL, S.J. McCARDELL, S.J.	Washington Utah Utah		1 (202) 862-2238 1 (801) 227-9079 1 (801) 227-9321	
Phone	Calls	for	Acc	ount	Number 28602-0710	on 3:	1-OCT-0	0	
Time	Minute	es (	Cost	Site	User	Area/City 1	Name	Dialed Number	
1:25p 2:00p	1.5 0.6	\$ (	0.24	0	McCARDELL, S.J. McCARDELL, S.J.	Utah Utah		1 (801) 227-9227 1 (801) 227-9302	
28602-	0710		[	Total	Calls: 82 Tota	al Time:	457 To	tal Cost: \$	176.27

Report Totals -- Total Calls: 221 Total Time: 1111 Total Cost: \$ 384.75

**EXHIBIT 2B** 

# GENEVA STEEL COMPANY As of November 30, 2000

							Ctner	•	
Matter		November	Fee	Net		Fax	Cost	Net	Matter
Number	Matter	Fees	Discount	Fees	Costs	Discount	Discount	Costs	Total
131	Case Administration	860.50		860.50	521.56	12.89	48.58	460.09	1,320.59
144	Claims Administration & Objections	15,360.00		15,360.00	243.94	39.63	73.43	130.88	15,490.88
265	Executory Contracts & Leases	11,218.00		11,218.00	1,250.32	21.38		1,228.94	12,446.94
276	Fee/Employment Applications	3,746.50		3,746.50	2,078.50	74.95		2,003.55	5,750.05
27.7	Fee/Employment Objections	3,612,00		3,612.00	12.36	6.78		5.58	3,617.58
283	Financing	6,688.50		6,688.50	185.27	4.85		180.42	6,868.92
574	Misc Contested Matters	00 66		00.66	14.20			14.20	113.20
710	Plan & Disclosure Statement	47.632.50		47,632.50	19,970.26	253.09	449.27	449.27 19,267.90	66,900.40
851	Travel	731.50	365.75	365.75				0.00	365.75
			l		A4 070 40	140 67	E74 38	E74 30 33 304 EE	112 874 34
TOTAL		89,948.50	365.75	ŀ	89,582.75 24,276.41	413.37	07.176	20,431.00	115,017.0

#### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00131) CASE ADMINISTRATION

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA		HOURS
DATE			
11/02/00	KLC	TELEPHONE CONFERENCE FROM PETER KUHN AND LAURIE CRANDALL REGARDING GENEVA	0.20
11/06/00	LAM	INTERNAL PROCEDURES-REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME (3.0)	3.00
11/07/00	MALI	UPDATE DOCKET REGARDING NOS. 1005-1027 TO ENSURE COMPLETE DOCUMENTATION OF ALL PLEADINGS (.3); INTERNAL PROCEDURES-REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME (2.3)	2.60
11/08/00	LAM	REVISE ORDERS CHART AND BOOKS (2.0)	2.00
, ,	LAM	UPDATE DOCKET TO ENSURE COMPLETE DOCUMENTATION OF ALL PLEADINGS (.2)	0.20
11/28/00	LAM	TELEPHONE CONFERENCE WITH JEFF LANE OF GREENWICH HIGH YIELD (.1) AND INSTRUCTIONS TO LAUREE TANNER (.2) REGARDING REMOVING STEVEN UNTERHALTER FROM MASTER SERVICE LIST	0.30
11/29/00	LAM	UPDATED DOCKET TO ENSURE COMPLETE DOCUMENTATION OF PLEADINGS IN CASE (.5)	0.50
11/29/00	SJM	REVIEW AND SIGN REVISED MASTER SERVICE LIST	0.10

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 125 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 251710 00131 CASE ADMINISTRATION PAGE 2 12/07/00

TOTAL HOURS 8.90

TIMEKEEPER TIME SUMMARY:				
TIMEKEEPER	HOURS		RATE	VALUE
KL CANNON, II	0.20	AT	\$280 =	56.00
SJ McCARDELL	0.10	AT	\$305 =	30.50
LA MCGEARY	8.60	$\mathtt{AT}$	\$90 =	774.00

CURRENT FEES 860.50

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
11/30/00	MESSENGER SERVICE	8.00	0 00
11/20/20	TOTAL MESSENGER SERVICE		8.00 43.41
11/30/00	TELEPHONE		
11/30/00	POSTAGE		49.54
11/30/00	MISCELLANEOUS CHARGES	349.00	
	REPRODUCTION - NOVEMBER 2000		
11/30/00	MISCELLANEOUS CHARGES FACSIMILE -	3.14	
	NOVEMBER 2000 (ACTUAL LINE COST		
	ONLY)		
	TOTAL MISCELLANEOUS CHARGES		352.14
11/13/00	SALT CITY COURIERS - MESSENGER	7.00	
	SERVICE OUTSIDE MESSENGER SERVICE		
	FOR OCTOBER 2000		
	TOTAL MESSENGER SERVICE		7.00
	CURRENT EXPENSES		460.09
	<u> </u>		
	TOTAL THIS MATTER		1,320.59

#### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

\_\_\_\_\_

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00144) CLAIMS ADMINISTRATION & OBJECTIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA		HOURS
11/01/00	SJM	REVIEW R. ALLEN APPEAL OF ORDER ON HIS CLAIM AND ATTACHED PAPERS FROM BAP AND PREPARE FOR NEXT PROCEEDINGS ON R. ALLEN APPEAL (.70); PREPARE FOR HEARING ON OBJECTION TO SUPPLEMENTAL RETIREE CLAIMS (.40); REVIEW NEW OBJECTION FROM SUPPLEMENTAL RETIREE ON CLAIM OBJECTION (.20)	1.30
11/02/00	SJM	REVIEW INFORMATION FROM T. BECKETT ON FREELOVE V. GENEVA LAWSUIT, REVIEW DISTRICT COURT DOCKET AND FILE ON EEOC CLAIMS AGAINST GENEVA AND PREPARE RESPONSE TO T. BECKETT (.20); PREPARE MEMO TO K. CANNON ON FREELOVE LAWSUIT (.20)	0.40
11/02/00	JMC	REVIEW INDIVIDUAL CLAIMS AND UPDATE CLAIMS OBJECTION MOTION	1.20
11/02/00	LAM	TELEPHONE CONFERENCE WITH STEVE BUNKER OF GENEVA AND ARTHUR ANDERSON AUDITOR REGARDING CLAIM 888 OF ROBERT GROW (.3)	0.30
11/02/00	LAM	REVIEWED AND REVISED THIRD OMNIBUS CLAIMS OBJECTION (1.2)	1.20
11/03/00	JMC	COMPLETE DRAFTING THIRD OMNIBUS CLAIMS OBJECTION MOTION (1.2); REVIEW INDIVIDUAL CLAIMS FOR SAME (2.0); DRAFT E-MAIL TO KEN CANNON AND OTHERS WITH MOTION ATTACHED (.1)	3.30
11/03/00	LAM	CONFERENCE WITH JOE COVEY REGARDING THIRD OMNIBUS	0.30

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 127 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 251710 00144 CLAIMS ADMINISTRATION & OBJECTIONS PAGE 2 12/07/00

DATE	ATTY/ PARA		HOURS
11/06/00	KLC	CLAIMS OBJECTIONS (.3) REVIEWING FREELOVE COMPLAINT, CONFERENCE WITH STEVE MCCARDELL REGARDING SAME	0.30
11/06/00	KLC	RESEARCH ON STAY ISSUES DRAFTING LETTER TO FREELOVE'S COUNSEL REGARDING	0.70 0.60
11/06/00	KLC	VIOLATION OF THE STAY	
11/06/00	SJM	REVIEW INFORMATION FROM BAP CLERK ON ALLEN APPEAL AND PREPARE FOR FURTHER PROCEEDINGS ON ALLEN APPEAL (.80); REVIEW FREELOVE ACTION (.20); AND	1.10
11/06/00	JMC	CONFERENCE WITH K. CANNON REGARDING ACTION (.10) BEGIN REVIEW OF OBJECTIONS TO GENEVA'S MOTION TO REJECT SUPPLEMENTAL RETIREE CLAIMS	0.20
11/07/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING FREELOVE	0.10
11/07/00	KLC	REVISING LETTER ON FREELOVE CLAIM	0.20
11/07/00	LAM	PREPARED LIST OF CLAIMS ASSIGNED TO DEBT ACOUISITION COMPANY OF AMERICA (1.3)	1.30
11/08/00	JMC	REVIEW MOTION AND AFFIDAVIT TO REJECT RETIREE CLAIMS (.5); BEGIN REVIEW OF INDIVIDUAL RESPONSES TO MOTION (1.5); BEGIN DRAFTING RESPONSE TO	2.40
11/09/00	JMC	INDIVIDUAL OBJECTIONS (.4) REVIEW OBJECTIONS BY RETIREES TO GENEVA'S MOTION (.8); DRAFT RESPONSE TO RETIREE OBJECTIONS (1.1); RESEARCH BANKRUPTCY LAW REGARDING SECTION 507(A)(4) AND WHEN COMPENSATION IS "EARNED" UNDER	4.80
11/10/00	MŲS	SECTION 507(A)(3) (2.9) PREPARE FOR HEARING ON SAP CONTRACT CLAIMS (.60); REVIEW AND EDIT DRAFT REPLY TO OBJECTIONS TO MOTION TO FIX CLAIMS OF SUPPLEMENTAL RETIREES (.40); CONFERENCE WITH J. COVEY REGARDING REPLY TO OBJECTIONS TO MOTION TO FIX CLAIMS OF SUPPLEMENTAL	1.10
11/10/00	JMC	RETIREES (.10) DRAFT RESPONSE MOTION REGARDING SUPPLEMENTAL RETIREE CLAIMS (3.9); OFFICE CONFERENCE WITH S. MCCARDELL REGARDING THE SAME (.2); REVIEW MOTION IN RELATION TO COMMENTS BY MR. MCCARDELL (.2); COMPLETE RESEARCH ON BANKRUPTCY CODE SECTIONS 507(A)(3) AND (A)(4) (2.0)	6.30
11/13/00	SJM	REVIEW AND EDIT DRAFT REPLY TO OBJECTIONS TO MOTION ON SUPPLEMENTAL RETIREE CLAIMS	0.20
11/13/00	JMC	REVIEW AND REVISE RESPONSE MOTION TO OBJECTIONS BY SUPPLEMENTAL RETIREES	1.30
11/13/00	LAM	REVISED THIRD OMNIBUS CLAIMS OBJECTIONS (2.3)	2.30
11/14/00	KLC	TELEPHONE CONFERENCE FROM GORDON DUVAL REGARDING FREELOVE CLAIM, EMAIL TO KEN JOHNSEN, CARL RAMNITZ	0.20
11/14/00	SJM	REGARDING SAME REVIEW DESIGNATION OF RECORD ON APPEAL FILED BY R. ALLEN, REVIEW RECORD FOR ADDITIONAL ITEMS TO	3.20

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 128 of 248

28602 GENEVA STEEL COMPANY
00144 CLAIMS ADMINISTRATION & OBJECTIONS
12/07/00

INVOICE NUMBER 251710 PAGE 3

=	ATTY/ PARA		HOURS
		DESIGNATE, AND PREPARE AND FINALIZE DESIGNATION OF RECORD BY GENEVA (2.40); REVIEW INFORMATION FROM DISTRICT COURT REGARDING GATX APPEAL REGARDING ADR PROCEDURES AND PREPARE TO ADVISE GENEVA REGARDING ADR PROCEDURES (.70); CONFERENCE WITH K. CANNON REGARDING FREELOVE ACTION AND AGREEMENT OF	
11/14/00	JMC	FREELOVE'S COUNSEL TO DISMISS (.10) COLLECT ALL SUPPLEMENTAL RETIREE OBJECTIONS AND COORDINATE SENDING SAME TO CARL RAMNITZ (.3)	0.30
11/15/00	SJM	PREPARE FOR HEARING ON SUPPLEMENTAL RETIREE CLAIMANTS' CLAIMS	1.50
11/15/00	JMC	COORDINATE FILING AND SERVING REPLY TO OBJECTIONS BY SUPPLEMENTAL RETIREES	0.30
11/15/00	LAM	REVISED THIRD OMNIBUS CLAIMS OBJECTIONS (2.0)	2.00
11/15/00 11/16/00	JRS	DISCUSSION WITH STEVE MCCARDELL IN PREPARATION FOR DRAFTING RESPONSE TO GATX APPEAL	0.10
11/17/00	LAM	CONFERENCE WITH STEVE MCCARDELL REGARDING UNRESOLVED CLAIMS TO ROGER HENRICKSON (.2)	0.20
11/17/00	LAM	REVISED CLAIM ANALYSIS (1.2); MEMO TO DENNIS	1.40
11/17/00	LAM	WANLASS REGARDING UNRESOLVED CLAIMS (.2) TELEPHONE CONFERENCE WITH TRACY OF DEBT ACQUISITION COMPANY OF AMERICA REGARDING AMENDED	0.20
11/20/00	SJM	SCHEDULE F (.2) PREPARE FOR HEARING ON MOTION ON SUPPLEMENTAL RETIREMENT CONTRACTS, INCLUDING MEETINGS WITH D. WANLASS AND C. RAMNITZ (1.40); ATTEND HEARING ON	3.10
11/20/00	JMC	MOTION ON SUPPLEMENTAL RETIREMENT CONTRACTS  (1.50); CONFERENCE WITH J. COVEY AND M. ELLENBERG REGARDING FOLLOW-UP NEEDED ON SUPPLEMENTAL RETIREMENT CONTRACTS MOTION (.20) DRAFT ORDER APPROVING SUPPLEMENTAL RETIREE ORDER  (1.3); PREPARE CLERK'S CERTIFICATE FOR ORDER AND COORDINATE PREPARATION FOR MAILINGS (.6); ATTEND HEARING WITH S. MCCARDELL, DENNIS WANLASS AND CARL RAMNITZ (1.5); OFFICE CONFERENCE WITH SAME AND OTHERS REGARDING HEARING (.3); OFFICE CONFERENCE WITH S. MCCARDELL REGARDING PROPOSED ORDER (.1)	3.80
11/21/00	JMC	OFFICE CONFERENCE WITH CARL RAMNITZ REGARDING SUPPLEMENTAL RETIREE MOTION AND WATSON WYATT FEE APPLICATION	0.30
11/21/00	LAM	CONTINUED REVISIONS TO THIRD OMNIBUS CLAIMS OBJECTION (1.0)	1.00
11/24/00	SJM	PREPARE INFORMATION FOR ASSOCIATE ON BRIEFING IN GATX APPEAL	0.30
11/24/00 11/27/00	LAM JMC	REVISED THIRD OMNIBUS CLAIMS OBJECTIONS (1.4) REVIEW REVISIONS TO CLAIMS BY L. MCGEARY TO THIRD OMNIBUS CLAIM OBJECTION MOTION (.3); TELEPHONE CONFERENCE WITH L. MCGEARY REGARDING THE SAME (.1)	1.40

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 129 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 251710 00144 CLAIMS ADMINISTRATION & OBJECTIONS PAGE 4 12/07/00

DATE	ATTY/ PARA		HOURS
11/27/00	LAM	PREPARED REDLINE VERSION OF THIRD OMNIBUS CLAIMS	0.30
11/27/00	SJM	OBJECTION (.3) CONFERENCE WITH M. ELLENBERG REGARDING GATX APPEAL (.10); CONFERENCE WITH M. ELLENBERG AND K. JOHNSEN REGARDING GATX APPEAL (.10); REVIEW DISTRICT COURT PROCEDURES AND PREPARE CERTIFICATE OF DISPUTE RESOLUTION FOR DISTRICT COURT (.30); CONFERENCE WITH W. HARRIS REGARDING AFCO NOTICE ON INSURANCE PREMIUM CLAIM (.10); REVIEW CONTRACT ASSUMPTIONS MOTIONS FOR CLAIM RESOLUTIONS AND PREPARE INFORMATION FOR L. MCGEARY REGARDING CLAIMS (.40)	1.00
11/28/00	JRS	REVIEW OF DOCUMENTS IN PREPARATION FOR RESPONDING TO GATX APPEAL	2.90
11/28/00	LAM	TELEPHONE CONFERENCE WITH AND LETTER TO TOM SCHEIDT OF DEBT ACQUISITION COMPANY OF AMERICA REGARDING SECOND AMENDED SCHEDULE F (.7)	0.70
11/28/00	SJM	CONFERENCE WITH COUNSEL FOR GATX REGARDING APPEAL MEDIATION AND REGARDING BRIEF ON APPEAL	0.20
11/29/00	JRS	REVIEW OF BANKRUPTCY PLEADINGS UNDERLYING THE DISTRICT COURT APPEAL IN PREPARATION FOR DRAFTING APPEAL BRIEF	4.50
11/29/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING CLAIM ISSUES	0.20
11/29/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING EXECUTORY CONTRACT ISSUES	0.20
11/29/00	KLC	CONFERENCE WITH LISA MCGEARY REGARDING CLAIMS ASSOCIATED WITH EXECUTORY CONTRACTS	0.30
11/29/00	SJM	MEETING WITH PARALEGAL REGARDING CLAIMS LIST FOR CLASS 3 DISTRIBUTIONS (.50); CONFERENCE WITH K. CANNON ON INFORMATION NEEDED ON CONTRACTS AND CLAIMS (.20); ANALYSIS OF INFORMATION FOR DISTRIBUTIONS AND CLAIMS RESOLVED OR SETTLED (.80); ANALYSIS OF GENEVA'S POSSIBLE ARGUMENTS AS TO APPEAL OF GATX RULINGS (1.30)	2.80
11/30/00 11/30/00	JRS SJM	REVIEW OF GATX APPEAL AND AUTHORITY CITED THEREIN REVIEW AND ANALYSIS OF GATX APPELLATE BRIEF AND PREPARE COMMENTS (3.30); CONFERENCES WITH M. ELLENBERG AND J. SCHOFIELD ON GATX APPELLATE BRIEF (.10); REVIEW MEDIATORS POSSIBLE FOR GATX APPEAL AND AFFILIATIONS (.70); CONFERENCE WITH R. HENRIKSEN AND J. AHLSTROM REGARDING OBLIGATIONS FOR CITIBANK LOAN SCHEDULES (.30); CONFERENCE WITH FIRST AMERICAN REGARDING TITLE QUESTIONS (.30); CONFERENCE WITH K. CANNON REGARDING TAX ON GATX PROPERTY (.10)	5.30 4.80

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 130 of 248

28602 GENEVA STEEL COMPANY 00144 CLAIMS ADMINISTRATION & OBJECTIONS 12/07/00

INVOICE NUMBER 251710 PAGE 5

TOTAL HOURS 73.80

15,490.88

TIMEKEEPER TIMEKEEPER	TIME SUMMARY:	HOURS		RATE	VALUE	
KL CANNON, SJ McCARDEI JM COVEY JR SCHOFIEI LA MCGEARY	ıL	24.60 12.80	AΤ	\$305 = \$195 =	4,797.00	
	CURREN	T FEES				15,360.00
FOR CHARGES	S AND DISBURSEME	NTS:				
DATE					VALUE	
11/30/00	MESSENGER SER TOTAL MESSE TELEPHONE		VICE		4.00	4.00
11/30/00 11/30/00	POSTAGE MISCELLANEOUS REPRODUCTION	- NOVEMB	ER 200	00	69.00	30.86
11/30/00	MISCELLANEOUS NOVEMBER 2000 ONLY)	CHARGES (ACTUAL	FACS:	IMILE - COST	6.65	
11/13/00	TOTAL MISCE SALT CITY COU SERVICE OUTS	RIERS - DE MESSE	MESSE	NGER	17.00	75.65
	FOR OCTOBER 2 TOTAL MESSE		VICE			17.00
	CURREI	IT EXPENS	ES			130.88

TOTAL THIS MATTER

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13:5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00265) EXECUTORY CONTRACTS & LEASES

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA		HOURS
11/01/00 11/01/00	KLC KLC	REVISING MOTION ON EXECUTORY CONTRACTS TELEPHONE CONFERENCE FROM GARY SACKETT REGARDING	0.50
11/01/00	KLC	CUPOLA EMAILS TO KEN JOHNSEN, MARK ELLENBERG REGARDING	0.20
11/01/00	SJM	GATX REVIEW AND COMMENT ON DRAFT MOTION ON USWA CONTRACT ASSUMPTION (.30); REVIEW INFORMATION ON STEELBOND CONTRACT AND PREPARE INFORMATION FOR K.	0.90
11/02/00	KLC	CANNON AND M. ELLENBERG ON CONTRACT (.60) REVIEWING NOTES, CLAIMS, AND AGREEMENTS IN RELATION TO SECOND OMNIBUS MOTION TO ASSUME CONTRACTS, EMAIL TO RICHARD ROSS REGARDING DRAFT	2.40
11/03/00 11/06/00	KLC KLC	REVISING MOTION ON EXECUTORY CONTRACTS REVISING MOTION ON ASSUMPTION OF US STEEL AGREEMENTS	0.40 0.80
11/07/00 11/08/00	KLC KLC	REVISING SECOND OMNIBUS MOTION TO ASSUME CONTRACTS TELEPHONE CONFERENCE FROM DENNIS WANLASS REGARDING RETIREE BENEFIT MOTION	0.40
11/08/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING SECOND OMNIBUS EXECUTORY CONTRACT MOTION	0.40
11/08/00 11/09/00 11/09/00	KLC KLC	REVISING EXECUTORY CONTRACT MOTION REVISING SECOND MOTION ON EXECUTORY CONTRACTS REVIEWING STEELCO RESPONSE	0.70 0.40 0.20

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 132 of 248

28602 GENEVA STEEL COMPANY 00265 EXECUTORY CONTRACTS & LEASES 12/07/00 INVOICE NUMBER 251710 PAGE 2

DATE	ATTY/ PARA		HOURS
11/10/00	KLC KLC	REVISING SECOND OMNIBUS EXECUTORY CONTRACT MOTION TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING	0.50 0.30
11/10/00	KLC	VARIOUS EXECUTORY CONTRACT ISSUES TELEPHONE CONFERENCE TO DALE POULSON REGARDING	0.20
11/10/00	KLC	OXBOW AND QUAKER COAL ANALYSIS OF ISSUES ON VARIOUS LEASES AND AGREEMENTS RELATED TO SECOND OMNIBUS EXECUTORY CONTRACT MOTION	0.70
11/13/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING NEW CONTRACT ISSUES	0.20
11/13/00	SJM	CONFERENCE WITH SAP'S COUNSEL REGARDING EXTENSION OF TIME FOR FILING SAP'S OBJECTION TO MOTION TO ASSUME SAP LICENSE AGREEMENT	0.10
11/14/00	KLC	REVIEWING NEW WESTERN PIPE COATINGS AGREEMENTS	0.40
11/14/00	KLC	FINAL REVISIONS TO SECOND OMNIBUS MOTION FOR ASSUMPTION OF EXECUTORY CONTRACTS	0.70
11/14/00	KLC	TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING REVISIONS TO SECOND OMNIBUS MOTION	0.20
11/14/00	KLC	DRAFTING NOTICE OF HEARING ON SECOND OMNIBUS EXECUTORY CONTRACT MOTION	0.30
11/14/00	SJM	ANALYSIS OF SAP OBJECTION TO MOTION TO ASSUME CONTRACTS (1.60); REVIEW DRAFT OMNIBUS MOTION TO EXECUTORY CONTRACTS AND LIST OF CONTRACTS (.30)	1.90
11/15/00	KLC	TELEPHONE CONFERENCE TO MAREEA PERRY REGARDING A HEARING ON THE SECOND OMNIBUS MOTION ON EXECUTORY	0.10
11/15/00	KLC	CONTRACTS DRAFTING NOTICE OF HEARING ON SECOND OMNIBUS EXECUTORY CONTRACT MOTION	0.40
11/15/00	KLC	TELEPHONE CONFERENCE FROM DALE POULSON REGARDING OXBOW CONTRACT	0.20
11/15/00	KLC	REVISING SECOND OMNIBUS MOTION	0.30
11/15/00	KLC	TELEPHONE CONFERENCE FROM DALE POULSON REGARDING	0.20
11/15/00	1000	TREATMENT OF OXBOW CONTRACT	
11/16/00	KLC	TELEPHONE CONFERENCE TO GARY SACKETT REGARDING VISIT TO CUPOLA BY GATX'S APPRAISER, INFORMATION REQUESTED BY THE APPRAISER	0.20
11/16/00	WT C	REVIEWING INFORMATION REQUEST FOR APPRAISER	0.30
11/16/00 11/16/00	KLC KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING GATX ISSUES	0.30
11/16/00	KLC	REVIEWING GENEVA-US STEEL AGREEMENTS	0.40
11/16/00	KLC	REVISING GENEVA-US STEEL AGREEMENTS	0.70
11/17/00	KLC	REVIEWING INFORMATION ON REJECTION OF CONTRACTS	0.50
11/17/00	KLC	DRAFTING MOTION ON REJECTION OF CONTRACTS	1.40
11/17/00		TELEPHONE CONFERENCE TO STEVE CHRISTIANSEN REGARDING MOTION ON US STEEL AGREEMENTS	0.30
11/17/00	KLC	TELEPHONE CONFERENCE TO RICHARD SELTZER REGARDING DRAFT MOTION ON UNITED STEELWORKERS	0.30
11/17/00	KLC	REVISING DRAFT MOTION ON UNITED STEELWORKERS	0.50

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 133 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 251710 00265 EXECUTORY CONTRACTS & LEASES PAGE 3

DATE	ATTY/ PARA		HOURS
11/17/00	KLC	EMAILS TO GENEVA OFFICERS REGARDING MOTION ON	0.20
11/17/00	KLC	UNITED STEELWORKERS REVIEWING USX AGREEMENTS, REVISING MOTION ON US	0.40
11/17/00	KLC	STEEL AGREEMENTS TELEPHONE CONFERENCE FROM STEVE CHRISTIANSEN REGARDING MOTION ON ASSUMPTION OF US STEEL	0.70
11/17/00	KLC	AGREEMENTS REVISING MOTION TO ASSUME CERTAIN US STEEL	0.50
11/17/00	KLC	AGREEMENTS EMAILS TO GENEVA, PARR WADDOUPS LAWYERS REGARDING	0.20
11/20/00 11/20/00	KLC	US STEEL MOTION REVISING MOTION TO ASSUME USX CONTRACTS TELEPHONE CONFERENCE FROM STEVE CHRISTIANSEN	0.50 0.30
11/20/00	KLC	REGARDING MOTION ON USX CONTRACTS DRAFTING NOTICE OF HEARING ON MOTION TO ASSUME USX	0.40
11/20/00	KLC	CONTRACTS CONFERENCE WITH STEVE MCCARDELL REGARDING USX	0.30
11/20/00	KLC	MOTION TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING ISSUES ON CONTRACTS TO ASSUME, REJECT	0.30
11/20/00	KLC	CONFERENCE WITH CARL RAMNITZ REGARDING	0.30
11/20/00	KLC	STEELWORKERS ASSUMPTION MOTION REVIEWING LIST OF CONTRACTS	0.50 0.60
11/20/00	KLC	REVIEWING LIST OF CONTRACTS  REVISING MOTION TO REJECT CERTAIN EXECUTORY  CONTRACTS	0.30
11/20/00	KLC	TELEPHONE CONFERENCE TO PAUL PETERSON REGARDING	
11/20/00	KLC	TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING	0.20
11/20/00	KLC	TELEPHONE CONFERENCE WITH MARCUS PHIBLIPS REGARDING CERTAIN CONTRACTS TO BE ASSUMED OR	0.40
11/20/00	KLC	REJECTED TELEPHONE CONFERENCE TO REG WINTRELL REGARDING	0.50
11/20/00	KLC	CONTRACTS TO BE ASSUMED OR REJECTED CONFERENCE WITH KEN JOHNSEN REGARDING CONTRACTS TO	0.50
11/20/00	KLC	BE ASSUMED OR REJECTED  DRAFTING NOTICES OF HEARING ON UNITED  DRAFTING NOTICES OF HEARING ON UNITED	0.70
11/20/00	KLC	STEELWORKERS, REJECTION MOTIONS REVIEWING PROGRAM ON DEFERRED COMPENSATION FOR	0.50
11/20/00	KLC	GENEVA OUTSIDE DIRECTORS CONFERENCE WITH STEVE MCCARDELL REGARDING DIRECTOR	0.20
11/20/00	KLC	DEFERRED COMPENSATION PROGRAM REVISING MOTION TO REJECT CONTRACTS	0.40 0.20
11/20/00		CONFERENCE WITH STEVE MCCARDELL REGARDING REJECTION MOTION	1.30
11/21/00 11/21/00		REJECTION MOTION REVISING OMNIBUS MOTIONS ON REJECTION, ASSUMPTION TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING OMNIBUS MOTIONS ON REJECTION, ASSUMPTION	0.20

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 134 of 248

28602 GENEVA STEEL COMPANY
00265 EXECUTORY CONTRACTS & LEASES
12/07/00

INVOICE NUMBER 251710 PAGE 4

DATE	ATTY/ PARA		HOURS
11/21/00	KLC	TELEPHONE CONFERENCE TO MARCUS PHILLIPS REGARDING	0.30
		SOUTHERN COIL, SOUTHERN FAB	0.50
11/21/00	KLC	CONFERENCE WITH KEN JOHNSEN REGARDING SOUTHERN COIL, SOUTHERN FAB, CREST STEEL CONTRACTS	0.20
11/21/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING HEARING ON EXECUTORY CONTRACT MOTIONS	0.20
11/21/00	KLC	TELEPHONE CONFERENCE TO MAREEA PERRY REGARDING HEARINGS ON EXECUTORY CONTRACT MOTIONS	0.10
11/21/00	KLC	REVISING NOTICES OF HEARING ON EXECUTORY CONTRACT MOTIONS	0.80
11/21/00	KLC	TELEPHONE CONFERENCE FROM MARCUS PHILLIPS	0.20
11/21/00	KLC	REGARDING SOUTHERN COIL, SOUTHERN FAB REVISING MOTIONS ON REJECTION, ASSUMPTION	0.50
11/21/00	KLC	FINAL PROOFREADING OF REJECTION, ASSUMPTION MOTIONS	0.80
11/21/00	KLC	TELEPHONE CONFERENCE FROM ROGER HUBER REGARDING CERTAIN CONTRACTS	0.20
11/21/00	KLC	FILING CONTRACTS	0.40
11/21/00	KLC	TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING	0.20
11/22/00	KLC	FINAL ISSUES IN EXECUTORY CONTRACT MOTIONS TELEPHONE CONFERENCE FROM GARY SACKETT REGARDING CUPOLA ISSUES	0.20
11/22/00	KLC	MESSAGE TO DENNIS WANLASS REGARDING INFORMATION BY GARY SACKETT	0.20
11/22/00	KLC	TELEPHONE CONFERENCE TO HENRY LUND REGARDING CUPOLA ISSUES	0.20
11/22/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING GATX ISSUES	0.20
11/22/00	KLC	TELEPHONE CONFERENCE TO DENNIS WANLASS REGARDING CUPOLA ISSUES	0.20
11/22/00	KLC	TELEPHONE CONFERENCE TO GARY SACKETT REGARDING CUPOLA ISSUES	0.20
11/28/00	SJM	ANALYSIS OF LEGAL ARGUMENTS RAISED BY SAP AS TO ASSUMPTION OF CONTRACT	2.30
11/30/00	KLC	REVIEWING GATX APPELLATE BRIEF	1.10
11/30/00	KLC	REVIEWING REACTIONS TO GATX BRIEF WITH STEVE MCCARDELL	0.20
11/30/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING DAMAGE CLAIMS	0.20
11/30/00	KLC	TELEPHONE CONFERENCE FROM RICHARD SELTZER REGARDING MOTION TO ASSUME UNITED STEELWORKERS AGREEMENT	0.20
11/30/00	KLC	REVIEWING MOTION TO ASSUME STEELWORKERS AGREEMENT	0.30
11/30/00	KLC	REVIEWING STEELWORKERS AGREEMENT	0.20
		TOTAL HOURS	39.60

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 135 of 248

	GENEVA STEEL COMPANY EXECUTORY CONTRACTS & LEAS	INVOICE NUMB SES PAGE 5	ER 251710
12/07/00			

TIMEKEEPER T	IME SUMMARY:	HOURS		RATE		LUE	
KL CANNON, I SJ McCARDELL	<del>-</del>			\$280 = \$305 =	9,63	32.00	
	CURREN	T FEES				÷	11,218.00
FOR CHARGES	AND DISBURSEME	NTS:					
DATE						VALUE	
						8.00	
11/30/00	MESSENGER SER		UTCE			8.00	8.00
11/20/00	TOTAL MESSE TELEPHONE	NGER SER	ATCE				9.37
11/30/00 11/30/00	POSTAGE						175.40
11/30/00	MISCELLANEOUS	CHARGES			1,0	08.600	
11/30/00	REPRODUCTION			00			
11/30/00	MISCELLANEOUS	CHARGES	FACS.	MILE -		5.38	
, ,	NOVEMBER 2000	(ACTUAL	LINE	COST			
	ONLY)			~=-			1,015.18
	TOTAL MISCE FEDERAL EXPRE	LLANEOUS	CHAR	JES TATO		13.99	1,010.10
11/29/00	EXPRESS FEDEX	SS CORPO	RATIO	N - AIK		10.00	
	DODSON OF CAL	WALADER.	WICK	ERSHAM			
	& TAFT ON 11/	14/00					
	TOTAL AIR E	XPRESS					13.99
11/13/00	SALT CITY COU	RIERS -	MESSE	NGER		7.00	
	SERVICE OUTSI		NGER	SERVICE			
	FOR OCTOBER 2		WT CE				7.00
	TOTAL MESSE	INGER SER	VICE				
	CURREN	T EXPENS	ES				1,228.94

TOTAL THIS MATTER

12,446.94

### LeBoeuf, Lamb, Greene & MacRae

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00276) FEE/EMPLOYMENT APPLICATIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA		HOURS
11/01/00	JMC	TELEPHONE CONFERENCE WITH STEVE STRONG REGARDING WATSON WYATT FEE APPLICATION (.1); TELEPHONE CONFERENCE WITH MICHELLE SPENCER REGARDING WATSON WYATT FEE APPLICATION (.7); COMPILE TRUSTEE FEE GUIDELINES AND ADMINISTRATIVE ORDER AND SEND THE SAME TO MICHELLE SPENCER (.2)	1.00
11/10/00	MH	DREDARE STH INTERIM FEE APPLICATION	1.60
11/10/00 11/13/00	SJM	PREPARATION OF NARRATIVE PORTIONS OF LLG&M FEE	2.40
11/15/00	55	ADDITCATION DUE 11-15	0.10
11/14/00	JMC	TELEPHONE CONFERENCE WITH MICHELLE SPENCER	0.25
11/14/00	LAM	REGARDING WATSON WYATT FEE APPLICATION TELEPHONE CONFERENCE WITH VALERIE MCDONALD REGARDING ORDER APPROVING CADWALADER'S 4TH FEE	0.30
11/14/00 11/15/00	MH JMC	APPLICATION (.3) PREPARE LLGM'S FIFTH INTERIM FEE APPLICATION TELEPHONE CONFERENCES WITH MICHELLE SPENCER REGARDING WATSON WYATT FEE APPLICATION (.6); REVIEW AND REVISE FEE APPLICATION (1.2)	0.80 1.80
11/15/00	LAM	TELEPHONE CONFERENCE WITH VALERIE MACDONALD REGARDING CADWALADER'S LAST FEE APPLICATION (.2)	0.20
11/15/00 11/16/00	MH JMC	REVISE 5TH INTERIM FEE APPLICATION REVIEW AND REVISE WATSON WYATT FEE APPLICATION (5.0); TELEPHONE CONFERENCE WITH KERRIE AVERY OF	0.70 6.00

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 137 of 248

28602 GENEVA STEEL COMPANY 00276 FEE/EMPLOYMENT APPLICATIONS 12/07/00 INVOICE NUMBER 251710 PAGE 2

DATE	ATTY/ PARA		HOURS
		WATSON WYATT REGARDING INVOICES (.1); TELEPHONE CONFERENCES WITH MICHELLE SPENCER REGARDING THE SAME (.7); DRAFT E-MAIL TO MICHELLE SPENCER	
11/17/00	JMC	REGARDING THE SAME (.2) REVIEW AND REVISE FEE APPLICATION FOR WATSON WYATT (.4); TELEPHONE CONFERENCES WITH MICHELLE SPENCER REGARDING THE SAME (.5); DRAFT EXPENSE EXHIBITS AND OTHER EXHIBITS FOR FEE APPLICATION (.4); OFFICE CONFERENCE WITH S. MCCARDELL REGARDING THE SAME (.2); REVIEW COVER LETTER FOR MICHELLE SPENCER TO CIRCULATE WITH INVOICES (.2); TELEPHONE CONFERENCE WITH KERRIE AVERY REGARDING THE SAME (.1); COORDINATE FILING AND SERVING OF FEE APPLICATION (.2); DRAFT VARIOUS E-MAILS TO MICHELLE SPENCER REGARDING SAME (.6); TELEPHONE CONFERENCES WITH CARL RAMNITZ REGARDING INVOICES	2.90
		(3)	0.50
11/17/00	LAM	REVISED NOTICE OF FEE APPLICATIONS (.5) TELEPHONE CONFERENCE WITH VALERIE MACDONALD	0.10
11/17/00	LAM	PROPERTY FOR ADDITIONS	
11/20/00	JMC	REVIEW CHART FROM GENEVA COMPARING WATSON WYATT'S INVOICES IN FEE APPLICATION WITH INVOICES PREVIOUSLY SENT TO GENEVA (.2); OFFICE CONFERENCE WITH CARL RAMNITZ REGARDING WATSON WYATT FEE	0.40
11/27/00	JMC	APPLICATION (.2) TELEPHONE CONFERENCE WITH MICHELLE SPENCER REGARDING WATSON WYATT FEE APPLICATION AND MONTHLY PAYMENTS (.2); COORDINATE SENDING INVOICE	0.30
11/29/00	JMC	COMPARISON CHART TO SAME (.1) TELEPHONE CONFERENCE WITH MICHELLE SPENCER REGARDING DISCREPENCY IN WATSON WYATT INVOICES AND PROCEDURES FOR CIRCULATING MONTHLY INVOICES FOR	0.10
11/29/00	LAM	PARTIAL PAYMENT CONFERENCE WITH LAURA SMITH REGARDING LLGM'S FIRST FEE APPLICATION (.1)	0.10
		TOTAL HOURS	19.30

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
SJ McCARDELL	2.40	AT \$305 = AT \$195 = AT \$145 = AT \$90 =	732.00
JM COVEY	12.60		2,457.00
M HOPPE	3.10		449.50
LA MCGEARY	1.20		108.00

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 138 of 248

28602 GENEVA STEEL COMPANY 00276 FEE/EMPLOYMENT APPLICATIONS 12/07/00

INVOICE NUMBER 251710 PAGE 3

CURRENT FEES

3,746.50

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
11/16/00	MESSENGER SERVICE	4.00	•
11/30/00	MESSENGER SERVICE	16.00	
	TOTAL MESSENGER SERVICE		20.00
11/30/00	TELEPHONE		9.96
11/30/00	POSTAGE		114.64
11/30/00	MISCELLANEOUS CHARGES	1,837.40	
	REPRODUCTION - NOVEMBER 2000		
11/30/00	MISCELLANEOUS CHARGES FACSIMILE -	21.55	
	NOVEMBER 2000 (ACTUAL LINE COST		
	ONLY)		
	TOTAL MISCELLANEOUS CHARGES		1,858.95
	CURRENT EXPENSES		2 202 55
	CORRENT EXPENSES		2,003.55
	TOTAL THIS MATTER		5,750.05

### LeBoeuf, Lamb, Greene & MacRae

JLP.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00277) FEE/EMPLOYMENT OBJECTIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

	ATTY/		
DATE	PARA		HOURS
11/01/00	SCS	REVIEW AND ANALYSIS OF 13 ORDERS RECENTLY ENTERED ON INTERIM FEE APPLICATIONS AND PREPARE DETAILED CHART OF AMOUNTS APPROVED BY COURT, PREVIOUSLY PAID, AND STILL OWED	2.70
11/01/00	SCS	TELECONFERENCE WITH L. LOUMIS RE SKADDEN ARPS AND WATSON WYATT PROFESSIONAL FEE ISSUES (0.1); CONFERENCES WITH J. COVEY RE APPROVAL OF WATSON WYATT EMPLOYMENT APPLICATION AND NEED TO SUBMIT INVOICES TO REVIEWING PARTIES PURSUANT TO ADMINISTRATIVE FEE ORDERS (0.4)	0.50
11/02/00	SCS	TELECONFERENCE WITH P. MARCUS RE COURT'S ORDER APPROVING \$25,000 PAYMENT RE GLP'S PROFESSIONAL SERVICES	0.10
11/02/00	SCS	CONTINUE ANALYSIS OF PRIOR PAYMENTS MADE TO DETERMINE AMOUNTS STILL OWED ON FOURTH ROUND OF FEE APPLICATIONS AS APPROVED BY COURT IN RECENT ORDERS	2.50
11/03/00	SCS	CONFERENCE WITH S. MCCARDELL RE SCHEDULING OF NEXT HEARING ON INTERIM FEE APPLICATIONS, AND EXCHANGE E-MAILS WITH M. ELLENBERG RE SAME (0.2); TELECONFERENCE WITH COURT'S SCHEDULING CLERK RE SCHEDULING HEARING (0.1); DRAFT E-MAIL TO VARIOUS COUNSEL IN CASE RE SAME (0.2)	0.50

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 140 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 251710 00277 FEE/EMPLOYMENT OBJECTIONS PAGE 2 12/07/00

DATE	ATTY/ PARA		HOURS
11/07/00	SCS	EXCHANGE E-MAILS WITH S. MCCARDELL RE INTERIM FEE APPLICATIONS DUE NOVEMBER 15	0.10
11/09/00	SCS	FURTHER REVIEW OF APPARENT DISCREPANCIES IN AMOUNTS PAID TO CERTAIN PROFESSIONALS FOR FEBRUARY THROUGH MAY FEE APPLICATION PERIOD (0.4), AND VOICE MESSAGE TO S. BUNKER RE SAME (0.1)	0.50
11/10/00	MH	REVIEW PROFESSIONALS' INVOICES TO PREPARE CHART SUMMARIZING INVOICES	0.90
11/10/00	SCS	CONFERENCE WITH J. COVEY RE WATSON WYATT FEE APPLICATION AND CONFERENCE WITH M. HOPPE RE LLGM FEE APPLICATION	0.10
11/13/00	SCS	TELECONFERENCE WITH S. BUNKER RE PAYMENT MADE TO MADSON & METCALF AND MIX-UP CONCERNING PAYMENTS MADE TO E&Y RESTRUCTURING AND ERNST & YOUNG (0.3); REVISE AND FINALIZE SPREADSHEET SHOWING APPROVED FEES AND EXPENSES ON FEBRUARY THROUGH MAY 2000 FEE APPLICATIONS AND LETTER TO GENEVA RE SAME (0.8)	1.10
11/13/00	SCS	REVIEW DRAFT FEE APPLICATION OF FENWICK & WEST AND VOICE MESSAGE TO J. FOX'S OFFICE RE SAME (0.3); EXCHANGE MESSAGES WITH R. SCHAGRIN RE FILING NEXT INTERIM FEE APPLICATION (0.1)	0.40
11/14/00	SCS	CONFERENCE WITH J. COVEY RE WATSON WYATT FEE APPLICATION QUESTIONS (0.4); REVIEW DRAFT OF SPENCER STUART FEE APPLICATION (0.3); TELECONFERENCE WITH T. SPENCE RE SPENCER STUART FEE APPLICATION (0.2)	0.90
11/16/00	SCS	TELECONFERENCE WITH W. HARRIS AND CONFERENCE WITH S. MCCARDELL RE DEBTOR'S INTENTIONS REGARDING UNPAID PROFESSIONAL FEES (0.1); REVIEW INTERIM FEE APPLICATIONS FILED AND BEGIN PREPARING DETAILED NOTICE OF HEARING RE SAME (0.3)	0.40
11/17/00	MH	PREPARE INVOICE CHART AND LETTER FOR DISTRIBUTION WITH REVISIONS	1.60
11/17/00	SCS	CONTINUE REVIEW OF INTERIM FEE APPLICATIONS RECENTLY FILED AND PREPARATION OF DETAILED NOTICE RE SAME	1.30
11/17/00	SCS	REVIEW LLGM OCTOBER INVOICE AND BACKUP CHARTS REQUESTED BY U.S. TRUSTEE'S OFFICE (0.2); REVIEW COURT'S ORDER APPROVING PAYMENT OF FIRST AND FINAL FEE APPLICATION OF CASEY EQUIPMENT (0.1); CONFERENCES WITH M. HOPPE RE PREPARATION OF SPREADSHEET SHOWING APPROVED PAYMENTS TO PROFESSIONALS (0.1); FINALIZE COVER LETTER TO CIRCULATE SAME TO REVIEWING PARTIES (0.1)	0.50
11/20/00 11/20/00	MH SCS	REVISIONS TO LETTER AND CHART TO PROFESSIONALS REVIEW E-MAIL FROM CASEY EQUIPMENT RE FEES (0.1); FORWARD SAME TO M. HOPPE AND CONFERENCE WITH M. HOPPE RE SAME (0.1); REVIEW AND SIGN LETTER TO	0.80 0.30

Case 99-21130	Doc 1185-1577	Filed 03/05/01	Entered 03/06/01 07:27:00	Desc
	Converted from	om BANCAP P	age 141 of 248	

28602	GENEVA STEEL COMPANY	INVOICE NUMBER	251710
00277	FEE/EMPLOYMENT OBJECTIONS	PAGE 3	
12/07/00			

	ATTY/		
DATE	PARA		HOURS
		GENEVA RE REVISIONS TO FEE AMOUNTS OWED ON	
		SEPTEMBER INVOICES AND TO CASEY (0.1)	•
11/21/00	MH	RESPOND TO QUESTION BY STEVE BUNKER REGARDING	0.10
		PAYMENT OF PROFESSIONALS	-
11/22/00	SCS	REVIEW NEWLY CONFIRMED PLAN OF REORGANIZATION FOR	0.30
		PROVISIONS FOR FEES AND CLAIMS OF PROFESSIONAL	
		PERSONS	
11/30/00	MH	REVIEW PROFESSIONALS' FEE APPLICATIONS	3.00
		TOTAL HOURS	18.60

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
M HOPPE	6.40	AT \$145 =	928.00
SC STRONG		AT \$220 =	2,684.00

CURRENT FEES 3,612.00

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE
11/30/00	TELEPHONE	5.58
	CURRENT EXPENSES	5.58
	TOTAL THIS MATTER	3,617.58

#### LeBoeuf, Lamb, Greene & MacRae

L I P

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00283) FINANCING

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA		HOURS
11/08/00	SJM	REVIEW FAX FROM COUNSEL FOR CONGRESS FINANCIAL ON POSSIBLE AMENDMENT OF DIP FACILITY (.60); CONFERENCE WITH K. JOHNSEN REGARDING CONGRESS FINANCIAL PROPOSAL (.20)	0.80
11/09/00	SJM	CONFERENCE WITH D. WANLASS REGARDING CONGRESS FINANCIAL DRAFT OF REVISED FINANCING PROPOSAL (.20); PREPARE DRAFT OF UPDATED BANKRUPTCY CASE AND LITIGATION FOR SUPPLEMENT TO INFORMATION ON CITIBANK LOAN (1.20)	1.40
11/10/00	SJM	REVIEW FINANCING PROPOSAL BY CONGRESS FINANCIAL'S COUNSEL (.20); CALL TO M. BAROCUS, CONGRESS FINANCIAL'S COUNSEL, REGARDING REQUIREMENT IN DRAFT FOR APPROVAL FOR LESS THAN 15 DAYS (.10); ANALYSIS OF ISSUES AND CONFERENCE WITH D. WANLASS REGARDING FINANCING (.80); CONFERENCE WITH COUNSEL FOR CONGRESS FINANCIAL REGARDING FINANCING AMENDMENT PROCEDURES (.30)	1.40
11/13/00	SJM	AMENDMENT PROCEDURES (.30) ANALYSIS OF CONGRESS FINANCIAL PROPOSED AMENDMENTS AND PREPARATION OF DRAFT MOTION TO APPROVE IN CASE AGREEMENT IS REACHED, ALONG WITH DRAFT MOTION ON NOTICE, ORDER, NOTICE OF HEARING, AND AFFIDAVIT OF D. WANLASS	4.70
11/14/00	KLC	TELEPHONE CONFERENCE FROM JAMES AHLSTROM REGARDING	0.20

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 143 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 251710 00283 FINANCING PAGE 2 12/07/00

	ATTY/		
DATE	PARA		HOURS
		I DAGE GOVERNITE DOD MEN DEED OF TRACE	
11/14/00	VI C	LEASE SCHEDULE FOR NEW DEED OF TRUST REVIEWING SCHEDULES REGARDING LEASES	0 50
11/14/00	KLC	REVIEWING SCHEDULES REGARDING LEASES REVIEWING DRAFT LEASE SCHEDULE FOR NEW DEED OF	0.50 0.50
11/14/00	·····	TRUST	0.50
11/14/00	KLC	TELEPHONE CONFERENCE TO JAMES AHLSTROM REGARDING	0.20
		LEASE SCHEDULE FOR NEW DEED OF TRUST	
11/14/00	KLC	DRAFTING SUPPLEMENT TO LEASE SCHEDULE	0.80
11/14/00	KLC	TELEPHONE CONFERENCE TO DALE POULSON REGARDING	0.20
11/14/00	C TM	HECKETT LEASE	1 40
11/14/00	SJM	REVIEW MESSAGE FROM D. WANLASS REGARDING CONGRESS FINANCIAL (.10); FURTHER PREPARATION OF DRAFT	1.40
		PLEADINGS IN CASE CONGRESS FINANCIAL AGREEMENT IS	
		REACHED (.30); CONFERENCE WITH D. WANLASS	
		REGARDING STATUS OF DISCUSSIONS WITH CONGRESS	
		FINANCIAL (.20); PREPARE INFORMATION FOR D.	
		WANLASS ON CONGRESS FINANCIAL PROPOSAL (.20);	
		REVIEW COMMENTS FROM D. WANLASS ON DRAFT AND	
		PREPARE REVISIONS TO DRAFT CONGRESS FINANCIAL MOTION (.60)	
11/15/00	SJM	CONFERENCE WITH D. WANLASS REGARDING CONGRESS	1.70
,,	551.	FINANCIAL LOAN AMENDMENTS (.20); CONFERENCE WITH	1.70
		COURT'S JUDICIAL ASSISTANT REGARDING TIMES FOR	
		HEARING ON MOTION TO APPROVE CONGRESS FINANCIAL	
		LOAN AMENDMENTS (.10); CONFERENCE WITH COUNSEL FOR	
		CONGRESS FINANCIAL REGARDING LOAN AMENDMENTS AND	
		HEARING TIMES AVAILABLE (.20); PREPARE REVISIONS TO DRAFT MOTIONS FOR CONGRESS FINANCIAL LOAN	
		AMENDMENTS (1.20)	
11/15/00	SJM	REVIEW AND COMMENT ON DRAFT SCHEDULES FOR LOAN	0.60
,		APPLICATION	
11/16/00	KLC	REVIEWING SCHEDULES TO BE ATTACHED TO THE DEED OF	0.50
11/16/00	TOT O	TRUST FOR CITIBANK	
11/16/00	KLC	TELEPHONE CONFERENCE TO JAMES AHLSTROM REGARDING TRUST DEED SCHEDULES	0.20
11/16/00	SJTM	CONFERENCE WITH COUNSEL FOR CONGRESS FINANCIAL AND	1.70
,,		D. WANLASS REGARDING LOAN AMENDMENTS (.30);	1.70
		PREPARE REVISIONS TO DRAFT MOTION FOR APPROVAL OF	
		LOAN AMENDMENTS (.20); REVIEW ADDITIONAL REVISIONS	
		TO CONGRESS FINANCIAL DOCUMENTS AND PREPARE	
11/17/00	VI C	REVISIONS TO DRAFT MOTION PAPERS (1.20)	0 00
11/1//00	KLC	TELEPHONE CONFERENCE FROM JAMES AHLSTROM REGARDING SCHEDULES ON CITIBANK DEED OF TRUST	0.20
11/17/00	SJM	CONFERENCE WITH CONGRESS FINANCIAL COUNSEL	2.80
		REGARDING MOTION ON LOAN DOCUMENTS (.20);	
		CONFERENCE WITH D. WANLASS REGARDING MOTION ON	
		CONGRESS FINANCIAL AMENDMENTS (.30); FINALIZE	
		MOTION, NOTICE OF HEARING, AND AFFIDAVIT OF DENNIS	
		WANLASS REGARDING CONGRESS FINANCIAL AMENDMENTS	

Case 99-21130 Doc 1185-1577 Filed 03/05/0 Converted from BANCAP 28602 GENEVA STEEL COMPANY 00283 FINANCING	
12/07/00	
ATTY/ DATE PARA	HOURS
(2.3)  11/22/00 SJM ASSIST WITH FINALIZATION OF CONGRESS FINANCIAL AND DOCUM CITIBANK FOR LOAN CLOSING, I WITH R. HENRIKSEN AND J. AHL SCHEDULES AND CLAIMS ISSUES	NCLUDING CONFERENCES
	TOTAL HOURS 22.20
TIMEKEEPER TIME SUMMARY: TIMEKEEPER HOURS RATE	
KL CANNON, II 3.30 AT \$2 SJ McCARDELL 18.90 AT \$3	280 = 924.00 305 ≈ 5,764.50
CURRENT FEES	6,688.50
FOR CHARGES AND DISBURSEMENTS:	
DATE	VALUE
11/30/00 MESSENGER SERVICE	4.00
TOTAL MESSENGER SERVICE 11/30/00 TELEPHONE	39.26 14.96
11/30/00 POSTAGE 11/30/00 MISCELLANEOUS CHARGES	115.20
REPRODUCTION - NOVEMBER 2000 TOTAL MISCELLANEOUS CHARGES  11/13/00 SALT CITY COURIERS - MESSENGER SERVICE OUTSIDE MESSENGER SERV	7.00 TICE
FOR OCTOBER 2000 TOTAL MESSENGER SERVICE	7.00

CURRENT EXPENSES

TOTAL THIS MATTER

180.42

6,868.92

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00574) MISC. CONTESTED MATTERS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/		
DAIL	PARA		HOURS
11/20/00	LAM	ORDERED TRANSCRIPT OF SUPPLEMENTAL RETIREE OBJECTION MOTION (.1)	0.10
11/30/00	LAM	CONFERENCES WITH THERESA D'AGOSTINO REGARDING GATX APPEAL (.5); REVIEWED DOCKET TO IDENTIFY CERTAIN GATX APPEAL DOCUMENTS (.5)	1.00
		TOTAL HOURS	1 10
		TOTAL HOURS	1.10

FIMEKEEPER TIME SUMMARY:
--------------------------

TIMEKEEPER	HOURS RATE			VALUE	
	<b></b>	<b></b> -	·		
LA MCGEARY	1.10	AT	\$90 =	99.00	

CURRENT FEES

99.00

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 146 of 248

28602 GENEVA STEEL COMPANY 00574 MISC. CONTESTED MATTERS 12/07/00 INVOICE NUMBER 251710 PAGE 2

DATE		VALUE	
11/30/00	MISCELLANEOUS CHARGES	7.20	
11/13/00	REPRODUCTION - NOVEMBER 2000 TOTAL MISCELLANEOUS CHARGES SALT CITY COURIERS - MESSENGER SERVICE OUTSIDE MESSENGER SERVICE	7.00	7.20
	FOR OCTOBER 2000 TOTAL MESSENGER SERVICE		7.00
	CURRENT EXPENSES		14.20
	TOTAL THIS MATTER		113.20

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00710) PLAN & DISCLOSURE STATEMENT

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA		HOURS
11/01/00	SJM	REVIEW AND COMMENT ON DRAFT RESPONSES TO LOOMIS INTERROGATORIES AND PREPARE FOR LOOMIS DEPOSITIONS (3.60); CONFERENCE WITH M. ELLENBERG REGARDING LOOMIS DEPOSITIONS AND DISCOVERY (.30); REVIEW DOCUMENTS WITH M. HOPPE (.30); ANALYSIS OF PROTECTIVE ORDER NEEDS AND REVIEW PROVISIONS (.40); OBTAIN AGREEMENT FROM LOOMIS COUNSEL TO PROTECTIVE ORDER CONCEPT (.30)	4.90
11/01/00	МН	REVIEW DOCUMENTS IN PREPARATION FOR PRODUCTION IN LOOMIS MATTER (5.3); CONFERENCE WITH STEVE MCCARDELL REGARDING PRODUCTION OF DOCUMENTS IN LOOMIS MATTER (0.4); PREPARE DOCUMENTS TO SEND TO BE COPIED FOR PRODUCTION IN LOOMIS MATTER (0.4); REVIEW FORM OF STIPULATION ORDER FOR PROTECTION OF CONFIDENTIAL DOCUMENTS IN LOOMIS MATTER (0.1)	6.20
11/02/00	SJM	REVIEW DOCUMENTS FOR LOOMIS DOCUMENT PRODUCTION AND PREPARATION FOR DEPOSITIONS AND PREPARATION OF DRAFT RESPONSE TO DOCUMENT REQUEST (7.50); CONFERENCE WITH M. ELLENBERG AND K. JOHNSEN REGARDING LOOMIS DISCOVERY REQUEST RESPONSES (.80); CONFERENCE WITH M. ELLENBERG REGARDING LOOMIS DISCOVERY REQUEST RESPONSES (.20); EXCHANGE EMAILS WITH COUNSEL FOR LOOMIS ON DEPOSITIONS AND	8.80

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 148 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 12/07/00

DATE	ATTY/ PARA		HOURS
11/02/00	МН	DOCUMENT DISCOVERY (.30) PREPARE STIPULATION ORDER FOR PROTECTION OF DOCUMENTS IN LOOMIS MATTER (2.3); REVIEW DOCUMENTS IN PREPARATION FOR PRODUCTION IN LOOMIS MATTER (2.6); CONFERENCE WITH STEVE MCCARDELL AND MARK ETTENBERG REGARDING PRODUCTION IN LOOMIS MATTER (0.4); PREPARE PRIVILEGE LOG IN LOOMIS MATTER (1.0)	6.30
11/03/00 11/03/00	KLC	REVIEWING DISCOVERY RESPONSES CONFERENCE WITH STEVE MCCARDELL REGARDING DISCOVERY, OTHER ISSUES WITH LOOMIS	0.60 0.30
11/03/00	SJM	LOOMIS DISCOVERY DISPUTES, DOCUMENT PRODUCTION, AND RESPONSES TO INTERROGATORIES AND REQUESTS FOR PRODUCTION OF DOCUMENTS, INCLUDING PREPARATION OF GENEVA ANSWERS TO DISCOVERY, ANALYSIS OF LOOMIS DISCOVERY RESPONSES, AND PREPARATION FOR DEPOSITIONS	6.60
11/03/00	LAM	PROVIDED COPY OF PLAN AND DISCLOSURE STATEMENT TO RAY NELSON (.2)	0.20
11/03/00	МН	REVIEW GENEVA'S OBJECTIONS AND RESPONSES IN LOOMIS MATTER (0.3); REVIEW DOCUMENTS SENT BY LOOMIS IN RESPONSE TO DISCOVERY REQUESTS (4.5); CONFERENCE WITH STEVE MCCARDELL REGARDING REVIEW OF LOOMIS DOCUMENTS (0.3); RESEARCH ISSUE OF PRODUCING COPIES OF COPYRIGHTED MATERIALS (0.4)	5.50
11/06/00	SJM	PREPARE FOR LOOMIS DEPOSITIONS (5.70); NUMEROUS CONFERENCES AND EXCHANGES OF EMAILS WITH COUNSEL FOR LOOMIS TO COORDINATE DEPOSITIONS OF WITNESSES AND DISCOVERY (1.50); CONFERENCE WITH K. JOHNSEN AND M. ELLENBERG REGARDING DEPOSITIONS AND DISCOVERY IN LOOMIS ACTION (.30); CONFERENCE WITH P. KUHN AND L. CRANDALL REGARDING ISSUES IN LOOMIS ACTION (.20)	7.70
11/06/00	G/A	TELEPHONE CALL FROM STEVEN MACARDELL; BOOK CONFERENCE ROOM FOR DEPOSITIONS ON THURSDAY AND FRIDAY AND ARRANGE FOR STENOGRAPHER	0.50
11/06/00	MH	REVIEW DOCUMENTS PRODUCED BY LOOMIS TO FIND DOCUMENTS RELIED UPON IN INTERROGATORY RESPONSES	2.30
11/07/00	SJM	COORDINATION OF DEPOSITIONS WITH COUNSEL FOR LOOMIS (.40); CONFERENCE WITH COMMITTEE COUNSEL REGARDING LOOMIS DEPOSITIONS (.40); PREPARE FOR DEPOSITIONS OF JOHNSEN, WANLASS, AND CANNON (4.40); MEETINGS WITH GENEVA WITNESSES REGARDING LOOMIS ACTION AND DEPOSITIONS (3.0)	8.20
11/07/00	MH	CONFERENCE WITH STEVE MCCARDELL REGARDING LOOMIS (0.2); RESEARCH MATERIAL ADDRESS CHANGE IN CONTEXT OF COMMITMENT TO PURCHASE (0.7)	0.90
11/08/00	SJM	PREPARE FOR JOHNSEN DEPOSITION IN LOOMIS ACTION	9.70

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 149 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 12/07/00

DATE	ATTY/ PARA		HOURS
11/08/00	MH	(.50); JOHNSEN DEPOSITION IN LOOMIS ACTIONA.M. (3.50); MEETING WITH K. JOHNSEN BETWEEN DEPOSITION SEGMENTS (.20); JOHNSEN DEPOSITION IN LOOMIS ACTIONP.M. (2.70); MEETINGS WITH K. JOHNSEN AND CONFERENCES WITH M. HOPPE, M. ELLENBERG, AND D. WANLASS, TO PREPARE FOR VYN AND WANLASS DEPOSITIONS (2.0); PREPARE FOR WANLASS DEPOSITION (.80) RESEARCH DEFINITION OF MATERIAL ADDRESS CHANGE IN CONTEXT OF COMMITMENT TO PURCHASE EQUITY IN COMPANY (1.2); ATTEND DEPOSITION OF KEN JOHNSON (7.0); CONFERENCE WITH DENNIS WANLASS, KEN JOHNSON AND STEVE MCCARDELL REGARDING PREPARATION FOR DEPOSITION (1.0); CONFERENCE WITH KEN JOHNSON AND MARK ELLENBERG REGARDING DEPOSITION OF FRED VIN	9.70
		(0.5)	0.20
11/08/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING DEPOSITIONS, LOOMIS LITIGATION	
11/09/00	SJM	PREPARE FOR AND ATTEND WANLASS DEPOSITION BY LOOMIS (5.0); PREPARE FOR J. CANNON DEPOSITION, INCLUDING CONFERENCE WITH J. CANNON (2.10)	7.10
11/09/00	MH	REVIEW DEPOSITION OF KEN JOHNSON AND HIGHLIGHT QUESTIONS IN PREPARATION FOR DEPOSITION OF JOE	1.40
11/10/00	KLC	CANNON CONFERENCE WITH STEVE MCCARDELL REGARDING STATUS OF FUNDING FOR PLAN, MISCELLANEOUS ISSUES IN PLAN	0.20
11/10/00	MUS	PREPARE FOR LOOMIS DEPOSITION OF JOE CANNON (1.40); LOOMIS DEPOSITION OF J. CANNON (2.70); CONFERENCE WITH J. CANNON AFTER LOOMIS DEPOSITION (.20); CONFERENCE WITH K. JOHNSEN REGARDING EXIT FINANCING AND TASKS TO BE COMPLETED (.20); PREPARE INFORMATION FOR M. ELLENBERG REGARDING QUESTIONS RAISED IN WANLASS, JOHNSEN, AND CANNON DEPOSITIONS, DEFERRED TO CITIBANK (1.20); CONFERENCE WITH T. BECKETT REGARDING LOOMIS DEPOSITIONS (.30); CONFERENCE WITH M. ELLENBERG REGARDING LOOMIS DEPOSITIONS (.20); PREPARE LETTER TO COUNSEL FOR LOOMIS ON CONCLUSION OF WANLASS, JOHNSEN, AND CANNON DEPOSITIONS (.20)	
11/13/00	LAM	TELEPHONE CONFERENCES WITH COLLEEN SHARKEY REGARDING STATUS OF CONFIRMATION AND PROPOSED TREATMENT OF BONDHOLDERS (.4)	0.40
11/14/00	SJM	PREPARE QUESTIONS FOR LOOMIS EXPERT'S DEPOSITION (.40); PREPARE FOR CONFIRMATION HEARING AS TO OBJECTIONS TO CONFIRMATION, MODIFICATIONS TO PLAN, AND OTHER CONFIRMATION ISSUES (1.80); CONFERENCE WITH T. BECKETT AND M. ELLENBERG REGARDING STATUS OF EXIT FINANCING (.20); CONFERENCE WITH J. CANNON	2.60

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 150 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 12/07/00

	ATTY/ PARA		HOURS
11/15/00	SJM	REGARDING STATUS OF EXIT FINANCING (.20) REVIEW REVISED PLAN OF REORGANIZATION AND PREPARE FOR HEARING ON CONFIRMATION	2.80
11/15/00	LAM	TELEPHONE CONFERENCE WITH COLLEEN OF MERRILL LYNCH REGARDING STATUS OF CONFIRMATION AND PLAN PROVISIONS FOR BONDHOLDERS (.3); TELEPHONE CONFERENCE WITH THOMAS KAVLAK OF TECHMART REGARDING STATUS OF CONFIRMATION (.2)	0.50
11/15/00	HM	RESEARCH CASE LAW REGARDING MATERIAL ADVERSE CHARGE CLAUSES IN CONTEXT OF LOOMIS LITIGATION	3.30
11/16/00	SJM	CONFERENCE WITH GENEVA AND PROFESSIONALS TO PREPARE FOR CONFIRMATION HEARING (1.0); PREPARE FOR CONFIRMATION HEARING, INCLUDING LOAN DOCUMENTS AND REVISED PLAN, PRE-HEARING SERVICE ITEMS, EXHIBITS AND EVIDENCE (5.50)	6.50
11/17/00	SJM	PREPARATION OF NOTICE OF FILING AND FINANCING AND CORPORATE DOCUMENTS, BRIEF IN SUPPORT OF CONFIRMATION, CONFIRMATION ORDER, AND GIVE INSTRUCTIONS REGARDING FILING AND SERVICE (9.30); CONFERENCE WITH COURT'S LAW CLERK REGARDING PAPERS BEING FILED (.10); CONFERENCE WITH T. BECKETT REGARDING STATUS OF PLAN (.10); CONFERENCE WITH S. GARCIA AND W. HARRIS REGARDING STATUS OF PLAN (.10); CONFERENCE WITH BONDHOLDER REGARDING QUESTIONS ON PLAN (.10); CONFERENCE WITH S. OBERBECK OF SL TRIBUNE REGARDING QUESTION ON RUMORS OF CONVERSION OF CASE (.10)	9.80
11/17/00	LAM	ASSISTED WITH FEDERAL EXPRESS MAILING OF SECOND AMENDED PLAN TO MASTER SERVICE LIST (3.0)	3.00
11/20/00	KLC	CONFERENCE WITH KEN JOHNSEN, DENNIS WANLASS REGARDING VARIOUS CONFIRMATION ISSUES	0.60
11/20/00	MLS	PREPARE FOR CONFIRMATION HEARINGWITNESSES, EXHIBITS, AMENDMENTS TO PLAN, INCLUDING CONFERENCES WITH U.S. TRUSTEE, GENEVA WITNESSES, AND CO-COUNSEL, AND REVISIONS TO DRAFT PLAN AND CONFIRMATION ORDER	8.20
11/20/00 11/21/00		PREPARATIONS FOR CONFIRMATION HEARING (2.0) PREPARE FOR CONFIRMATION HEARING, INCLUDING PREPARATION OF ARGUMENT, TESTIMONY, AND EXHIBITS (6.20); ATTEND HEARING ON CONFIRMATION (3.0); POST-HEARING PREPARATION OF MODIFICATIONS TO PLAN AND CONFIRMATION ORDER, INCLUDING NEGOTIATION WITH COUNSEL FOR LOOMIS REGARDING CONFIRMATION ORDER	2.00
11/21/00	LAM	PROVISIONS (2.30) CONFERENCES WITH PETER DOBSON AND STEVE MCCARDELL REGARDING HEARING EXHIBITS (.8); PREPARED EXHIBITS FOR CONFIRMATION HEARING (1.5); ATTENDED CONFIRMATION HEARING TO ASSIST THE ATTORNEYS IN	7.80

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 151 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 12/07/00

DATE	ATTY/ PARA		HOURS
<b></b>		THEIR PRESENTATION (3.7); PREPARED EXHIBIT LIST	
11/22/00	SJM	FOR COURT'S USE (.3); ORGANIZED DOCUMENTS (1.5) PREPARATION OF PLAN AND CONFIRMATION ORDER AND CONFERENCES WITH PARTIES IN INTEREST REGARDING CONFIRMATION ORDER PROVISIONS (4.50); PRESENTATION OF CONFIRMATION ORDER TO COURT AND OBTAIN CERTIFIED COPIES (.50); REVIEW AND RESPOND TO LETTER FROM R. ALLEN REGARDING CONFIRMATION (.80); CONFERENCE WITH T. MOSKIE OF BANKERS' TRUST REGARDING CONFIRMATION (.10); CONFERENCE WITH CFO OF IPSCO REGARDING CONFIRMATION (.10); CONFERENCE WITH A. SQUILLACE, BONDHOLDER, REGARDING CONFIRMATION (.10); CONFERENCE WITH COUNSEL FOR CREDITORS' COMMITTEE REGARDING STOCK DISTRIBUTION (.10); PREPARATION OF DRAFT NOTICE OF ENTRY OF CONFIRMATION (.40)	6.60
11/22/00	LAM	LOCATED DOCUMENTS PER REQUEST OF KEN JOHNSEN (.3); PREPARED MAILING LIST OF CREDITORS FOR NOTICE OF CONFIRMATION (3.1)	3.40
11/22/00	LAM	REVIEW AND REVISE PROPOSED NOTICE OF CONFIRMATION (.5); TELEPHONE CONFERENCE WITH BOWNE OF LOS ANGELES REGARDING PRODUCTION AND MAILING NOTICE OF CONFIRMATION (.4) AND MEMO TO STEVE MCCARDELL REGARDING SAME (.1)	1.00
11/24/00	SJM	REVIEW POST CONFIRMATION REQUIREMENTS AND PREPARE MEMO TO S. BUNKER ON FINANCIAL REPORTING REQUIRED POST-CONFIRMATION (.40); REVIEW COMMENTS ON NOTICE OF ENTRY OF CONFIRMATION ORDER AND REVISE NOTICE (.30)	0.70
11/24/00	LAM	PREPARED MAILING LIST OF CREDITORS AND BONDHOLDERS TO RECEIVE NOTICE OF CONFIRMATION (3.7)	3.70
11/27/00	LAM	CONFERENCE WITH STEVE MCCARDELL REGARDING INSTRUCTIONS FOR PLAN DISTRIBUTION LISTS (.2); E-MAIL TO MYRON GRAY OF FIRST UNION REGARDING PLAN DISTRIBUTION LISTS (.2); CONFERENCE WITH STEVE MCCARDELL REGARDING INSIDER CONTRACT ASSUMPTION AND REJECTION (.2); PREPARED PLAN DISTRIBUTION LISTS (8.1)	8.70
11/27/00	SJM	CONFERENCE CALL WITH GENEVA, BLACKSTONE, CADWALADER AND PARR REGARDING MATTERS TO BE COMPLETED FOR EFFECTIVE DATE OF PLAN (.70); ANALYSIS OF DISTRIBUTION ISSUES AND INFORMATION NEEDED FOR DISTRIBUTION AGENT (1.30); MEETING WITH PARALEGAL REGARDING DISTRIBUTION ISSUES (.50); PREPARE INFORMATION FOR D. WANLASS ON DISTRIBUTIONS UNDER PLAN (1.60); CONFERENCE WITH R. HENRIKSEN, M. ELLENBERG, E. WISE, AND V. SPIRO REGARDING PLAN AND CONFIRMATION ORDER AND REVIEW	6.50

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 152 of 248

28602 GENEVA STEEL COMPANY
00710 PLAN & DISCLOSURE STATEMENT
12/07/00

DATE	ATTY/ PARA		HOURS
		ISSUES RAISED BY E. WISE AND V. SPIRO REGARDING PLAN DISCUSSIONS (2.40)	
11/28/00	LAM	TELEPHONE CONFERENCES WITH IKON (.3) AND CONFERENCES WITH STEVE MCCARDELL (.2) REGARDING PRODUCTION AND MAILING OF NOTICE OF CONFIRMATION; TELEPHONE CONFERENCE WITH STEVE BUNKER REGARDING IKON DIRECTLY BILLING GENEVA FOR SERVICES (.1); CONFERENCES WITH STEVE MCCARDELL REGARDING PARTIES TO RECEIVE NOTICE OF CONFIRMATION (.3); PREPARED LIST OF EQUITY SECURITY HOLDERS FOR NOTICE OF CONFIRMATION MAILING (1.2); CONTINUED PREPARATION OF PLAN DISTRIBUTION LISTS (4.8)	6.90
11/28/00	SJM	PREPARATION OF DRAFT MOTION FOR APPROVAL OF PLAN MODIFICATIONS (1.60); ANALYSIS OF LEGAL AND PROCEDURAL ISSUES ON MOTION FOR PLAN MODIFICATION (.60); REVIEW COMMENTS OF PARTIES IN INTEREST ON DRAFT MOTION ON PLAN MODIFICATION AND PREPARE REVISIONS (.60); PREPARE ANCILLARY PAPERS ON SHORTENING TIME FOR HEARING ON MOTION FOR APPROVAL OF PLAN MODIFICATION (.20); CONFERENCE WITH COUNSEL FOR CITIBANK AND R. HENRIKSEN REGARDING ISSUES ON REQUESTED PLAN MODIFICATIONS (.40); PREPARE INFORMATION REQUESTED BY COUNSEL FOR CITIBANK (.50); PREPARE UPDATED DESCRIPTION OF PLAN STATUS OF GENEVA'S PUBLIC FILINGS (1.80)	5.70
11/29/00	LAM	TELEPHONE CONFERENCE WITH FRANCISCO D'ANGELO REGARDING CONFIRMATION AND PLAN PROVISIONS (.2); TELEPHONE CONFERENCE WITH STEVE HEIM REGARDING PARTIES TO RECEIVE NOTICE OF CONFIRMATION (.3); MEMO TO STEVE MCCARDELL REGARDING NOTICE OF CONFIRMATION (.2); CONFERENCE WITH KEN CANNON AND STEVE MCCARDELL REGARDING PLAN DISTRIBUTION LISTS (.5)	1.20
11/29/00	SJM	CONFERENCE WITH J. STRALEY REGARDING POSSIBLE EX PARTE MOTION TO SHORTEN TIME ON PLAN MODIFICATIONS (.10); REVIEW INFORMATION FROM M. ELLENBERG ON CITIBANK REQUESTED PLAN MODIFICATIONS (.20); CONFERENCE WITH M. ELLENBERG REGARDING CITIBANK REQUESTED PLAN MODIFICATIONS (.10); CONFERENCE WITH V. SPIRO REGARDING REQUESTED PLAN MODIFICATIONS (.10); REVIEW MESSAGE FROM M. ELLENBERG REGARDING PLAN MODIFICATIONS REQUESTED BY CITIBANK (.20); FURTHER PREPARATION OF PLAN MODIFICATION MOTION (.80); REVIEW ISSUES ON NOTICE OF ENTRY OF CONFIRMATION ORDER IN LIGHT OF PLAN MODIFICATIONS (.30)	1.80
11/30/00	LAM	TO THE TOTAL THE STATE OF THE PROPERTY OF	1.80

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 153 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 12/07/00

INVOICE NUMBER 251710 PAGE 7

47,632.50

DATE	ATTY/ P <b>ARA</b>		HOURS
		ADDRESS PER REQUEST OF CREDITOR (.2); TELEPHONE CONFERENCE AND E-MAILS WITH MYRON GRAY OF FIRST UNION REGARDING PLAN DISTRIBUTION LISTS (.4); MEMO TO STEVE MCCARDELL REGARDING PLAN DISTRIBUTION LISTS (.2)	
11/30/00	SJM	FINALIZE MOTION TO MODIFY PLAN TO ACCOMMODATE CITIBANK CONCERNS AND ACCOMPANYING EX PARTE PAPERS ON TIME REDUCTION (1.20); CONFERENCE WITH M. ELLENBERG ON MOTION FOR MODIFICATION OF PLAN (.20); CONFERENCE WITH COUNSEL FOR CITIBANK ON MOTION FOR MODIFICATION OF PLAN (.20); PRESENT MOTION TO COURT (.20); REVIEW AND RESPOND TO FURTHER COMMENTS OF CITIBANK (.20); PREPARE FOR HEARING ON PLAN MODIFICATION (.60); CONFERENCE WITH W. HARRIS ON MOTION FOR PLAN MODIFICATION (.10); REVIEW AND RESPOND TO VOICE MESSAGE FROM S. GARCIA REGARDING PLAN MODIFICATION MOTION (.10)	2.80
		TOTAL HOURS	203.50

TIMEKEEPER TIME SUMMARY:				
TIMEKEEPER	HOURS	ŔA	TE	VALUE
		<b></b>		
G ALBERICH	0.50	AΤ	\$380 =	190.00
KL CANNON, II	1.90	AT	\$280 =	532.00
SJ McCARDELL	124.90	AΤ	\$305 =	38,094.50
M HOPPE	35.60	AT	\$145 =	5,162.00
LA MCGEARY	40.60	AT	\$90 =	3.654.00

CURRENT FEES

DATE		VALUE	
11/02/00	OVERTIME PAYROLL L A TANNER 10/12	68.75	
	TOTAL OVERTIME PAYROLL		68.75
11/16/00	MESSENGER SERVICE	20.00	
11/30/00	MESSENGER SERVICE	52.00	
	TOTAL MESSENGER SERVICE		72.00
11/30/00	TELEPHONE		98.79
11/30/00	POSTAGE		220.52

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 154 of 248 INVOICE NUMBER 251710

PAGE 8

GENEVA STEEL COMPANY

PLAN & DISCLOSURE STATEMENT

28602

00710 12/07/00

DATE		VALUE	
11/30/00	MISCELLANEOUS CHARGES REPRODUCTION - NOVEMBER 2000	11,534.00	
11/30/00	MISCELLANEOUS CHARGES FACSIMILE - NOVEMBER 2000 (ACTUAL LINE COST ONLY)	63.60	
11/13/00	KEARNS BLDG JOINT VENTURE - MISCELLANEOUS CHARGES OVERTIME AIR CONDITIONING	113.00	
11/21/00	TOTAL MISCELLANEOUS CHARGES IKON OFFICE SOLUTIONS, INC REPRODUCTION-OUTSIDE LITIGATION COPIES	219.51	11,710.60
11/21/00	IKON OFFICE SOLUTIONS, INC REPRODUCTION-OUTSIDE LITIGATION COPIES	770.19	
11/21/00	LITIGATORS OVERNIGHT L.C REPRODUCTION-OUTSIDE LITIGATION COPIES	908.63	
11/06/00	TOTAL REPRODUCTION-OUTSIDE SKOOL LUNCH DELI & BAKERY - BUSINESS MEALS BUSINESS MEAL ON	25.24	1,898.33
11/29/00	10/10/00 KASPERICK, KAREN - BUSINESS MEALS REIMBURSEMENT FOR LUNCH FROM THE OLIVE GARDEN ON 11/20/00 PURCHASED FOR A GENEVA MEETING	96.89	
11/29/00	KASPERICK, KAREN - BUSINESS MEALS REIMBURSEMENT FOR LUNCH FROM THE HUNAN ON 11/21/00 PURCHASED FOR A GENEVA MEETING	64.09	186.22
11/21/00	TOTAL BUSINESS MEALS MICHAEL T. HOPPE - LOCAL TRANSPORTATION EXP RPT FOR 10/31/00 - 11/1/00 - SLC/GENEVA STEEL/SLC - REVIEW DOCUMENTS IN PREPARATION FOR PRODUCTION IN THE LOOMIS SAYLES LITIGATION (PERSONAL AUTO MILEAGE REIMBURSEMENT)	38.00	
11/06/00	TOTAL LOCAL TRANSPORTATION FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO MARK C. ELLENBERG OF CADWALADER,	10.24	38.00
11/06/00	WICKERSHAM & TAFT ON 11/3/00 FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO STEPHEN E. GARCIA OF HOPKINS & SUTTER ON	66.40	
11/13/00	11/3/00 FEDERAL EXPRESS CORPORATION - AIR	13.99	

## Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 155 of 248

28602	GENEVA STEEL COMPANY	INVOICE NUMBER	251710
00710	PLAN & DISCLOSURE STATEMENT	PAGE 9	
12/07/00			

DATE		VALUE	
	EXPRESS FEDEX, SJM TO MARK C. ELLENBERG OF CADWALADER, WICKERSHAM & TAFT ON 11/7/00		
11/21/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM SENT TO MASTER LIST #19 - 77 ADDRESSES - SENT ON 11/20/00 - SEE ATTACHED LIST OF ADDRESSEES	1,895.98	
11/21/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO THE MASTER SERVICE LIST #19 DATED 10/20/00, SENT ON 11/20/00, SEE ATTACHED LIST OF ADDRESSEES	828.67	
11/21/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO THE MASTER SERVICE LIST #19 DATED 10/20/00, SENT ON 11/20/00, SEE ATTACHED LIST OF ADDRESSEES	204.87	
11/21/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO MARK C. ELLENBERG OF CADWALADER WICKERSHAM & TAFT ON 11/2/00	66.40	
11/21/00		66.40	
11/21/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO JULIA FROST-DAVIES OF BINGHAM DANA LLP ON 11/3/00	76.40	
11/29/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO DIANA DEBRITO OF CADWALADER, WICKERSHAM & TAFT ON 11/28/00	10.24	
11/29/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO PETER DODSON OF CADWALADER, WICKERSHAM & TAFT ON 11/28/00	13.99	
11/13/00	TOTAL AIR EXPRESS SALT CITY COURIERS - MESSENGER SERVICE OUTSIDE MESSENGER SERVICE FOR OCTOBER 2000	7.00	3,253.58
11/20/00	TOTAL MESSENGER SERVICE PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR PROPOSED ORDER	2.31	7.00
11/06/00	TOTAL POSTAGE ALPHA COURT REPORTING SERVICE - DEPOSITION/HEARING TRANSCRIPTS	48.00	2.31

## Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 156 of 248

	2011 21 13 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	7. 2.10	
	GENEVA STEEL COMPANY PLAN & DISCLOSURE STATEMENT	INVOICE NUMBER PAGE 10	251710
DATE		VALUE	
11/21/00	TRANSCRIPT OF HEARING ON CONFIRMATION 10/26/00 MERIT REPORTERS - DEPOSITION/HEARING TRANSCRIPTS TRANSCRIPT COPY - DEPOSITION OF	400.50	·
11/21/00	JOSEPH A. CANNON MERIT REPORTERS - DEPOSITION/HEARING TRANSCRIPTS TRANSCRIPT COPY - DEPOSITION OF	741.50	
11/21/00	DEPOSITION/HEARING TRANSCRIPTS TRANSCRIPT COPY - DEPOSITION OF DENNIS WANLASS	521.80	1,711.80
	TOTAL DEPOSITION/HEARING TRANSCRIPTS	. <b></b>	
	CURRENT EXPENSES	•	19,267.90
	TOTAL THIS MATTER		66,900.40

...L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 251710 INVOICE DATE 12/07/00 CLIENT NUMBER 28602

RE: (00851) TRAVEL

FOR PROFESSIONAL SERVICES RENDERED THROUGH 11/30/00:

DATE	ATTY/ PARA					HOURS
11/01/00 11/10/00	MH SJM				FROM GENEVA LOOMIS DEPOSITION OF J. CANNON	2.10
11/10/00	JON	11/24 4 11 11	10	MAD	HOOFIED DELOCATION OF G. CHANGE	
					TOTAL HOURS	3.50

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	R	ATE	VALUE
SJ McCARDELL	1.40 2.10	AT	\$305 =	427.00
M HOPPE		AT	\$145 =	304.50

CURRENT FEES	365.75
TOTAL THIS MATTE	R 365.75

TOTAL AMOUNT OF THIS INVOICE

112,874.31

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 158 of 248

28602 GENEVA STEEL COMPANY 00131 CASE ADMINISTRATION 12/07/00 INVOICE NUMBER 251710 PAGE 2

TOTAL BALANCE DUE UPON RECEIPT

112,874.31

TERMS: Due Upon Receipt

**EXHIBIT 2C** 

GENEVA STEEL COMPANY As of December 31, 2000

							Other		
Matter		December	Fee	Net		Fax	Cost	Net	Matter
Number	Matter	Fees	Discount	Fees	Costs	Discount	Discount	Costs	Total
117	Business Operations	213.50		213.50				00.0	213.50
121	Dasa Administration	2 789 00		2.789.00	222.85	4.59		218.26	3,007.26
777	Claims Administration & Objections	23 244 50	00.9	23,238.50	2,398.02	35.95	1,747.56	614.51	23,853.01
727	Employee Benefits/Pensions			00.00	67.00			67.00	67.00
757	Executory Contracts & Leases	21 092 00	_	21,092.00	1,333,26	78.79	23.69	1,230.78	22,322.78
276	Fee/Employment Applications	3 821.00		3,821.00	868.15	86.56		781.59	4,602.59
277	Foo/Employment Objections	3 2 1 3 50		3.213.50	81.57	28.69		52.88	3,266.38
700	ee/cmpoyment Objection	8 933 50		8,933,50	309.46	1.25		308.21	9,241.71
207	Mice Contested Matters	45.00		45.00	479.59	61.12		418.47	463.47
710	Plan & Disclosure Statement	27,154.00		27,154.00	9,546.67	236.95	253.12	9,056.60	36,210.60
						6	700	70 07 07 07 07 07 07 07 07 07 07 07 07 0	402 248 20
TOTAL		90,506.00	6.00	90,500.00 15,306.5/	15,306.57	533.90	2,024.37	12,740.30	103,240.30

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190
INVOICE DATE 01/12/01
CLIENT NUMBER 28602

RE: (00117) BUSINESS OPERATIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
			<del>-</del>
12/15/00	SJM	CONFERENCE WITH S. BUNKER REGARDING AUDIT RESPONSE LETTER NEEDED FOR ACCOUNTANTS (.20); BEGIN PREPARATION OF AUDIT RESPONSE LETTER (.50)	0.70
			<b>-</b> -
		TOTAL HOURS	0.70

TIMEKEEPER TIME SUMMARY:				
TIMEKEEPER	HOURS	F	RATE	VALUE
	<del></del>	- <b></b>		<b></b>
SJ McCARDELL	0.70	AΤ	\$305 =	213.50

CURRENT	FEES	213.50

TOTAL THIS MATTER 213.50

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00131) CASE ADMINISTRATION

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
12/01/00	SJM	REVIEW CALENDAR AND PREPARE INFORMATION FOR GENEVA REGARDING UPCOMING HEARINGS AND WITNESSES NEEDED	0.50
12/04/00	LAM	INTERNAL PROCEDURES-REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME (1.6)	1.60
12/06/00	LAM	UPDATED DOCKET TO ENSURE COMPLETE DOCUMENTATION OF PLEADINGS (.2)	0.20
12/12/00	RRM	TELEPHONE CONFERENCE WITH ALAN MILLER REGARDING ALLEN APPEAL; MEETING WITH STEVE MCCARDELL REGARDING SAME; TELEPHONE CONFERENCE WITH MARK ELLENBERG AND ALAN MILLER REGARDING SAME	0.50
12/12/00	RRM	ATTEND ARGUMENT REGARDING SOFTWARE ASSUMPTION ISSUE	1.00
12/13/00	RRM	MEETING WITH STEVE MCCARDELL AND TELEPHONE CONFERENCE REGARDING GOVERNMENT LOAN GUARANTEE	0.40
12/13/00	SJM	REVIEW AND COMMENT ON DRAFT 10K FILING AS TO BANKRUPTCY CASE ISSUES	1.50
12/14/00	MALI	INTERNAL PROCEDURES-REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME	2.50
12/15/00	LAM	UPDATED DOCKETS TO ENSURE COMPLETE DOCUMENTATION OF ALL PLEADINGS (.2)	0.20
12/15/00	RRM	REVIEW STEVE MCCARDELL LETTER TO STEVE REISMAN AND	0.20

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 163 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 255190 00131 CASE ADMINISTRATION PAGE 2 01/12/01

DATE	ATTY/ PARA		HOURS
		MEETING WITH STEVE MCCARDELL REGARDING SAME	
12/15/00	RRM	REVIEW ALAN MILLER E-MAIL REGARDING FINANCING	0.10
12/13/00	RRM	REVIEW DRAFT OPINION LETTER AND COMMENT	1.00
12/20/00	LAM	TELEPHONE CONFERENCE WITH MR. LAYTON OF LAYTON CONSTRUCTION REGARDING CHANGE OF ADDRESS (.2)	0.20
12/20/00	LAM	INTERNAL PROCEDURES-REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL	1.00
10/01/00	T 75 M/	CONTROL OVER SAME (1.0) UPDATE DOCKET (.4)	0.40
12/21/00 12/22/00	LAM LAM	INTERNAL PROCEDURES-REVIEW COVER SHEETS AND ATTACHED DOCUMENTS TO INSURE PROPER CUSTODIAL CONTROL OVER SAME (3.0)	3.00
			14 20
		TOTAL HOURS	14.30

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
RR MABEY SJ McCARDELL LA MCGEARY	3.20	AT \$425 =	1,360.00
	2.00	AT \$305 =	610.00
	9.10	AT \$90 =	819.00

CURRENT FEES 2,789.00

DATE		VALUE	
12/31/00	TELEPHONE		0.48
12/29/00	MISCELLANEOUS CHARGES	146.00	
12/25/00	REPRODUCTION - 12/00		
	TOTAL MISCELLANEOUS CHARGES		146.00
12/20/00	ZACHARY EATS L.C. dba QUIZNO'S	51.50	
12/20/00	MAIN ST BUSINESS MEALS		
	BUSINESS MEAL ON 12/15/00		
	TOTAL BUSINESS MEALS		51.50
-0/00/00	FEDERAL EXPRESS CORPORATION - AIR	20.28	
12/20/00		20.20	
	EXPRESS FEDEX, SJM TO MARK		
	ELLENBERG OF CADWALADER,		
	WICKERSHAM & TAFT ON 12/15/00		20.28
	TOTAL AIR EXPRESS		

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 164 of 248

28602 GENEVA STEEL COMPANY 00131 CASE ADMINISTRATION 01/12/01

INVOICE NUMBER 255190 PAGE 3

CURRENT EXPENSES

218.26

TOTAL THIS MATTER

3,007.26

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00144) CLAIMS ADMINISTRATION & OBJECTIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
12/01/00	SJM	CONFERENCE WITH J. AHLSTROM OF PARR REGARDING DISPUTED CLAIMS SCHEDULE FOR LOAN AGREEMENTS (.20); REVIEW AND EDIT DISPUTED CLAIMS LIST AND REVISED DISPUTED CLAIMS LIST (2.70); CONFERENCE WITH L. FRICKE REGARDING DISPUTED CLAIMS LIST (.10); REVIEW APPELLATE PAPERS ON GATX APPEAL AND MAKE ASSIGNMENTS TO PARALEGAL ON TRANSCRIPTS AND PAPERS (.40); CONFERENCE WITH COUNSEL FOR SUPPLEMENTAL RETIREES REGARDING ISSUES IN OBJECTION (.20); PREPARE INFORMATION FOR R. HENRIKSEN AND J. AHLSTROM REGARDING BAR DATES	4.40
12/01/00	TAM	UNDER PLAN (.80) OBTAINED COPIES OF CLAIMS 1051 AND 1052 (.2)	0.20
	LAM	SEVERAL COMMUNICATIONS WITH JASON COHEN AND STEVE MCCARDELL REGARDING GATX APPEAL (.7)	0.70
12/01/00	JMC	CONFERENCE WITH LISA MCGEARY REGARDING TREATMENT OF VARIOUS CLAIMS IN OBJECTION MOTION	0.40
12/04/00	SJM	ANALYSIS OF ARGUMENTS AND ISSUES FOR HEARING ON CLAIMS OF SUPPLEMENTAL RETIREES	0.40
12/04/00	MALI	TELEPHONE CONFERENCES WITH VALERIE MACDONALD AND JASON COHEN REGARDING GATX DESIGNATION OF RECORD (.4); RESEARCH REGARDING DEBTOR'S 8-21-00 TRIAL BRIEF (.2); PROVIDED COPIES OF TRIAL BRIEF TO	0.80

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 166 of 248

28602 GENEVA STEEL COMPANY
00144 CLAIMS ADMINISTRATION & OBJECTIONS
01/12/01

DATE	ATTY/ PARA		HOURS
12/04/00	JMC	JASON COHEN AND VALERIE MACDONALD (.2) REVIEW E-MAIL FROM STEVE MCCARDELL REGARDING SUPPLEMENTAL RETIREMENT RESEARCH (.1); RESEARCH ADMINISTRATIVE CLAIM PRIORITY CASE LAW (.3); CONFERENCE WITH STEVE MCCARDELL REGARDING SAME	0.60
12/05/00	LAM	(.2) TELEPHONE CONFERENCE WITH JASON COHEN REGARDING POSSIBLE LOCAL APPELLATE RULES (.2); LETTER TO JASON COHEN REGARDING SAME (.3)	0.50
12/07/00	LAM	CONFERENCE WITH STEVE MCCARDELL REGARDING GATX APPEAL APPENDIX OF DEBTOR DUE 12-14-00 (.2)	0.20
12/07/00	JMC	RESEARCH AND REVIEW BANKRUPTCY LAW REGARDING NON-COMPETE CLAUSES AND ADMINISTRATIVE EXPENSE PRIORITY (4.7); CONFERENCE WITH STEVE MCCARDELL REGARDING SUPPLEMENTAL RETIREE RESEARCH (.2)	4.90
12/08/00	JMC	RESEARCH BANKRUPTCY CASES RELATED TO EXECUTORY CONTRACTS WHERE PAYMENT OBLIGATION FIXED PREPETITION BUT CONTINUING NON-COMPETE OBLIGATION (2.4); TELEPHONE CONFERENCE WITH DAVE PINGSTON REGARDING RETIREE HEARING (.1)	2.50
12/11/00	KLC	REVIEWING MOTIONS AND ORDERS ON EXECUTORY CONTRACTS REGARDING CLAIMS THAT ARE TO BE PAID	0.40
12/11/00	KLC	CONFERENCE WITH LISA MCGEARY REGARDING CLAIMS FROM ASSUMPTION OF CONTRACTS	0.20
12/11/00	LAM	RETRIEVED DOCUMENTS REGARDING GATX APPEAL PER REQUEST OF JASON COHEN (.5); TELEPHONE CONFERENCE WITH LISA BERNSEN, APPEALS CLERK, REGARDING EXHIBITS FROM 8-23-00 HEARING (.2); DRAFTED APPENDIX (4.6)	5.30
12/11/00	LAM	CONFERENCES WITH STEVE MCCARDELL AND STEVE STRONG REGARDING FENWICK & WEST AND MADSON & METCALF CLAIMS (.4)	0.40
12/11/00	SJM	CONFERENCE WITH J. COHEN REGARDING APPENDIX FOR BRIEF ON GATX APPEAL (.20); CONFERENCE WITH L. FRICKE REGARDING APPENDIX FOR BRIEF ON GATX APPEAL (.10)	0.30
12/11/00	JMC	RESEARCH VARIOUS BANKRUPTCY CODE PROVISIONS REGARDING EXECUTORY CONTRACTS AND ADMINISTRATIVE EXPENSE PRIORITY FOR SUPPLEMENTAL RETIREE DISPUTE	1.50
12/12/00	MALI	TELEPHONE CONFERENCES WITH JASON COHEN REGARDING GATX APPEAL (.3); MEETING WITH MARTY OF WEST COAST COPY REGARDING COPIES OF EXHIBITS FROM 8-23-00 HEARING (.3); RETRIEVED DOCUMENTS FROM COURT (.5); RETRIEVED AND REVIEWED 10TH CIRCUIT BAP RULES AND LOCAL DISTRICT COURT RULES REGARDING FORM OF APPENDIX (.6); MEMO TO JASON COHEN REGARDING REVISED APPENDIX (.5); CONTINUED PREPARATION OF APPENDIX (5.4)	7.60

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 167 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 255190 00144 CLAIMS ADMINISTRATION & OBJECTIONS PAGE 3 01/12/01

DATE	ATTY/ PARA		HOURS
12/12/00	SJM	CONFERENCE WITH J. COHEN REGARDING GATX BRIEF APPENDIX	0.10
12/13/00	LAM	FINALIZE REVISIONS TO GATX APPEAL APPENDIX (3.2); CONFERENCES WITH IKON OFFICE SERVICES REGARDING PRODUCING BOUND AND BATE-STAMPED APPENDIX (.9)	4.10
12/13/00	SJM	CONFERENCE WITH M. ELLENBERG REGARDING BRIEF ON GATX APPEAL (.20); CONFERENCE WITH L. MCGEARY AND REVIEW DRAFT FORMAT FOR APPENDIX ON GATX APPEAL (.10); REVIEW AND SIGN FINAL FORMAT FOR APPENDIX TO GATX BRIEF (.10)	0.40
12/13/00	JMC	RESEARCH 10TH CIRCUIT CASE LAW REGARDING ADMINISTRATIVE EXPENSE PRIORITY (1.8); RESEARCH BANKRUPTCY CASE LAW REGARDING TREATMENT OF POST-PETITION NON-COMPETE OBLIGATION IN CONTEXT OF EXECUTORY CONTRACT REJECTION (2.2)	4.00
12/14/00	LAM	TELEPHONE CONFERENCE WITH JASON COHEN REGARDING DEBTOR'S MOTION TO REJECT GATX (CUPOLA) LEASE (.1); RESEARCH REGARDING GATX REJECTION MOTION (.3); TELEPHONE CONFERENCES WITH JASON COHEN REGARDING APPEAL BRIEF (.4); FAX TO JASON COHEN REGARDING MOTION TO REJECT (.1); PREPARATION OF DOCUMENTS FOR FILING AND SERVICE REGARDING APPENDIX (1.8)	2.70
12/14/00	SJM	REVIEW AND EDIT GENEVA REPLY BRIEF ON GATX APPEAL AND APPENDIX AND GIVE DIRECTIONS AS TO FILING AND SERVICE (4.30); PROVIDE INFORMATION TO L. MCGEARY REGARDING CLAIM AND DISTRIBUTION ISSUES (.40)	4.70
12/14/00	JRS	REVIEWED AND MADE SUGGESTIONS ON GATX APPEAL BRIEF (1.9)	1.90
12/15/00	RLR	CONFERENCE WITH STEVE MCCARDELL REGARDING SELECTION OF MEDIATOR IN GATX CAPITAL MEDIATION	0.30
12/15/00	SJM	FURTHER ANALYSIS OF CLAIMS FOR DISTRIBUTIONS (.20); CONFERENCE WITH S. GARCIA AND J. SHIELDS REGARDING DISTRIBUTIONS ON GATX CLAIM (.20)	0.40
12/15/00	JMC	RESEARCH AND REVIEW CASE LAW REGARDING RETIREMENT AGREEMENTS AS EXECUTORY CONTRACTS AND ADMINISTRATIVE PRIORITY FOR COMPLIANCE WITH POST-PETITION NEGATIVE COVENANTS (1.1); DRAFT E-MAIL TO STEVE MCCARDELL OUTLINING RESEARCH (.3)	1.40
12/18/00	RLR	REVIEWED AND PRIORITIZED LIST OF MEDIATORS; CONFERENCE WITH S. MCCARDELL REGARDING SAME	0.50
12/19/00	SJM	CONFERENCE WITH M. ELLENBERG REGARDING R. ALLEN APPEAL BRIEF (.30); EVALUATION OF LEGAL ARGUMENTS MADE BY R. ALLEN (1.20); CONFERENCE WITH J. COVEY REGARDING R. ALLEN APPEAL OF CLAIM ORDER (.30)	1.80
12/19/00	JMC	REVIEW SUPPLEMENTAL RETIREE MOTION TO CALCULATE TOTAL AMOUNT OF CLAIMS AND DISCOUNTED VALUE OF CLAIMS FOR AUDIT RESPONSE LETTER (.4); SEND E-MAIL	0.50

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 168 of 248 GENEVA STEEL COMPANY INVOICE NUMBER 255190

28602 CLAIMS ADMINISTRATION & OBJECTIONS 00144 01/12/01

PAGE 4

DATE	ATTY/ PARA		HOURS
12/19/00	JMC	TO STEVE MCCARDELL WITH INFORMATION (.1) CONFERENCE WITH STEVE MCCARDELL REGARDING ALLEN APPEAL (.3); REVIEW 10TH CIRCUIT BAP RULES (.8); BEGIN REVIEW OF ALLEN FILE (1.1)	2.20
12/20/00 12/20/00	SJM JMC	ANALYSIS OF FURTHER CLAIMS OBJECTIONS REQUIRED DRAFT MOTION FOR EXTENSION OF TIME (.6); CONFERENCE WITH STEVE MCCARDELL REGARDING SAME (.1); REVIEW CORRESPONDENCE FROM STEVE MCCARDELL AND MARK ELLENBERG REGARDING LEGAL ARGUMENTS (.5); BEGIN RESEARCH AND REVIEW OF CASE LAW FOR APPEAL BRIEF (6.0)	1.30
12/20/00	MH	CONFERENCE WITH JOE COVEY REGARDING ALLEN APPEAL (.5)	0.50
12/20/00 12/21/00	MH SJM	RESEARCH WHAT CONSTITUTES EVIDENCE (.7) CONFERENCE WITH J. COVEY REGARDING ISSUES IN R. ALLEN APPEAL OF CLAIM ORDER (.20); ANALYSIS OF ARGUMENTS MADE BY R. ALLEN AS TO HIS CLAIM AND SECTION 510(B) AND PREPARE FOR ARGUMENT (2.40); REVIEW BAP NOTICE OF ARGUMENT SETTING (.20)	0.70 2.80
12/21/00	JMC	REVIEW APPEAL BRIEF OF RICHARD ALLEN (.9); REVIEW CASE LAW CITED BY RICHARD ALLEN (4.7); CONFERENCE WITH MICHAEL HOPPE REGARDING FACTS OF CASE AND EVIDENCE BEFORE THE BANKRUPTCY JUDGE (.4); OUTLINE LEGAL RESEARCH NEEDED (.4); TELEPHONE CONFERENCES WITH 10TH CIRCUIT BAP REGARDING EXTENSION OF TIME (.3); DRAFT E-MAIL TO STEVE MCCARDELL REGARDING SAME (.1)	6.80
12/21/00	MH	RESEARCH RECORD BEFORE COURT FOR ALLEN APPEAL BRIEF (1.9)	1.90
12/21/00	MH	CONFERENCE WITH JOE COVEY REGARDING ALLEN APPEAL BRIEF ARGUMENTS (1.0)	1.00
12/21/00	MH	RESEARCH EVIDENCE AND RECORD PROPERLY BEFORE BANKRUPTCY COURT FOR ALLEN BRIEF (2.8)	2.80
12/22/00	JMC	RESEARCH AND REVIEW BANKRUPTCY CODE SECTION 510(B) (1.9); REVIEW CASES AND ARTICLES CITED BY ALLEN IN APPEAL BRIEF (3.5); CONFERENCE WITH MICHAEL HOPPE REGARDING SAME (.5)	5.90
12/22/00	MH	RESEARCH AND WRITE ARGUMENT REGARDING EVIDENCE PROPERLY BEFORE COURT FOR ALLEN BRIEF (3.8)	3.80
12/22/00	MH	CONFERENCE WITH JOE COVEY REGARDING ALLEN APPELLATE BRIEF (1.0)	1.00
12/26/00	SJM	ANALYSIS OF LAW AND LEGAL ARGUMENTS RESPECTING INTERPRETATION OF SECTION 510(B) AND R. ALLEN CLAIM IN PREPARATION FOR REVIEW OF DRAFT BRIEF AND ORAL ARGUMENT	7.30
12/27/00	JWC	RESPOND TO INQUIRY FROM SLO REGARDING 10B-5 MEASURE OF DAMAGES/BLUE CHIP STAMP CASE.	0.20
12/27/00	JMC	RESEARCH AND REVIEW CASE LAW REGARDING	5.80

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 169 of 248 GENEVA STEEL COMPANY O0144 CLAIMS ADMINISTRATION & OBJECTIONS PAGE 5

01/12/01

DATE	ATTY/ PARA		HOURS
- <b></b>		THE PROPERTY OF THE PROPERTY O	
		SUBORDINATION UNDER BANKRUPTCY CODE SECTION 510(B)	
		(4.7); DRAFT SECTION OF APPEAL BRIEF REGARDING	
		SECTION 510(B) ISSUES (1.1)	
12/27/00	SJM	ANALYSIS OF SECURITIES LAW ARGUMENTS AND ISSUES	4.60
		RELEVANT TO R. ALLEN APPEAL OF CLAIM RULING	
12/28/00	SJM	PREPARE FOR ARGUMENT ON R. ALLEN APPEAL	1.30
12/28/00	J-V	CONFERENCE WITH JOE COVEY REGARDING RESEARCH (.7);	6.50
12,20,00	•	COPY DOCUMENTS AND RETURN TO JOE COVEY (.2);	
		COLLIER'S AND LEXIS RESEARCH REGARDING ISSUE IN	
		10TH CIRCUIT AND OTHERS (4.4); DRAFT ROUGH MEMO OF	
		STANDARD AND TO JOE COVEY (1.2)	
		TOTAL HOURS	117.80

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
KL CANNON, II	0.60	AT \$280	
JW COTTON	0.20	AT \$410	= 82.00
SJ McCARDELL	29.80	AT \$305	= 9,089.00
RL RENCHER	0.80	AT \$290	= 232.00
JM COVEY	43.80	AT \$195	= 8,541.00
M HOPPE	11.70	AT \$145	= 1,696.50
JR SCHOFIELD	1.90	AT \$175	= 332.50
J VALDES	6.50	AT \$165	= 1,072.50
LA MCGEARY	22.50	AT \$90	= 2,025.00

CURRENT FEES 23,238.50

DATE		VALUE	
12/18/00	MESSENGER SERVICE	8.00	
,,	TOTAL MESSENGER SERVICE		8.00
10/21/00	TELEPHONE		14.10
12/31/00			6.72
12/31/00	POSTAGE		0.72
12/29/00	MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE CHARGE ONLY 12/00	6.43	
		106.60	
12/29/00	MISCELLANEOUS CHARGES REPRODUCTION - 12/00	426.60	
	TOTAL MISCELLANEOUS CHARGES		433.03

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 170 of 248

28602

GENEVA STEEL COMPANY

INVOICE NUMBER 255190

	CLAIMS ADMINISTRATION & OBJECTIONS	PAGE 6
DATE		VALUE
12/08/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, LAM TO TOM SCHEIDT OF DEBT ACQUISITION COMPANY OF AMERICA ON 11/29/00	15.76
12/20/00		42.22
12/20/00		42.22
12/20/00		42.22
12/20/00		10.24
	TOTAL AIR EXPRESS	152.66
	CURRENT EXPENSES	614.51
	TOTAL THIS MATTER	23,853.01

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00237) EMPLOYEE BENEFITS/PENSIONS

DATE		VALUE	
12/08/00	ALPHA COURT REPORTING SERVICE - DEPOSITION/HEARING TRANSCRIPTS TRANSCRIPT OF HEARING HELD ON 11/20/00 TOTAL DEPOSITION/HEARING TRANSCRIPTS	67.00	67.00
	CURRENT EXPENSES		67.00
	TOTAL THIS MATTER		67.00

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00265) EXECUTORY CONTRACTS & LEASES

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
12/01/00	SJM	PREPARE FOR HEARING ON MOTION TO ASSUME CONTRACTS WITH SAP AMERICAEVIDENCE, DOCUMENTS, PROOF, LEGAL ARGUMENTS	3.70
12/01/00	KLC	REVIEWING CURRENT USWA AGREEMENT	0.40
12/01/00	KLC	DRAFTING CORRECTED MOTION ON UNITED STEELWORKERS ASSUMPTION	0.60
12/01/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING MANNESMANN DEMAG ISSUES	0.20
12/01/00	KLC	REVIEWING MOTION TO ASSUME CONTRACTS REGARDING MANNESMANN DEMAG ISSUES	0.30
12/01/00	KLC	VOICE MAIL TO MANNESMANN DEMAG COUNSEL REGARDING ASSUMPTION MOTION	0.10
12/01/00	KLC	TELEPHONE CONFERENCE TO MARCUS PHILLIPS REGARDING SOUTHERN FAB AGREEMENT	0.20
12/01/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING SOUTHERN FAB AGREEMENT	0.20
12/01/00	KLC	DRAFTING NOTICE OF CHANGE OF SOUTHERN FAB FROM REJECTION TO ASSUMPTION	0.60
12/04/00	SJM	PREPARE FOR HEARING ON SAP LICENSE ASSUMPTION MOTION INCLUDING REVIEW OF DOCUMENTS FROM SAP AND NEW DOCUMENTS RECEIVED TODAY FROM GENEVA AND HEWLETT PACKARD ASSIGNMENT (4.70); CONFERENCE WITH D. WANLASS AND R. ROSS REGARDING SAP ISSUES (.30);	6.50

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 173 of 248

28602 GENEVA STEEL COMPANY
00265 EXECUTORY CONTRACTS & LEASES
01/12/01

DATE	ATTY/ PARA		HOURS
	- <b></b>		<b></b> -
		CONFERENCE WITH P. DODSON REGARDING SAP ASSUMPTION ISSUES (.20); REVIEW DRAFT RESPONSE TO OBJECTION TO ASSUME SAP AGREEMENT (1.30)	
12/04/00	KLC	REVIEWING EMAILS REGARDING SAP ISSUES	0.30
12/04/00	KTC	TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING	0.10
12/04/00	KLC	HEWLETT-PACKARD LEASES REFERRING TO SAP ISSUES	•
12/04/00	KLC	REVIEWING HEWLETT PACKARD LEASES	0.70
•	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING SAP	0.20
12/04/00	KUC	ISSUES	0.20
10/04/00	WI C	TELEPHONE CONFERENCE FROM JAMES AHLSTROM REGARDING	0.10
12/04/00	KLC	ASSUMED CONTRACTS	0.10
12/04/00	WI C	PREPARING SCHEDULE OF ASSUME CONTRACTS	2.10
12/04/00	KLC	REVIEWING ISSUES ON SAP/HEWLETT PACKARD	0.50
12/04/00	KLC	PREPARE FOR HEARING ON SAP CONTRACT ASSUMPTION	3.90
12/05/00	SJM	MOTION (2.20); CONFERENCE CALL WITH COUNSEL FOR	3.20
		SAP REGARDING HEARING ON CONTRACT ASSUMPTION	
		MOTION (1.0); REVIEW AND COMMENT ON DRAFT BRIEF ON	
		SAP CONTRACT ASSUMPTION MOTION (.70)	
10/05/00	WI CI	REVIEWING CONTRACT ASSUMPTION IN PREPARATION OF A	1.50
12/05/00	KLC	SCHEDULE OF ASSUMED CONTRACTS	1.50
10/05/00	WT CI	CONFERENCE WITH STEVE MCCARDELL REGARDING HEARING	0.20
12/05/00	KLC	ON SAP, OTHER EXECUTORY CONTRACT MOTIONS	0.20
10/05/00	77T C	TELEPHONE CONFERENCE FROM JAMES AHLSTROM REGARDING	0.20
12/05/00	KLC	SCHEDULE OF EXECUTORY CONTRACTS	0.20
10/05/00	TT C	REVISING SCHEDULE OF EXECUTORY CONTRACTS	1.20
12/05/00	KLC	PREPARE FOR HEARING ON SAP CONTRACT ASSUMPTION	5.50
12/06/00	SJM	MOTION (3.40); PREPARE FINAL FORM OF BRIEF ON SAP	3.30
		CONTRACT ASSUMPTION MOTION (1.60); CONFERENCES	
		WITH D. WANLASS TO PREPARE FOR SAP CONTRACT	
		ASSUMPTION MOTION (.50)	
12/06/00	KLC	REVIEWING ISSUES WITH RESPECT TO HEWLETT PACKARD,	0.20
12/06/00	KLC	SAP	0.00
12/06/00	KLC	TELEPHONE CONFERENCE FROM RICHARD ROSS REGARDING	0.20
12/00/00	KLIC	HP, SAP ISSUES	
12/06/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING HP, SAP	0.10
12/00/00	ICLIC	ISSUES	
12/06/00	KLC	REVIEWING DRAFT BRIEF ON SAP ASSUMPTION MOTION	1.10
12/06/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING SAP	0.20
12/00/00	1120	ISSUES	
12/06/00	KLC	TELEPHONE CONFERENCE FROM MICHAEL EMERY REGARDING	0.20
12,00,00	NIC.	MOTION ON USX CONTRACTS	
12/06/00	KLC	TELEPHONE CONFERENCE TO ROGER HENRICKSEN REGARDING	0.20
12/00/00	ıÇ	USX CONTRACTS	
12/06/00	KLC	REVIEWING GATX GROUND LEASE	0.20
12/06/00	KLC	REVIEWING FAX FROM DENNIS WANLASS REGARDING COST	0.10
12,00,00	1110	OF HOT METAL FOR CUPOLA	
12/06/00	KLC	LETTER TO GARY SACKETT REGARDING COST OF HOT METAL	0.10
12,00,00		FOR CUPOLA	

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 174 of 248

28602 GENEVA STEEL COMPANY 00265 EXECUTORY CONTRACTS & LEASES 01/12/01

DATE	ATTY/ PARA		HOURS
12/07/00	SJM	PREPARE FOR SAP HEARING, INCLUDING FACTUAL STIPULATION ISSUES	4.30
12/07/00	KLC	TELEPHONE CONFERENCE FROM MICHAEL EMERY REGARDING MOTION ON USX	0.20
12/07/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING ASSUMPTION MOTION AS IT RELATES TO USX	0.20
12/08/00	SJM	PREPARE FOR DEPOSITION OF D. WANLASS BY SAP (1.60); ANALYSIS OF LEGAL ARGUMENTS OF SAP AND PREPARE FOR SAP HEARING (1.70); DEPOSITION OF D. WANLASS BY SAP AND MEETING WITH D. WANLASS TO PREPARE FOR HEARING (1.70); FURTHER ANALYSIS OF FACT STIPULATION AS DRAFTED BY SAP AND REQUESTED CHANGES AND PREPARE REVISIONS (1.20)	6.20
12/08/00	KLC	CONFERENCE WITH NATE PARKIN REGARDING COPIES OF CONTRACTS	0.20
12/08/00	KLC	TELEPHONE CONFERENCE FROM RICHARD SELTZER REGARDING UNITED STEELWORKRS MOTION	0.20
12/08/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING EXECUTORY CONTRACT MOTION	0.20
12/08/00	KLC	DRAFTING PROPOSED ORDER ON EXECUTORY CONTRACT MOTION	0.50
12/11/00	KLC	REVIEWING MOTIONS TO ASSUME, REJECT CONTRACTS	0.50
12/11/00	KLC	DRAFTING PROPOSED ORDER ON UNITED STEELWORKERS ASSUMPTION MOTION	0.70
12/11/00	KLC	DRAFTING PROPOSED ORDER ON REJECTION MOTION, REVIEWING PLAN REGARDING CLAIMS BAR DATE	1.10
12/11/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING MOTION ON REJECTION MOTION	0.20
12/11/00	KLC	DRAFTING PROPOSED ORDER ON OMNIBUS ASSUMPTION MOTIONS	2.10
12/11/00	KLC	TELEPHONE CONFERENCE TO JOHN STRALEY REGARDING CONTRACTS TO BE WITHDRAWN FROM HEARING	0.20
12/11/00	SJM	PREPARE FOR HEARING ON SAP CONTRACT MOTION, INCLUDING PREPARATION OF FACTUAL STIPULATION WITH COUNSEL FOR SAP TO NARROW FACTUAL ISSUES AND ANALYSIS OF LEGAL ARGUMENTS (7.30); REVIEW SUPPLEMENTAL BRIEF OF SAP AND ANALYSIS OF NEW ARGUMENTS AND ISSUE (1.40)	8.70
12/12/00 12/12/00	KLC KLC	REVISING ORDERS ON EXECUTORY CONTRACT MOTIONS LETTER TO JUDGE CLARK REGARDING PROPOSED ORDERS ON EXECUTORY CONTRACT MOTIONS	0.70 0.20
12/12/00	KLC	TELEPHONE CONTRACT MOTIONS TELEPHONE CONFERENCE TO RICHARD ROSS REGARDING EXECUTORY CONTRACT ISSUES	0.20
12/12/00	KLC	CONFERENCE WITH ALLAN GUON REGARDING FINOVA CONTRACT	0.20
12/12/00	KLC	ATTENDING HEARING ON MOTION TO REJECT EXECUTORY CONTRACTS	0.30
12/12/00	SJM	PREPARE FOR HEARING ON SAP CONTRACT ASSUMPTION,	8.70

## Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 175 of 248

00265	GENEVA STEEL COMPANY EXECUTORY CONTRACTS & LEASES	INVOICE NUMBER PAGE 4	255190
01/12/01			

DATE	ATTY/ PARA		HOURS
		INCLUDING MEETING WITH D. WANLASS TO PREPARE TESTIMONY AND FURTHER ANALYSIS OF LEGAL ARGUMENTS AND PREPARATION OF ARGUMENT (5.30); REVIEW AND EDIT DRAFT SUPPLEMENTAL REPLY BRIEF TO SAP ARGUMENTS AND REVIEW LAW CITED (1.40); ATTEND HEARING ON SAP CONTRACTS AND PRESENT EVIDENCE AND	
12/19/00	KLC	ARGUMENT (2.0) REVIEWING CONTRACTS REGARDING FINANCED CUE	1.10
12/21/00	SJM	AGREEMENTS PREPARATION OF SUPPLEMENTAL STIPULATION OF FACTS WITH RESPECT TO PENDING SAP MOTION	1.20
12/22/00	SJM	REVIEW SETTLEMENT PROPOSAL FROM SAP (.30); CONFERENCE WITH M. ELLENBERG REGARDING SETTLEMENT (.20); ANALYSIS OF POSSIBLE COUNTERPROPOSALS AND POINTS (.40)	0.90
		TOTAL HOURS	70.90

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	RATE	VALUE
KL CANNON, II	21.30	AT \$280 =	5,964.00
SJ McCARDELL	49.60	AT \$305 =	15,128.00

CURRENT FEES 21,092.00

DATE		VALUE	
12/18/00	MESSENGER SERVICE TOTAL MESSENGER SERVICE	56.00	56.00
12/31/00	TELEPHONE		59.77 29.38
12/31/00 12/29/00	POSTAGE MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY - 12/00	21.54	
12/29/00	MISCELLANEOUS CHARGES REPRODUCTION - 12/00	967.00	000 54
12/27/00	TOTAL MISCELLANEOUS CHARGES PETTY CASH CUSTODIAN - KAREN KASPERICK - LOCAL TRANSPORTATION LOCAL MILEAGE RIEMBURSEMENT	0.85	988.54

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 176 of 248

INVOICE NUMBER 255190

PAGE 5

28602 GENEVA STEEL COMPANY

EXECUTORY CONTRACTS & LEASES

00265

01/12/01			
DATE		VALUE	
12/27/00	PETTY CASH CUSTODIAN - KAREN KASPERICK - LOCAL TRANSPORTATION LOCAL MILEAGE RIEMBURSEMENT TOTAL LOCAL TRANSPORTATION	0.60	1.45
12/08/00		10.24	
12/08/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO MARK C. ELLENBERG OF CADWALADER, WICKERSHAM & TAFT ON 12/6/00	10.24	
12/08/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO STEPHEN E. GARCIA OF HOPKINS & SUTTER ON 12/6/00	13.42	
12/08/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO PAUL MAINARDI OF BROWN & CONNERY ON 12/6/00	10.24	
12/08/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO DENNIS WANLASS OF GENEVA STEEL ON 12/6/00	7.28	
12/12/00	TOTAL AIR EXPRESS U.S. POST OFFICE - POSTAGE 63 - \$.55 STAMPS FOR COURT ORDERS	34.65	51.42
12/27/00	PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS	9.57	
	TOTAL POSTAGE		44.22
	CURRENT EXPENSES		1,230.78
	TOTAL THIS MATTER		22,322.78

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00276) FEE/EMPLOYMENT APPLICATIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
11/02/00	JMC	TELEPHONE CONFERENCES WITH MICHELLE SPENCER REGARDING WATSON WYATT INVOICES (.3); OFFICE CONFERENCE WITH STEVE STRONG REGARDING THE SAME (.3); REVIEW WATSON WYATT INVOICES (.3); TELEPHONE CONFERENCE WITH KIRKLAND HICKS AND MICHELLE SPENCER REGARDING THE FEE APPLICATION PROCESS AND WATSON WYATT'S INVOICES (1.0); TELEPHONE CONFERENCE WITH PETER KUHN REGARDING WATSON WYATT FEE APPLICATION (.1)	2.90
11/10/00	JMC	REVIEW NEW INVOICES FROM WATSON WYATT FOR FEES (.9); DRAFT FEE APPLICATION FOR WATSON WYATT (1.2); TELEPHONE CONFERENCE WITH MICHELLE SPENCER (MESSAGE) REGARDING THE SAME (.1)	2.20
11/13/00	JMC	DRAFT FEE APPLICATION FOR WATSON WYATT (1.7); REVIEW INVOICES FOR SAME (1.2); SEND E-MAIL TO MICHELLE SPENCER WITH DRAFT APPLICATION FOR REVIEW (.3)	3.20
12/01/00	LAM	RESEARCH REGARDING WATSON WYATT FEE APPLICATION	0.20
12/05/00	JMC	TELEPHONE CONFERENCES WITH MICHELLE SPENCER AND STEVE STRONG REGARDING PARTIAL PAYMENT TO WATSON WYATT	0.20
12/06/00	JMC	TELEPHONE CONFERENCES WITH MICHELLE SPENCER	0.40

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 178 of 248

28602 GENEVA STEEL COMPANY
00276 FEE/EMPLOYMENT APPLICATIONS
01/12/01

DATE	ATTY/ PARA		HOURS
		REGARDING WATSON WYATT FEE APPLICATION (.1); TELEPHONE CONFERENCE WITH STEVE STRONG REGARDING SAME (.3)	<b>-</b>
12/07/00	JMC	REVIEW OBJECTION TO PAYMENT OF WATSON WYATT NOVEMBER INVOICE (.2); TELEPHONE CALL TO STEVE GARCIA REGARDING SAME (.1); TELEPHONE CALL TO MICHELLE SPENCER REGARDING SAME (.3)	0.60
12/11/00	JMC	TELEPHONE CONFERENCES WITH MICHELLE SPENCER REGARDING OBJECTIONS TO WATSON WYATT'S FEE APPLICATION (.7); COORDINATE SENDING TRUSTEE'S OBJECTION TO MICHELLE SPENCER (.1); CONFERENCE WITH STEVE STRONG REGARDING SAME (.3); RESEARCH BANKRUPTCY CODE SECTION 327 REGARDING THE NECESSITY OF FILING A FEE APPLICATION (.7)	1.80
12/12/00	JMC	TELEPHONE CONFERENCE WITH MICHELLE SPENCER REGARDING WATSON WYATT FEE APPLICATION (.1); TELEPHONE CONFERENCE WITH KIRKLAND HICKS REGARDING THE SAME (.1); TELEPHONE CONFERENCE WITH WATSON WYATT'S LOCAL COUNSEL REGARDING SAME (.6)	0.80
12/12/00	MH	SUMMARIZE FEE APPLICATIONS IN CHART FOR DECEMBER 15 COURT HEARING	1.70
12/13/00	JMC	TELEPHONE CONFERENCE WITH CHRIS SCHMITZ REGARDING WATSON WYATT FEE APPLICATION (.2); COORDINATE SENDING WATSON WYATT'S EMPLOYMENT APPLICATION TO SAME (.1)	0.30
12/14/00	LAM	RESEARCH REGARDING ERNST & YOUNG AND ROTHSCHILD'S FOURTH AND FIFTH FEE APPLICATIONS (.6)	0.60
12/14/00	JMC	TELEPHONE CONFERENCES WITH COUNSEL FOR WATSON WYATT REGARDING FEE APPLICATION HEARING (.2); TELEPHONE CONFERENCE WITH CARL RAMNITZ REGARDING SAME (.1)	0.30
12/14/00	MH	REVIEW OBJECTIONS, RESOLUTIONS AND UPDATE CHART SUMMARIZING FEE APPLICATIONS	0.70
12/15/00	MLS	PREPARE FOR HEARING ON FEE APPLICATIONS (.60), ATTEND HEARING ON FEE APPLICATIONS OF DEBTOR AND COMMITTEE PROFESSIONALS, EXCLUDING BLACKSTONE (1.0); CONFERENCE WITH J. STRALEY REGARDING ORDERS ON APPLICATIONS (.10)	1.70
12/15/00	MH	RESPOND TO QUESTIONS FROM BLACKSTONE REGARDING FEE APPLICATIONS	0.50
12/19/00	MH	DRAFT ORDERS GRANTING PROFESSIONALS INTERIM FEE APPLICATIONS (2.2)	2.20
12/20/00	MH	CONFERENCE WITH STEVE MCCARDELL REGARDING ORDERS (.1)	0.10
		TOTAL HOURS	20.40

### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 179 of 248

28602 GENEVA STEEL COMPANY
00276 FEE/EMPLOYMENT APPLICATIONS
01/12/01

INVOICE NUMBER 255190 PAGE 3

TIMEKEEPER	HOURS		RATE	VALUE
SJ McCARDELL	1.70	AT	\$305 =	518.50
JM COVEY	12.70	AT	\$195 =	2,476.50
M HOPPE	5.20	AT	\$145 =	754.00
LA MCGEARY	0.80	AT	\$90 =	72.00

CURRENT FEES

3,821.00

DATE		VALUE	
12/31/00	TELEPHONE		3.96
12/31/00	POSTAGE		18.82
12/29/00	MISCELLANEOUS CHARGES FACSIMILE -	22.16	
	ACTUAL LINE COST ONLY - 12/00		
12/29/00	MISCELLANEOUS CHARGES	681.20	
	REPRODUCTION - 12/00		
	TOTAL MISCELLANEOUS CHARGES		703.36
12/08/00	PETTY CASH CUSTODIAN - KAREN	0.60	
	KASPERICK - LOCAL TRANSPORTATION		
	LOCAL MILEAGE REIMBURSEMENT		
	TOTAL LOCAL TRANSPORTATION		0.60
12/08/00	SALT CITY COURIERS - MESSENGER	7.00	
	SERVICE OUTSIDE MESSENGER SERVICE		
	FOR NOVEMBER 2000		
	TOTAL MESSENGER SERVICE		7.00
12/27/00	PETTY CASH CUSTODIAN - KAREN	47.85	
	KASPERICK - POSTAGE POSTAGE		
	STAMPS FOR PROPOSED ORDERS		
	TOTAL POSTAGE		47.85
	CURRENT EXPENSES		781.59
	TOTAL THIS MATTER		4,602.59

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190
INVOICE DATE 01/12/01
CLIENT NUMBER 28602

RE: (00277) FEE/EMPLOYMENT OBJECTIONS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
12/01/00	SCS	CONFERENCES WITH M. HOPPE RE HIS REVIEW OF INTERIM FEE APPLICATIONS RECENTLY FILED	0.30
12/01/00	MH	REVIEW FEE APPLICATIONS OF VARIOUS PROFESSIONALS	3.30
12/05/00	MH	REVIEW MONTHLY PROFESSIONAL INVOICES AND PREPARE SUMMARY CHART FOR LETTER TO DENNIS WANLASS	1.90
12/06/00	SCS	TELECONFERENCES WITH J. COVEY RE OBJECTION TO WATSON WYATT FEES AND ADDITIONAL INFORMATION NEEDED	0.30
12/06/00	MH		0.50
12/11/00	SCS	REVIEW AND ANALYZE OBJECTIONS TO US TRUSTEE, BONDHOLDERS' COMMITTEE, AND GATX TO FEE APPLICATIONS OF VARIOUS PROFESSIONALS (WATSON WYATT, BLACKSTONE GROUP, AND SPENCER STUART) (1.3); CONFERENCES WITH J. COVEY RE PROGRESS IN RESOLVING OBJECTIONS TO WATSON WYATT FEE APPLICATION (0.4); FAX AND VOICE MESSAGE TO T. SPENCE OF SPENCER STUART RE OBJECTION TO FEE APPLICATION (0.2); EXCHANGE E-MAILS WITH S. MCCARDELL AND J. COVEY RE VARIOUS OBJECTIONS TO INTERIM FEE APPLICATIONS (0.2)	2.10
12/11/00	SCS	REVISE AND FINALIZE LETTER AND ACCOMPANYING SPREADSHEET OF OCTOBER FEES AND EXPENSES APPROVED TO BE PAID TO PROFESSIONALS PURSUANT TO COURT'S	0.40

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 181 of 248

28602 GENEVA STEEL COMPANY
00277 FEE/EMPLOYMENT OBJECTIONS
01/12/01

INVOICE NUMBER 255190 PAGE 2

DATE	ATTY/ PARA		HOURS
12/11/00 12/12/00	MH SCS	ADMINISTRATIVE FEE ORDER REVIEW STATUS OF ERNST & YOUNG'S MONTHLY INVOICES REVIEW LETTER FROM P. MARKUS OF SKADDEN ARPS, AND ACCOMPANYING MATERIALS, RE PAYMENT OWED TO SKADDEN	0.10
12/13/00	SCS	AND PREVIOUSLY APPROVED BY COURT CONFERENCE WITH J. COVEY RE STATUS OF RESOLUTION EFFORTS REGARDING OBJECTION TO WATSON WYATT FEE APPLICATION AND REVIEW E-MAIL FROM J. COVEY RE SAME (0.1); EXCHANGE E-MAILS WITH T. SPENCE OF SPENCER STUART RE RESOLVING OBJECTION TO SPENCER STUART EXPENSES IN FEE APPLICATION (0.2); CONFERENCE WITH L. TANNER RE MATERIALS TO BE ASSEMBLED TO HELP S. MCCARDELL PREPARE FOR FRIDAY'S HEARING ON INTERIM FEE APPLICATIONS (0.1); REVIEW LETTER AND ACCOMPANYING MATERIALS FROM N. LEONE RE RESOLVING OBJECTIONS TO BLACKSTONE EXPENSES (0.1)	0.50
12/13/00	SJM	REVIEW OBJECTIONS TO FEE APPLICATIONS OF DEBTORS' PROFESSIONALS AND PREPARE FOR HEARING	1.60
12/14/00	SCS	REVIEW EXPENSE DETAIL PROVIDED BY T. SPENCE REGARDING SPENCER STUART FEE APPLICATION (0.1); CONFERENCES WITH M. HOPPE RE REVISING CHART FOR COURT RE STATUS OF ALL INTERIM FEE APPLICATIONS SET FOR HEARING TOMORROW (0.1)	0.20
12/15/00	SJM	ATTEND HEARING ON BLACKSTONE FEE APPLICATION, MORNING AND AFTERNOON PORTIONS	2.50
12/18/00	SCS	EXCHANGE E-MAILS WITH T. SPENCE OF SPENCER STUART RE FEE APPLICATION HEARING AND EXPECTED PAYMENT DATES	0.20
12/21/00	SCS	REVIEW MATERIALS FOR AND DRAFT LETTER TO GENEVA RE PAYMENT OWED TO SKADDEN ARPS (0.4); CORRECT ERRORS IN SPREADSHEET RE HOLDBACK PAYMENTS OWED ON LAST APPROVED FEE APPLICATIONS (0.1), AND DRAFT LETTER TO GENEVA RE SAME (0.1)	0.60
12/26/00	SCS	CALL FROM PAUL LUDWIG RE PAYMENTS OWED TO PROFESSIONALS (0.1); REVIEW PRIOR LETTERS SENT TO GENEVA RE SAME AND OVERSEE FAXING OF SAME TO P. LUDWIG (0.2)	0.30
		TOTAL HOURS	15.00

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 182 of 248

28602 GENEVA STEEL COMPANY
00277 FEE/EMPLOYMENT OBJECTIONS
01/12/01

INVOICE NUMBER 255190 PAGE 3

TIMEKEEPER	TIME	SUMMARY:

TIMEKEEPER	HOURS		RATE	VALUE
SJ McCARDELL M HOPPE	4.10	AT AT	\$305 = \$145 =	1,250.50 841.00
SC STRONG	5.10	AΤ	\$220 =	1,122.00

CURRENT FEES

3,213.50

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
12/31/00	TELEPHONE		5 <b>.25</b>
12/29/00	MISCELLANEOUS CHARGES FACSIMILE -	13.63	
	ACTUAL LINE COST ONLY - 12/00		
12/29/00	MISCELLANEOUS CHARGES	34.00	
, ,	REPRODUCTION - 12/00		
	TOTAL MISCELLANEOUS CHARGES		47.63
		_	
	CURRENT EXPENSES		52.88
	<b>V</b>	_	
	TOTAL THIS MATTER		3,266.38

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00283) FINANCING

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
12/06/00	SJM	PREPARE FOR HEARING ON CONGRESS FINANCIAL MOTION	1.50
12/11/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING PREPARING PLEADINGS FOR EMERGENCY BRIDGE LOAN	0.20
12/11/00	KLC	REVIEWING COMMITMENT LETTER AND TERM SHEET FOR BRIDGE LOAN	0.40
12/11/00	KLC	DRAFTING MOTION AND AFFIDAVIT ON BRIDGE LOAN	2.10
12/11/00	KLC	DRAFTING EX PARTE MOTION AND ORDER ON PROPOSED BRIDGE LOAN	0.80
12/11/00	SJM	ASSIST IN PREPARATION OF PLEADINGS FOR POSSIBLE BRIDGE FINANCING FROM ALBERT FRIED	1.40
12/12/00	KLC	REVIEWING MODIFIED TERM SHEET, COMMITMENT LETTER ON PROPOSED BRIDGE LOAN	0.40
12/12/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING BRIDGE LOAN ISSUES	0.20
12/12/00	KLC	TELEPHONE CONFERENCE WITH STEVE MCCARDELL FROM STEVE GARCIA REGARDING BRIDGE LOAN ISSUES	0.10
12/12/00	KLC	REVISING PLEADINGS ON BRIDGE LOAN	0.70
12/12/00	KLC	TELEPHONE CONFERENCE TO MAREEA PERRY REGARDING MEETING WITH COURT ON EX PARTE MOTION	0.10
12/12/00	KLC	TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING COMMITMENT LETTER ON BRIDGE LOAN	0.20
12/12/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING COMMITMENT LETTER ON BRIDGE LOAN	0.20

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 184 of 248

28602 GENEVA STEEL COMPANY 00283 FINANCING 01/12/01

INVOICE NUMBER 255190 PAGE 2

DATE	ATTY/ PARA		HOURS
12/12/00		REVIEW REVISED DRAFT COMMITMENT LETTER FOR ALBERT FRIED BRIDGE LOAN AND MARK DRAFT MOTION TO SHOW CHANGES (.40); CONFERENCE WITH D. WANLASS ON CHANGES IN AFFIDAVIT SUPPORTING ALBERT FRIED BRIDE LOAN AND MARK CHANGES (.20); CONFERENCE WITH K. JOHNSEN REGARDING STATUS OF BRIDGE FINANCING WITH ALBERT FRIED (.10); CONFERENCE WITH S. GARCIA REGARDING BRIDGE FINANCING WITH ALBERT FRIED (.20); CONFERENCE WITH K. CANNON REGARDING REPRESENTATION OF ALBERT FRIED BRIDGE FINANCING LOAN AND MAKE ASSIGNMENTS TO PREPARE FOR SERVICE (.20)	1.10
12/12/00	S-T	REVIEW CONGRESS FINANCIAL RELEASE AND COMPARE TO CITIBANK RELEASE	0.80
12/13/00	KLC	TELEPHONE CONFERENCE TO KEN JOHNSEN REGARDING STATUS OF BRIDGE FACILITY	0.20
12/13/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING PLEADINGS ON BRIDGE FACILITY	0.20
12/13/00	KLC	REVIEWING NEW COMMITMENT LETTER FROM AL FRIED, REVISING MOTION REGARDING BRIDGE LOAN FACILITY	0.90
12/13/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING BRIDGE LOAN, PLEADINGS, HEARING	0.20
12/13/00	KLC	TELEPHONE CONFERENCE TO MAREEA PERRY REGARDING HEARING ON BRIDGE LOAN FACILITY	0.10
12/13/00	KLC	DRAFTING NOTICE ON MOTION FOR APPROVAL OF BRIDGE LOAN FACILITY	0.60
12/13/00	SJM	CONFERENCE WITH K. JOHNSEN REGARDING FINANCING MOTION WITH ALBERT FRIED (.20); PREPARATION OF REVISIONS TO FINANCING MOTION (.80); FURTHER CONFERENCE WITH K. JOHNSEN REGARDING A. FRIED FINANCING MOTION (.20)	1.20
12/14/00	KLC	REVIEWING EMERGENCY FINANCING MOTION IN PREPARATION OF MEETING WITH JUDGE CLARK	0.60
12/14/00	KLC	MEETING WITH JUDGE CLARK ON EX PARTE MOTION ON NOTICE ON BRIDGE FINANCING MOTION	0.50
12/14/00	KLC	CONFERENCE WITH STEVE MCCARDELL REGARDING FINANCING MOTION	0.20
12/14/00 12/14/00	KLC SJM	DRAFTING ORDER ON BRIDGE LOAN ASSIST WITH ANALYSIS AND INFORMATION FOR CITIBANK LOAN CLOSING ISSUES, INCLUDING EFFECT OF R. ALLEN APPEAL, CLAIMS ISSUES, INCLUDING SAP CONTRACT STATUS AND PBGC CONTINGENT CLAIMS (3.20); PROVIDE INFORMATION REQUESTED BY CITIBANK COUNSEL REGARDING R. ALLEN APPEAL (.40); PREPARE FOR HEARING ON FRIED BRIDGE LOAN, INCLUDING CONFERENCES WITH D. WANLASS AND K. JOHNSEN CONCERNING POSSIBLE OBJECTIONS AND REVIEW AND EDIT DRAFT ORDER ON FRIED BRIDGE LOAN (1.20)	0.40 4.80

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 185 of 248

INVOICE NUMBER 255190

28602

GENEVA STEEL COMPANY

	FINAN	CING	AIN I			PAGE	3	255190
DATE	ATTY/ PARA							HOURS
12/15/00		REVIEWING I	SUES, RES	SEARCH				2.70
12/15/00		MEETING WIT PRESENT EVENT FINANCING AS SIGNING OF MR. FRIED AND (1.30); AND LENDER CONG	R HEARING WITH ALBE WITH DEN TH S. BUN IDENCE AN AND PRESE COMMITME AND CONFI ALYSIS OF	GON MERT FROM IS WILL WAS A WAR TO ARCENT OF ENT LEART PASSOUT R.	RIED & CONTROL OF CONT	O., INCLUDI ON MOTION A G MOTION (2 N SUPPORT O O); ARRANGE D TRANSMISS F COMMITMEN ANS OF ADDR APPEAL (2.3	NG ND .60); F BRIDGE FOR ION TO T FEE ESSING	6.70 0.70
12/21/00	KLC	REVIEWING REVIEWING	ISSUES IN	N BRII	GE FINA	NCING		0.20
TIMEKEEPE	ER	SUMMARY:	HOURS				Е 	30.40
KL CANNON SJ MCCARE S TUMBLIN	N, II DELL N		12.90 16.70 0.80	AT AT AT	\$280 \$305 \$285	= 3,612. = 5,093. = 228.	00 50 00	
		CURREN'	T FEES					8,933.50
FOR CHARG	GES AND	DISBURSEME	NTS:					
DATE						VA 	LUE	
12/31/00 12/29/00	MI	TELEPHONE SCELLANEOUS PRODUCTION				303	.40	4.81
		TOTAL MISCE		CHARG	ES			303.40

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 186 of 248

28602 GENEVA STEEL COMPANY 00283 FINANCING 01/12/01

INVOICE NUMBER 255190 PAGE 4

CURRENT EXPENSES

308.21

TOTAL THIS MATTER

9,241.71

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00574) MISC. CONTESTED MATTERS

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

	ATTY/		
DATE	PARA		HOURS
	<b>-</b>		
12/01/00	LAM	TELEPHONE CONFERENCE WITH LAURA OF ALPHA COURT REPORTERS REGARDING REQUESTED TRANSCRIPTS (.1)	0.10
12/01/00	LAM	CONFERENCE WITH STEVE MCCARDELL REGARDING LOOMIS APPEAL AND DOCKET (.2)	0.20
12/11/00	LAM	TELEPHONE CONFERENCE WITH LISA BERNSEN AT BANKRUPTCY COURT REGARDING RICHARD ALLEN APPEAL (.2)	0.20
			<del>-</del>
		TOTAL HOURS	0.50

TIMEKEEPER TIME SUMMARY:				
TIMEKEEPER	HOURS	1	RATE	VALUE
				<b>-</b>
LA MCGEARY	0.50	AΤ	\$90 <b>=</b>	45 00

CURRENT FEES

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 188 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 255190 00574 MISC. CONTESTED MATTERS PAGE 2 01/12/01

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
12/31/00	TELEPHONE		3.23
	MISCELLANEOUS CHARGES FACSIMILE - ACTUAL LINE COST ONLY 12/00	17.37	3.23
12/29/00	MISCELLANEOUS CHARGES REPRODUCTION - 12/00	195.40	
12/08/00	TOTAL MISCELLANEOUS CHARGES FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, LAM TO MARK C. ELLENBERG OF CADWALADER, WICKERSHAM & TAFT ON 12/5/00	17.11	212.77
12/08/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, LAM TO JASON A. COHEN/THERESA D'AGOSTINO OF CADWALADER, WICKERSHAM & TAFT ON 12/5/00	17.11	
12/08/00	TOTAL AIR EXPRESS ALPHA COURT REPORTING SERVICE - DEPOSITION/HEARING TRANSCRIPTS COPIES OF HEARINGS HELD ON 6/26/00, 8/9/00, 8/22/00 & 8/23/00	168.25	34.22
	TOTAL DEPOSITION/HEARING TRANSCRIPTS		168.25
	CURRENT EXPENSES	-	418.47
	TOTAL THIS MATTER	_	463.47

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 255190 INVOICE DATE 01/12/01 CLIENT NUMBER 28602

RE: (00710) PLAN & DISCLOSURE STATEMENT

FOR PROFESSIONAL SERVICES RENDERED THROUGH 12/31/00:

DATE	ATTY/ PARA		HOURS
12/01/00	LAM	REVISED PLAN DISTRIBUTION LISTS (3.4); COMMUNICATION WITH JAMES AHLSTROM REGARDING UNRESOLVED CLAIMS (.3)	3.70
12/04/00	SJM	CONFERENCE WITH GENEVA, CADWALADER, BLACKSTONE, AND PARR REGARDING ISSUES ON IMPLEMENTATION OF PLAN (1.0); CONFERENCE WITH S. GARCIA AND W. HARRIS REGARDING MOTION FOR PLAN MODIFICATION (.20)	1.20
12/05/00	SJM	REVISED PLAN DISTRIBUTION LISTS (1.8) REVIEW PLEADINGS FILED BY R. ALLEN ON PLAN CONFIRMATION APPEAL, REQUEST FOR STAY, AND MOTION FOR RECONSIDERATION (.80), NOTIFY CLIENT AND CREDITORS COMMITTEE OF R. ALLEN PLEADINGS (.20), ANALYSIS OF ISSUES RAISED, AND PREPARATION OF DRAFT RESPONSE TO R. ALLEN PAPERS (3.60)	1.80 4.60
12/05/00	LAM	TELEPHONE CONFERENCE WITH PATTY MCCOOL OF FIRST UNION REGARDING RECORD DATE (.2); TELEPHONE CONFERENCE WITH STEVE HEIM OF CADWALADER REGARDING EXTENSIVE DIFFERENCES BETWEEN HIS DISTRIBUTION LISTS AND LLGM'S (.4); REVISED DISTRIBUTION LISTS (2.3); CONFERENCE WITH STEVE MCCARDELL REGARDING RICHARD ALLEN (.2); MEMO TO JAMES AHLSTROM REGARDING LISTS (.1)	3.40

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 190 of 248

28602 GENEVA STEEL COMPANY
00710 PLAN & DISCLOSURE STATEMENT
01/12/01

INVOICE NUMBER 255190 PAGE 2

DATE	ATTY/ PARA		HOURS
12/06/00		PREPARE FOR HEARING ON PLAN MODIFICATION MOTION, INCLUDING PREPARATION OF PLAN MODIFICATIONS AND CONFIRMATION ORDER (2.30); REVIEW LETTER FROM COUNSEL FOR LOOMIS REGARDING PLAN MODIFICATION MOTION (.20); EXCHANGE COMMUNICATIONS WITH COUNSEL FOR LOOMIS REGARDING PLAN MODIFICATION MOTION (.30); CONFERENCE WITH M. ELLENBERG REGARDING LOOMIS LETTER (.10)	2.90
12/06/00	LAM	TELEPHONE CONFERENCE WITH BANKRUPTCY COURT APPEALS CLERK REGARDING FILING BY RICHARD ALLEN (.3); TELEPHONE CONFERENCE WITH PATTY OF MERRILL LYNCH REGARDING PLAN DISTRIBUTIONS (.2); TELEPHONE CONFERENCE WITH JOEL MARKER REGARDING WATERBURY FARRELL MAILING ADDRESS (.2); REVISED PLAN DISTRIBUTION LISTS (3.6)	4.30
12/07/00	SJM	PREPARE FOR HEARING ON PLAN MODIFICATION MOTION (2.20); CONFERENCE WITH R. HENRIKSEN REGARDING PLAN CONFIRMATION (.10); CONFERENCE WITH M. ELLENBERG REGARDING PLAN CONFIRMATION (.20); TRANSMIT REVISED CONFIRMATION ORDER AND PLAN TO CITIBANK COUNSEL (.20); CONFERENCES WITH COUNSEL FOR CITIBANK TO RESOLVE PLAN LANGUAGE ISSUE AND PREPARATION OF REVISED PLAN LANGUAGE (1.40); ANALYSIS OF ISSUES ON CONFIRMATION ORDER DATES AND NEED CHANGES IN CONFIRMATION ORDER AND MAKE CHANGES IN CONFIRMATION ORDER (1.20); PREPARE RESPONSES TO R. ALLEN PLEADINGS (1.80)	7.10
12/07/00	LAM	TELEPHONE CONFERENCE WITH MICHAEL STANLEY OF MORGAN STANLEY REGARDING PLAN DISTRIBUTION SCHEDULE (.2); TELEPHONE CONFERENCE WITH LISA BERNSEN, APPEALS CLERK, REGARDING POSSIBLE RICHARD ALLEN APPEAL OF CONFIRMATION ORDER (.2); REVISED PLAN DISTRIBUTION LISTS (3.5); LETTER TO STEVE HEIM REGARDING CHANGES TO CLASS 3 DISTRIBUTION LIST (2.0)	5.70
12/08/00	SJM	PREPARE FOR HEARING ON CONFIRMATION OF MODIFIED PLAN (2.30); CONFERENCES WITH COUNSEL FOR CITIBANK (.10); BONDHOLDERS' COMMITTEE (.10), AND LEAVE MESSAGES FOR US TRUSTEE AND W. HARRIS REGARDING HEARING (.10); CONFERENCE WITH P. DODSON REGARDING CONFIRMATION ORDER (.20); ATTEND HEARING ON MOTION TO CONFIRM PLAN AS MODIFIED AND CONFERENCES AFTER WITH COUNSEL AND OBTAIN CERTIFIED COPIES (1.30); CONFERENCE WITH M. ELLENBERG REGARDING HEARING, AND APPEAL OF CONFIRMATION ORDER (.30); ANALYSIS OF MATTERS TO BE COMPLETED FOR PLAN IMPLEMENTATION (1.20); CONFERENCE WITH V. SPIRO AND E. WISE REGARDING R. ALLEN APPEAL OF CONFIRMATION ORDER	5.80

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 191 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 255190 00710 PLAN & DISCLOSURE STATEMENT PAGE 3 01/12/01

DATE	ATTY/ PARA		HOURS
12/08/00	LAM	(.20) TELEPHONE CONFERENCES WITH LIST BERNSEN WHO CONFIRMED RICHARD ALLEN FILED APPEAL ON 12-4-00 (.4); CONFERENCE WITH STEVE MCCARDELL REGARDING RICHARD ALLEN APPEAL OF CONFIRMATION ORDER (.3); REVISED PLAN DISTRIBUTION LISTS (2.6); LETTER TO STEVE HEIM REGARDING CHANGES TO CLASS 4 DISTRIBUTION LIST (1.5)	4.80
12/11/00	LAM	LETTER TO KEITH HANKS RESPONDING TO HIS REQUEST FOR DOCUMENTS AND HEARING DATES (.6); TELEPHONE CONFERENCE WITH DANIELLE OF CADWALADER REGARDING GENEVA STOCKHOLDERS (.2)	0.80
12/11/00	SJM	CONFERENCE WITH J. FROST DAVIES REGARDING REGISTRATION RIGHTS AGREEMENT (.10); REVIEW R. ALLEN NOTICE OF APPEAL AND TRANSMIT COPY BY FAX TO COUNSEL FOR CITIBANK V. SPIRO (.20)	0.30
12/12/00	LAM	TELEPHONE CONFERENCES WITH BOWNE OF SAN FRANCISCO REGARDING PRODUCING AND MAILING NOTICE OF ENTRY OF CONFIRMATION ORDER (.5); LETTER TO BOWNE REGARDING LABELS AND ENVELOPES FOR MAILING REGARDING NOTICE OF CONFIRMATION ORDER (.5)	1.00
12/12/00	SJM	CONFERENCE WITH R. MABEY, M. ELLENBERG, AND A. MILLER, COUNSEL FOR CITIBANK, REGARDING R. ALLEN APPEAL (.30); OBTAIN INFORMATION NEEDED BY R. HENRIKSEN ON ASSUMPTION OF LEASE OF PROPERTY FOR EXIT FINANCING LOAN CLOSING (.40)	0.70
12/13/00	LAM	TELEPHONE CONFERENCES WITH PATTY MCCOOL OF FIRST UNION REGARDING CLASS 3 DISTRIBUTIONS (.4)	0.40
12/13/00	SJM	CONFERENCE WITH S. REISMAN AND PREPARATION OF LETTER ON FACTS AND LAW REGARDING R. ALLEN APPEAL AND MOOTNESS ISSUES IF EXIT FINANCING TRANSACTIONS ARE CONSUMMATED	8.60
12/14/00	LAM	TELEPHONE CONFERENCE WITH DENNIS WANLASS REGARDING PLAN DISTRIBUTION LISTS (.3); TELEPHONE CONFERENCE WITH JAMES AHLSTROM OF PARR WADDOUPS REGARDING CLASS 3 DISTRIBUTION LIST (.2); PROVIDED COPIES OF PLAN DISTRIBUTION LISTS TO DENNIS WANLASS, JAMES AHLSTROM, VANESSA SPIRO, GREGORY KOLTON (.5); TELEPHONE CONFERENCE WITH DENNIS WANLASS REGARDING CLASS 4 DISTRIBUTION LISTS (.2); REVISED DISTRIBUTION LISTS (2.2)	3.60
12/14/00	SJM	PROVIDE INFORMATION TO CADWALADER AND PARR ATTORNEYS REGARDING PLAN CONFIRMATION	0.60
12/15/00	LAM	MEETING WITH STEVE MCCARDELL REGARDING PLAN DISTRIBUTION LISTS (.3); MEMO TO STEVE MCCARDELL REGARDING DIFFERENT PLAN DISTRIBUTION LISTS (.3); REVISED PLAN DISTRIBUTION LISTS (.5)	1.10
12/16/00	SJM	CONFERENCE WITH COUNSEL FOR U.S. DEPARTMENT OF	4.80

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 192 of 248

28602 GENEVA STEEL COMPANY
00710 PLAN & DISCLOSURE STATEMENT
01/12/01

INVOICE NUMBER 255190 PAGE 4

D <b>ATE</b>	ATTY/ PARA		HOURS
	- <b></b> -	COMMERCE (.20); PREPARATION OF DRAFT OPINION ON R. ALLEN APPEAL FOR U.S. DEPARTMENT OF COMMERCE (4.60)	<b>~ = -</b> -
12/17/00	SJM	REVIEW MESSAGE FROM R. HENRIKSEN REGARDING NEED FOR BRING-DOWN INFORMATION FOR CITIBANK LOAN (.10); PREPARE REQUESTED BRING-DOWN INFORMATION AND TRANSMIT TO R. HENRIKSEN, J. AHLSTROM, AND K. JOHNSEN (2.60); REVIEW FORMAL REQUEST FOR US DEPARTMENT OF COMMERCER LAWYERS REGARDING OPINION ON MOOTNESS (.20); PREPARE REVISIONS TO DRAFT OPINION (2.30)	5.20
12/18/00	GMW	REVIEW OPINION REGARDING BANKRUPTCY APPEAL FOR MCCARDELL; REGARDING MCCARDELL.	1.10
12/18/00	SJM	CONFERENCE WITH K. JOHNSEN REGARDING INFORMATION NEEDED FOR CLOSING (.20) AND PREPARE INFORMATION (1.60); FURTHER PREPARATION OF DRAFT OPINION ON R. ALLEN APPEAL, INCLUDING CONFERENCE WITH G. WILLIAMS ON CHANGES TO DRAFT (4.30) AND CONFERENCE WITH G. WILLIAMS REGARDING OPINION (.10); PREPARE INFORMATION FOR D. WANLASS TO REVIEW CONCERNING CLAIMS DISTRIBUTIONS (1.80); CONFERENCE WITH R. MABEY REGARDING COMMENTS ON DRAFT OPINION ON R. ALLEN APPEAL (.20); CONFERENCES WITH TWO BONDHOLDERS REGARDING QUESTIONS ON PLAN (.10); CONFERENCE WITH M. ELLENBERG REGARDING R. ALLEN APPEAL/FINAL ORDER ISSUE (.20); CONFERENCE WITH D. WANLASS ON CONFIRMATION DATE ISSUE (.20)	8.70
12/19/00	SJM	RESPOND TO NUMEROUS (12) TELEPHONE CALLS FROM STOCKHOLDERS OR BONDHOLDERS CONCERNING QUESTIONS ON NOTICE OF ENTRY OF CONFIRMATION ORDER (.80); PREPARE AUDIT RESPONSE LETTER FOR GENEVA'S AUDITORS (3.30); CONFERENCE WITH D. WANLASS CONCERNING DISTRIBUTIONS (.20); REVIEW AND MARK COMMENTS ON DRAFT 10K AT D. WANLASS' REQUEST (1.40); REVIEW AND RESPOND TO INQUIRIES CONCERNING CLOSING OF EXIT FACILITY (.20); CONFERENCE WITH COUNSEL FOR GOVERNMENT REGARDING OPINION ON R. ALLEN APPEAL (.20); CONFERENCE WITH K. JOHNSEN REGARDING STATUS OF CLOSING AND REGARDING GOVERNMENT'S REQUIREMENT OF OPINION (.20); CONFERENCE WITH J. AHLSTROM REGARDING FURTHER CLAIMS INFORMATION NEEDED FOR LOAN CLOSING AND PREPARE INFORMATION (2.20); NEGOTIATE WITH GOVERNMENT'S ATTORNEY CONCERNING COMMENTS ON MOOTNESS OPINION ON RICHARD ALLEN APPEAL (1.0); AND ANALYZE AND PREPARE DRAFT REVISIONS TO OPINION	12.10
12/20/00	LAM	(2.60) TELEPHONE CONFERENCE WITH SHAREHOLDER JULIE OCHOA	1.40

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 193 of 248

28602 GENEVA STEEL COMPANY
00710 PLAN & DISCLOSURE STATEMENT
01/12/01

INVOICE NUMBER 255190 PAGE 5

DATE	ATTY/ PARA		HOURS
		REGARDING PLAN PROVISIONS (.2); TELEPHONE CONFERENCE WITH JOHN HUDSON OF GOLDMAN SACHS REGARDING REQUEST FOR DISCLOSURE STATEMENT (.2); PROVIDED DISCLOSURE STATEMENT TO JOHN HUDSON (.1); TELEPHONE CONFERENCE WITH MOZINSKI MANAGEMENT REGARDING CLASS 3 TREATMENT (.3); TELEPHONE CONFERENCE WITH DENNIS WANLASS AND DENNIS GUMM REGARDING CLASS 4 LISTING OF UNITED STATES WELDING AND US WELDING (.2); TELEPHONE CONFERENCE WITH MONT OF MONT'S TOOL REPAIR REGARDING PLAN DISTRIBUTIONS (.2)	
12/20/00		CONFERENCES WITH GEORGE WILLIAMS REGARDING R. ALLEN OPINION LETTER AND PREPARE DRAFT REVISIONS TO LETTER AND NOTICES TO OPPOSING COUNSEL AS TO CHANGES (3.20); CONFERENCE WITH COUNSEL FOR GOVERNMENT ON OPINION (.20); PREPARE INFORMATION AND ARGUMENTS FOR DEFENSE OF APPEAL OF CONFIRMATION ORDER (3.30)	6.70
12/20/00	SJM	PREPARE INFORMATION FOR J. COVEY REGARDING R. ALLEN CLAIM APPEAL	1.20
12/21/00		TELEPHONE CONFERENCE WITH JENNIFER OF AG EDWARDS REGARDING CLASS 3 DISTRIBUTIONS TO BONDHOLDERS (.2); TELEPHONE CONFERENCE WITH MR. DIEHL REGARDING GENEVA BOND TREATMENT UNDER PLAN (.1); TELEPHONE CONFERENCE WITH GARY BOZER OF ACT REGARDING PLAN DISTRIBUTIONS (.2); TELEPHONE CONFERENCE WITH HENRY KIEWERT REGARDING PLAN DISTRIBUTIONS (.3); TELEPHONE CONFERENCE WITH CAROL OF MARZIELE TRUCKING REGARDING PLAN DISTRIBUTIONS (.2); TELEPHONE CONFERENCE WITH BONDHOLDER MR. WILLETT REGARDING PLAN DISTRIBUTIONS (.2); CONFERENCE WITH STEVE MCCARDELL REGARDING WHETHER KENT BLANCO HAD FILED A CLAIM AND HIS LISTING IN SCHEDULE F (.2)	1.40
		CONFERENCE WITH W. HARRIS REGARDING CLOSING (.10); PROVIDE INFORMATION TO T. BECKETT REGARDING CLOSING (.10); REVIEW AND RESPOND TO VOICE MESSAGE FROM GOVERNMENT LAWYER'S SECRETARY INQUIRING AS TO STATUS (.20); CONFERENCE WITH M. ELLENBERG REGARDING STATUS OF CLOSING AND POSSIBLE OUTCOMES AND REMEDIES (.20); ANALYSIS OF POSSIBLE ACTIONS WITH RESPECT TO PARTIES' FAILURE TO CLOSE (.60); CONFERENCE WITH COURT'S ASSISTANT REGARDING AVAILABILITY OF COURT (.10); CONFERENCE WITH R. HENRIKSEN REGARDING STATUS OF CLOSING (.20)	1.50
12/22/00	LAM	TELEPHONE CONFERENCE WITH BONDHOLDER CANDACE ROSE REGARDING PLAN DISTRIBUTIONS (.3); TELEPHONE CONFERENCE WITH BONDHOLDER SAM REGARDING PLAN	1.20

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 194 of 248

28602 GENEVA STEEL COMPANY 00710 PLAN & DISCLOSURE STATEMENT 01/12/01 INVOICE NUMBER 255190 PAGE 6

DATE	ATTY/ PARA		HOURS
		DISTRIBUTIONS (.2); TELEPHONE CONFERENCE WITH BONDHOLDER ROBERT KEILY REGARDING PLAN DISTRIBUTIONS (.4); TELEPHONE CONFERENCE WITH MR. RUIZ REGARDING PLAN DISTRIBUTIONS (.3)	
12/22/00	SJM	REVIEW WEIL COMMENTS ON DRAFT OPINION REVISIONS (.70); CONFERENCE WITH M. ELLENBERG REGARDING TIMING OF CLOSING AND PAYMENTS (.20)	0.90
12/26/00	SJM	REVIEW AND RESPOND TO MESSAGE FROM COUNSEL FOR GOVERNMENT REGARDING OPINION LETTER ON CLOSING (.30); CONFERENCE WITH W. HARRIS REGARDING CLOSING (.10); PROVIDE INFORMATION TO DISTRIBUTION AGENT ON CLAIMS (.20); CONFERENCE WITH D. WANLASS ON DISTRIBUTIONS (.20)	0.80
12/27/00	SJM	PREPARE OPINIONS FOR DELIVERY TO CITIBANK AND GOVERNMENT COUNSEL (1.30); REVIEW AND RESPOND TO REQUESTS FOR INFORMATION REGARDING CLOSING (.80)	2.10
12/28/00	SJM	CONFERENCES WITH T. BECKETT, J. STRALEY, M. ELLENBERG, AND P. LUDWIG REGARDING LOAN CLOSING ISSUES AND SCHEDULING (.50); CHECK DOCKET FOR OPINION ISSUES (.30)	0.80
12/29/00	SJM	REVIEW AND RESPOND TO INFORMATION REQUESTS FROM PARTIES IN INTEREST REGARDING STATUS OF CLOSING	0.20
		TOTAL HOURS	112.50

#### TIMEKEEPER TIME SUMMARY:

TIMEKEEPER	HOURS	]	RATE	VALUE
SJ McCARDELL GM WILLIAMS	76.80 1.10	AT AT	\$305 <b>=</b> \$560 =	23,424.00
LA MCGEARY	34.60	ΑT	\$90 =	3,114.00

CURRENT FEES

27,154.00

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE
		<del>-</del>
12/18/00	OVERTIME PAYROLL K HUGHES 11/17	35.00
12/18/00	OVERTIME PAYROLL M ORTON 11/17	43.75
12/18/00	OVERTIME PAYROLL M ORTON 11/20	35.00
12/18/00	OVERTIME PAYROLL L A TANNER 11/17	122.50

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 195 of 248

INVOICE NUMBER 255190

28602

00710

GENEVA STEEL COMPANY

PLAN & DISCLOSURE STATEMENT

00710	PLAN & DISCLOSURE STATEMENT	PAGE 7	
01/12/01			
DATE		VALUE	
<del>-</del>			
12/18/00	OVERTIME PAYROLL L A TANNER 11/20	105.00	
12/18/00	OVERTIME PAYROLL L A TANNER 11/21	96.25	
12/18/00	OVERTIME PAYROLL P WINTERS 11/20	35.00	
12/18/00	OVERTIME PAYROLL M HAWK 11/17	15.00	
12/18/00	OVERTIME PAYROLL A RASMYSSEN	15.00	
10/10/00	11/17		
12/18/00	OVERTIME PAYROLL L S SMITH 11/17	22.50	
10/10/00	TOTAL OVERTIME PAYROLL		525.00
12/18/00	MESSENGER SERVICE	12.00	
10/01/00	TOTAL MESSENGER SERVICE		12.00
12/31/00 12/31/00	TELEPHONE		129.67
12/31/00	POSTAGE		95.53
12/29/00	MISCELLANEOUS CHARGES FACSIMILE -	70.18	
12/29/00	ACTUAL LINE COST ONLY 12/00		
12/29/00	MISCELLANEOUS CHARGES	1,871.80	
	REPRODUCTION - 12/00 TOTAL MISCELLANEOUS CHARGES		
12/04/00	McCARDELL, STEVEN J	F.O. 4.1	1,941.98
+2,01,00	REPRODUCTION-OUTSIDE CERTIFIED	50.41	
	COPIES OF CONFIRMATION ORDER		
12/14/00	McCardell, Steven J	115.19	
,,	REPRODUCTION-OUTSIDE	115.19	
	REIMBURSEMENT FOR CERTIFIED		
	COPIES OF CONFIRMATION ORDER		
01/12/01	REPRODUCTION-OUTSIDE LITIGATORS	4,441.73	
	OVERNIGHT - INVOICE NO. 20518	1,111.75	
	DATED 11/6/00 - \$4,441.73		
	TOTAL REPRODUCTION-OUTSIDE		4,607.33
12/08/00	FEDERAL EXPRESS CORPORATION - AIR	824.90	1,007.55
	EXPRESS FEDEX, SJM TO 95 NAMES OF		
	MASTER SERVICE LIST #20 DATED		
	11/29/00 ON 11/30/00		
12/08/00	FEDERAL EXPRESS CORPORATION - AIR	7.28	
	EXPRESS FEDEX, SJM TO RAY,		
10/21/22	QUINNEY & NEBEKER ON 11/30/00		
12/14/00	FEDERAL EXPRESS CORPORATION - AIR	10.00	
	EXPRESS FEDEX, SJM TO SCOTT		
	SANDBERG OF SNELL & WILMER ON		
10/14/00	11/20/00		
12/14/00	FEDERAL EXPRESS CORPORATION - AIR	3.74	
	EXPRESS FEDEX, SJM TO DIANA		
	DEBRITO OF CADWALADER, WICKERSHAM		
12/14/00	& TAFT ON 11/28/00	0.5.0.5	
12/14/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO VENESSA	26.26	
	SPIRO ON 11/28/00		
12/14/00	FEDERAL EXPRESS CORPORATION - AIR	15.13	
, ,	EXPRESS FEDEX, SJM TO STEPHEN E.	1⊃.13	
	GARCIA OF HOPKINS & SUTTER ON		

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 196 of 248

28602

GENEVA STEEL COMPANY

	PLAN & DISCLOSURE STATEMENT	PAGE 8	SER 255190
01/12/01			
DATE		VALUE	
12/14/00	12/8/00 FEDERAL EXPRESS CORPORATION - AIR	10.24	
	EXPRESS FEDEX, SJM TO MARK C. ELLENBERG OF CADWALADER, WICKERSHAM & TAFT ON 12/8/00		
12/14/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO RICHARD M. ALLEN OF CRAVATH ON 12/8/00	15.70	
12/14/00	FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, LAM TO BOWNE CUSTOMER SERVICE ATTN: NICK ON	63.02	
12/20/00	12/12/00 FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO MASTER SERVICE LIST #20 DATED 11/29/00 FOR GENEVA STEEL COMPANY ON	711.14	
12/20/00	12/13/00 FEDERAL EXPRESS CORPORATION - AIR EXPRESS FEDEX, SJM TO DANIELLE K. STINEMETZ OF CADWALADER, WICKERSHAM & TAFT ON 12/15/00	15.70	
12/08/00	TOTAL AIR EXPRESS  SALT CITY COURIERS - MESSENGER  SERVICE OUTSIDE MESSENGER SERVICE  FOR NOVEMBER 2000	40.00	1,703.11
12/27/00	TOTAL MESSENGER SERVICE PETTY CASH CUSTODIAN - KAREN KASPERICK - POSTAGE POSTAGE STAMPS FOR COURT ORDERS	1.98	40.00
	TOTAL POSTAGE		1.98
	CURRENT EXPENSES	-	9,056.60
<b>-</b>	TOTAL THIS MATTER		36,210.60
	TOTAL AMOUNT OF THIS IN	VOICE	103,248.30
	TOTAL BALANCE DUE UPON		103,248.30

TERMS: Due Upon Receipt

INVOICE NUMBER 255190

**EXHIBIT 2D** 

# GENEVA STEEL COMPANY

# As of January 3, 2001

							Other		
Matter		January	Fee	Net		Fax	Cost	Net	Matter
Number	Matter	Fees	Discount	Fees	Costs	Discount	Discount	Costs	Total
144	Claims Administration & Objections	13,620.00		13,620.00	689.95		689.95	00.0	13,620.00
265	Executory Contracts & Leases	196.00		196.00				00.00	196.00
277	Fee/Employment Objections	116.00		116.00				00.00	116.00
283	Financing	54.00		54.00				00.00	54.00
710	Plan & Disclosure Statement	2,819.50		2,819.50	47.58	38.71		8.87	2,828.37
TOTAL		16,805.50		0.00 16,805.50	737.53	38.71	689.95	8.87	16.814.37

L.L.P.

A Limited Liability Parmership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101

(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058

INVOICE NUMBER 258170 INVOICE DATE 02/12/01 CLIENT NUMBER 28602

RE: (00144) CLAIMS ADMINISTRATION & OBJECTIONS

#### F PROFESSIONAL SERVICES RENDERED THROUGH 01/03/01:

DATE	ATTY/ PARA		HOLDS
DAIL	FAICA		HOURS
12/28/00	JMC	OFFICE CONFERENCE WITH JULIE VALDES REGARDING PROOF OF CLAIM ENTITLED TO PRIMA FACIA VALIDITY (.7); RESEARCH AND DRAFT APPEAL BRIEF FOR ALLEN APPEAL (7.1)	7.80
12/29/00	JMC	RESEARCH FRBP 3001(C), 3001(F) AND OTHERS REGARDING REQUIREMENTS FOR FILING PROOF OF CLAIM THAT IS ENTITLED TO PRIMA FACIA VALIDITY (4.5); RESEARCH AND REVIEW CASE LAW RELATED TO BANKRUPTCY CODE SECTION 510(B) (3.3); REVIEW AND RESPOND TO E-MAILS FROM S. MCCARDELL (.4); DRAFT ARGUMENTS RELATING TO SECTION 510(B) AND RULE 3001 (3.6)	11.80
12/30/00	JMC	RESEARCH STANDARD FOR PRIMA FACIA VALIDITY TO A PROOF OF CLAIM (1.5); DRAFT SECTION OF APPEAL BRIEF REGARDING PRIMA FACIA VALIDITY TO ALLEN'S PROOF OF CLAIM (.8)	2.30
01/02/01	S-T	CONFERENCE JOE COVEY REGARDING ARGUMENTS FOR APPEALS BRIEF	0.30
01/02/01	SJM	CONFERENCE WITH M. ELLENBERG REGARDING GATX BRIEF (.30); CONFERENCE WITH J. COVEY REGARDING BRIEF ON R. ALLEN APPEAL (.20); REVIEW REPLY BRIEF ON GATX APPEAL (.90); ANALYSIS OF ISSUES ON R. ALLEN APPEAL OF CLAIM ORDER (.30)	1.70
01/02/01	LCH	CONFERENCE WITH JOE COVEY REGARDING ARGUMENTS TO	0.50

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 200 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 258170 00144 CLAIMS ADMINISTRATION & OBJECTIONS PAGE 2

	ATTY/ PARA		HOURS
01/02/01	J-V	BE INCLUDED IN APPEAL CONFERENCE WITH JOE COVEY REGARDING RESEARCH ADDITIONAL QUESTIONS REGARDING RATIONALE FOR R3001 AND STATUS OF R3001(C)(.2); RESEARCH SAME (LEXIS AND COLLIERS) AND REVIEW CASES (4.0); CONFERENCE WITH JOE COVEY REGARDING RESULTS (.5); DRAFT PARENTHETICAL AND CLOSING PARAGRAPH OF ARGUMENT	5.20
01/02/01	МН	CONFERENCE WITH JOE COVEY REGARDING APPEAL BRIEF (ALLEN) (0.5); REVIEW ALLEN'S APPELLATE BRIEF (0.7); REVIEW AND REVISE GENEVA'S APPELLATE BRIEF (ALLEN) (1.1); CONFERENCE WITH JOE COVEY REGARDING REVISIONS TO GENEVA BRIEF (ALLEN) (0.8); DRAFT STATEMENT OF CASE AND ISSUES FOR GENEVA'S	5.00
01/02/01	JMC	APPELLATE BRIEF (ALLEN) (1.9) RESEARCH REGARDING FULL PAYMENT UNDER BOND MOOTING CLAIM FOR FRAUD BASED ON BOND (2.8); RESEARCH REGARDING BANKRUPTCY SECTION 510(B) (2.6); RESEARCH REGARDING STANDARD FOR PROOF OF CLAIM BEING ALLOWED PRIMA FACIA VALIDITY (2.5); REVIEW AND REVISE FACTS SECTION OF BRIEF (1.6); REVIEW	11.90
01/03/01	S-T	AND REDRAFT RESEARCH INTO BRIEF (2.4) CONFERENCE JOE COVEY REGARDING ARGUMENTS FOR FRAUD	0.80
01/03/01	SJM	CLAIM/MAINTENANCE CLAIM FOR BONDHOLDER REVIEW AND COMMENT ON DRAFT REPLY BRIEF ON GATX APPEAL (.30); PREPARE INFORMATION FOR BRIEF ON R. ALLEN APPEAL OF CLAIM ORDER (.50); REVIEW AND SIGN	1.10
01/03/01	МН	REPLY BRIEF ON GATX APPEAL (.30) CONFERENCE WITH JOE COVEY REGARDING BRIEF (ALLEN) (0.7); RESEARCH AND WRITE ARGUMENT REGARDING DENIAL OF ADJOURNMENT (ALLEN) (2.9); CONFERENCE WITH JOE COVEY REGARDING BRIEF (ALLEN) (0.5);	5.00
01/03/01	JMC	REVIEW GENEVA BRIEF AND SUGGEST REVISIONS (0.9) RESEARCH STANDARD OF APPELLATE REVIEW (1.3); RESEARCH THEORY THAT APPEAL MOOT DUE TO PAYMENT ON BONDS (2.1); RESEARCH BANKRUPTCY CODE SECTION 510(C) (1.9); REVIEW AND REVISE STATEMENT OF THE CASE (1.2); REVIEW AND REVISE MOOTNESS ARGUMENT (.9); REVIEW AND REVISE SECTION ON DENIAL OF ADJOURNMENT (1.3); REVIEW AND REVISE SECTION ON DISCOVERY (1.1); REVIEW AND REVISE SECTION ON 510(B) (2.2); SHEPARDIZE CASES CITED IN APPEAL BRIEF (1.8); OFFICE CONFERENCE WITH MICHAEL HOPPE REGARDING RESEARCH (.5); OFFICE CONFERENCE WITH S. TUMBLIN REGARDING BONDS (.6); SEND DRAFT COPY OF BRIEF TO S. MCCARDELL AND MARK ELLENBERG FOR	15.20
01/03/01	JWC	REVIEW (.3) REVIEW MOSS/BROMBERG; "FORCED SALE" DOCTRINE AND	1.20

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 201 of 248

28602 00144 0. 2/01

GENEVA STEEL COMPANY

CLAIMS ADMINISTRATION & OBJECTIONS

INVOICE NUMBER 258170

PAGE 3

ATTY/ DATE PARA

HOURS ----

GRANITE PARTNERS CASE.

TOTAL HOURS

69.80

TIMEKEEPER TIME SUMMARY:

TIMEKEEPER	HOURS	R	ATE	VALUE
JW COTTON SJ McCARDELL S TUMBLIN JM COVEY M HOPPE LC HULME J VALDES	1.20	AT	\$410 =	492.00
	2.80	AT	\$305 =	854.00
	1.10	AT	\$285 =	313.50
	49.00	AT	\$195 =	9,555.00
	10.00	AT	\$145 =	1,450.00
	0.50	AT	\$195 =	97.50
	5.20	AT	\$165 =	858.00

CURRENT FEES

13,620.00 \_\_\_\_\_

TOTAL THIS MATTER

13,620.00

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 258170 INVOICE DATE 02/12/01 CLIENT NUMBER 28602

RE: (00265) EXECUTORY CONTRACTS & LEASES

F PROFESSIONAL SERVICES RENDERED THROUGH 01/03/01:

DATE	ATTY/ PARA							HOURS
01/03/01	KLC	REVIEWING		LIST R	EGARDING	APPROVAL	OF	0.50
01/03/01	KLC	TELEPHONE		E FROM	RICHARD	ROSS REG	ARDING	0.20
,, <del>-</del>		EXECUTORY	CONTRACTS	3				
						TOTAL HO	URS	0.70

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS		RATE	VALUE	
KL CANNON, II			\$280 =	196.00	

CURRENT FEES	196.00
TOTAL THIS MATTER	196.00

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 258170 INVOICE DATE 02/12/01 CLIENT NUMBER 28602

RE: (00277) FEE/EMPLOYMENT OBJECTIONS

F PROFESSIONAL SERVICES RENDERED THROUGH 01/03/01:

DATE	ATTY/ PARA						HOURS
DHIL	211141						
01/03/01	MH	REVIEW	MONTHLY	INVOICES			0.80
					ΤΟΤΔΙ	HOURS	0.80

TIMEKEEPER TIME SUMMARY: TIMEKEEPER	HOURS	R.A	ATE	VALUE
M HOPPE	0.80	AT	\$145 =	116.00

CURRENT FEES	116.00
<del> </del>	
TOTAL THIS MATTER	116.00

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058

INVOICE NUMBER 258170 INVOICE DATE 02/12/01 CLIENT NUMBER 28602

RE: (00283) FINANCING

F PROFESSIONAL SERVICES RENDERED THROUGH 01/03/01:

DATE PARA HOURS

01/03/01 LAM UPDATED DOCKET (.2) AND TELEPHONE CONFERENCE WITH 0.60
APPEALS CLERK LISA BERNSEN (.2) TO VERIFY THAT NO
APPEALS HAD BEEN FILED TO DATE AS REQUIRED FOR
FINANCING CLOSING; TELEPHONE CONFERENCE WITH MARK
ELLENBERG REGARDING SAME (.2)

TOTAL HOURS

0.60

TIMEKEEPER TIME SUMMARY:

TIMEKEEPER HOURS RATE VALUE

LA MCGEARY 0.60 AT \$90 = 54.00

CURRENT FEES 54.00
TOTAL THIS MATTER 54.00

L.L.P.

A Limited Liability Partnership Including Professional Corporations
1000 Kearns Building
136 South Main Street
Salt Lake City, UT 84101
(801)320-6700

Employer Identification No. 13-5608594

DENNIS L. WANLASS GENEVA STEEL COMPANY 10 SOUTH GENEVA ROAD OREM, UT 84058 INVOICE NUMBER 258170 INVOICE DATE 02/12/01 CLIENT NUMBER 28602

RE: (00710) PLAN & DISCLOSURE STATEMENT

F PROFESSIONAL SERVICES RENDERED THROUGH 01/03/01:

DATE	ATTY/ PARA		HOURS
01/02/01	SJM	REVIEW AND RESPOND TO MESSAGE FROM A. GURSEL REGARDING OPINION (.20); PREPARE OPINION, SIX COPIES, IN FINAL WITH JANUARY 3 DATE AND PREPARE COVER LETTER FOR WEIL AND GOVERNMENT COUNSEL (1.40); CONFERENCES WITH R. HENRIKSEN (.10); J. AHLSTROM (.20); AND S. BUNKER (.20); REGARDING CLOSING MATTERS AND ANALYSIS OF MATTERS AS REQUESTED (1.80)	3.90
01/02/01	LAM	TELEPHONE CONFERENCE WITH REED SEARLE REGARDING PLAN DISTRIBUTIONS (.1); TELEPHONE CONFERENCE WITH ANTHONY OF MODERN SHOE REGARDING PLAN DISTRIBUTIONS (.2); TELEPHONE CONFERENCE WITH JENNIFER OF AG EDWARDS REGARDING PLAN DISTRIBUTIONS (.2); TELEPHONE CONFERENCE WITH BONDHOLDER TINA SLEYSTER REGARDING PLAN DISTRIBUTIONS (.3); REVIEWED RETURNED MAIL REGARDING NOTICE OF CONFIRMATION (.5); REMAILED NOTICE OF CONFIRMATION TO IDENTIFIABLE CORRECT ADDRESSES (.4); PREPARED FIRST CERTIFICATE OF SERVICE REGARDING NOTICE OF CONFIRMATION (.5); PREPARED SECOND CERTIFICATE OF SERVICE REGARDING NOTICE OF CONFIRMATION (.3)	2.50
01/03/01	MUS	REVIEW AND RESPOND TO MESSAGES REGARDING	4.40

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 206 of 248

28602 00710 2/01

GENEVA STEEL COMPANY PLAN & DISCLOSURE STATEMENT

INVOICE NUMBER 258170 PAGE 2

DATE	ATTY/ PARA		HOURS
01/03/01	LAM	CALCULATION OF SHARE DOLLAR RATIO UNDER PLANCONFIRM NUMBERS WITH L. MCGEARY AND PREPARE MEMO TO D. DEBRITO (.80); REVIEW AND RESPOND TO QUESTION FROM R. HENRIKSEN REGARDING CONGRESS FINANCIAL PAYOFF AND RELEASE (.30); REVIEW DOCKET AND PREPARE MEMO FOR M. ELLENBERG REGARDING DOCKET (.30); REVIEW AND RESPOND TO VARIOUS INFORMATION REQUESTS FROM COUNSEL IN CONNECTION WITH CLOSINGS AND DISTRIBUTIONS (2.30); CONFERENCE WITH AIG LEGAL DEPARTMENT REGARDING EFFECTIVE DATE (.10); CONFERENCE WITH M. ELLENBERG, D. DEBRITO, F. UNION, AND D. WANLASS ON CLAIM NUMBERS FOR DISTRIBUTIONS (.30); PREPARE NOTICE OF EFFECTIVE DATE (.30) CONFIRMED PLAN DISTRIBUTION FIGURES WITH STEVE	0.70
		MCCARDELL (.2); TELEPHONE CONFERENCE WITH JEFF OF INTERMOUNTAIN DOOR REGARDING PLAN DISTRIBUTIONS (.3); RESEARCH REGARDING WHETHER ALBERT FRIED FILED A CLAIM (.2)	
		TOTAL HOURS	11.50

TIMEKEEPER	TIME	SUMMARY:
------------	------	----------

TIMEKEEPER			RATE	VALUE	
SJ McCARDELL LA MCGEARY	8.30	AT AT	\$305 = \$90 =	2,531.50	

CURRENT FEES

2,819.50

#### FOR CHARGES AND DISBURSEMENTS:

DATE		VALUE	
01/03/01 01/02/01	TELEPHONE PETTY CASH CUSTODIAN - KAREN	2.05	6.82
01/02/01	KASPERICK - POSTAGE POSTAGE DUE ON INCOMING MAIL TOTAL POSTAGE	2.05	2.05

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc

Converted from BANCAP Page 207 of 248

28602 GENEVA STEEL COMPANY INVOICE NUMBER 258170

00710 PLAN & DISCLOSURE STATEMENT PAGE 3

0 2/01

CURRENT EXPENSES

8.87

TOTAL THIS MATTER

2,828.37

TOTAL AMOUNT OF THIS INVOICE

16,814.37

TOTAL BALANCE DUE UPON RECEIPT

16,814.37

22222222222

TERMS: Due Upon Receipt

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc TELEPHONE MANAGEMENT REPORT 02-FEB-01

LEBOEUF, LAMB, GREENE & MACRAE

Page

TELEPHONE USAGE REPORT BY CLIENT
Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01

					111	cirr oug.	יד כי זי	-UAM-UI
Summary of Calls by Account Number	Tot Calls		UnCost		Cost	ed Time	Tota	al Cost
28602-00131 28602-00144 28602-00276 28602-00277 28602-0056 28602-00710 28602-0117 28602-01276 28602-0144 28602-0265 28602-0276 28602-0277 28602-0710	2 20 4 10 1 11 1 3 1 2 25	4 84 10 22 4 25 2 6 5 3 1 58	0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	000000000000000000000000000000000000000	2 20 4 10 1 11 1 3 1 2 2 25	4 84 10 22 4 25 26 5 3 3 1 5 8	<i><b>~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~</b></i>	0.60 23.38 1.60 6.70 2.02 8.32 0.24 2.83 2.42 1.21 1.33 0.24 20.32
Report Totals Total	Calls:	83 Total	Time:	227	Total	Cost:	\$	71.21

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc TELEPHONE MANAGEMENT REPOSON PAGE BOOL FOR MACRAE Page LEBOEUF, LAMB, GREENE & MACRAE Page TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01 Phone Calls for Account Number 28602-00131 on 26-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 12:02p 1.0 \$ 0.12 0 Extension 6756 Utah 1(801)227-9000 Phone Calls for Account Number 28602-00131 on 29-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 8:48a 3.2 \$ 0.48 0 Extension 6756 Utah 1(801)227-9000 -----28602-00131 -- Total Calls: 2 Total Time: 4 Total Cost: \$ 0.60 Phone Calls for Account Number 28602-00144 on 11-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 5:44p 3.8 \$ 1.62 0 COVEY, J.M.R. United States 1(650)858-7939 Phone Calls for Account Number 28602-00144 on 12-JAN-01 ne Minutes Cost Site User Area/City Name Dialed Number 8:47a 1.3 \$ 0.81 0 COVEY, J.M.R. W Mass. 1(413)528-2108
9:17a 0.8 \$ 0.40 0 LALOR, C. Colorado 1(303)844-0544
9:41a 1.2 \$ 0.81 0 COVEY, J.M.R. Arizona 1(602)640-5006
9:42a 6.7 \$ 2.83 0 COVEY, J.M.R. Arizona 1(602)640-5038
9:50a 0.6 \$ 0.40 0 COVEY, J.M.R. Arizona 1(602)640-5006
9:51a 1.8 \$ 0.81 0 COVEY, J.M.R. Arizona 1(602)640-5038
9:57a 0.6 \$ 0.40 0 COVEY, J.M.R. Arizona 1(602)640-5038
9:57a 0.6 \$ 0.40 0 COVEY, J.M.R. Arizona 1(602)640-5012
9:58a 3.1 \$ 1.62 0 COVEY, J.M.R. Arizona 1(602)640-5012 Phone Calls for Account Number 28602-00144 on 18-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 9:21a 0.6 \$ 0.12 0 McGEARY,L. Utah 1(801)227-9079 11:39a 1.8 \$ 0.81 0 COVEY, J.M.R. Arizona 1(602)640-5012 11:42a 1.4 \$ 0.81 0 COVEY, J.M.R. Arizona 1(602)640-5038

Phone Calls for Account Number 28602-00144 on 19-JAN-01

Time Minutes Cost Site User Area/City Name Dialed Number 4:07p 1.4 \$ 0.24 0 COVEY, J.M.R. Utah 1(801)227-9000

EQUITRAC CORPORATION - DATA PROCESSING

TELEPHONE MANAGEMENT REPONTIVE red from BANCAP Page 210 of 248 LEBOEUF, LAMB, GREENE & MACRAE Page 2

E	Phone Cal			USAGE REPO			through 31-JAN	-01 
Phone	Calls fo	r Accoun	Number	28602-0014	4 01	n 22-JAN-(	)1	
Time	Minutes	Cost Si	e User		Area/Ci	ty Name	Dialed Number	
							1(801)227-9302	
Phone	Calls fo	r Accoun	. Number	28602-0014	4 01	n 24-JAN-0	)1	
Time	Minutes	Cost Si	te User		Area/Ci	ty Name	Dialed Number	
2:17p 3:08p 3:11p	1.2 \$ 1.8 \$ 4.7 \$	0.24 0.81 2.02	COVEY COVEY	, J.M.R. , J.M.R. , J.M.R.	Utah Arizona Arizona		1(801)227-9000 1(602)640-5012 1(602)640-5038	
Phone	Calls fo	r Accoun	. Number	28602-0014	4 01	n 25-JAN-(	)1	
Time	Minutes	Cost Si	te User		Area/Ci	ty Name	Dialed Number	
9:13a	3.7 \$	0.48	O COVEY	, J.M.R.	Utah		1(801)227-9000	
Phone	Calls fo	r Accoun	t Number	28602-0014	4 01	n 26-JAN-0	)1	
Time	Minutes	Cost Si	te User		Area/Ci	ty Name	Dialed Number	
1 :8a	7.1 \$	3.23	COVEY	, J.M.R.	Colorado	0	1(303)844-0544	
Phone	Calls fo	or Accoun	t Number	28602-0014	4 01	n 30-JAN-0	)1	
Time	Minutes	Cost Si	te Üser		Area/Ci	ty Name	Dialed Number	
3:25p	38.8 \$	4.68	0 McGEA	RY,L.	Utah		1(801)227-9079	
28602-0	00144	Tot	al Calls	: 20 Tot	al Time:	84 To	otal Cost: \$	23.38
Phone	Calls fo	or Accoun	t Number	28602-0027	6 0:	n 09-JAN-	)1	
Time	Minutes	Cost Si	te User		Area/Ci	ty Name	Dialed Number	
9:39a 9:41a 12:15p	1.1 \$ 5.9 \$ 2.0 \$	0.24 0.72 0.24	0 COVEY 0 COVEY	, J.M.R. , J.M.R. , J.M.R.	Utah Utah Utah		1(801)227-9000 1(801)227-9000 1(801)227-9000	· · · · · · · · · · · · · · · · · · ·
Phone	Calls fo	or Accoun	t Number	28602-0027	6 0:	n 18-JAN-(	)1 	
Time	Minutes	Cost Si	te User		Area/Ci	ty Name	Dialed Number	
3:32p	1.0 \$	0.40	0 McGEA	RY,L.	Washing	ton, DC	1(202)862-2318	 

28602-00276 -- Total Calls: 4 Total Time: 10 Total Cost: \$ 1.60

LEBOEUF, LAMB, GREENE & MACRAE

Page 3

TELEPHONE USAGE REPORT BY CLIENT
Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01

	- <b></b>	- <b>-</b> -					<b>-</b>				
Phone	Calls	for	Acc	ount :	Number 2	8602-	00277	on	04 - JAI	N-01	
Time	Minute	s	Cost	Site	User		A	rea/City	Name	Dialed Number	
11:27a 11:32a	1.2	\$ \$	0.81 0.81	0	Extension Extension	on 67	29 N 29 N	ew York, E Ohio	NY	1(212)403-5221 1(216)861-5000	
Phone	Calls	for	Acc	ount :	Number 2	8602-	00277	on	05-JA	N-01	
Time	Minute	es	Cost	Site	User		A	rea/City	Name	Dialed Number	
11:46a 12:02p	0.9	\$ \$	0.12 0.12	0	STRONG, STRONG,	S.C.	บ บ	tah tah		1(801)227-9013 1(801)227-9013	
Phone	Calls	for	Acc	ount :	Number 2	8602-	00277	on	IAT-80	N-01	
Time	Minute	s	Cost	Site	User	<del>_</del>	А	rea/City	Name	Dialed Number	
10:45a	4.0	\$	1.62	0	STRONG,	s.c.	ָּט	nited St	ates	1(650)858-7144	
Phone	Calls	for	Acc	ount :	Number 2	8602-	00277	on	12-JAI	N-01	
Time	Minute	es	Cost	Site	User		A	rea/City	Name	Dialed Number	
q0	4.4	\$	2.02	0	STRONG,	s.c.	W.	ashingto	n, DC	1(202)371-7235	
Phone	Calls	for	Acc	ount 1	Number 2	3602-	00277	on	17-JA	N-01	
Time	Minute	s:	Cost	Site	User		A.	rea/City	Name	Dialed Number	
2:34p	3.4	\$	0.48	0	STRONG,	s.c.	ט	tah		1(801)227-9013	
Phone	Calls	for	Acc	ount :	Number 2	3602-	00277	on	19-JAI	N-01	
Time	Minute	es	Cost	Site	User		A.	rea/City	Name	Dialed Number	
4:38p 5:26p	0.8 2.9	\$	0.12	0	STRONG, STRONG,	S.C.	ט ט	tah tah		1(801)227-9013 1(801)227-9302	
Phone	Calls	for	Acc	ount :	Number 2	3602-	00277	on	26-JAI	N-01	
Time	Minute	s	Cost	Site	User		A.	rea/City	Name	Dialed Number	
1:53p	1.5	\$	0.24	0	STRONG,	s.c.	 ປ	tah		1(801)227-9013	
28602-	00277		[	Total	Calls:	10	Total	Time:	22	Total Cost: \$	6.70

EQUITRAC CORPORATION - DATA PROCESSING

### Converted from BANCAP Page 212 of 248 TELEPHONE MANAGEMENT REPORT 02-FEB-01 LEBOEUF, LAMB, GREENE & MACRAE Page 4 TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01 Phone Calls for Account Number 28602-0056 on 17-JAN-01 \_\_\_\_\_\_ Time Minutes Cost Site User Area/City Name Dialed Number 9:34a 4.1 \$ 2.02 0 McCARDELL, S.J. NE Illinois 1(312)674-4906 28602-0056 -- Total Calls: 1 Total Time: 4 Total Cost: \$ 2.02 Phone Calls for Account Number 28602-00710 on 03-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 9:07a 3.8 \$ 1.62 0 McGEARY,L. Washington, DC 1(202)862-2262 Phone Calls for Account Number 28602-00710 on 11-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number ... ........ 10:17a 3.2 \$ 1.62 0 McGEARY,L. United States 1(847)394-4524 2:05p 6.9 \$ 0.84 0 McGEARY,L. Utah 1(801)227-9302 2:12p 1.1 \$ 0.81 0 McGEARY,L. W Tennesee 1(901)866-5324 27p 1.1 \$ 0.24 0 McGEARY,L. Utah 1(801)227-9013 Prione Calls for Account Number 28602-00710 on 16-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 9:18a 1.0 \$ 0.12 0 McGEARY,L. Utah 1(801)227-9302 1:12p 1.9 \$ 0.81 0 McGEARY,L. Maryland 1(301)593-2076 1:44p 0.7 \$ 0.12 0 McGEARY,L. Utah 1(801)798-7276 Phone Calls for Account Number 28602-00710 on 18-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 9:23a 0.6 \$ 0.40 0 McGEARY, LISA Connecticut 1(203)356-8687 10:22a 3.8 \$ 1.62 0 McGEARY, L. NC California 1(415)732-2843 Phone Calls for Account Number 28602-00710 on 29-JAN-01

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc

EQUITRAC CORPORATION - DATA PROCESSING

Time Minutes Cost Site User Area/City Name Dialed Number

9:09a 1.0 \$ 0.12 0 McGEARY,L. Utah 1(801)227-9079 28602-00710 -- Total Calls: 11 Total Time: 25 Total Cost: \$ 8.32

# Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 213 of 248

TELEPHONE MANAGEMENT REPORT 02-FEB-01 LEBOEUF, LAMB, GREENE & MACRAE

Page 5

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01 Phone Calls for Account Number 28602-0117 on 05-JAN-01 -----Time Minutes Cost Site User Area/City Name Dialed Number 9:38a 2.0 \$ 0.24 0 McCARDELL, S.J. Utah 1(801)227-9302 28602-0117 -- Total Calls: 1 Total Time: 2 Total Cost: \$ 0.24 Phone Calls for Account Number 28602-01276 on 16-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 11:21a 6.4 \$ 2.83 0 McCARDELL, S.J. New York, NY 1(212)506-5146 28602-01276 -- Total Calls: 1 Total Time: 6 Total Cost: \$ 2.83 Phone Calls for Account Number 28602-0144 on 06-JAN-01 \_\_\_\_\_\_ Time Minutes Cost Site User Area/City Name Dialed Number 1 31a 1.0 \$ 0.40 0 McCARDELL, S.J. Washington, DC 1(202)862-2238 Phone Calls for Account Number 28602-0144 on 15-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 1:15p 2.2 \$ 1.21 0 McCARDELL, S.J. N Florida 1(904)279-6847 Phone Calls for Account Number 28602-0144 on 17-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number TIME TIMESON COOK STOR COOK THE INCOMPLET 10:40p 1.5 \$ 0.81 0 McCARDELL, S.J. N Florida 1(904)633-1637 28602-0144 -- Total Calls: 3 Total Time: 5 Total Cost: \$ 2.42 Phone Calls for Account Number 28602-0265 on 26-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 9:39a 2.7 \$ 1.21 0 McCARDELL, S.J. Washington, DC 1(202)862-2238 28602-0265 -- Total Calls: 1 Total Time: 3 Total Cost: \$ 1.21

EQUITRAC CORPORATION - DATA PROCESSING

Page 6

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01 Phone Calls for Account Number 28602-0276 on 16-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 11:14a 2.1 \$ 1.21 0 McCARDELL, S.J. New York, NY 1(212)506-5000 Phone Calls for Account Number 28602-0276 on 19-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number 4:57p 0.9 \$ 0.12 0 McCARDELL, S.J. Utah 1(801)227-9302 28602-0276 -- Total Calls: 2 Total Time: 3 Total Cost: \$ 1.33 Phone Calls for Account Number 28602-0277 on 05-JAN-01 \_\_\_\_\_ Time Minutes Cost Site User Area/City Name Dialed Number 1:50p 0.5 \$ 0.12 0 McCARDELL, S.J. Utah 1(801)227-9321 1:51p 0.5 \$ 0.12 0 McCARDELL, S.J. Utah 1(801)227-9302 2 '2-0277 -- Total Calls: 2 Total Time: 1 Total Cost: \$ 0.24 Phone Calls for Account Number 28602-0710 on 02-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number -----------Phone Calls for Account Number 28602-0710 on 03-JAN-01 Phone Calls for Account Number 28602-0710 On 03-04N-01

Time Minutes Cost Site User Area/City Name Dialed Number

9:42a 2.1 \$ 0.36 0 McCARDELL, S.J. Utah 1(801)227-9302

9:45a 2.8 \$ 1.21 0 McCARDELL, S.J. Washington, DC 1(202)862-2409 Phone Calls for Account Number 28602-0710 on 10-JAN-01 Time Minutes Cost Site User Area/City Name Dialed Number

EOUITRAC CORPORATION - DATA PROCESSING

1:53p 2.6 \$ 1.21 0 McCARDELL, S.J. W Virginia 1(703)281-3835

#### Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 215 of 248

TELEPHONE MANAGEMENT REPORT LEBOEUF, LAMB, GREENE & MACRAE

02-FEB-01

Page 7

TELEPHONE USAGE REPORT BY CLIENT Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01

Phone	Calls fo	r Account	Number 28602-0710	on 11-JAN-	01
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
10:21a 10:22a	0.7 \$ 5.1 \$	0.12 0 0.72 0	McCARDELL, S.J. McCARDELL, S.J.	Utah Utah	1(801)227-9013 1(801)227-9013
Phone	Calls fo	r Account	Number 28602-0710	on 15-JAN-	01
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
1:35p	1.9 \$	0.81 0	McCARDELL, S.J.	N Florida	1(904)633-1637
Phone	Calls fo	r Account	Number 28602-0710	on 16-JAN-	01
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
11:32a 11:35a	0.7 \$ 1.5 \$	0.12 0 0.81 0	McCARDELL, S.J. McCARDELL, S.J.	Utah Washington, DC	1(801)227-9321 1(202)862-2238
Phone	Calls fo	r Account	Number 28602-0710	on 17-JAN-	01
Time	Minutes	Cost Site	User	Area/City Name	Dialed Number
46p	12.3 \$	5.25 0	McCARDELL, S.J.	New York, NY	1(212)310-8000
Phone	Calls fo	r Account	Number 28602-0710	on 18-JAN-	01
Time	Minutes	Cost Site	user	Area/City Name	Dialed Number
12:55p	2.2 \$	1.21 0	McCARDELL, S.J.	E Pennsylvania	1(215)752-8732
Phone	Calls fo	r Account	Number 28602-0710	on 25-JAN-	-01
Time	Minutes	Cost Site	e User	Area/City Name	Dialed Number
3:24p	1.7 \$	0.24 0	McCARDELL, S.J.	Utah	1(801)227-9302
Phone	Calls fo	r Account	Number 28602-0710	on 26-JAN-	-01
Time	Minutes	Cost Site	User	Area/City Name	
9:08a 9:32a 9:36a 12:13p 12:25p	2.2 \$	1.62 0 0.24 0 0.36 0	McCARDELL, S.J.	United States	1(801)227-9302 1(856)854-8900 1(801)227-9302 1(801)227-9013 1(801)227-9013

EQUITRAC CORPORATION - DATA PROCESSING

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 216 of 248
TELEPHONE MANAGEMENT REPORT 02-FEB-01

LEBOEUF, LAMB, GREENE & MACRAE

Page 8

TELEPHONE USAGE REPORT BY CLIENT
Phone Calls by Account Number -- For Period 02-JAN-01 through 31-JAN-01

Phone	Calls fo	or Acco	ount 1	Number 2860	2-0710	on 29-JAN-01			
Time	Minutes	Cost	Site	User		Area/Ci	ty Name	Dialed Number	
12:41p 12:42p 2:26p	0.5 \$	0.12	0 0 0	McCARDELL, McCARDELL, McCARDELL,	S.J.	Utah Utah Utah Utah	• • • • • • • •	1(801)227-9013 1(801)227-9302 1(801)227-9302	2
Phone	Calls fo	or Acco	unt 1	Number 2860	2-0710	c	on 31-JAN	1-01	
Time	Minutes	Cost	Site	User		Area/Ci	ty Name	Dialed Number	
9:13a 9:56a 2:11p			0 0 0	McCARDELL, McCARDELL, McCARDELL,	S.J.	United United Utah		1(856)854-8900 1(856)854-8900 1(801)227-9302	)
28602-0	0710	 r	otal	Calls:	25 Tota	al Time:	58	Total Cost: \$	20.32

Report Totals -- Total Calls: 83 Total Time: 227 Total Cost: \$ 71.21

EQUITRAC CORPORATION - DATA PROCESSING

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 217 of 248

#### JANUARY REPRODUCTION

	<u>Date</u>	<u>Matter No.</u>	<u>User</u>	<u>Copies</u>	<u>Cost @</u> (20¢/page)	
	- 1					Copies of Notice of Effective Date for service on
L	1/2/01	710	L. McGeary	537	107.40	MSL #20

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc PHOTOCOPY MANAGEMENT REPORTIVE From BANCAP 3129AN 10 f 248

Page 1

LEBOEUF, LAMB, GREENE & MACRAE

EENE & MACRAE

PHOTOCOPY USAGE REPORT BY CLIENT MATTER
Activity Summary Report -- For Period 01-JAN-01 through 30-JAN-01

COST
342.60
739.80
11.20
439.20
7.60
24.00
181.20
1745.60

# PHOTOCOPY USAGE REPORT BY CLIENT MATTER Activity Detail Report -- For Period 01-JAN-01 through 30-JAN-01

DATE	CLIENT MATTER	USER	ATTORNEY ID	DESCRIPTION	COPIES	COST
12 - TAN - 01	28602-00131	FRICKE, LISA ANN			6	1.20
02-JAN-01		FRICKE, LISA ANN			1	0.20
18-JAN-01		FRICKE, LISA ANN			6	1.20
26-JAN-01		FRICKE, LISA ANN			7	1.40
02-JAN-01		WEATHERLY, CAROL			2	0.40
05-JAN-01		WEATHERLY, CAROL			2.	0.40
02-JAN-01		TANNER, LAUREE			16	3.20
04-JAN-01		TANNER, LAUREE			4	0.80
11-JAN-01		TANNER, LAUREE			18	3.60
16-JAN-01		TANNER, LAUREE			1	0.20
18-JAN-01		TANNER, LAUREE			12	2.40
23-JAN-01		TANNER, LAUREE			1638	327.60
23-0AN-01						
	28602-00131			•	1713 \$	342.60
	=======================================				=======	======
04 - TNN-01	28602-00144	FRICKE, LISA ANN			32	6.40
24-JAN-01	20002-00144	FRICKE, LISA ANN			86	17.20
25-JAN-01		FRICKE, LISA ANN		• •	380	76.00
25-JAN-01		FRICKE, LISA ANN			36	7.20
26-JAN-01		FRICKE, LISA ANN			69	13.80
		COVEY, JOSEPH M.			16	3.20
12-JAN-01 02-JAN-01		TANNER, LAUREE			2	0.40
0. JN-01		TANNER, LAUREE			120	24.00
1 N-01		TANNER, LAUREE			10	2.00
16-JAN-01		TANNER, LAUREE			8	1.60
16-JAN-01		TANNER, LAUREE			39	7.80
		TANNER, LAUREE			112	22.40
16-JAN-01		TANNER, LAUREE			6	1.20
16-JAN-01		TANNER, LAUREE			12	2.40
19-JAN-01		TANNER, LAUREE			24	4.80
22-JAN-01		TANNER, LAUREE			2	0.40
25-JAN-01		TANNER, LAUREE			5	1.00
26-JAN-01		TANNER, LAUREE			18	3.60
26-JAN-01		HAWK, MATTHEW			54	10.80
19-JAN-01		HAWK, MATTHEW			1955	391.00
25-JAN-01		KARREN, BRIAN			212	42.40
25-JAN-01		LALOR, CAROL J			144	28.80
08-JAN-01		LALOR, CAROL J			26	5.20
09-JAN-01		LALOR, CAROL J			156	31.20
12-JAN-01		LALOR, CAROL J			14	2.80
12-JAN-01		LALOR, CAROL J			20	4.00
18-JAN-01		LALOR, CAROL J			62	12.40
26-JAN-01		LALOR, CAROL J			20	4.00
26-JAN-01		WINTERS, PHYLLIS	1		52	10.40
03-JAN-01		HUGHES, KRISTIN	•		6	1.20
18-JAN-01	,	undues' versith			5	

EQUITRAC CORPORATION - DATA PROCESSING

Converted from BANCAP Page 220 of 248
PHOTOCOPY MANAGEMENT REPORT 31-JAN-01 LEBOEUF, LAMB, GREENE & MACRAE

Page 2

# PHOTOCOPY USAGE REPORT BY CLIENT MATTER Activity Detail Report -- For Period 01-JAN-01 through 30-JAN-01

	ACCIVICY .								
DATE	CLIENT MATTER	USER		ATTORNEY ID	DESCRIPTI	ON	COPIE	S	COST
29-JAN-01	28602-00144	HUGHES,	KRISTIN				i		0.20
	28602-00144						3699	\$	739.80
	205==200===30==3						=====		
00 Thu 01	28602-00265	TANNER,	ד.מווסטים				14		2.80
02-JAN-01 02-JAN-01		HUGHES,					35		7.00
04-JAN-01		HUGHES,					7		1.40
01 012, 02		•						<b>-</b>	
	28602-00265						56	\$	11.20
	242652222222						=====	===:	======
00 TAN-01	28602-00276	TANNER,	LAUREE				6		1.20
05-JAN-01	20002-00270	TANNER,					324		64.80
05-JAN-01		TANNER,					840		168.00
05-JAN-01		TANNER,					20		4.00
05-JAN-01		TANNER,					87		17.40
05-JAN-01		TANNER,	LAUREE			•	33		6.60
05-JAN-01		TANNER,	LAUREE				12		2.40
05-JAN-01		TANNER,	LAUREE				48		9.60
08-JAN-01		TANNER,	LAUREE				3		0.60
09-JAN-01		TANNER,	LAUREE				10		2.00
1 7AN-01		TANNER,	LAUREE				2		0.40
<b>\N-</b> 01		TANNER,					100		20.00
17-JAN-01		TANNER,					21		4.20
18-JAN-01		TANNER,					49		9.80
18-JAN-01		TANNER,					21		4.20
22-JAN-01		TANNER,					59		11.80
26-JAN-01		TANNER,					64		12.80 2.20
29-JAN-01		TANNER					11 448		89.60
12-JAN-01		HAWK, M		ı			4		0.80
22-JAN-01			Michael T				27		5.40
05-JAN-01			, PHYLLIS , PHYLLIS				7		1.40
05-JAN-01		MTMIEKS	, PRILLIP					. <b></b> -	
	28602-00276						2196	\$	439.20
	=======================================						=====	===	
0 F 7777 0-	20602 00077	TANNER,	T.ATTOPP				9		1.80
	28602-00277	TANNER,		•			22		4.40
05-JAN-01		TANNER,					·-		
05-JAN-01		IAMER,	THOREM						
	28602-00277						38	\$	7.60
	20002-002//							====	
16-JAN-01	28602-00283	TANNER,	LAUREE				120		24.00
							120		24.00
	28602-00283							•	24.00
		•							

PHOTOCOPY MANAGEMENT REPORT NOTICE OF SOLUTION OF SOLU

## PHOTOCOPY USAGE REPORT BY CLIENT MATTER Activity Detail Report -- For Period 01-JAN-01 through 30-JAN-01

DATE CLIEN	r matter user	ATTORNEY	ID DESCRIPTION	COPIES	COST
26-JAN-01 28602 02-JAN-01 03-JAN-01 04-JAN-01 04-JAN-01 29-JAN-01 02-JAN-01 08-JAN-01 09-JAN-01	FRICKE, FRICKE, FRICKE, FRICKE, TANNER, TANNER,	LISA ANN LAUREE		8 537 11 204 45 2 93 2	1.50 107.40 2.20 40.80 9.00 0.40 18.60 0.40 0.80
3==5	-00710 ==================================			906 \$ ======== 8728 \$	

## LLG&M October - January 3, 2001

Expense Breakdown by Project:	<u>October</u>	<u>November</u>	<u>December</u>	January 1-3	Total
Asset Disposition					0.00
Asset Analysis and Recovery					0.00
Business Operations					0.00
Case Administration	1,352.66	460.09	218.26		2,031.01
Claims Administration and Objections	1,369.71	130.88	614.51		2,115.10
Employee Benefits/Pensions			67.00		67.00
Executory Contracts and Leases	1,305.91	1,228.94	1,230.78		3,765.63
Fee/Employment Applications	837.34	2,003.55	781.59		3,622.48
Fee/Employment Objections	15.63	5.58	52.88		74.09
Financing	235.58	180.42	308.21		724.21
Meetings of Creditors					0.00
Misc. Contested Matters	39.40	14.20	418.47		472.07
Plan and Disclosure Statement	1,802.83	19,267.90	9,056.60	8.87	30,136.20
Travel					0.00
TOTALS:	\$6,959.06	\$23,291.56	\$12,748.30	\$8.87	\$43,007.79

#### Expense Breakdown by Type:

	<u>October</u>	<u>November</u>	<u>December</u>	January 1-3	<u>Total</u>
Reproduction	5,113.80	14,924.74	4,625.40		24,663.94
Outside Reproduction	117.11	1,898.33	4,607.33		6,622.77
Telephone	414.89	209.74	221.27	6.82	852.72
Facsimile - Actual Line Cost Only	133.88	97.18	151.31	i	382.37
Postage	679.15	608.23	245.10	2.05	1,534.53
Air Express	80.81	3,267.57	1,961.69		5,310.07
Business Meals	115.98	186.22	51.50		353.70
Messenger Service	104.00	168.00	123.00		395.00
Local Transportation	1.53	38.00	1.45		40.98
Filing Fees	125.00				125.00
Court Reporting	27.00	1,711.80	235.25		1,974.05
Deposition/Hearing Transcripts					0.00
Pacer Service Center	45.91				45.91
Micellaneous Charges		181.75	525.00		706.75
TOTALS:	\$6,959.06	\$23,291.56	\$12,748.30	\$8.87	\$43,007.79

LLG&M Final Fee Application

		Total	Total
Name	Rate	Hours	Fees
<u>PARTNERS</u>			
1 G. Alberich	380	1.00	380.00
<ol><li>Jon L. Benjamin</li></ol>	330	1.00	330.00
3 K. Cannon	245	523.00	128,135.00
K. Cannon	260	523.40	136,084.00
K. Cannon	280	78.10	21,868.00
4 J.W. Cotton	410	1.40	574.00
5 F. Cummings	450	2.80	1,260.00
F. Cummings	425	10.15	4,313.75
6 C. Eklund	375	0.50	187.50
C. Glasheen	390	5.50	2,145.00
C. Glasheen	370	3.70	1,369.00
7 D. Grimes	375	1.00	375.00
8 A. E. James III	375	5.00	1,875.00
9 A. Jarvis	260	7.30	1,898.00
10 L. Jenkins	245	4.50	1,102.50
11 R. Mabey	350	118.15	41,352.50
R. Mabey	370	3.80	1,406.00
R. Mabey	425	3.20	1,360.00
12 S. Mccardell	260	1032.60	268,476.00
S. Mccardell	275	1278.70	351,642.50
S. Mccardell	305	366.40	111,752.00
13 K. Murray	260	1.00	260.00
14 R. Rencher	290	0.80	232.00
R. Rencher	260	30.30	7,878.00
15 K. Schnoll	350	0.25	87.50
16 N. Taylor	260	0.50	130.00
17 S. Tumblin	225	290.20	65,295.00
S. Tumblin	240	2.15	516.00
S. Tumblin	270	4.70	1,269.00
S. Tumblin	285	1.90	541.50
18 D. Connors	260	7.00	1,820.00
19 D. Hammond	325	5.00	1,625.00
20 G. M. Williams	560	1.10	616.00

OF COUNSEL			
1 P. Keith	225	112.50	25,312.50
P. Keith	240	116.00	27,840.00
2 M. Dykes	225	85.90	19,327.50
M. Dykes	240	4.50	1,080.00
3 D. Gardner	245	1.60	392.00
4 M. Petrini	290	0.25	72.50
5 J. Epperson	195	4.50	877.50
<u>ASSOCIATES</u>		1	
1 J. Covey	145	166.10	24,084.50
J. Covey	155	43.40	6,727.00
J. Covey	160	216.20	34,592.00
J. Covey	195	142.70	27,826.50
2 S. Strong	180	446.90	80,442.00
S. Strong	190	85.80	16,302.00
S. Strong	195	152.30	29,698.50
S. Strong	220	17.30	3,806.00
3 P. Grant	165	0.00	0.00
4 L. Hulme	145	56.80	8,236.00
L. Hulme	195	0.50	97.50
5 B. Randall	170	4.60	782.00
6 R. Wood	145	7.25	1,051.25
7 B. Ide	110	0.30	33.00
8 P. Malone	110	7.40	814.00
9 Julie Valdes	130	27.80	3,614.00
Julie Valdes	165	11.70	1,930.50
10 М. Норре	110	25.20	2,772.00
М. Норре	120	51.40	6,168.00
M. Hoppe	145	80.70	11,701.50
11 A. Maudsely	120	2.50	300.00
12 J. R. Schofield	175	14.70	2,572.50
J. R. Schofield	145	0.00	0.00
13 M. Barbanell	145	16.90	2,450.50

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 227 of 248

	<u>PARALEGALS</u>			
1	L. McGeary	85	817.20	69,462.00
	L. McGeary	90	776.50	i i
	L. McGeary	110	0.00	·
2	S. Henderson	55	2.80	154.00
	S. Henderson	50	49.50	2,475.00
3	L. Poulson	85	2.50	212.50
	SUM		7,868.30	1,641,247.50

-5,813.50

\$1,635,434.00

Travel Credit:
GRAND TOTAL

#### **LLG&M Final Fee Application**

Expense Breakdown by Project:	<u>First</u>	<u>Second</u>	<u>Third</u>	<u>Fourth</u>	<u>Fifth</u>	<u>Sixth</u>	<u>Total</u>
Asset Disposition	14.96	2690.91	2,077.15	0.00	1.80	0.00	4,784.82
Asset Analysis and Recovery	85.41	95	0.36	0.00	19.00	0.00	199.77
Assumption/Rejection of Leases	0.00		0.00	0.00	0.00	0.00	0.00
Business Operations	7.92	8.57	453.99	3.95	659.84	0.00	1,134.27
Case Administration	15,688.19	5656.31	2,077.03	2,135.51	1,491.95	2,031.01	29,080.00
Claims Administration and Objections	2,692.04	5091.83	662.67	2,275.67	6,784.12	2,115.10	19,621.43
Employee Benefits/Pensions	2,265.60	1399.84	220.75	0.00	0.00	67.00	3,953.19
Executory Contracts and Leases	1,553.18	1139.09	416.55	3,311.47	3,032.86	3,765.63	13,218.78
Fee/Employment Applications	2,675.75	3563.77	4,777.50	2,602.92	3,542.70	3,622.48	20,785.12
Fee/Employment Objections	26.55	143.92	142.98	328.59	24.23	74.09	740.36
Financing/Cash Collections	26,093.63	179.31	760.61	1,992.42	160.96	724.21	29,911.14
Meetings/Communications Re Creditor	186.08	0	0.00	0.00	0.00	0.00	186.08
Misc. Contested Matters	0.00	72.15	364.77	167.21	2.30	472.07	1,078.50
Plan and Disclosure Statement	13.20	1379.81	14.40	849.97	14,228.19	30,136.20	46,621.77
TOTALS:	\$51,302.51	\$21,420.51	\$11,968.76	\$13,667.71	\$29,947.95	\$43,007.79	\$171,315.23

#### Expense Breakdown by Type:

EXPONED DISCUSSION OF THE PROPERTY OF THE PROP							
	<u>First</u>	<u>Second</u>	<u>Third</u>	<u>Fourth</u>	<u>Fifth</u>	<u>Sixth</u>	<u>Total</u>
Reproduction	29,876.60	15806.94	10,024.22	11,705.20	19,918.15	24,663.94	111,995.05
Outside Reproduction	2,825.01	0	30.11	4.21	1,485.11	6,622.77	10,967.21
Telephone	540.96	332.97	160.62	100.45	505.15	852.72	2,492.87
Facsimile - Actual Line Cost Only	569.75	245.75	98.23	0.00	139.15	382.37	1,435.25
Postage	3,070.97	2856.89	877.83	1,346.69	1,858.85	1,534.53	11,545.76
Air Express	3,460.42	501.95	284.30	147.43	726.50	5,310.07	10,430.67
Business Meals	781.54	37.86	0.00	29.52	463.36	353.70	1,665.98
Overtime Meals	19.54	0.00	0.00	0.00	0.00	0.00	19.54
Overtime Payroll	3,709.25	0.00	0.00	18.75	686.25	0.00	4,414.25
Messenger Service	462.00	613.95	224.00	253.00	414.00	395.00	2,361.95
Local Transportation	58.50	0.00	8.25	26.90	20.30	40.98	154.93
Filing Fees	925.00	35.00	0.00	0.00	0.00	125.00	1,085.00
Depositions/Transcripts	1,713.00	178.00	93.00	0.00	789.75	0.00	2,773.75
Court Reporting	2,652.00	396.00	0.00	0.00	743.00	1,974.05	5,765.05
Pacer Service Center	293.40	0.00	163.20	35.56	39.97	45.91	578.04
Legal Research (Lexis)	0.00	0.00	0.00	0.00	0.00	0.00	0.00
Travel Out of Town	0.00	0.00	0.00	0.00	2,102.10	0.00	2,102.10
Miscellaneous Charges	344.57	415.20	5.00	0.00	56.31	706.75	1,527.83
Corporate Service (UCC Searches)	0.00	0.00	0.00	0.00	0.00	0.00	
TOTALS:	\$51,302.51	\$21,420.51	\$11,968.76	\$13,667.71	\$29,947.95	\$43,007.79	\$171,315.23

#### **PARTNERS**

#### H. Glenn Alberich

Glenn Alberich is an experienced litigator concentrating in complex civil litigation and constitutional actions involving First Amendment (freedom of expression) Fifth Amendment (governmental takings) and Twelfth Amendment (equal protection and due process) issues. Mr. Alberich has successfully represented corporations and trade associations in challenging statutes and regulations that have the effect of taking real property or funds without appropriate government compensation. He is also currently involved in several cases addressing the issue of whether price regulations and related state trade regulations are preempted by the Sherman Act. Mr. Alberich also engages in extensive litigation and regulatory work on behalf of the alcoholic beverage industry, representing primarily brewers and wholesalers of malt beverage products. He also concentrates in representing clients in commercial and international arbitrations and mediations. Further, Mr. Alberich engages in legislative counseling, representing trade associations, the trucking industry and the film production industry. Representing the beverage wholesale industry in the first of a number of related cases pending throughout the United States, Mr. Alberich obtained a recent ruling that certain practices by retailers under mandatory container redemption laws constitute unfair and deceptive acts and practices entitling wholesalers to awards of triple damages and attorneys' fees. He was admitted to the practice of law in Massachusetts in 1978.

#### Jon L. Benjamin

Mr. Benjamin joined LeBoeuf, Lamb, Greene & MacRae, L.L.P. in July 1992. He has practiced exclusively in the areas of environmental and health and safety law since 1986.

Mr. Benjamin's environmental practice includes significant experience in the areas of hazardous and solid waste permitting, compliance and enforcement; real property site assessments and cleanups under various laws including the federal and various state "Superfund" authorities; due diligence for many complex transactions including energy facilities, refineries and pipelines; strategic environmental planning; NEPA; land use and the development of contaminated sites; the California Environmental Quality Act; the Clean Water Act and various State analogs; California's Proposition 65 and related issues; risk assessment; underground storage tank issues; insurance; toxic tort claims; community right-to-know; and toxics issues. He has represented clients before federal, state and local environmental regulatory and political entities involving a variety of land use, remedial permitting and enforcement matters.

Regarding health and safety law, Mr. Benjamin assists clients with the identification, development and implementation of corporate health and safety strategies and objectives. Mr. Benjamin represents energy, transportation, construction and temporary services, and other clients regarding various Federal OSHA and state-authorized program issues. These have included audits and evaluations of existing programs and management systems, development of and modifications to H&S programs and systems, compliance counseling, accident

investigations, enforcement responses involving Federal and various state OSHA programs, legislative/regulatory analyses and lobbying. He also heads up LeBoeuf's pipeline safety practice group which, in addition to OSHA issues, focuses on U.S. Department of Transportation (and state-equivalent) statutes and regulations affecting natural gas and hazardous liquids pipelines. In that regard, Mr. Benjamin has counseled clients on such issues as pipeline damage prevention, emergency response, development of operations and management plans, contractor oversight process safety management, operator qualification, alcohol testing, HAZWOPER and the emerging DOT/OPS risk management pilot program.

Mr. Benjamin's representation of regulated businesses is informed by his earlier experiences working at the federal and local governmental levels. He was a program analyst in the Office of the Secretary of the federal Department of Health & Human Services from 1979 through 1981. He received a Secretarial Merit Award for his work on a major administration regulatory initiative. Following that, Mr. Benjamin spent a year as a Fellow in Public Affairs with the San Francisco Coro Foundation. He then accepted a position as the special management assistant to San Mateo County's Director of Hospitals and Clinics.

Mr. Benjamin was admitted to the practice of law in California in 1986.

#### Kenneth L. Cannon II

Kenneth L. Cannon II received his bachelor's degree in history summa cum laude from Brigham Young University in 1978 and was the valedictorian of his class. While an undergraduate, he was a Hinckley Scholar and the recipient of numerous scholastic awards. Mr. Cannon received both his J.D. and his M.A. in American history from Brigham Young University in 1982. He graduated cum laude from law school and is a member of the Order of the Coif and a J. Reuben Clark Scholar. Mr. Cannon was admitted to the practice of law in Utah in 1982 in the District of Columbia in 1993, and in New York in 1994. He served as a Fulbright Scholar during 1985 at Helsinki University in Finland where he conducted research in comparative insolvency law and administrative law. He was resident in LeBoeuf's New York office for one year, from mid-1993 until mid-1994.

Mr. Cannon is primarily engaged in reorganization, bankruptcy, and commercial law matters. In the corporate reorganization and bankruptcy areas, he has represented trustees, debtors, secured and unsecured creditors and creditors' committees in all facets of Chapter 11 cases. In the commercial area, Mr. Cannon has substantial experience in out-of-bankruptcy workouts, bankruptcy planning, secured transactions, and litigation. A significant portion of his practice involves rendering bankruptcy opinions in complex financial transactions.

Mr. Cannon is counsel to Maritime Group, Ltd., owner of a dockside casino in Biloxi, Mississippi, in its Chapter 11 case. He has participated in the representation of Mr. Mabey as Chapter 11 trustee in the Cajun Electric case. Mr. Cannon was lead bankruptcy counsel in LeBoeuf's representation of Public Service Company of Colorado in its acquisition through a plan of reorganization of a significant portion of the debtor's assets in Colorado-Ute's Chapter 11 case. He lead LeBoeuf's representation of CF&I Steel Corporation in litigation arising in

its Chapter 11 case involving the United Mine Workers of America retiree benefit funds. He has advised a number of LeBoeuf clients on bankruptcy issues involving the creation and securitization of assets and has rendered critical bankruptcy opinions with respect to those transactions. Mr. Cannon has assisted in LeBoeuf's representation of bondholder committees in the Federated Department Stores case in Ohio and the NVF case in Delaware. He represented the Chapter 11 trustee in the Brian Head Enterprises, Inc. case involving a large ski resort in Southern Utah. He represented ITT Corporation in a substantial Chapter 11 case in Northern California and has advised ITT Corporation on asset purchases from Chapter 11 debtors.

#### David M. Connors

David M. Connors received his bachelor's degree from Yale University in 1974 and his J.D. from the J. Reuben Clark Law School, Brigham Young University in 1979. He graduated magna cum laude in the top 5% of his law school and was an Editorial Associate of the Brigham Young University Law Review. Following his graduation from law school, he worked in New York as a law clerk to the Honorable Ellsworth A. Van Graafeiland, United States Court of Appeals for the Second Circuit. Mr. Connors is admitted to the practice of law in Pennsylvania and in Utah. He worked for Kirkpatrick & Lockhart in Pittsburgh, Pennsylvania, until May, 1982, when he joined LeBoeuf in the Salt Lake City office.

Mr. Connors' practice has centered primarily around commercial and corporate law matters, including commercial litigation and bankruptcy proceedings. In addition, Mr. Connors has represented both developers and major institutional lenders in real estate financings and other forms of project financing and in commercial litigation related to such financings. As an extension of his commercial law practice, Mr. Connors has had significant experience in practice before the bankruptcy court and is familiar with the issues confronting both debtors and creditors.

In the corporate area, Mr. Connors is experienced in the documentation of corporate mergers and acquisitions, including sales of assets, transfers of control of going concerns and the structuring and restructuring of both profit and not-for-profit corporations. He is also familiar with a broad range of financing methods for start-up operations and going concerns, including public offerings and private placements under federal and state securities laws.

Mr. Connors is the past chairman of the Business Law Section of the Utah State Bar and co-chairman of that section's statutory revision committee. He is also a member of the Business Law Section and Commercial Financial Services Committee of the American Bar Association.

#### John W. Cotton

John Cotton concentrates in litigation in the defense of complex financial and regulatory cases. He has extensive experience in the defense of claims involving misrepresentation, disclosure and reporting requirements of regulated financial institutions

such as investment advisers, investment companies, banks, insurance companies and securities brokers. He also has represented professionals (e.g., accountants and lawyers) in connection with claims against them for either professional negligence causing the failure of financial institutions, or aiding and abetting the fraud of others causing such failures. His current work includes the representation of individuals charged with violations of insider trading prohibitions, investment advisers and investment companies charged with reporting and antifraud violations, and the defense of consumer class actions. He is a former U.S. Securities and Exchange Commission trial lawyer, and was the Deputy Director of Enforcement for the U.S. Commodity Futures Trading Commission. He regularly represents life insurance companies, money managers, hedge funds, investment advisers and others in the financial services industry. Mr. Cotton was admitted to the practice of law in California in 1972 and in the District of Columbia in 1977.

#### Frank Cummings

Frank Cummings leads the Firm's representation of LTV as special counsel for pension-bankruptcy issues and acts as lead pension counsel in connection with LeBoeuf's representation of CF&I Steel.

Mr. Cummings, the partner in charge of LeBoeuf's employee benefits and labor practice, has over 30 years of experience in employee benefits and labor law. He was Chief of Staff for U.S. Senator Jacob K. Javits (R-NY) when ERISA was developed, and has served as a member of the U.S. Department of Labor's Advisory Council on Pension & Welfare Benefit Plans. He is a former Adjunct Professor of Law at Georgetown University Law School, and currently is a member of the American Law Institute and of the Advisory Board of the BNA Pension Reporter. Mr. Cummings is former chairman of the Labor Committee of the District of Columbia Bar Association. He is Chairman of the ALI-ABA Annual Course in Employee Benefits Litigation and lectures regularly on various labor and employee benefits programs sponsored by ALI-ABA.

Mr. Cummings was admitted to the practice of law in New York in 1959 and in the District of Columbia in 1963.

#### Carl A. Eklund

Mr. Eklund's principal expertise is in large and complex Chapter 11 bankruptcy cases as debtors' and creditors' committee counsel and now serves as counsel for Joint Creditors' Committee of CSI Enterprises, Inc. and Oren L. Benton, et al. This case involves world-wide uranium trading and various other business entities. Mr. Eklund has recently concluded service as debtors' counsel in the successful confirmation of the America West Airlines case in Phoenix. Mr. Eklund previously acted as debtor's counsel in the Frontier Airlines Chapter 11 case and in the Consolidated Oil and Gas reorganization. Mr. Eklund represented the Creditors' Committee in the Chapter 11 case of Colorado Ute Electric Association, a generating and transmission system supplying bulk power to over 70% of the state of Colorado. Mr. Eklund also served as counsel to the Retired Employees Subcommittee of the Official Unsecured Creditors' Committee in the Kaiser Steel Corporation reorganization and as Creditors' Committee counsel in the Chapter 11 reorganization of Storage Technology Corporation. In

another high technology case, Mr. Eklund represented the Creditors' Committee of Miniscribe Corporation, a disk drive manufacturer driven into Chapter 11 amid allegations of serious fraud and mismanagement. Mr. Eklund is a contributing author for Collier Bankruptcy Practice Guide, Representing Debtors in Bankruptcy (Matthew Bender), and Advanced Chapter 11 Bankruptcy Practice and Legal Opinion Letters Formbook (Wiley Law Publications), and The American Bankruptcy Institute Law Review. A frequent lecturer on bankruptcy topics, Mr. Eklund is a Fellow in the American College of Bankruptcy and is an active member of the American Bankruptcy Institute. Mr. Eklund is also a Board Member and Treasurer for the Faculty of Federal Advocates. Mr. Eklund is listed in The Best Lawyers of America. Mr. Eklund was admitted to the practice of law in Colorado in 1971.

#### Charles R. Glasheen

Charles Glasheen has extensive experience in resolving bankruptcy-related tax problems. Mr. Glasheen has been lead tax advisor for the debtor in several major bankruptcy cases including America West Airlines, Great American Communications Company, CF&I Steel Corporation, and, before joining LeBoeuf, The Charter Company. In addition to his debtor representations, Mr. Glasheen has provided tax advice in more than 30 other bankruptcy cases over the past seven years.

Mr. Glasheen served as lead tax advisor to the Federated Department Stores Pre-Merger Bondholders' Committee. He provided tax advice to a consortium of bank lenders to a major insolvent insurance holding company. He currently advises The Official Committee of Equity Security Holders of The Columbia Gas System Inc. and the NVF Company Creditors' Committee in tax matters.

Mr. Glasheen was admitted to the practice of law in Tennessee in 1968 and in Florida in 1971.

#### David M. Grimes

David M. Grimes has extensive experience representing secured and unsecured creditors in workouts and bankruptcies, buyers and sellers of distressed assets, and lenders in commercial loan transactions. Mr. Grimes recently concluded the representation of the Official Committee of Unsecured Creditors of Carabetta Enterprises, Inc. (a developer of multi-family housing projects with approximately 8,000 units), by confirming a plan providing for a substantial payout to unsecured creditors. He regularly represents banks (such as Natexis Banque and Credit Agricole Indosuez) in workouts and letter of credit disputes.

Mr. Grimes also regularly represents IBJ Schroder as indenture trustee and/or disbursing agent. He has significant experience representing indenture trustees in bankruptcy and workouts, including IBJ Schroder in the Uniroyal Plastics Acquisition case and Maryland National Bank in the Continental Airlines case. In addition, Mr. Grimes represents buyers and sellers of distressed securities and secured and unsecured sub-prime debt, including FirstCity Financial Corporation (in acquisitions of French and Japanese mortgage notes), Insignia Financial Group and Schroder, Wertheim & Co.

Previously, Mr. Grimes represented New York and Hartford-based insurance companies in numerous single asset Chapter 11 bankruptcies around the country and assisted in the representation of the creditors' committee of Lomas Financial Corporation. Mr. Grimes is a contributing editor of The Bankruptcy Strategist and frequently lectures on bankruptcy and commercial lending topics. Mr. Grimes was admitted to the practice of law in Connecticut in 1987 and in New York in 1990.

#### Douglas W. Hammond

Douglas W. Hammond has been working in the insurance industry in either a legal or business capacity for the past seven years. His experience includes insurance and reinsurance coverage litigation, policy drafting, claims management and underwriting for multiple product lines. Mr. Hammond also advises clients, including insurers and reinsurers, on minimizing their exposures to Year 2000 risks.

He has written articles on various reinsurance law topics and recently completed his work as co-author of a reinsurance law book to be published early next year by the Practising Law Institute. Mr. Hammond co-authored a more comprehensive work as a follow-up to his article *Insuring Against Catastrophe* that will be published later this year, also by the Practising Law Institute. He has lectured at events sponsored by various members of the insurance industry and at the Western States Surplus Lines Conference, the American Bankers' Association and the Talk Radio News Service regarding the impact of the Year 2000 problem on various industries. Mr. Hammond also serves on the advisory board for insurance coverage issues of the weekly radio show Y2K Today and its website, www.y2k.com. Mr. Hammond was admitted to the practice of law in New York in 1992.

## A. Everette James, III

Mr. James has extensive experience in international trade and financial services regulatory and legislative matters. For the past four years before joining LeBoeuf in September 2000, Mr. James served as the U.S. Commerce Deputy Assistant Secretary for Service Industries and Finance. He was the U.S. Government's lead on international insurance issues, and worked with the Government of Japan in numerous international fora and on bilateral insurance issues. Mr. James was twice elected Vice-Chair of the OECD Insurance Committee and was the first Chair of the OECD Working Party on Private Pensions. At the OECD, he worked closely with Japan's Ministry of Finance, Financial Supervisory Agency and Ministry of Health and Welfare officials to set the insurance and pensions policy agenda for the 29 member OECD countries, and on programs to provide technical assistance to non-member country insurance supervisory authorities.

Mr. James and the Office of Finance, which he managed, were responsible for the monitoring and implementation of the WTO Financial Services Agreement and the U.S. Bilateral Insurance Agreement with Japan. Mr. James participated in biannual consultations with the FSA, and led the first-ever regulatory delegation from the NAIC to Japan, which has led to markedly improved bilateral insurance regulatory relations. Mr. James was also a

member of the Senior Interagency Task Force set up at the request of Congress and the GAO to review Japan's compliance with the 1994 and 1996 Insurance Agreements. Mr. James was admitted to the practice of law in Florida in 1995.

#### Annette W. Jarvis

Annette W. Jarvis graduated magna cum laude with high honors from Brigham Young University in 1977 with a bachelor's degree in European Studies and History. She was the valedictorian for the Department of History and the recipient of a Presidential Scholarship. She received her J.D. degree, magna cum laude, in 1979 from the J. Reuben Clark Law School at Brigham Young University. She graduated in the top 5% of her class, was a J. Reuben Clark Scholar, and a member of the Brigham Young University Law Review. Ms. Jarvis was admitted to practice in the state of Utah in 1979 and in Colorado in 1994.

Ms. Jarvis has extensive experience in representing debtors, trustees, examiners, creditors' committees, creditors, indenture trustees, public bond holders and purchasers of assets in Chapter 11 cases. She handles Chapter 11 and bankruptcy-related business transactions and litigation. Ms. Jarvis currently represents the Trustee in the Cajun Electric Power Cooperative, Inc. case, which is one of the largest Chapter 11 cases currently pending in the United States. The Cajun case involves the restructuring of over \$5 billion of debt of a regulated utility. Ms. Jarvis has also assisted the Firm in representing numerous clients including the LTV Corporation, CF&I Steel Corporation, American West Airlines, Inc., the Examiner in the A.H. Robins case, and the Indiana Insurance Commissioner in the Chapter 11 case of Baldwin-United. She has been lead bankruptcy counsel to Coventry Corporation and the Penn Group Corporation in the Maxicare Chapter 11 cases, to Bankers Trust Company in the Gillett Holdings, Inc. and Hal Roach Studies, Inc. cases, to U.S. Trust in the Continental Airlines and M.C.E.G., Inc. case, to Affiliated FM Insurance Company in the Pacor, Inc. Pettibone, and Forty-Eight Insulations, Inc. cases and the Pennsylvania Public School Employee's Retirement Board in the Highlands Inn Investors Case.

Prior to joining LeBoeuf, she was a professor of commercial law at the J. Reuben Clark School at Brigham Young University. Upon graduation from law school, Ms. Jarvis served for two years as law clerk for the Honorable Ralph R. Mabey, bankruptcy judge in the District of Utah. Annette W. Jarvis graduated magna cum laude from Brigham Young University in 1977 with a bachelor's degree in European studies and history. As an undergraduate, she was a recipient of a Presidential Scholarship. She received her J.D. degree, magna cum laude, in 1979 from the J. Reuben Clark Law School, Brigham Young University, where she was a member of the Brigham Young University Law Review. Ms. Jarvis was admitted to practice in the state of Utah in 1979 and in Colorado in 1994.

#### Lon A. Jenkins

Lon A. Jenkins, a native of Minneapolis, Minnesota, graduated magna cum laude from St. Olaf College, Northfield, Minnesota, in 1976 and received his J.D. from the University of Utah School of Law in May 1983. he was a member of the 1982-83 *Utah Law Review* and

was a William H. Leary Scholar. Since joining LeBoeuf in 1983, Mr. Jenkins has worked extensively in the areas of bankruptcy and Chapter 11 reorganization, including the negotiation, formulation, drafting and confirmation of plans of reorganization, as well as extensive creditor representation in a variety of Chapter 11 settings. Mr. Jenkins also has extensive experience in the areas of pre-bankruptcy or out-of-court workouts, and has advised numerous large creditors. In the early 1990's, Mr. Jenkins assisted in the Firm's representation of a large Colorado electric utility in seeking confirmation of a creditor's plan of reorganization, which resulted in the confirmation of a joint settlement plan of reorganization. Mr. Jenkins also has been involved in commercial litigation in the areas of secured transactions, equipment leases and real estate. His experience also includes assisting in the representation of America West Airlines during post-confirmation, plan implementation phases. Most recently, Mr. Jenkins has acted as lead bankruptcy counsel for the Chapter 11 Trustee in the hotly-contested and highly-publicized Cajun Electric Power Cooperative, Inc. bankruptcy case pending in Baton Rouge, Louisiana. During the late 1990's Cajun Electric has been one of the largest and most extensive Chapter 11 cases, and is one of the largest ever filed, involving claims in excess of \$5 billion and assets valued in excess of \$1.2 billion. He is a member of the Bankruptcy and Banking & Finance Sections of the Utah State Bar, has practiced in numerous bankruptcy courts across the country, and is admitted to practice before the Fifth and Tenth Circuit Courts of Appeal.

#### Ralph R. Mabey

Ralph R. Mabey joined the Salt Lake City office of LeBoeuf in August 1983. He now serves as the head of the Firm's national bankruptcy reorganization practice. Mr. Mabey received his bachelor's degree from the University of Utah in 1968 and his J.D. from Columbia Law School where he was a Harlan Fiske Stone Scholar, 1970, and a member of the Board of Editors of the Columbia Law Review. He was admitted to the Utah State Bar in 1972, and to the New York State Bar in 1985.

Following his graduation from law school, Mr. Mabey served for one year as law clerk to the Honorable Aldon J. Anderson, United States District Court for the District of Utah, and then entered private practice. In 1976, Mr. Mabey joined the faculty of the University of Utah, College of Business.

In February, 1979, Mr. Mabey was appointed to the United States Bankruptcy Court for the District of Utah. His written decisions have been cited over 1,000 times by federal courts, included in bankruptcy textbooks, and discussed in numerous scholarly articles. He has testified before committees of both Houses of Congress respecting bankruptcy issues. Mr. Mabey served as an appointee of the Chief Justice of the United States to the Judicial Conference of the United States Advisory Committee on Bankruptcy Rules from 1987 to 1993. He has chaired the American Bar Association's Bankruptcy Court Subcommittee of the Business Bankruptcy Committee and currently is a member of the American Bar Association's Business Bankruptcy Committee and the Joint Task Force (of the Litigation and Business Law Sections) on Bankruptcy Court Structure and Insolvency Processes. Mr. Mabey has served as managing editor of Norton's Bankruptcy Law Adviser and on the Board of Editors of the

American Bankruptcy Law Journal. He is a contributing author for the leading bankruptcy treatise Collier on Bankruptcy, 15th Edition, and for the Collier Bankruptcy Manual. Mr. Mabey is a member of the National Bankruptcy Conference and is a Director of the American College of Bankruptcy. He is an Adjunct Professor of Law at the J. Reuben Clark Law School, Brigham Young University.

Mr. Mabey served as the court-appointed Examiner in the A.H. Robins (Dalkon Shield) Chapter 11 reorganization in Richmond, Virginia. As lead counsel for the Official Pre-Merger Bondholders Committee of Federated Department Stores, he was instrumental in obtaining reorganization values of over \$1 billion for the Committee's constituents. Mr. Mabey has successfully represented the Official Equity Holders Committee in the Columbia Gas Chapter 11 case and the TWA Air Line Pilots Association. Other prominent representations have included an unsecured creditors' committee in the Storage Technology case, and significant creditors of Baldwin United, First Capital Holdings Corporation, and .

### Steven J. McCardell

Steven J. McCardell graduated summa cum laude from Brigham Young University in 1978 with a bachelor's degree in speech and interpersonal communication. As an undergraduate, he was an Edwin S. Hinckley Scholar and received numerous other academic awards. He received his J.D. degree, cum laude, in 1981 from the J. Reuben Clark Law School, Brigham Young University, where he was a member of the Brigham Young University Law Review. He was admitted to the practice of law in Utah in 1981.

Mr. McCardell is a fellow of the American College of Bankruptcy. He has had wide experience in representing creditors, committees, debtors, trustees, examiners, lessors, and purchasers of assets in Chapter 11 cases. Mr. McCardell has represented large Chapter 11 debtors such as Geneva Steel Company and CF&I Steel Company. In 1996, Mr. McCardell argued before the United States Supreme Court on behalf of Reorganized CF&I Steel Corporation. Mr. McCardell led the Firm's representation of the Chapter 11 trustee of Brian Head Enterprises, Inc., and the Chapter 11 creditors' committee of Arrow Huss, Inc. Mr. McCardell assisted in the Firm's representation of Public Service Company of Colorado in the Colorado Ute case, Mr. Mabey as Examiner in the A.H. Robins case, a creditors' committee in the Storage Technology case, the Indiana Commissioner of Insurance in the Baldwin United cases, and the debtors in the Sweetwater and Beehive International cases. Mr. McCardell has represented bank creditors, lease creditors, trade creditors, and insurance company creditors in numerous bankruptcy matters.

Mr. McCardell has been a panelist at programs on bankruptcy law sponsored by the National Conference of Bankruptcy Judges, the American Bar Association, and the Utah Bar Association. He has been a contributing author for Norton's Bankruptcy Law Adviser and a contributing editor for Norton Bankruptcy Law and Practice. From 1987 to 1997, Mr. McCardell assisted Mr. Mabey in teaching reorganization under Chapter 11 at the J. Reuben Clark Law School at Brigham Young University. Since 1995, Mr. McCardell has served as a member of the Ethics Advisory Opinion Committee of the Utah Bar. In 1987, Mr. McCardell

taught Business Reorganization under the Bankruptcy Code at the University of Utah College of Law. Prior to joining the firm in 1984, Mr. McCardell served for three years as law clerk to two bankruptcy judges in the District of Utah, the Honorable Ralph R. Mabey and the Honorable Glen E. Clark.

Mr. McCardell's bankruptcy cases have included significant environmental claims, including hundreds of millions of claims filed by regulatory agencies and PRP's against CF&I Steel Corporation. In 1993, he authored a paper on the estimation in bankruptcy of environmental claims published in the course materials of the National Conference of Bankruptcy Judges. With Kevin R. Murray and Jonathan R. Schofield, Mr. McCardell authored "Natural Resource Damage Trustees: Whose Side Are They Really On?" The Environmental Lawyer, Vol. 5, No. 2 (February 1999).

#### Kevin R. Murray

Kevin R. Murray graduated cum laude from Brigham Young University with a Bachelor's of Arts degree in 1981. In 1984, he graduated cum laude from the J. Reuben Clark Law School, Brigham Young University, where he served as the editor of the Journal of Legal Studies. Following graduation from law school, Mr. Murray practiced in Dallas, Texas for the firms of Winstead, McGuire Sechrist & Minick and Jones, Day, Reavis & Pogue. In 1990, Mr. Murray moved to Salt Lake City where he was Of Counsel to Berman & O'Rorke and then a founding partner of Parry Murray Ward & Lawrence. In April of 1997, Mr. Murray joined LeBoeuf, Lamb, Greene & MacRae, L.L.P. as head of the Environmental Health and Safety practice group in the firm's Salt Lake City office. Mr. Murray practices in the area of Environmental Health and Safety with a particular emphasis in matters dealing with hazardous substances, toxic substances and environmental liability concerns of industry, corporations, developers, financial institutions and other clients. He has represented clients in issues involving CERCLA remediation and RCRA corrective action, and is heavily involved in the acquisition of environmentally sensitive property and Brownsfields development. Mr. Murray's practice also expands into the applicability of various federal and state requirements as they relate to corporate compliance issues, environmental audit activities, and proceedings dealing with water quality, wetlands, zoning, land use and related environmental matters. Mr. Murray has experience with environmental transactions in all fifty of the United States with a heavy concentration in Utah, Colorado and Texas and thus EPA Regions VIII and VI. He has also participated in environmental transactions in Europe, Singapore, Japan, Hong Kong, Indonesia, Kenya, Brazil and Canada.

Mr. Murray has authored several environmental real estate articles, reference manuals and corporate environmental policy statements and frequently lectures on environmental issues affecting real estate development. He is a member of the Utah State Bar, the State Bar of Texas, and the Urban Land Institute, its Environmental Regulations Council and University Education Committee. Mr. Murray also serves as the Chair for the Urban Land Institute's Utah/Intermountain States District Council. He is an adjunct professor of law for Advance Real Estate Development at the Brigham Young University Law School and an associate member of the graduate faculty in the Department of Chemical Engineering and Materials

Science at Wayne State University. Mr. Murray contributes a significant amount of time to civic and charitable organizations and is the author of the book entitled *On Tender Feet and Eagles Wings*.

#### Ronald L. Rencher

Ronald L. Rencher has been involved in all aspects of power project development construction and operation for municipal utilities and investor-owned companies. He has represented utilities before the Federal Energy Regulatory Commission and before public utility commissions in Utah, Nevada, California and Wyoming. Currently, he represents the Los Angeles Department of Water and Power in a broad range of legal assignments including those connected with the operation of the Intermountain Power Project, the acquisition of coal properties and the operation of a coal mine; disputes involving coal acquisition contracts and coal transportation contracts; the development of a geothermal project; and the acquisition of transmission rights-of-way.

Mr. Rencher also represents business and corporate clients before federal and state courts in Utah and before arbitrators. He has successfully tried cases to juries and to the bench, has briefed and argued several cases before the U.S. Court of Appeals 10th Circuit and has briefed matters before the Utah Supreme Court, the Utah Court of Appeals and the Nevada Supreme Court. He has recently represented clients in criminal, antitrust, grand jury investigations and currently serves as a mediator for the U.S. District Court.

On behalf of utility clients, Mr. Rencher currently is involved with permitting and regulatory matters with respect to clean air, water and solid and hazardous waste under the jurisdiction of the Utah Department of Environmental Quality. He is also involved with Superfund site cleanup under the jurisdiction of EPA Region VIII.

Mr. Rencher's previous professional experience includes: Bechtel Power Corporation (1986-88), where he was in charge of the development of a large coal-fired, independent power project with General Electric, Combustion Engineering Public Service Company of New Mexico and the Navajo Nation; and Intermountain Power Agency, where he was General Manager (1983-86) and General Counsel (1981-83) during construction of a large, coal-fired generation station and AC and DC transmission systems. He also was a United States Attorney for the District of Utah (1977-81) and a member of the Utah House of Representatives (1971-76), where he served as Speaker (1975-76) and as Minority Whip (1973-74).

Mr. Rencher was admitted to the Utah State Bar in 1968 after receiving a J.D. degree from the University of Utah that same year. In 1965, he received a B.A. degree in history from Brigham Young University. He also attended the University of Colorado College of Law and College of Engineering.

#### Kenneth B. Schnoll

Kenneth Schnoll specializes in insurance regulatory and managed care law, emphasizing corporate and transactional matters for insurance and managed care entities, including mergers, acquisitions and joint ventures. He has also been involved in all aspects of the implementation of California's Proposition 103, including the preparation of rate rollback cases and the development of relevant regulations. He provides advice and counsel to a variety of clients on most issues involving insurance and managed care regulation. He has extensive experience before the California Department of Insurance care regulation. He has extensive experience before the California Department of Insurance and other state departments of insurance. Mr. Schnoll was admitted to the practice of law in California in 1981 and in Wisconsin in 1982.

#### Nolan S. Taylor

Nolan S. Taylor received his Bachelor of Arts degree in International Relations with an emphasis in Economics from Brigham Young University in 1983. He received his Juris Doctorate degree in 1986 from the University of Utah College of Law, where he was a William H. Leary Scholar for 1984-85 and President of the David J. Henry International Law Society. Following graduation from law school, Mr. Taylor practiced with the Salt Lake City, Utah law firm of Prince. Yeates & Geldzahler for two years in the areas of corporate. securities and real estate before joining the firm of Mackey Price & Williams in Salt Lake City where he became a partner in January 1994. In June 1995, Mr. Taylor joined LeBoeuf, Lamb, Greene & MacRae, L.L.P. as head of the Corporate Securities Practice Group in the Firm's Salt Lake City office. Mr. Taylor has expertise in mergers, acquisitions, and divestitures involving public and privately-held companies, public and private offerings of equity and debt securities, strategic alliances, real estate securities, business planning, shareholder matters, securities law compliance including periodic reporting, proxy solicitation, and preparing insider trading and Section 16 compliance programs, employee stock purchase and option plans, Investment Advisor registrations and compliance, aircraft purchase, lease and financing transactions, venture capital financings, project finance, franchising, technology licensing, domestic and international commercial transactions, as well as extensive experience in commercial and residential real estate sales, acquisitions, financings, syndications, leasing and development.

Mr. Taylor spoke on the subject of divestitures and divisions at a national seminar for lawyers co-sponsored by the American Law Institute and the American Bar Association in March, 1992. Mr. Taylor wrote an article for Utah Business magazine entitled "Venture Capital Financing: Options and Strategies for Structuring Transactions" (July-August 1993). He is a member of the Utah State Bar (Business and Securities sections) and the American Bar Association (Business Law Section). He speaks Dutch and enjoys music, reading, and playing basketball, softball, and tennis. He is married and has four children.

#### Stephen Mark Tumblin

Stephen Mark Tumblin received his bachelor's degree cum laude in political science from Brigham Young University in 1984. He received his J.D. degree in 1987 from the University of Utah College of Law where he served as Note Editor for the *Utah Law Review* and graduated Order of the Coif. Mr. Tumblin was admitted to the Utah State Bar in 1987. At LeBoeuf, Mr. Tumblin works in the areas of tax, corporate, real estate and labor law.

Mr. Tumblin has experience in business planning involving corporations, S corporations, partnerships and limited liability companies. Mr. Tumblin has represented numerous businesses in negotiations and litigation with federal and state taxing authorities and has appeared before the United States Supreme Court on tax issues. Mr. Tumblin also represents the Air Line Pilots Association. In addition, Mr. Tumblin provides estate planning advice on numerous issues including trusts, federal estate taxes, charitable gifts, business succession, probate and estate administration.

#### George M. Williams, Jr.

George Williams deals generally with corporate, banking and securities law questions, with particular focus on the regulation of banks (including foreign banks) by federal and New York State authorities, bank lending documentation, the law of secured transactions, and broker-dealer, investment-advisor and investment company regulations. In addition, he represents clients from German-speaking countries in a variety of matters and speaks German fluently. He is chairman of the Corporate Department's Opinion Committee. Mr. Williams was admitted to the practice of law in New York in 1979.

#### **OF COUNSEL**

#### Mark W. Dykes

Mark W. Dykes received his Bachelor of Arts degree summa cum laude as a Gipson Scholar (with concentrations in literature and philosophy) from the College of Idaho in 1983, and his J.D. from Boalt Hall School of Law at the University of California at Berkeley in 1987. At Boalt, Mr. Dykes was an associate editor of the International Tax and Business Lawyer, specializing in World Court issues. Mr. Dykes also assisted Professor Richard Buxbaum in revising his casebook on corporations.

Mr. Dykes clerked at LeBoeuf during the summer of 1986 and joined the Firm in 1987. A litigator, Mr. Dykes has extensive experiences in such fields and matters as antitrust, appeals, contracts, copyright, guaranties and notes, priority disputes under real estate law and Article 9, and a wide variety of other business-related matters. Mr. Dykes has also successfully litigated a number of bankruptcy matters and appeals for the Firm's bankruptcy department, participated in the defense of a federal grand jury witness, and is a member of the Federal Criminal Defender's Panel of the United States District Court of the District of Utah. Mr. Dykes is a member of the Utah and Colorado bars.

#### John Epperson

John Epperson joined LeBoeuf's environmental/health & safety (EHS) practice group in January, 1998. Since that time he has worked on a variety of matters, including discussions with a California Regional Water Board regarding cleanup of an abandoned mine site, due diligence regarding property cleaned up under the Uranium Mill Tailings Radiation Control Act, development of comments to be submitted on proposed EPA and DOT regulations, request of a formal interpretation from Federal OSHA of that agency's HAZWOPER regulations, the pipeline safety risk management program, interpretations regarding application of California Proposition 65, and other assistance regarding EHS advice.

Prior to joining LeBoeuf, Mr. Epperson worked for the Law Department of San Diego Gas & Electric, primarily dealing with California Public Utilities Commission and California Energy Commission regulatory matters relating to electric industry restructuring and the merger of Enova, the utility's parent company, with Pacific Enterprises. He also assisted with several SO2 allowance credit transactions while at SDG&E.

In addition, Mr. Epperson has over ten years of technical experience in the field of Radiation Safety (Health Physics) within the nuclear power industry. He has held a variety of positions, including engineer, manager, supervisor and consultant, at seven nuclear power plants, as well at Battelle's Pacific Northwest Laboratory and the U.S. Nuclear Regulatory Commission. Mr. Epperson was admitted to the practice of law in Washington in 1993 and California in 1996.

#### Penrod W. Keith

Penrod W. Keith received his bachelor's degree from Brigham Young University in 1983 in University Studies with an emphasis in economics, English, political science and philosophy. Mr. Keith received his J.D. magna cum laude, Order of the Coif, from the J. Reuben Clark Law School, Brigham Young University, in 1986 where he was a member and Case and Comment Editor of the Brigham Young University Law Review and a merit scholarship recipient. Mr. Keith was admitted to the Utah State Bar in 1986. Since joining LeBoeuf, in 1986, Mr. Keith has been involved in bankruptcy law and has assisted in many of the major bankruptcy cases handled by the Firm including the successful reorganization of CF&I Steel and related subsidiaries. Mr. Keith also has extensive bankruptcy litigation experience. Mr. Keith also has had extensive experience with asset acquisition from bankruptcy cases. Mr. Keith has written extensively for the Colliers on Bankruptcy treatise and is currently engaged in a major revision of that treatise. Mr. Keith is the secretary and president-elect of the Bankruptcy Section of the Utah State Bar.

#### Marla S. Petrini

Marla Petrini concentrates her practice in the area of labor and employment law. She has extensive experience with collective bargaining agreements, labor arbitration, NLRB and EEOC proceedings, and employment litigation, including ADA, Title VII and ADEA cases.

Ms. Petrini has spoken extensively concerning the Americans with Disabilities Act and disability discrimination. She has also served as a workplace restructuring consultant to several organizations undergoing reductions in force. Ms. Petrini was admitted to the practice of law in Colorado in 1982 and in Florida in 1999.

#### **ASSOCIATES**

#### Melissa J. Barbanell

Melissa J. Barbanell received her Bachelor's of Arts degree in Philosophy from Tulane University in 1990. In 1995, she received a Master's of Arts degree in Philosophy from the University of Utah where she graduated with honors. In 1998, Ms. Barbanell graduated Order of the Coif from the University of Utah College of Law. While at the College of Law, Ms. Barbanell served on the University of Utah Law Review, the National Moot Court Team, and was the recipient of the Marriner S. Eccles Fellowship in Political Economy and Public Policy. Upon graduation from law school, Ms. Barbanell clerked for Justice Michael Zimmerman of the Utah Supreme Court. At LeBoeuf, Ms. Barbanell is a member of the Environmental Health and Safety practice group. She also practices in the areas of general and complex civil litigation and bankruptcy.

#### Joseph M.R. Covey

Joseph M.R. Covey received his bachelor's degree from Brigham Young University in 1993 with a degree in business management and political science. While at Brigham Young, he was a Deans Scholar, a member of the Golden Key National Honor Societies and taught Spanish for two years. He received his J.D. degree in 1996 from the J. Reuben Clark Law School, Brigham Young University. While in law school, Mr. Covey served as Articles Editor for the Journal of Public Law and worked as a legal intern for Judge Dee V. Benson, United States District Court for the District of Utah. After graduation from law school, he clerked in Las Vegas, Nevada for Judge Robert Clive Jones of the Bankruptcy Court for the District of Nevada and the Ninth Circuit Bankruptcy Appellate Panel. At LeBoeuf, Mr. Covey practices primarily in the areas of bankruptcy and corporate law.

#### David E. Gardner

Mr. Gardner is an associate in the Tax practice focusing primarily on commercial tax, including the acquisition and disposition of business, corporate reorganizations, Section 1031 exchanges, transactions involving partners and partnerships, and tax issues of debtors in bankruptcy and their creditors. Mr. Gardner was admitted to the practice of law in Florida in 1994 and in Maryland in 1995.

#### Michael T. Hoppe

Michael T. Hoppe graduated summa cum laude from the University of Utah in 1996 with a bachelor's degree in history. He received his J.D. degree from the University of Utah College of Law in 2000. While attending the University of Utah College of Law, Mr. Hoppe served on the board of the Utah Law Review, and upon graduation Mr. Hoppe was made a member of the University of Utah Chapter of the Order of the Coif. Mr. Hoppe was admitted to the Utah State Bar in 2000.

#### Loyal C. Hulme

Loyal C. Hulme graduated magna cum laude from Utah State University in 1993 with a Bachelor's degree in Economics and Political Science. While at Utah State University, he was a University Club Scholar and was active in both Phi Kappa Phi and Gold Key National Honor Societies. He received his J.D. degree cum laude from the J. Reuben Clark Law School, Brigham Young University in 1996. While in law school, Mr. Hulme served on the J. Reuben Clark Law Review, was Vice Chairman of the Moot Court Board of Advocates and was a member of the National Moot Team. He is currently a member of the A.H. Christensen American Inn of Courts. Since joining LeBoeuf in May of 1996, Mr. Hulme has practiced primarily in the areas of bankruptcy, environmental and general corporate law.

#### Britt E. Ide

Ms. Ide's practice is primarily in utility and environmental matters. She formerly worked as an engineering consultant representing utilities before the Department of Energy. Ms. Ide was admitted to the practice of law in Utah in 1999 and in Montana in 1999.

#### Patrick Malone

Patrick Malone joined LeBoeuf's Environmental, Health and Safety practice group in 2000 after working as a summer associate the previous year. He holds an undergraduate degree in Conservation Biology (Ecology) and spent his first summer during law school working for the United States Department of the Interior, Office of the Field Solicitor. Patrick also practices in land use and litigation. He is conversant in Korean, having lived in Korea for two years.

#### Bret F. Randall

Bret F. Randall received his Bachelor's of Arts degree in English in 1990 from Brigham Young University. In 1993, he graduated *summa cum laude* from the J. Reuben Clark Law School, Brigham Young University, where he served as Note Comment Editor for the *Brigham Young University Law Review* and graduated Order of the Coif. He was admitted to the Utah State Bar in 1993. After graduating from law school, Mr. Randall clerked for Judge Larry M. Boyle of the United States District Court for the District of Idaho (1993-1994). Mr. Randall practiced with the Salt Lake City, Utah law firm of Parry Lawrence & Ward before joining LeBoeuf in the Environmental Health and Safety practice group in October, 1998. Mr. Randall also practices in the litigation, real property and corporate

transactional areas of LeBoeuf's Salt Lake City office. He speaks Spanish (having lived in South America for two years), and is conversant in French.

### Jonathan R. Schofield

Jonathan R. Schofield received his bachelor's degree from Brigham Young University, in 1995, where he majored in Industrial Design. Mr. Schofield received his J.D. degree magna cum laude from the J. Reuben Clark Law School, Brigham Young University, in 1998, where he was the Lead Articles Editor for the Brigham Young University Law Review. During law school, Mr. Schofield was actively involved with the BYU Trial Advocacy Team where he held a managing board position, participated in several national trial advocacy competitions, and won the 1995 Wood Deem Intra-School Trial Advocacy Competition.

Mr. Schofield was a Summer Associate at LeBoeuf in 1997 and joined the firm as an associate in 1998. From January 1999 to May 2000, Mr. Schofield was a law clerk for the Honorable Dee Benson, Chief Judge of the United States District Court for the District of Utah. Since returning to LeBoeuf in 2000, Mr. Schofield practices in LeBoeuf's litigation practice group, focusing on commercial and environmental litigation. Mr. Schofield was admitted to the Utah State Bar in 1998. Mr. Schofield is currently an assistant lecturer at the J. Reuben Clark Law School, where he assists Ralph R. Mabey in teaching the Law of Debtors and Creditors to second- and third-year law students

As an author and co-author, Mr. Schofield has published the following articles: A Misapplication of Daubert: Compton v. Subaru Opens the Gate for Unreliable and Irrelevant Expert Testimony, 1997 BRIGHAM YOUNG UNIVERSITY LAW REVIEW 489 (1997); Natural Resource Damage Trustees: Whose Side Are They Really On? 5 THE ENVIRONMENTAL LAWYER 407 (1999) (co-authored with Kevin R. Murray and Steven J. McCardell); Natural Resource Damage Trustees: Restoration Run Amok, 7 ENVIRONMENTAL LAW & PRACTICE 16 (1999) (co-authored with Kevin R. Murray and Steven J. McCardell).

#### Steven C. Strong

Steven C. Strong received his bachelor's degree from Brigham Young University in 1986, majoring in finance. Prior to beginning law school in 1989, he worked in the banking industry with the FDIC in its Boston Region, a commercial bank in New Hampshire, and the Utah Department of Financial Institutions. Mr. Strong earned his J.D. from the University of Utah College of Law in 1992, where he served as Note & Comment Editor of the Utah Law Review and was a William H. Leary Scholar. Mr. Strong was admitted to the Utah State Bar in 1992. At LeBoeuf, Mr. Strong practices primarily in the areas of bankruptcy, commercial litigation and corporate law.

Case 99-21130 Doc 1185-1577 Filed 03/05/01 Entered 03/06/01 07:27:00 Desc Converted from BANCAP Page 248 of 248

## Julie I. Valdes

## AREAS OF PRACTICE

Unassigned

## **EDUCATION**

B.S. Brigham Young University, 1994

J.D. Brigham Young University, cum laude, 1999

Managing Editor of Articles, Brigham Young University Journal of Public Law, 1998-1999

Associate Editor, Brigham Young University of Public Law, 1998-1999

## ADMITTED TO PRACTICE

1999

Utah

SELECTED ACTIVITIES

Eighth Circuit Upholds RFRA as Fraudulent Transfer Defense, 1998 No. 7, Co-Author Norton Bankr. L. Adviser 14 (July 1998)

Co-Author The Religious Liberty and Charitable Donation Protection Act of 1998, 1998 No. 9 Norton Bankr. L. Adviser 8 (September 1998)

## Robert A. Wood

Robert Wood concentrates in international corporate, commercial and non-profit matters. Until recently, he was resident in the Moscow office since 1994 and represented clients throughout the former Soviet Union. He also directed a U.S. government legal reform project that advised on the drafting of the new Russian Civil Code. Mr. Wood is a graduate of Creighton University School of Law (1993) where he served on Creighton Law Review. He is fluent in Russian, French, Spanish and Italian, and has a working knowledge of Japanese.